

ROAD NAME	FROM	TO	LENGTH	WIDTH	AREA	RANK	SURFACE	LANES	WORK CATEGORY	INSPECTION DATE	PCI	CONDITION
1st Isle Dr	Gulf Coast Dr	N dead end	377	20	7,540	RESIDENTIAL	ASPHALT	2	Global MR	01-23-2020	66	FAIR
2nd Isle Dr	Gulf Coast Dr	N dead end	370	20	7,400	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	88	VERY GOOD
3rd Isle Dr	Gulf Coast Dr	N dead end	377	20	7,540	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	79	GOOD
4th Isle Dr	S dead end	Gulf Coast Dr	378	20	7,560	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	90	VERY GOOD
5th Isle Dr	S dead end	Gulf Coast Dr	376	20	7,520	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	81	GOOD
6th Isle Dr	S dead end	Gulf Coast Dr	377	20	7,540	RESIDENTIAL	ASPHALT	2	Global MR	04-12-2021	75	GOOD
7th Isle Dr	S dead end	Gulf Coast Dr	375	20	7,500	RESIDENTIAL	ASPHALT	2	Global MR	04-12-2021	77	GOOD
8th Isle Dr	S dead end	Gulf Coast Dr	355	20	7,100	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	81	GOOD
A St	Booker T. St	Main St	1,215	18	21,863	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	72	GOOD
Aaron Ln	Denver Ave	Blythville Road	1,024	20	20,480	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	62	FAIR
Abady Ln	Gainsboro Ave	Pendleton Street	530	20	10,606	RESIDENTIAL	ASPHALT	2	Major MR	02-06-2022	79	GOOD
Abigail Dr	Thornberry Drive	Bayonne Avenue	5,745	20	114,900	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	51	FAIR
Abbeville St	Anchor Avenue	Mariner Blvd	1,689	20	33,780	RESIDENTIAL	ASPHALT	2	Major MR	12-03-2019	69	GOOD
Abbott Ave	S of Genter Dr	Coronado Dr	607	20	12,146	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	85	VERY GOOD
Abby Ave	Spring Hill Dr	Holbrook Street	1,248	20	24,960	RESIDENTIAL	ASPHALT	2	Major MR	12-03-2019	67	FAIR
Abeline Rd	Gate W of Gallagher Ave	Deltona Blvd	487	22	10,714	RESIDENTIAL	ASPHALT	2	Major MR	02-06-2022	70	GOOD
Abeline Rd	Deltona Blvd	Boyce St	4,446	22	97,812	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	79	GOOD
Aberdeen Ct	S dead end	Shoal Line Boulevard (CR597)	534	17	9,078	RESIDENTIAL	ASPHALT	2	Major MR	02-13-2022	81	GOOD
Aberyls St	Sealawn Dr	Toucan Trail	1,339	18	24,105	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	61	FAIR
Abington Way	Roxburgh Court	Heather Walk Drive	1,070	20	21,405	RESIDENTIAL	ASPHALT	2	Major MR	04-12-2021	46	POOR
Acacia Ave	Driftwood Drive	Driftwood Drive	566	24	13,593	RESIDENTIAL	ASPHALT	2	Major MR	02-16-2022	47	POOR
Academy Ave	Talbot Circle	Holiday Drive	791	24	18,984	RESIDENTIAL	ASPHALT	2	Global MR	02-13-2022	57	FAIR
Access Rd	River / SR 50	Paul R Steckle Ln	1,306	20	26,120	INDUSTRIAL	ASPHALT	2	Major MR	03-31-2021	52	FAIR
Access Rd	S Home Depot Driveway	Commercial Way	250	24	6,000	INDUSTRIAL	ASPHALT	2	Major MR	03-31-2021	68	GOOD
Access Rd	N Home Depot Driveway	Commercial Way	250	36	9,000	INDUSTRIAL	ASPHALT	3	Major MR	03-31-2021	69	GOOD
Access Rd	Commercial Way	Frontage Rd	321	24	7,704	INDUSTRIAL	ASPHALT	2	Major MR	03-31-2021	79	GOOD
Access Rd	S end	Jumper Loop	313	16	5,008	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	78	GOOD
Access Rd	W dead end	Hope Hill Rd	174	12	2,088	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	90	VERY GOOD
Acorn Cir	Lodge Circle	Spring Hill Dr	1,771	24	42,495	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	68	GOOD
Addison St	Mariner Blvd	Marshall Avenue	1,959	20	39,180	RESIDENTIAL	ASPHALT	2	Major MR	12-03-2019	71	GOOD
Adelia St	Sheffield Road	Fairhaven Avenue	617	20	12,340	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	67	FAIR
Adler St	Greynolds Avenue	Musa Road	525	20	10,501	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	66	FAIR
Aerial Way	745' S of Spring Hill Dr	Spring Hill Dr	745	55	40,975	INDUSTRIAL	ASPHALT	4	Major MR	03-06-2022	82	VERY GOOD
Agar Ave	Lema Drive	Elston Street	625	20	12,495	RESIDENTIAL	ASPHALT	2	Major MR	02-03-2022	73	GOOD
Agate Ave	Cooper Rd	Whitmarsh St	1,001	20	20,013	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	85	VERY GOOD
Agatha Ln	Linden Dr	Fish Cove Dr	929	20	18,589	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	67	FAIR
Ainsworth Ave	Asbury St	Spring Hill Dr	845	20	16,900	RESIDENTIAL	ASPHALT	2	Major MR	02-03-2022	53	FAIR
Ainsworth Ave	Spring Hill Dr	Coronado Dr	2,326	20	46,520	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	72	GOOD
Airmont Dr	Kenlake Avenue	Spring Hill Dr	2,269	20	45,380	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	49	POOR
Airmont Dr	Spring Hill Dr	Newmark Street	1,938	20	38,760	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	59	FAIR
Airy Oaks Ct	Warm Wind Way	N of Whisper Ridge Tr	1,359	19	25,821	RESIDENTIAL	ASPHALT	2	Major MR	01-31-2022	83	VERY GOOD
Akron St	Escobar Avenue	Maguire Avenue	620	20	12,400	RESIDENTIAL	ASPHALT	2	Major MR	12-02-2019	74	GOOD
Aladdin Rd	E of Godfrey Ave	Carlton St	1,012	20	20,240	RESIDENTIAL	ASPHALT	2	Major MR	12-08-2019	56	FAIR
Aladdin Rd	S of Brighton Street	E of Godfrey Avenue	4,859	20	97,175	RESIDENTIAL	ASPHALT	2	Major MR	02-13-2022	71	GOOD
Alameda Dr	Spring Hill Dr	Cooper Rd	6,151	20	123,010	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	80	GOOD
Alamo Rd	Cherokee Rd	Osage St	686	20	13,720	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	75	GOOD
Alba Dr	Dyla Dr	Eastwood Tr	1,491	20	29,814	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	75	GOOD

Alba Dr	S dead end	Dyla Way	418	20	8,359	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	81	GOOD
Alberta St	Forzando Ave	Tascosa Ave	1,171	18	21,083	RESIDENTIAL	ASPHALT	2	Major MR	02-20-2022	95	EXCELLENT
Alberta St	Tascosa Ave	Tampa St	1,333	18	24,002	RESIDENTIAL	ASPHALT	2	Major MR	02-20-2022	95	EXCELLENT
Alberta St	Tampa St	Wiscon Rd (CR 570)	1,356	18	24,415	RESIDENTIAL	ASPHALT	2	Major MR	02-20-2022	95	EXCELLENT
Albury Ave	Tyler Ave	Applegate Dr	1,014	20	20,280	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	69	GOOD
Alcan Ave	Lansfield St	Landover Blvd	957	20	19,135	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	78	GOOD
Alcove Ave	Balm St	N dead end	360	20	7,205	RESIDENTIAL	ASPHALT	2	Major MR	02-06-2022	73	GOOD
Alden Ave	Radford Street	Alderwood Street	310	20	6,200	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	67	FAIR
Alderwood St	Pinehurst Dr	E of Pinehurst Dr	4,762	20	95,240	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	66	FAIR
Aldoro Ave	Little Farms Drive	Rudi Loop	2,713	20	54,260	RESIDENTIAL	ASPHALT	2	Major MR	02-20-2022	64	FAIR
Aldoro Ave	Rudi Loop	Rudi Loop	1,171	20	23,420	RESIDENTIAL	ASPHALT	2	Major MR	02-20-2022	74	GOOD
Alex Ave	Dow Lane	Drysdale Street	587	20	11,732	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	67	FAIR
Algoma Ave	Little Farms Drive	Coronado Drive	834	20	16,681	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	71	GOOD
Algonquin St	Darlene Street	N dead end	501	15	7,515	RESIDENTIAL	ASPHALT	2	Major MR	02-13-2022	79	GOOD
Algood Rd	560' NW of Wendy Ct	Commercial Way (US 19)	972	24	23,323	INDUSTRIAL	ASPHALT	2	Major MR	02-13-2022	76	GOOD
Alhambra Ct	W of Gray Court	Waterfall Dr	2,974	20	59,487	RESIDENTIAL	ASPHALT	2	Major MR	02-25-2020	69	GOOD
Alice St	Sinclair Rd	Blair Ave	786	18	14,148	RESIDENTIAL	ASPHALT	2	Major MR	03-11-2020	74	GOOD
Alice St	Moss St	Sinclair Rd	1,684	18	30,312	RESIDENTIAL	ASPHALT	2	Major MR	03-11-2020	74	GOOD
Alishia Ct	Cressida Circle	E dead end	250	20	5,000	RESIDENTIAL	ASPHALT	2	Global MR	02-13-2022	70	GOOD
Allegro Ave	Portsmouth St	Keopot Dr	1,009	20	20,180	RESIDENTIAL	ASPHALT	2	Major MR	12-04-2019	69	GOOD
Allen Dr	Hernando Way	S of Nakoma Way	626	20	12,524	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	69	GOOD
Allen Dr	S of Nakoma Way	Long Lake Ave	2,030	20	40,600	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	78	GOOD
Allen Dr	St Andrews Blvd	Hernando Way	1,839	20	36,780	RESIDENTIAL	OTHER	2	Major MR	02-01-2022	81	GOOD
Alley 5020	SR50	End of Pavement	402	20	8,040	INDUSTRIAL	ASPHALT	2	Major MR	03-31-2021	86	VERY GOOD
Alley 57100	Spring Hill Drive	Parker Avenue	1,227	12	14,724	INDUSTRIAL	ASPHALT	1	Major MR	02-13-2022	71	GOOD
Alley 57400	Kass Circle	Kass Circle	3,585	13	46,605	INDUSTRIAL	ASPHALT	1	Major MR	02-13-2022	83	VERY GOOD
Alley 57401	Spring Hill Dr	Mariner Blvd	2,528	12	30,336	INDUSTRIAL	ASPHALT	1	Major MR	02-13-2022	54	FAIR
Alley 57402	Mariner Blvd	Abby Ave	1,821	12	21,852	INDUSTRIAL	ASPHALT	1	Major MR	02-13-2022	41	POOR
Alley 57411	Hastings Rd	Spring Hill Dr	1,601	12	19,212	INDUSTRIAL	ASPHALT	1	Major MR	02-13-2022	74	GOOD
Alley 57421	Spring Hill Dr	Marble Ave	922	12	11,064	INDUSTRIAL	ASPHALT	1	Major MR	03-31-2021	66	FAIR
Alley 57431	Marble Ave	Spring Hill Dr	805	12	9,660	INDUSTRIAL	ASPHALT	1	Major MR	03-31-2021	89	VERY GOOD
Alley 57441	Antelope St	Whitewood Ave	2,211	14	30,954	INDUSTRIAL	ASPHALT	1	Major MR	02-03-2022	73	GOOD
Alley 57450	Marble Ave	Groveland St	1,668	12	20,016	INDUSTRIAL	ASPHALT	1	Major MR	02-21-2022	83	VERY GOOD
Alley 57460	Groveland St	Whitewood Ave	1,943	12	23,316	INDUSTRIAL	ASPHALT	1	Major MR	02-21-2022	70	GOOD
Alley 58711	Lamson Ave	Lamson Ave, x's:Tillery Rd	2,042	12	24,505	INDUSTRIAL	ASPHALT	2	Major MR	03-31-2021	78	GOOD
Alley 58720	Northcliffe Blvd	Hearth Rd	2,900	12	34,800	INDUSTRIAL	ASPHALT	1	Major MR	02-06-2022	86	VERY GOOD
Alley 58760	Mariner Blvd (2)	Mayberry Rd	2,138	16	34,208	INDUSTRIAL	ASPHALT	1	Major MR	02-03-2022	63	FAIR
Alley 58911	S of Sewell Lane	Bay Drive	1,908	16	30,528	INDUSTRIAL	ASPHALT	1	Major MR	02-16-2022	57	FAIR
Alliance Ave	Higate Road	Springwood Road	986	20	19,720	RESIDENTIAL	ASPHALT	2	Major MR	02-06-2022	81	GOOD
Alloway Ave	Larkin Road	Eustace Street	752	20	15,037	RESIDENTIAL	ASPHALT	2	Major MR	12-02-2019	73	GOOD
Allston Ave	Coronado Drive	Godfrey Avenue	894	20	17,874	RESIDENTIAL	ASPHALT	2	Major MR	02-13-2022	64	FAIR
Allwood St	Abby Avenue	Malaga Avenue	803	20	16,060	RESIDENTIAL	ASPHALT	2	Major MR	12-03-2019	56	FAIR
Almond Ct	Bayside Court	N end cul-de-sac	385	20	7,692	RESIDENTIAL	ASPHALT	2	Major MR	02-16-2022	53	FAIR
Aloe Dr	W of Carnation Court	E of Plumosa Street	2,808	20	56,160	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	56	FAIR
Alpaca Dr	Westwind Street	E dead end	371	19	7,049	RESIDENTIAL	ASPHALT	2	Major MR	02-13-2022	77	GOOD
Alpine Thistle Dr	Trillium Blvd	Loops back to self	3,225	20	64,500	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	81	GOOD
Alster Ave	Wilburton Street	Allston Avenue	1,069	20	21,387	RESIDENTIAL	ASPHALT	2	Major MR	02-13-2022	73	GOOD
Altoona Ave	S of Brighton Street	Coronado Drive	4,322	20	86,430	RESIDENTIAL	ASPHALT	2	Major MR	02-13-2022	73	GOOD

Amanda Ave	Coronado Drive	Gold Road	1,217	20	24,331	RESIDENTIAL	ASPHALT	2	Major MR	02-03-2022	76	GOOD
Ambassador Ave	Coronado Drive	Banyan Road (2)	6,507	20	130,133	RESIDENTIAL	ASPHALT	2	Major MR	02-20-2022	79	GOOD
Amber Ridge Cir	SE dead end	Windmere Rd	306	20	6,120	RESIDENTIAL	ASPHALT	2	Major MR	02-17-2022	57	FAIR
Amber Ridge Dr	Windmere Rd	Lexington Circle	571	20	11,420	RESIDENTIAL	ASPHALT	2	Major MR	02-17-2022	73	GOOD
Amber Woods St	Don Loop	Don Loop	1,538	20	30,760	RESIDENTIAL	ASPHALT	2	Major MR	02-03-2022	68	GOOD
Amberjack Dr	W dead end	Bluefish Dr	2,160	22	47,520	RESIDENTIAL	ASPHALT	2	Major MR	02-13-2022	79	GOOD
Amboy St	Battersea Ave	Staten Ave	1,232	20	24,636	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	79	GOOD
Ambrose Ct	S of Templewood Court	Henderson Street	485	20	9,700	RESIDENTIAL	ASPHALT	2	Global MR	02-13-2022	78	GOOD
Amero Ln	Godfrey Ave	Anderson Snow Rd	2,886	20	57,720	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	57	FAIR
Amero Ln	Barlington St	Godfrey Ave	2,584	20	51,680	RESIDENTIAL	ASPHALT	2	Major MR	02-03-2022	89	VERY GOOD
Amherst Ave	Linden Dr	Nexus St	2,002	20	40,047	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	68	GOOD
Amherst Ave	Maderia St	Linden Dr	4,017	20	80,348	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	75	GOOD
Amidon St	160' W of Bishop Rd	Bentley Ave	1,168	20	23,360	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	51	FAIR
Amidon St	Brigadier Dr	160' W of Bishop Rd	1,133	20	22,660	RESIDENTIAL	ASPHALT	2	Global MR	02-01-2022	53	FAIR
Amorite Ct	W dead end	Breezy Way	345	20	6,900	RESIDENTIAL	ASPHALT	2	Global MR	02-01-2022	53	FAIR
Amy Cir	Deltona Blvd (2)	Meadow Lark Road	1,332	20	26,637	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	66	FAIR
Ancho Ave	Waterfall Dr	Jena Rd	745	20	14,900	RESIDENTIAL	ASPHALT	2	Major MR	02-01-2022	66	FAIR
Anchor Ave	Akron St	Linden Dr	4,984	20	99,680	RESIDENTIAL	ASPHALT	2	Major MR	12-02-2019	74	GOOD
Anchor Point Dr	Avenue of The Palms	N dead end	328	18	5,904	RESIDENTIAL	ASPHALT	2	Major MR	02-14-2022	90	VERY GOOD
Anderson Rd	W dead end	Eastside Avenue	607	20	12,140	RESIDENTIAL	ASPHALT	2	Major MR	02-21-2022	80	GOOD
Anderson Snow Rd (CR585)	3230' N County Line Rd	1280' N of Amero Lane	7,209	24	176,612	ARTERIAL	ASPHALT	2	Major MR	02-14-2022	57	FAIR
Anderson Snow Rd (CR585)	270' N of Corporate Blvd	Spring Hill Dr	2,426	40	97,023	ARTERIAL	ASPHALT	4	Major MR	02-13-2022	66	FAIR
Anderson Snow Rd (CR585)	County Line Rd	3230' N County Line Rd	3,230	24	77,527	ARTERIAL	ASPHALT	2	Major MR	12-08-2019	69	GOOD
Anderson Snow Rd (CR585)	1280' N of Amero Lane	270' N of Corporate Blvd	3,897	24	93,528	ARTERIAL	ASPHALT	2	Major MR	02-13-2022	70	GOOD
Andora Ln	Parkhurst Lane	Riviera Court	397	20	7,942	RESIDENTIAL	ASPHALT	2	Major MR	02-16-2022	50	FAIR
Andres St	Bayside Court	E of River Road	605	20	12,101	RESIDENTIAL	ASPHALT	2	Major MR	02-16-2022	56	FAIR
Andy Ave	S dead end	Eldridge Rd	143	20	2,866	RESIDENTIAL	ASPHALT	2	Major MR	02-01-2022	83	VERY GOOD
Andy Pella Dr	Philatelic Dr	Forest Oaks Blvd	581	20	11,620	RESIDENTIAL	ASPHALT	2	Global MR	02-01-2022	40	POOR
Angela Ln	Rudi Loop	N dead end	200	20	4,000	RESIDENTIAL	ASPHALT	2	Major MR	02-03-2022	75	GOOD
Angler St	Linden Dr	Gold Rd	2,404	21	50,484	RESIDENTIAL	ASPHALT	2	Major MR	02-03-2022	83	VERY GOOD
Angler St	Feather St	Linden Dr	1,103	20	22,060	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	87	VERY GOOD
Angora St	Waterfall Dr	cul-de-sac E of Sutton Place	1,849	20	36,978	RESIDENTIAL	ASPHALT	2	Major MR	02-01-2022	73	GOOD
Anhinga Ct	Panther Dr	E end cul-de-sac	160	20	3,200	RESIDENTIAL	ASPHALT	2	Global MR	02-06-2022	55	FAIR
Annapolis Rd	Galgano Lane	W of Hallcrest Avenue	2,927	20	58,540	RESIDENTIAL	ASPHALT	2	Major MR	02-01-2022	85	VERY GOOD
Annatalaga Ave	Lake Lindsey Rd (CR 476)	Ponce De Leon Blvd (US 98)	2,705	18	48,687	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	79	GOOD
Ansley St	Waycross Dr	Treehaven Dr	872	20	17,440	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	72	GOOD
Antelope St	Marble Ave	Linden Dr	1,144	20	22,880	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	77	GOOD
Antelope St	Linden Dr	Whitewood Ave	1,470	20	29,400	RESIDENTIAL	ASPHALT	2	Major MR	02-03-2022	82	VERY GOOD
Anthony Ave	Raley Road	Enterprise Drive	1,048	20	20,958	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	68	GOOD
Antilles Ln	Omaha Circle, x's:Spring Hill Dr	Deltona Blvd	1,360	20	27,202	RESIDENTIAL	ASPHALT	2	Major MR	12-08-2019	70	GOOD
Anton Ave	Cooper Rd	Whitmarsh Rd	1,135	20	22,699	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	82	VERY GOOD
Antrim St	Ligonier Road	Drummond Avenue	415	20	8,309	RESIDENTIAL	ASPHALT	2	Major MR	02-16-2022	55	FAIR
Anza Ave	Redgate St	Portsmouth St	592	20	11,840	RESIDENTIAL	ASPHALT	2	Major MR	12-04-2019	61	FAIR
Apache Trl	Redwing Dr	Philatelic Dr	1,836	20	36,724	RESIDENTIAL	ASPHALT	2	Global MR	02-06-2022	62	FAIR
Apache Trl	Arrowhead Ave	Redwing Dr	2,313	20	46,261	RESIDENTIAL	ASPHALT	2	Major MR	02-06-2022	68	GOOD
Apollo Ln	Coachman Rd	Philadelphia Ave	556	20	11,119	RESIDENTIAL	ASPHALT	2	Major MR	02-01-2022	71	GOOD
Appalachian Dr	Powell Rd	SE of Sierra Nevada Dr	2,739	20	54,774	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	85	VERY GOOD
Appian Ave	Claymore Street	Red Coach Street	1,006	20	20,120	RESIDENTIAL	ASPHALT	2	Major MR	12-03-2019	62	FAIR

Apple Ln	Spring Hill Dr	Antilles Lane	519	20	10,380	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2020	57	FAIR
Apple Orchard Rd	Earlshire Lane	Hallcrest Avenue	3,518	20	70,356	RESIDENTIAL	ASPHALT	2	Major MR	02-01-2022	78	GOOD
Applegate Dr	Commercial Way (US 19)	Halstead St	4,700	20	94,010	RESIDENTIAL	ASPHALT	2	Major MR	02-13-2022	74	GOOD
Apricot Ln	Jamaica Rd	Pinehurst Dr	631	20	12,620	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	59	FAIR
April Ct	W dead end	Waterfall Dr	394	20	7,880	RESIDENTIAL	ASPHALT	2	Major MR	04-20-2020	55	FAIR
Arab Ln	Waterfall Dr	Autumn Rd	399	20	7,990	RESIDENTIAL	ASPHALT	2	Major MR	02-01-2022	78	GOOD
Aralia St	Philadelphia Ave	Nobleton Avenue	806	20	16,113	RESIDENTIAL	ASPHALT	2	Major MR	02-01-2022	76	GOOD
Arbor St	285' E of Glenchester Dr	Hackwood Ave	922	20	18,440	RESIDENTIAL	ASPHALT	2	Major MR	02-15-2022	41	POOR
Arbordale Dr	S dead end	Richard Dr	670	20	13,406	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	83	VERY GOOD
Arbuckle Rd	Vicksburg Rd	Cottondale Ave	3,266	20	65,323	RESIDENTIAL	ASPHALT	2	Major MR	02-01-2022	74	GOOD
Arbutus Ave	Westside Avenue	Cortez Boulevard (CR550)	888	21	18,648	RESIDENTIAL	ASPHALT	2	Major MR	02-14-2022	90	VERY GOOD
Arcadia Ave	County Line Rd	Clearwater Drive	743	20	14,860	RESIDENTIAL	ASPHALT	2	Major MR	12-11-2019	77	GOOD
Archer Ave	Augustine Road	Odin Street	1,055	20	21,100	RESIDENTIAL	ASPHALT	2	Major MR	02-03-2022	85	VERY GOOD
Archway Dr	S of Orchard Way	E of Overland Dr	2,091	20	41,820	RESIDENTIAL	ASPHALT	2	Global MR	02-13-2022	68	GOOD
Ardenwood Dr	Spreading Oak Drive	Coronet Court	4,175	20	83,491	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	72	GOOD
Arena Entrance	Saddle Way	Centralia Road (CR476)	351	20	7,024	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	83	VERY GOOD
Argo Ave	Spring Hill Dr	Drayton Drive	303	20	6,067	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	81	GOOD
Arista Ln	Coronado Drive	Chippendale Street	889	20	17,780	RESIDENTIAL	ASPHALT	2	Major MR	02-03-2022	84	VERY GOOD
Arizona St	Forzando Ave	Wiscon Rd	3,834	19	72,846	RESIDENTIAL	ASPHALT	2	Global MR	02-21-2022	61	FAIR
Arkays Ave	782' S of Anderson Snow Rd	Anderson Snow Rd	782	24	18,768	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	60	FAIR
Arkendale St	Dubois Avenue	Comerwood Drive	1,461	20	29,224	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	85	VERY GOOD
Arlee Ln	Spring Hill Dr	Drayton Drive	564	20	11,283	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	87	VERY GOOD
Armadillo Ave	Antelope Street	Pomeroy Road	1,024	21	21,504	RESIDENTIAL	ASPHALT	2	Major MR	02-03-2022	79	GOOD
Arnett St	W of Corliss Rd	Corliss Rd	233	20	4,660	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	81	GOOD
Aromatic Ct	Aloe Dr	N dead end	378	20	7,560	RESIDENTIAL	ASPHALT	2	Global MR	02-06-2022	76	GOOD
Arrendonda Ave	Chippendale Street	Trollman Street	1,098	20	21,968	RESIDENTIAL	ASPHALT	2	Major MR	02-03-2022	76	GOOD
Arrow Ave	Burlington Street	Ring Road	1,816	20	36,315	RESIDENTIAL	ASPHALT	2	Major MR	02-03-2022	84	VERY GOOD
Arrowhead Ave	Norfolk Ave	Thunderbird Ave	3,051	20	61,024	RESIDENTIAL	ASPHALT	2	Global MR	02-06-2022	72	GOOD
Arslan Ln	Lema Drive	Gulliver Road	1,125	20	22,501	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	76	GOOD
Arvin Dr	W of Burbank Dr	Candy Dr	1,278	20	25,568	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	60	FAIR
Asbury St	Whitewood Ave	Arrow Avenue	1,788	20	35,758	RESIDENTIAL	ASPHALT	2	Major MR	02-03-2022	86	VERY GOOD
Ascot Ln	Lema Drive	Coronet Court	701	20	14,030	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	61	FAIR
Ashland Dr	Applegate Dr	Spring Hill Dr	3,808	20	76,160	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	63	FAIR
Ashmont Ave	Park Ridge Dr	Windmere Rd	1,093	20	21,860	RESIDENTIAL	ASPHALT	2	Major MR	02-17-2022	58	FAIR
Aspen Ct	English Elm Circle	NW end cul-de-sac	228	20	4,560	RESIDENTIAL	ASPHALT	2	Global MR	02-06-2022	73	GOOD
Atlanta Ave	Commercial Way (US 19)	NE of Cleever St	1,293	20	25,852	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	68	GOOD
Atlanta Ave	NE of Cleever St	Eakin St	1,681	20	33,620	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	72	GOOD
Attica Ave	Eahnestock Street	Rolling Acres Drive	547	19	10,394	RESIDENTIAL	ASPHALT	2	Major MR	02-21-2022	74	GOOD
Atwater Dr	Eastwood Trl	Candy Dr	1,525	20	30,501	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	57	FAIR
Aubrey Ave	Dakota Drive	Cammie Street	1,498	18	26,964	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	74	GOOD
Auburdale St	Mariner Blvd	Rainbow Woods Loop	2,787	20	55,731	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	77	GOOD
Audie Brook Dr	W of Sandtrap Drive	Mariner Blvd	3,393	21	71,253	RESIDENTIAL	ASPHALT	2	Global MR	02-13-2022	55	FAIR
Audubon Dr	W End	Sun Hill Ln	1,253	18	22,554	RESIDENTIAL	ASPHALT	2	Major MR	05-31-2020	90	VERY GOOD
Audubon Dr > 24400	Hilton Dr	E dead end	782	18	14,074	RESIDENTIAL	ASPHALT	2	Major MR	04-13-2021	88	VERY GOOD
August Ave	185' W of Lewis Ln	Long Cir	1,356	20	27,120	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	75	GOOD
August Ave	Norman St	185' W of Lewis Ln	1,751	20	35,020	RESIDENTIAL	ASPHALT	2	Major MR	02-15-2022	85	VERY GOOD
Augustine Rd	S of Palomar St	Mariner Blvd	4,728	20	94,558	RESIDENTIAL	ASPHALT	2	Global MR	02-16-2022	47	POOR
Augustine Rd	Mariner Blvd	Thornbery Dr	2,296	20	45,917	RESIDENTIAL	ASPHALT	2	Major MR	02-16-2022	57	FAIR

Augustine Rd	Linden Dr	N of Long Hill Ct	3,420	20	68,405	RESIDENTIAL	ASPHALT	2	Major MR	02-16-2022	76	GOOD
Austin Ave	County Line Rd	N of Caldwell Street	728	20	14,551	RESIDENTIAL	ASPHALT	2	Major MR	02-14-2022	75	GOOD
Autumn Rd	Waterfall Dr	Philadelphia Ave	3,011	20	60,213	RESIDENTIAL	ASPHALT	2	Major MR	02-01-2022	77	GOOD
Avenue of The Palms	SW dead end	Cortez Boulevard (CR550)	1,636	19	31,084	RESIDENTIAL	ASPHALT	2	Major MR	02-13-2022	89	VERY GOOD
Avila St	Landover Blvd	Bradford St	522	20	10,440	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	74	GOOD
Avis St	Bayonne Ave	Baylor Dr	463	20	9,260	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	71	GOOD
Avon Ln	Fairhaven Ave	Boswell Rd	307	20	6,140	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	76	GOOD
Ayers Rd (CR576)	Broad St (US 41)	Culbreath Rd (CR 581)	26,202	24	628,837	COLLECTOR	ASPHALT	2	Major MR	03-31-2021	74	GOOD
Azalea Cir	Lakewood Drive	circles to self E of Dogwood Dr	2,762	16	44,192	RESIDENTIAL	ASPHALT	2	Major MR	02-17-2022	74	GOOD
Azalea Dr	S dead end	Hermosa Blvd	1,271	18	22,878	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	79	GOOD
Azen Loop	Cammie St	Roper Road/Tomlinson Lane	2,608	18	46,949	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	87	VERY GOOD
Azora Rd	S of Millwood Rd	Northcliffe Blvd	1,280	20	25,600	RESIDENTIAL	ASPHALT	2	Global MR	02-03-2022	89	VERY GOOD
Azora Rd	Northcliffe Blvd	Landover Blvd	1,391	20	27,813	RESIDENTIAL	ASPHALT	2	Major MR	02-03-2022	89	VERY GOOD
B St	Hale Ave	Bethune Street	741	18	13,341	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	79	GOOD
B. W. Stevenson Rd	Cortez Blvd (SR 50)	Unpaved portion	1,249	18	22,482	RESIDENTIAL	ASPHALT	2	Major MR	02-21-2022	73	GOOD
Baffin Cir	Dan River Dr (2)	NE of Hampshire Avenue	3,761	20	75,228	RESIDENTIAL	ASPHALT	2	Major MR	02-13-2022	89	VERY GOOD
Bagdad St	Pamell Avenue	Lamont Drive	644	20	12,880	RESIDENTIAL	ASPHALT	2	Major MR	02-06-2022	81	GOOD
Bagley St	Pacific Ave	Yearling Ave	354	18	6,376	RESIDENTIAL	ASPHALT	2	Major MR	02-06-2022	53	FAIR
Bahama Dr	S dead end	Flamingo Blvd	661	24	15,874	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	81	GOOD
Bahama Swallow Ave	Blackbird Ave	Nightwalker Rd	2,141	20	42,818	RESIDENTIAL	ASPHALT	2	Major MR	02-17-2022	54	FAIR
Bahama Swallow Ave	Nightwalker Rd	Noddy Tern Rd	838	20	16,760	RESIDENTIAL	ASPHALT	2	Major MR	03-24-2020	59	FAIR
Bahama Swallow Ave	Noddy Tern Rd	Blackbird Ave	1,686	18	30,355	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	67	FAIR
Bailey Hill Rd	Kansas Road	Citrus Way (CR 491)	6,971	20	139,420	COLLECTOR	OTHER	2	Global MR	04-20-2020	76	GOOD
Bailey Hill Rd	Sedate St	Kansas Road	1,955	32	62,560	RESIDENTIAL	ASPHALT	2	Major MR	04-20-2020	67	FAIR
Baine Ave	County Line Rd	Clearwater Drive	534	20	10,680	RESIDENTIAL	ASPHALT	2	Major MR	12-11-2019	75	GOOD
Baker Blvd	360' W of Juniper Ave	Hackwood Ave	1,121	18	20,175	RESIDENTIAL	ASPHALT	2	Major MR	02-15-2022	45	POOR
Baker Blvd	Hackwood Ave	Treiman Blvd (US 301)	457	30	13,704	RESIDENTIAL	ASPHALT	2	Major MR	02-15-2022	46	POOR
Balboa Ave	County Line Rd	Planter Rd	1,156	20	23,118	RESIDENTIAL	ASPHALT	2	Major MR	02-14-2022	83	VERY GOOD
Baldock Ave	Courtland Rd	Killian St	4,067	20	81,340	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	61	FAIR
Baldwin St	Sealawn Dr	Toucan Trl	1,337	18	24,073	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	73	GOOD
Balfour St	Boswell Rd	Baldock Ave	2,006	20	40,120	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	58	FAIR
Bali Ln	Mariner Blvd	Baldock Ave	512	23	11,776	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	68	GOOD
Ballard St	Sealawn Dr	Toucan Trl	1,338	18	24,083	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	72	GOOD
Ballard St	Toucan Trail	Cessna Dr	784	20	15,676	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	78	GOOD
Balm St	Alcove Avenue	US 19	1,636	20	32,720	RESIDENTIAL	ASPHALT	2	Global MR	02-06-2022	75	GOOD
Balmoral Ln	W-E dead ends	x's:Nottingham Forest Dr	1,304	20	26,082	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	79	GOOD
Balsam St	Cavalier Ave	Shepherd Ave	651	20	13,010	RESIDENTIAL	ASPHALT	2	Major MR	12-11-2019	72	GOOD
Baltic St	Club House Road	Sara Street	1,171	22	25,771	RESIDENTIAL	ASPHALT	2	Major MR	01-31-2022	88	VERY GOOD
Baltimore St	Chicago Ave	Boston	1,279	20	25,576	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	80	GOOD
Bamboo St	Coydon Ave	Linden Dr	940	20	18,806	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	85	VERY GOOD
Banbury Ln	Bondstone Street	Bolger Avenue	1,041	20	20,829	RESIDENTIAL	ASPHALT	2	Major MR	02-03-2022	84	VERY GOOD
Bancroft Ave	Davenport Ln	Clearwater Drive	914	20	18,283	RESIDENTIAL	ASPHALT	2	Major MR	12-11-2019	73	GOOD
Banner Rd	Bondstone Street	Godfrey Avenue	2,672	20	53,435	RESIDENTIAL	ASPHALT	2	Major MR	02-03-2022	86	VERY GOOD
Bannister St	Horizon Drive	Carrin Road	2,390	20	47,800	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	66	FAIR
Bannock St	Gatewood Ave	Linden Dr	1,325	20	26,500	RESIDENTIAL	ASPHALT	2	Major MR	02-13-2022	62	FAIR
Banyan Rd	Ambassador Avenue	Kane Road	3,833	21	80,486	RESIDENTIAL	ASPHALT	2	Major MR	02-21-2022	77	GOOD
Barbados Ave	Rim Dr	Snowden St	999	20	19,980	RESIDENTIAL	ASPHALT	2	Major MR	12-04-2019	67	FAIR
Barcelona Blvd	Lexington Ct	Sherman Hills Blvd	1,579	20	31,580	RESIDENTIAL	ASPHALT	2	Major MR	03-09-2022	71	GOOD

Barclay Ave (CR585)	Powell Rd	Highgrove Rd	8,149	22	179,283	COLLECTOR	ASPHALT	2	Major MR	03-01-2022	69	GOOD
Barclay Ave (CR585)	Highgrove Rd	Cortez Blvd (SR 50)	7,315	20	146,301	COLLECTOR	ASPHALT	2	Major MR	03-01-2022	77	GOOD
Barclay Ave (CR585)	S of Minnie Dr	Powell Rd	4,254	48	204,187	COLLECTOR	ASPHALT	4	Major MR	03-01-2022	78	GOOD
Barclay Ave (CR585)	Spring Hill Dr	S of Minnie Dr	946	48	45,407	COLLECTOR	ASPHALT	4	Major MR	02-28-2022	83	VERY GOOD
Bardahl Ave	Aladdin Road	Tudor Street	529	20	10,579	RESIDENTIAL	ASPHALT	2	Major MR	02-13-2022	76	GOOD
Barger Ave	Larkin Road	Carmona Avenue	657	20	13,136	RESIDENTIAL	ASPHALT	2	Major MR	12-02-2019	74	GOOD
Barkingside Pl	Wilsford Ln	Sudbrook Ln	1,200	20	24,000	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	78	GOOD
Barlington St	Godfrey Ave	E of Fairview Rd	1,508	20	30,160	RESIDENTIAL	ASPHALT	2	Major MR	02-03-2022	77	GOOD
Barlington St	Whitewood Ave	Godfrey Ave	2,875	20	57,500	RESIDENTIAL	ASPHALT	2	Major MR	02-03-2022	86	VERY GOOD
Barlow Ct	Kimball Court	NW dead end	603	24	14,472	RESIDENTIAL	ASPHALT	2	Global MR	02-14-2022	61	FAIR
Barnett Rd	Horse Lake Rd	West of Broad/US 41	4,185	20	83,700	RESIDENTIAL	ASPHALT	2	Major MR	02-17-2022	60	FAIR
Barranca Ave	Coronado Dr	Fillmore St	1,909	20	38,180	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	80	GOOD
Barranca Ave	Cooper Rd	Coronado Dr	1,026	20	20,520	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	88	VERY GOOD
Barrow St	Glenridge Dr	Antelope St	2,878	20	57,564	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	77	GOOD
Bartlett St	Sealawn Dr	Norbort St	686	21	14,406	COLLECTOR	ASPHALT	2	Major MR	02-06-2022	78	GOOD
Bartlett St	Norbert St	Toucan Trail	645	21	13,545	RESIDENTIAL	ASPHALT	2	Major MR	02-06-2022	82	VERY GOOD
Basinger St	Major Dade Dr	Fraser St	481	16	7,689	RESIDENTIAL	ASPHALT	2	Major MR	02-17-2022	68	GOOD
Bass Rd	SE dead end	Westside Ave	676	17	11,492	RESIDENTIAL	ASPHALT	2	Major MR	02-16-2022	81	GOOD
Basset St	Hoffman Ave	Bayridge Ct	320	21	6,720	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	78	GOOD
Bassler St	Hoffman Ave	Bayridge Ct	323	20	6,460	RESIDENTIAL	ASPHALT	2	Global MR	02-01-2022	81	GOOD
Bath St	Coronet Court	Fisher Avenue	495	20	9,895	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	79	GOOD
Baton Ave	County Line Rd	Alhambra Ct	1,580	20	31,598	RESIDENTIAL	ASPHALT	2	Major MR	02-25-2020	69	GOOD
Batten Rd	Hayman Rd	S of Deer Fly Rd	6,553	20	131,062	OTHER	ASPHALT	2	Major MR	03-09-2020	66	FAIR
Batten Rd	N of Spear Point Ln	Skyview Cir	2,480	20	49,590	OTHER	ASPHALT	2	Major MR	03-09-2020	66	FAIR
Batten Rd	S of Deer Fly Rd	N of Spear Point Ln	3,400	18	61,206	OTHER	SURFACE TREATMENT	2	Major MR	02-17-2022	78	GOOD
Batten Rd	1730' N of Skyview Cir	Powell Rd	3,241	18	58,336	OTHER	ASPHALT	2	Major MR	02-17-2022	79	GOOD
Batten Rd	Skyview Cir	1730' N of Skyview Cir	1,731	18	31,149	OTHER	ASPHALT	2	Major MR	03-31-2021	83	VERY GOOD
Battersea Ave	S of Ferendina Way	Trumbull Dr	3,044	20	60,875	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	71	GOOD
Bavarian Pl	W dead end	Wellig Ave	474	20	9,480	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	66	FAIR
Bavon Ave	Corrigan St	Deep Creek Dr	714	20	14,282	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	88	VERY GOOD
Baxley St	Coronet Court	Gloria Ave	1,071	20	21,412	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	75	GOOD
Baxley St	Gloria Ave	Coronet Court	1,389	20	27,777	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	75	GOOD
Bay Dr	Bayridge Ct	Deltona Blvd	5,380	20	107,601	RESIDENTIAL	ASPHALT	2	Major MR	02-17-2022	55	FAIR
Bay Dr	Deltona Blvd	River Rd	2,723	20	54,460	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	79	GOOD
Bayberry Dr	SW dead end	Cortez Boulevard (CR550)	643	18	11,574	RESIDENTIAL	ASPHALT	2	Global MR	02-01-2022	77	GOOD
Baybriar St	Glade Rd	Bay Dr	1,044	24	25,056	RESIDENTIAL	ASPHALT	2	Global MR	02-01-2022	83	VERY GOOD
Baycrest Dr	Eagle Dr	Evan tide Ave	644	22	14,165	RESIDENTIAL	ASPHALT	2	Major MR	01-31-2022	99	EXCELLENT
Bayfront Cir	Gulf Winds Cir	E dead end	198	24	4,755	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	90	VERY GOOD
Baylor Dr	Landover Blvd	Blythville Rd	2,023	20	40,460	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	66	FAIR
Bayonne Ave	Belltower St	N of Gifford Dr	2,110	20	42,200	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	59	FAIR
Bayou Dr	Cortez Blvd (CR550)	3000' NW of Cortez Blvd (CR550)	3,089	14	43,246	RESIDENTIAL	ASPHALT	2	Major MR	02-17-2022	48	POOR
Bayou Dr	3000' NW of Cortez Blvd(CR550)	Pine Island Dr (CR 495)	2,463	10	24,630	RESIDENTIAL	ASPHALT	1	Major MR	02-17-2022	51	FAIR
Bayridge Ct	Wooden Dr	E of Beach Road	6,731	20	134,624	RESIDENTIAL	ASPHALT	2	Major MR	02-17-2022	56	FAIR
Bayshore Ct	NW Cul-de-sac	E of Bayshore Dr	470	20	9,395	RESIDENTIAL	ASPHALT	2	Major MR	02-01-2022	69	GOOD
Bayshore Dr	Lorendale Circle, x's: Dunkirk	Bayshore Court	1,584	20	31,673	RESIDENTIAL	ASPHALT	2	Major MR	02-01-2022	82	VERY GOOD
Bayside Ct	Cul-du-sac W of Lambert Ave	Deltona Blvd	6,294	24	151,062	RESIDENTIAL	ASPHALT	2	Major MR	02-17-2022	54	FAIR
Baywind Ct	Whisper Ridge trail	N cul-de-sac end	726	19	13,794	RESIDENTIAL	ASPHALT	2	Major MR	03-24-2020	68	GOOD
Beach Rd	Newton Rd	Bayridge Court	2,491	20	49,811	RESIDENTIAL	ASPHALT	2	Major MR	02-01-2022	84	VERY GOOD

Beachview Dr	Mosquero Rd	Northcliffe Boulevard	1,330	20	26,596	RESIDENTIAL	ASPHALT	2	Major MR	02-01-2022	84	VERY GOOD
Beachwood Ct	cul-du-sac NW of Maldive Ave	Beachview Dr	1,292	20	25,842	RESIDENTIAL	ASPHALT	2	Major MR	02-01-2022	83	VERY GOOD
Beacon Point Dr	Avenue of The Palms	N dead end	484	16	7,744	RESIDENTIAL	ASPHALT	2	Major MR	02-14-2022	93	EXCELLENT
Bear Paw Ct	Woodland Waters Blvd	N cul-de-sac end	532	20	10,640	RESIDENTIAL	ASPHALT	2	Major MR	01-31-2022	76	GOOD
Bear Trl	SW dead end	Richard Dr	2,456	18	44,208	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	47	POOR
Bearfoot Trl	Woodland Waters Blvd	Hernando Ridge Rd	3,257	19	61,883	RESIDENTIAL	ASPHALT	2	Major MR	01-31-2022	67	FAIR
Bearwalk Path	Hernando Ridge Rd	Bearfoot Trl	1,258	19	23,902	RESIDENTIAL	ASPHALT	2	Major MR	01-31-2022	64	FAIR
Beasley Rd	Old Crystal River Rd	E Dead End	1,303	18	23,458	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	79	GOOD
Beaver Ave	S of Beck Street	Gretna Drive	1,716	20	34,316	RESIDENTIAL	ASPHALT	2	Major MR	02-03-2022	82	VERY GOOD
Beck St	Lema Drive	Beaver Avenue	492	20	9,849	RESIDENTIAL	ASPHALT	2	Major MR	02-03-2022	87	VERY GOOD
Beckwith Ave	Heathcliff Street	Bishop Road	1,154	20	23,085	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	76	GOOD
Bedford Rd	Horizon Drive	Deer Street	5,807	20	116,139	RESIDENTIAL	ASPHALT	2	Major MR	02-14-2022	69	GOOD
Beechdale Ave	Winterville Road	Quintilis Street	1,094	20	21,884	RESIDENTIAL	ASPHALT	2	Major MR	02-03-2022	83	VERY GOOD
Begonia St	Deltona Blvd	Meadow Lark Road	1,342	20	26,840	RESIDENTIAL	ASPHALT	2	Major MR	02-06-2022	77	GOOD
Belen Ave	Meadow Lark Rd	Founder Rd.x's:Deltona Blvd	783	20	15,660	RESIDENTIAL	ASPHALT	2	Major MR	02-06-2022	73	GOOD
Belfast Ct	Lambert Avenue	Bayside Court	259	24	6,216	RESIDENTIAL	ASPHALT	2	Major MR	02-17-2022	57	FAIR
Belkton Ave	Shafton Street	Talpa Street	1,614	20	32,280	RESIDENTIAL	ASPHALT	2	Major MR	02-06-2022	67	FAIR
Bellaire Dr	Gulfview Dr	N dead end	737	21	15,477	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	72	GOOD
Bellamy Ct	SE end cul-du-sac	Valley Brook Ct	355	20	7,090	RESIDENTIAL	ASPHALT	2	Major MR	04-12-2021	67	FAIR
Belltower St	Florentine Ct	Elwood Rd	5,250	20	105,000	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	60	FAIR
Belmar Ave	Bedford Road	Blackburn Street	750	20	15,002	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	64	FAIR
Belmont Rd	Bayridge Court	Bayridge Court	3,485	20	69,694	RESIDENTIAL	ASPHALT	2	Major MR	02-17-2022	57	FAIR
Belspring Ave	Roble Avenue	N of Katherwood Street	1,088	20	21,760	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	81	GOOD
Belvedere St	Haulover Ave	E cul-de-sac end	736	20	14,729	RESIDENTIAL	ASPHALT	2	Global MR	02-01-2022	53	FAIR
Belvedere St	Horizon Drive	45' E of Haulover Ave	1,693	20	33,858	RESIDENTIAL	ASPHALT	2	Major MR	02-01-2022	74	GOOD
Benchmark Trl	Woodcrest Rd	Woodbury Rd	1,301	18	23,422	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	68	GOOD
Bend St	Florian Way	E of Linden Dr	621	20	12,420	RESIDENTIAL	ASPHALT	2	Global MR	02-13-2022	67	FAIR
Benes Rd	Squirrel Prairie Rd	Benes Roush Rd	2,623	18	47,214	RESIDENTIAL	ASPHALT	2	Major MR	02-17-2022	23	VERY POOR
Benes Roush Rd	Benes Rd	35' E of Moale Rd	5,291	18	95,238	RESIDENTIAL	ASPHALT	2	Major MR	02-17-2022	59	FAIR
Benes Roush Rd	35' E of Moale Rd	185' N of Legacy Ln	2,717	20	54,340	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	86	VERY GOOD
Bennett Ln	560' S of Ayers Rd	Ayres Rd	559	20	11,172	RESIDENTIAL	ASPHALT	2	Major MR	02-17-2022	66	FAIR
Benrock Rd	Gibraltar Street	Haulover Avenue	1,937	20	38,736	RESIDENTIAL	ASPHALT	2	Major MR	02-01-2022	79	GOOD
Bentley Ave	S of Larkin Road	Blackburn Street	5,120	20	102,399	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	70	GOOD
Benview Ave	Driftwood Drive	Cortez Blvd. (CR550)	1,160	11	12,760	RESIDENTIAL	ASPHALT	2	Major MR	02-17-2022	50	FAIR
Berkeley Heights Ave	Berkely Manor Blvd	N end cul-de-sac	941	20	18,820	RESIDENTIAL	ASPHALT	2	Global MR	02-01-2022	53	FAIR
Berkely Manor Blvd	Commercial Way (US 19)	Hoffman Ave	3,472	22	76,384	OTHER	ASPHALT	2	Global MR	02-01-2022	78	GOOD
Bern Ln	Peronia St	Waterfall Dr	647	20	12,944	RESIDENTIAL	ASPHALT	2	Major MR	02-01-2022	70	GOOD
Bernarda Ct	Kinlock Avenue	E dead end	529	20	10,580	RESIDENTIAL	ASPHALT	2	Major MR	02-01-2022	83	VERY GOOD
Berrien Ave	Courtland Rd	Topaz St	2,240	20	44,800	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	66	FAIR
Bertram Rd	E of Lovebird Ln	Mc Allister Street	1,269	24	30,445	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	83	VERY GOOD
Bertram Rd	Mondon Hill Road	E of Lovebird Ln	182	20	3,640	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	88	VERY GOOD
Berwick Way	SW of Roxburgh Court	St Andrews Blvd	1,057	22	23,254	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	79	GOOD
Bethesda Ct	Waverly Road	N dead end	561	15	8,415	RESIDENTIAL	ASPHALT	2	Major MR	02-14-2022	91	VERY GOOD
Bethune St	D Street	A Street	703	18	12,648	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	75	GOOD
Bevens Ave	Blythville Rd	Baylor Dr	904	20	18,080	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	70	GOOD
Beverly Ct	Caribbean Drive	Commercial Way (US 19)	2,407	24	57,765	INDUSTRIAL	ASPHALT	2	Major MR	02-14-2022	87	VERY GOOD
Bimini Dr	Flamingo Blvd	N dead end	776	24	18,636	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	81	GOOD
Bing Ave	S of Neda Street	Belmont Road	619	20	12,375	RESIDENTIAL	ASPHALT	2	Major MR	02-01-2022	87	VERY GOOD

Birch St	Scotch Pine Avenue	Pinewood Avenue	1,919	22	42,218	RESIDENTIAL	ASPHALT	2	Global MR	03-24-2020	69	GOOD
Birchwood Rd	Elwood Rd	N of Topaz St	3,357	20	67,140	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	56	FAIR
Birmingham Ave	Allen Dr	Brentwood St	1,315	20	26,300	RESIDENTIAL	ASPHALT	2	Major MR	02-01-2022	95	EXCELLENT
Biscayne Dr	Gulfview Dr	N dead end	1,389	21	29,169	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	76	GOOD
Bishop Rd	Coble Road	Linden Dr	7,244	20	144,876	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	60	FAIR
Bishop Rd	Linden Dr	Escobar Avenue	628	20	12,560	RESIDENTIAL	ASPHALT	2	Major MR	12-02-2019	68	GOOD
Black Oak Trl	Copeland Way	Woodbury Rd	2,617	20	52,334	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	60	FAIR
Black Oak Trl	Woodbury Rd	Burgess Ct	393	20	7,860	RESIDENTIAL	ASPHALT	2	Major MR	03-11-2020	74	GOOD
Blackbird Ave	Noddy Tern Rd	Oatbird Avenue	6,455	18	116,190	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	80	GOOD
Blackbird Ave	SR 50	Noddy Tern Rd	827	20	16,534	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	83	VERY GOOD
Blackburn St	Horizon Drive	Bedford Road	1,398	20	27,970	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	65	FAIR
Blackhawk Trl	Redwing Dr	Tomahawk Ave	1,377	18	24,782	RESIDENTIAL	ASPHALT	2	Global MR	02-06-2022	65	FAIR
Blackhawk Trl	Thunderbird Ave	Redwing Dr	1,632	18	29,380	RESIDENTIAL	ASPHALT	2	Major MR	02-06-2022	85	VERY GOOD
Blackstone St	Waterfall Drive	Horizon Drive	3,176	20	63,518	RESIDENTIAL	ASPHALT	2	Major MR	02-01-2022	74	GOOD
Bladon St	Meredith Drive	E of Haulover Avenue	1,732	20	34,639	RESIDENTIAL	ASPHALT	2	Major MR	02-01-2022	78	GOOD
Blaine Rd	Sanger Avenue	Horizon Drive	2,292	20	45,840	RESIDENTIAL	ASPHALT	2	Major MR	02-01-2022	81	GOOD
Blair Ave	Alice Street	Carson St	659	18	11,862	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	62	FAIR
Blair Ave	Drew St	Alice St	1,325	18	23,842	RESIDENTIAL	ASPHALT	2	Major MR	03-11-2020	74	GOOD
Blair Ave	Casson St	Zamia Dr	328	20	6,563	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	88	VERY GOOD
Blanford St	Lake Lindsey Rd	N dead end	1,577	18	28,386	RESIDENTIAL	ASPHALT	2	Major MR	02-16-2022	59	FAIR
Blanton St	Harrow Road	Dolin Avenue	1,010	20	20,200	RESIDENTIAL	ASPHALT	2	Major MR	02-06-2022	77	GOOD
Blossom Ct	S dead end	Cara Street	271	20	5,418	RESIDENTIAL	ASPHALT	2	Major MR	02-13-2022	75	GOOD
Bluefield St	Grayton Drive	Lema Drive	984	20	19,673	RESIDENTIAL	ASPHALT	2	Major MR	04-13-2021	66	FAIR
Bluefish Dr	SW dead end	Sea Bass Dr	2,237	22	49,214	RESIDENTIAL	ASPHALT	2	Major MR	02-14-2022	78	GOOD
Bluefish Dr	Sea Bass Dr	Shoal Line Blvd (CR 597)	363	40	14,520	RESIDENTIAL	ASPHALT	2	Major MR	02-14-2022	84	VERY GOOD
Bluejay Ter	Gardenia Way	Dogwood Drive	1,103	18	19,848	RESIDENTIAL	ASPHALT	2	Major MR	02-17-2022	71	GOOD
Bluestone Ave	Foothill Street	Chastain Street	1,734	20	34,682	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	60	FAIR
Bluwatave Ave	Coral Street	Hoffman Avenue	2,319	20	46,382	RESIDENTIAL	ASPHALT	2	Major MR	02-01-2022	80	GOOD
Bluffview Dr	Morven Drive	Morven Drive	1,558	20	31,164	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	73	GOOD
Bilume St	Garmish Way	SE dead end	1,712	20	34,232	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	80	GOOD
Blythe Ave	Auburdale Street	Landover Blvd	1,489	20	29,788	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	77	GOOD
Blythville Rd	Baylor Dr	Birchwood Rd	5,175	20	103,500	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	66	FAIR
Bob Hartung Ct	Philatelic Dr	Forest Oaks Blvd	834	20	16,680	RESIDENTIAL	ASPHALT	2	Major MR	02-06-2022	77	GOOD
Bobolink Ave	W dead end	Blackbird Ave	255	18	4,598	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	77	GOOD
Bobwhite Ct	Gardenia Way	Dogwood Drive	1,420	18	25,552	RESIDENTIAL	ASPHALT	2	Major MR	02-17-2022	80	GOOD
Bobwhite Ct	Orchid Parkway	Gardenia Way	814	18	14,657	RESIDENTIAL	ASPHALT	2	Major MR	02-17-2022	88	VERY GOOD
Bock Ln	W dead end	Barclay Ave	1,287	18	23,157	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	74	GOOD
Bolander Ave	Florian Way	Coronado Dr	1,778	20	35,560	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	82	VERY GOOD
Bolander Ave	Coronado Dr	Cooper Rd	1,348	20	26,960	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	87	VERY GOOD
Bolger Ave	Coronado Drive	Spring Hill Dr	5,581	20	111,617	RESIDENTIAL	ASPHALT	2	Major MR	02-06-2022	83	VERY GOOD
Bond Ct	Waterfall Dr	SE dead end	164	20	3,280	RESIDENTIAL	ASPHALT	2	Major MR	02-01-2022	59	FAIR
Bondstone St	Maximilian Ave	Bolger Ave	2,232	21	46,878	RESIDENTIAL	ASPHALT	2	Major MR	02-06-2022	86	VERY GOOD
Bone Ln	Oakcrest Circle (2)	N of Oakcrest Circle	2,415	24	57,998	RESIDENTIAL	ASPHALT	2	Global MR	02-22-2022	55	FAIR
Bonita Ave	Little Farms Drive	Candia Street	2,243	20	44,861	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	80	GOOD
Bonkirk Ave	Redgate St	Rim Drive	1,785	20	35,700	RESIDENTIAL	ASPHALT	2	Major MR	12-03-2019	67	FAIR
Bonnet Way	Galloway Road	Allen Drive	992	20	19,842	RESIDENTIAL	ASPHALT	2	Major MR	04-12-2021	66	FAIR
Bonnie Lake Rd	W of Rosewen St	E dead end	740	18	13,311	RESIDENTIAL	ASPHALT	2	Major MR	02-22-2022	63	FAIR
Bonview Ln	Fentress Ct	Comstock St	1,073	20	21,463	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	85	VERY GOOD

Booker T. St	C Street	A Street	479	18	8,620	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	83	VERY GOOD
Boondocks Dr	Unpaved portion	NW dead end	1,042	20	20,841	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	45	POOR
Boston Ave	Baltimore St	Commercial Way (US 19)	937	20	18,731	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	66	FAIR
Boswell Rd	Roble Ave	Eldron St	2,384	20	47,680	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	63	FAIR
Botanical Dr	Flyway Dr	Gaston St & Flyway Dr	1,345	20	26,900	RESIDENTIAL	ASPHALT	2	Global MR	02-06-2022	82	VERY GOOD
Bourassa Blvd	Commercial Way (US 19)	End of pavement	2,123	20	42,464	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	71	GOOD
Boxwood St	Azen Loop	Roper Road	1,302	18	23,436	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	80	GOOD
Boyce St	Harrow Road	SE of Abeline Rd; x's:Deltona Blvd	2,823	20	56,462	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	78	GOOD
Boyd Ln	Curry Dr	Mariner Blvd	500	20	9,995	RESIDENTIAL	ASPHALT	2	Major MR	02-06-2022	83	VERY GOOD
Bradford St	Gifford Dr	Gatling St	1,644	20	32,880	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	44	POOR
Bradley Dr	Atwater Dr	Candy Dr	826	22	18,174	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	52	FAIR
Brady St	Goucho Ave	Elida Road	2,240	20	44,807	RESIDENTIAL	ASPHALT	2	Major MR	02-01-2022	74	GOOD
Braewood St	Glenwood St	SR 50	626	20	12,520	RESIDENTIAL	ASPHALT	2	Major MR	02-17-2022	60	FAIR
Braganza St	Eric Street	Abeline Road	995	20	19,900	RESIDENTIAL	ASPHALT	2	Major MR	02-06-2022	83	VERY GOOD
Branchville Rd	Landover Blvd	Pendleton Street	1,693	20	33,867	RESIDENTIAL	ASPHALT	2	Major MR	02-07-2022	82	VERY GOOD
Brandy Dr	Olson Rd	Commercial Way (US 19)	1,344	18	24,192	RESIDENTIAL	ASPHALT	2	Major MR	02-14-2022	79	GOOD
Brandywine Ct	Westminster Court	N dead end	534	20	10,677	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	57	FAIR
Breakwater Blvd	US 19	N of Aloe Drive	3,769	22	82,918	RESIDENTIAL	ASPHALT	2	Global MR	02-07-2022	63	FAIR
Brechner St	Curry Drive	Rhine Avenue	1,543	20	30,852	RESIDENTIAL	ASPHALT	2	Major MR	02-07-2022	80	GOOD
Breezy Pines Ct	Whisper Ridge Trail	N cul-de-sac end	782	19	14,856	RESIDENTIAL	ASPHALT	2	Major MR	01-31-2022	80	GOOD
Breezy Way	440' S of Amidon St	New Azora Rd	1,903	22	41,866	RESIDENTIAL	ASPHALT	2	Global MR	02-01-2022	73	GOOD
Brennan St	Oakmoor Street	E of Rose Street	526	18	9,468	RESIDENTIAL	ASPHALT	2	Major MR	02-22-2022	79	GOOD
Brentlawn St	Melshire Avenue	NE of Melacano Ave	3,744	20	74,880	RESIDENTIAL	ASPHALT	2	Major MR	02-01-2022	93	EXCELLENT
Brentwood St	Long Lake Ave	Birmingham Ave	2,584	20	51,680	RESIDENTIAL	ASPHALT	2	Major MR	02-01-2022	93	EXCELLENT
Bret Ferguson Rd	Spring Hill Drive	Pomona Avenue	639	21	13,420	RESIDENTIAL	ASPHALT	2	Major MR	02-22-2022	80	GOOD
Brewster Rd	Landover Blvd	N of Tracy Street	2,104	20	42,073	RESIDENTIAL	ASPHALT	2	Major MR	02-07-2022	78	GOOD
Brewton Ave	Durham Street	Kenway Street	716	20	14,320	RESIDENTIAL	ASPHALT	2	Major MR	02-07-2022	85	VERY GOOD
Briarwood Ln	Catalina Street	Hollyhock Lane	791	24	18,984	RESIDENTIAL	ASPHALT	2	Global MR	02-14-2022	80	GOOD
Brice Dr	Snow Hill Road	Snow Hill Road	2,912	20	58,236	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	68	GOOD
Brickell Ct	Tara Street	N dead end	178	20	3,561	RESIDENTIAL	ASPHALT	2	Major MR	02-07-2022	79	GOOD
Bridle Path	S dead end	Saddle Way	1,019	20	20,381	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	76	GOOD
Brierdale St	Cobblestone Drive	Tarrytown Drive	935	23	21,505	RESIDENTIAL	ASPHALT	2	Global MR	02-14-2022	52	FAIR
Brierfield Ct	Buena Vista	E dead end	349	20	6,973	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	87	VERY GOOD
Brigadier Dr	S cul-de-sac end	Belvedere Street	1,443	20	28,860	RESIDENTIAL	ASPHALT	2	Global MR	02-01-2022	60	FAIR
Brighton St	Aladdin Rd	Godfrey Ave	2,363	20	47,250	RESIDENTIAL	ASPHALT	2	Major MR	02-13-2022	71	GOOD
Bristol Ln	Brewster Road	Branchville Road	328	20	6,560	RESIDENTIAL	ASPHALT	2	Major MR	02-08-2022	78	GOOD
Brittle Rd	US 98	Parsons Rd	11,577	20	231,540	RESIDENTIAL	ASPHALT	2	Major MR	02-17-2022	45	POOR
Brittle Rd	Parsons Rd	327' N of Trail 28	2,119	18	38,142	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	79	GOOD
Bromley Ave	Chamber Court	Springwood Road	2,260	20	45,200	RESIDENTIAL	ASPHALT	2	Major MR	02-17-2022	56	FAIR
Bronson Blvd	Cracker Crossing	Cortez Blvd (SR50)	890	22	19,590	INDUSTRIAL	ASPHALT	2	Major MR	02-22-2022	72	GOOD
Brook Dr	Howell Avenue	Chatfield Drive	596	24	14,313	RESIDENTIAL	ASPHALT	2	Major MR	02-22-2022	83	VERY GOOD
Brookhaven Dr	W dead end	Broad St (US 41)	391	40	15,642	RESIDENTIAL	ASPHALT	4	Major MR	03-31-2021	79	GOOD
Brookridge Central Blvd	Cortez Blvd SR 50	Guard Shack	735	42	30,870	RESIDENTIAL	ASPHALT	4	Major MR	02-22-2022	43	POOR
Brookside St	Mariner Blvd	Landover Blvd	2,798	20	55,951	RESIDENTIAL	ASPHALT	2	Major MR	02-07-2022	81	GOOD
Brooksville Rock Rd	Citrus Way (CR491)	N of Budowsky Rd	4,265	18	76,773	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	61	FAIR
Brunhilde Ct	Rudi Loop	SE end Cul-de-sac	257	20	5,140	RESIDENTIAL	ASPHALT	2	Major MR	12-04-2019	73	GOOD
Bruni Dr	Lawrence Street	N of Penna Street	2,657	20	53,140	RESIDENTIAL	ASPHALT	2	Major MR	02-07-2022	74	GOOD
Byce Ave	Topaz Street	N dead end	156	20	3,120	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	59	FAIR

Buccaneer Blvd	750' S of Osowaw Blvd	Osowaw Blvd	751	40	30,040	RESIDENTIAL	ASPHALT	4	Major MR	02-26-2020	51	FAIR
Buck Hope Rd	Barnett	City portion	1,041	20	20,820	COLLECTOR	ASPHALT	2	Major MR	02-22-2022	77	GOOD
Buckeye Ct	S dead end	Eastwood Trl	155	18	2,782	RESIDENTIAL	ASPHALT	2	Global MR	04-12-2021	68	GOOD
Buckingham Way	W of Druid Road	E of Diamond Drive	3,262	20	65,240	RESIDENTIAL	ASPHALT	2	Global MR	02-14-2022	70	GOOD
Buczak Rd	Centralia Road (CR476)	NE dead end	6,423	20	128,456	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	50	FAIR
Buczak Rd	W dead end	Brooksville Rock Rd	2,305	20	46,105	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	65	FAIR
Budowski Rd	Brooksville Rock Road	Citrus Way (CR491)	4,040	17	68,677	RESIDENTIAL	ASPHALT	2	Major MR	02-17-2022	57	FAIR
Bunker Ct	S dead end	Audie Brook Dr	272	20	5,440	RESIDENTIAL	ASPHALT	2	Global MR	02-14-2022	52	FAIR
Bunting Rd	S of Golden Eagle Avenue	Woodland Waters Boulevard	644	19	12,236	RESIDENTIAL	ASPHALT	2	Major MR	01-31-2022	87	VERY GOOD
Burbank Dr	Atwater Dr	NE of Celebration Dr	1,536	20	30,711	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	66	FAIR
Burbank Dr	Arvin Dr	Atwater Dr	1,120	20	22,395	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	80	GOOD
Burgess Ct	W cul-de-sac end	E cul-de-sac end	785	20	15,700	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	81	GOOD
Burmuda Dr	S dead end	Flamingo Blvd	664	24	15,946	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	81	GOOD
Burnside Parkway	S of Cavehill Road	Berkeley Manor Blvd	1,375	20	27,500	RESIDENTIAL	ASPHALT	2	Global MR	02-02-2022	60	FAIR
Burton Ct	Bush St	Bush St	291	20	5,827	RESIDENTIAL	ASPHALT	2	Major MR	02-01-2022	81	GOOD
Burwell Rd (CR575)	Pasco county line	SR 50	10,948	18	197,064	COLLECTOR	ASPHALT	2	Major MR	03-09-2020	66	FAIR
Bush Cir	Freeport Drive	Freeport Drive	508	20	10,167	RESIDENTIAL	ASPHALT	2	Major MR	02-01-2022	83	VERY GOOD
Bush St	Freeport Drive	Mosquero Rd	675	20	13,491	RESIDENTIAL	ASPHALT	2	Major MR	02-01-2022	84	VERY GOOD
Byron St	Freeport Drive	Mosquero Rd	629	20	12,580	RESIDENTIAL	ASPHALT	2	Major MR	02-01-2022	87	VERY GOOD
Byster Ln	Huston Street	N dead end	562	20	11,235	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	58	FAIR
C St	Booker T. Street	Bethune Street	549	18	9,877	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	88	VERY GOOD
Caballero Ct	Henderson St	N dead end	241	20	4,820	RESIDENTIAL	ASPHALT	2	Global MR	02-14-2022	69	GOOD
Cabbage Ct	Princess Ln	N cul-de-sac end	505	20	10,100	RESIDENTIAL	ASPHALT	2	Major MR	12-04-2019	74	GOOD
Cabot Ave	County Line Rd	Clearwater Drive	772	20	15,440	RESIDENTIAL	ASPHALT	2	Major MR	12-11-2019	74	GOOD
Cactus Cir	Dartmouth Avenue	circle back to Balboa Ave (2)	4,088	20	81,763	RESIDENTIAL	ASPHALT	2	Major MR	02-13-2022	73	GOOD
Cadbury Rd	Crescent Road	Century Dr	1,757	20	35,133	RESIDENTIAL	ASPHALT	2	Major MR	02-01-2022	86	VERY GOOD
Caddie Ave	Highpoint Blvd	Score St	621	20	12,420	RESIDENTIAL	ASPHALT	2	Major MR	01-31-2022	91	VERY GOOD
Caldwell St	Austin Ave	Dandelion Court	865	20	17,290	RESIDENTIAL	ASPHALT	2	Major MR	02-15-2022	69	GOOD
Cali St	Collins Road	Cynthia Lane	260	24	6,240	RESIDENTIAL	ASPHALT	2	Major MR	02-01-2022	82	VERY GOOD
Calico Warbler Ave	Nightwalker Rd	Madrid Road	2,967	18	53,406	RESIDENTIAL	ASPHALT	2	Major MR	01-31-2022	90	VERY GOOD
Calienta St	Shoal Line Blvd	Flamingo Blvd	988	20	19,760	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	81	GOOD
Calienta St	Flamingo Blvd	Maplewood Drive	1,432	20	28,640	RESIDENTIAL	ASPHALT	2	Major MR	02-15-2022	95	EXCELLENT
California St (CR583)	Wiscon Rd	Cortez Blvd (SR 50)	2,594	22	57,076	COLLECTOR	ASPHALT	2	Major MR	03-31-2021	83	VERY GOOD
California St (CR583)	Spring Hill Dr	Powell Rd	3,999	22	87,986	COLLECTOR	ASPHALT	2	Major MR	10-21-2021	98	EXCELLENT
California St (CR583)	Powell Rd	Wiscon Rd	15,541	22	341,906	COLLECTOR	ASPHALT	2	Major MR	10-21-2021	98	EXCELLENT
Callaghan Ave	Winterville Road	Quintillis Street	1,127	20	22,536	RESIDENTIAL	ASPHALT	2	Major MR	02-07-2022	72	GOOD
Callaway Ave	County Line Rd	Dandelion Court	1,379	20	27,573	RESIDENTIAL	ASPHALT	2	Major MR	02-15-2022	76	GOOD
Calusa St	Fairbanks Road	E of Hallcrest Avenue	812	20	16,247	RESIDENTIAL	ASPHALT	2	Major MR	02-02-2022	78	GOOD
Cambay Ln	Apple Orchard Road	Hallcrest Avenue	903	20	18,066	RESIDENTIAL	ASPHALT	2	Major MR	02-02-2022	73	GOOD
Cambria Dr	Burbank Dr	Candy Dr	1,096	20	21,922	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	73	GOOD
Cambridge St	Garret Ave	Hanover Ct	894	24	21,456	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	80	GOOD
Camden Ave	Newmark St	N of Piedmont Dr	745	20	14,900	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	65	FAIR
Camelia Dr	Companero Entra	NW dead end	1,537	19	29,203	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	72	GOOD
Camelot Dr	Stringer Rd	Prior turn S	1,774	18	31,932	RESIDENTIAL	ASPHALT	2	Major MR	02-17-2022	61	FAIR
Cameo St	Fairbanks Road	Hallcrest Avenue	505	20	10,100	RESIDENTIAL	ASPHALT	2	Major MR	02-02-2022	75	GOOD
Cammie St	SR 50	Roper Road	1,617	20	32,340	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	81	GOOD
Camp Castle Rd	Weatherly Road	Preston Rd	2,165	19	41,135	COLLECTOR	ASPHALT	2	Major MR	02-22-2022	83	VERY GOOD
Campbell Dr	Carol Dr	Broad St (US 41)	1,630	22	35,860	RESIDENTIAL	ASPHALT	2	Major MR	02-22-2022	41	POOR

Campbell Dr	end W of Canal Dr	Carol Dr	1,690	20	33,800	RESIDENTIAL	ASPHALT	2	Major MR	02-22-2022	81	GOOD
Campfield Rd	Hexam Rd	Murre Ave	1,617	20	32,340	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	76	GOOD
Campground Rd	Cobb Rd	E dead end	299	20	5,984	RESIDENTIAL	ASPHALT	2	Major MR	02-22-2022	33	VERY POOR
Campground Rd	W of McCloy Circle	Cobb Rd	2,354	20	47,074	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	64	FAIR
Campor Dr	Sunflower Dr	Pagoda Dr	1,067	24	25,625	RESIDENTIAL	ASPHALT	2	Global MR	03-06-2022	53	FAIR
Canal Dr	Carol Dr	Campbell Dr	953	22	20,966	RESIDENTIAL	ASPHALT	2	Major MR	02-22-2022	58	FAIR
Canal Dr	Campbell Dr	Carol Dr	1,236	20	24,720	RESIDENTIAL	ASPHALT	2	Major MR	02-22-2022	79	GOOD
Canary Ave	125' E of Nightingale Rd	515' E of Nightingale Rd	394	20	7,880	RESIDENTIAL	ASPHALT	2	Major MR	03-24-2020	71	GOOD
Canary Ave	Nightingale Rd	125' E of Nightingale Rd	122	18	2,198	RESIDENTIAL	ASPHALT	2	Major MR	03-24-2020	75	GOOD
Canby Cir	County Line Rd	Clearwater Drive	2,125	20	42,500	RESIDENTIAL	ASPHALT	2	Major MR	12-11-2019	73	GOOD
Candia St	Don Loop	Pomona Avenue	3,839	20	76,778	RESIDENTIAL	ASPHALT	2	Major MR	02-22-2022	74	GOOD
Candler Ave	Pine Bluff Street	Waco St	3,507	20	70,140	RESIDENTIAL	ASPHALT	2	Major MR	02-17-2022	57	FAIR
Candlewick Ave	County Line Rd	Steward Court	1,933	20	38,669	RESIDENTIAL	ASPHALT	2	Major MR	02-25-2020	71	GOOD
Candy Dr	Spring Hill Dr	N of Bradley Dr	2,379	22	52,338	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	57	FAIR
Canfield Dr	Abby Avenue	Marysville Street	2,889	20	57,780	RESIDENTIAL	ASPHALT	2	Major MR	12-02-2019	72	GOOD
Canterbury St	Pond Circle	Deltona Blvd	2,967	20	59,333	RESIDENTIAL	ASPHALT	2	Major MR	12-08-2019	72	GOOD
Canyon Pond Ct	W dead end	Nightingale Rd	565	18	10,170	RESIDENTIAL	ASPHALT	2	Major MR	03-24-2020	78	GOOD
Capistrano Ln	Willow Bank Ave	Park Ridge Dr	245	20	4,900	RESIDENTIAL	ASPHALT	2	Major MR	02-22-2022	81	GOOD
Capri Rd	Colma Street	Bayridge Ct	794	20	15,890	RESIDENTIAL	ASPHALT	2	Major MR	02-02-2022	84	VERY GOOD
Captain Dr	Maguire Avenue	Marysville Street	3,700	20	74,000	RESIDENTIAL	ASPHALT	2	Major MR	12-02-2019	64	FAIR
Cara St	New Azora Road	Linden Dr	3,237	24	77,685	RESIDENTIAL	ASPHALT	2	Major MR	02-14-2022	72	GOOD
Caracara Ave	Nightwalker Rd	E of Noddy Tern Rd	1,137	18	20,466	RESIDENTIAL	ASPHALT	2	Major MR	03-24-2020	68	GOOD
Cardinal Dr	Hibiscus Drive	Dogwood Dr	1,257	18	22,634	RESIDENTIAL	ASPHALT	2	Major MR	02-24-2022	78	GOOD
Cardinal Ln	S dead end	Dr M L King Jr Blvd	243	12	2,911	RESIDENTIAL	ASPHALT	1	Major MR	03-31-2021	66	FAIR
Caretta Ave	Portsmouth St	Keport Dr	1,015	20	20,300	RESIDENTIAL	ASPHALT	2	Major MR	12-04-2019	65	FAIR
Caribbean Dr	Suzanne Dr	Commercial Way (US 19)	403	24	9,664	INDUSTRIAL	ASPHALT	2	Major MR	02-15-2022	74	GOOD
Caribbean Dr	Commercial Way (US 19)	Dandelion Court	1,161	24	27,860	RESIDENTIAL	ASPHALT	2	Major MR	02-15-2022	78	GOOD
Caribou Dr	Reindeer Court	Deer Street	345	20	6,900	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	79	GOOD
Carissa Ct	SW end cul-du-sac	Mosquero Rd	347	20	6,945	RESIDENTIAL	ASPHALT	2	Major MR	02-01-2022	83	VERY GOOD
Carlin Dr	Yontz Rd	N dead end	925	17	15,725	RESIDENTIAL	ASPHALT	2	Major MR	02-22-2022	71	GOOD
Carlos Ct	Tampico Trl	E dead end	905	20	18,100	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	78	GOOD
Carmen Ave	Dothan Avenue	N of Oak Knoll Street	569	20	11,387	RESIDENTIAL	ASPHALT	2	Major MR	02-07-2022	67	FAIR
Carmona Ave	Larkin Road	Coble Road	1,239	20	24,789	RESIDENTIAL	ASPHALT	2	Major MR	02-15-2022	75	GOOD
Carnation Ct	Aloe Drive	NW dead end	609	20	12,180	RESIDENTIAL	ASPHALT	2	Global MR	03-06-2022	56	FAIR
Carnes St	Meadow Wren Ave	Maybird Ave	627	20	12,530	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	87	VERY GOOD
Carol Dr	Canal Dr	Campbell Dr	527	20	10,540	RESIDENTIAL	ASPHALT	2	Major MR	02-22-2022	80	GOOD
Carolina Dove Rd	S cul-de-sac end	382' S of Rosy Gull Ave	2,301	20	46,020	RESIDENTIAL	ASPHALT	2	Global MR	02-01-2022	67	FAIR
Carrin Rd	Horizon Drive	Spring Hill Dr	2,885	20	57,708	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	72	GOOD
Carson Ave	Spring Hill Dr	Bishop Road	1,377	20	27,543	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	66	FAIR
Cartee Ave	S of Hagen Ave	Northcliffe Blvd	738	20	14,766	RESIDENTIAL	ASPHALT	2	Major MR	02-17-2022	57	FAIR
Carter Rd	Ft Dade	183' N of Center St	630	16	10,080	RESIDENTIAL	ASPHALT	2	Global MR	03-26-2020	57	FAIR
Carthage Rd	Deltona Blvd	Bayside Court	1,890	20	37,799	RESIDENTIAL	ASPHALT	2	Major MR	02-17-2022	57	FAIR
Casa Ct	Tampico Trl	E dead end	909	20	18,180	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	80	GOOD
Casa Grande Cir	S of Via De Rosa Lane	Mariner Blvd	2,093	20	41,860	RESIDENTIAL	ASPHALT	2	Global MR	02-14-2022	71	GOOD
Cascade St	Cobblestone Drive	Holiday Drive	1,187	23	27,301	RESIDENTIAL	ASPHALT	2	Global MR	02-15-2022	71	GOOD
Casey Rd	Cedar Lane	15' SW of Goodwin Road	1,749	20	34,979	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	77	GOOD
Casino Ct	Forest Oaks Blvd	Sunflower Dr	428	24	10,279	RESIDENTIAL	ASPHALT	2	Global MR	02-08-2022	69	GOOD
Caspian St	Linden Dr	Escobar Ave	621	20	12,426	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	63	FAIR

Cassandra Way	W of Pocahontas Dr	McKethan Rd (US 98)	1,840	18	33,120	RESIDENTIAL	ASPHALT	2	Major MR	02-24-2022	45	POOR
Casson St	Blair	Forzando Ave	3,411	18	61,406	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	58	FAIR
Castille Dr	S of Via De Rosa Lane	Casa Grande Circle	920	20	18,400	RESIDENTIAL	ASPHALT	2	Global MR	02-14-2022	69	GOOD
Castille Dr	Rio Vista Court	S of Via De Rosa Lane	606	20	12,120	RESIDENTIAL	ASPHALT	2	Global MR	02-14-2022	75	GOOD
Castle Ave	S of Venice Drive	S of Elwood Rd	889	20	17,780	RESIDENTIAL	ASPHALT	2	Global MR	02-07-2022	49	POOR
Castle Ave	S of Elwood Rd	Pine Bluff Street	2,006	20	40,120	RESIDENTIAL	ASPHALT	2	Global MR	02-07-2022	58	FAIR
Castle Ridge Dr	Amber Ridge Dr	Barcelona Blvd	717	20	14,340	RESIDENTIAL	ASPHALT	2	Major MR	03-02-2022	93	EXCELLENT
Catalina St	Pinehurst Dr	Tarrytown Dr	3,054	24	73,296	RESIDENTIAL	ASPHALT	2	Global MR	02-13-2022	66	FAIR
Cavalier Ave	Tranquil Dr	Tranquil Dr	1,085	20	21,701	RESIDENTIAL	ASPHALT	2	Major MR	12-11-2019	72	GOOD
Cavehill Rd	Rhanbouy Rd	Burnside Pkwy	1,109	24	26,633	RESIDENTIAL	ASPHALT	2	Global MR	02-02-2022	73	GOOD
Cavern Rd	Exmore Street	Goldcoast Avenue	2,648	20	52,960	RESIDENTIAL	ASPHALT	2	Major MR	02-20-2022	56	FAIR
Cecil Ct	W of Schalekamp Dr	E of Nocklyn Rd	2,447	20	48,940	RESIDENTIAL	ASPHALT	2	Major MR	02-07-2022	77	GOOD
Cedar Ln	Powell Rd	SR 50	13,017	20	260,340	COLLECTOR	ASPHALT	2	Global MR	03-09-2020	39	POOR
Cedarbrook Ln	SW dead end	Eagle Nest Dr	2,335	18	42,030	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	85	VERY GOOD
Cedarhurst St	Oakado St/Pierce St	N dead end	1,226	17	20,842	RESIDENTIAL	ASPHALT	2	Global MR	02-24-2022	50	FAIR
Cedarside Ave	Park Ridge Dr	N of Majestic Dr	851	20	17,020	RESIDENTIAL	ASPHALT	2	Major MR	03-02-2022	81	GOOD
Cedarvue St	Tooke Lake Blvd	Bourassa Blvd	504	20	10,081	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	87	VERY GOOD
Cedley Rd	S of Cercelia Rd	Jamette Rd	556	18	10,008	RESIDENTIAL	ASPHALT	2	Major MR	03-02-2022	68	GOOD
Cedonia Rd	Park Dr	Riverdale Dr	1,094	24	26,273	RESIDENTIAL	ASPHALT	2	Major MR	03-02-2022	66	FAIR
Cedric St	Access Rd	NW dead end	1,556	12	18,673	RESIDENTIAL	ASPHALT	2	Major MR	03-02-2022	54	FAIR
Cedro St	Grayton Drive	Lema Drive	503	20	10,066	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	65	FAIR
Celebration Dr	505' N of Burbank Dr	Powell Rd	1,164	20	23,280	RESIDENTIAL	ASPHALT	2	Major MR	02-22-2022	74	GOOD
Celebration Dr	Burbank Dr	N of Rene Ct	503	20	10,068	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	79	GOOD
Celia Ave	Broad St (US 41)	Deepwood St	1,817	18	32,709	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	56	FAIR
Centavo Ct	Tampico Trl	E dead end	904	19	17,176	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	79	GOOD
Centennial St	W of Panama Avenue	N dead end; x's: Landover	1,990	20	39,809	RESIDENTIAL	ASPHALT	2	Major MR	02-07-2022	80	GOOD
Center St	Carter Road	West Street	1,357	16	21,712	RESIDENTIAL	ASPHALT	2	Global MR	03-26-2020	59	FAIR
Centerwood Ave	Commercial Way (US 19)	Painters St	5,002	20	100,043	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	61	FAIR
Centralia Rd (CR476)	Commercial Way (US 19)	Citrus Way (CR491)	27,890	24	669,360	COLLECTOR	ASPHALT	2	Global MR	03-31-2020	66	FAIR
Century Dr	Kirkland Ave	Deltona Blvd	3,186	24	76,455	RESIDENTIAL	ASPHALT	2	Major MR	02-01-2022	84	VERY GOOD
Century Dr	Deltona Blvd	Northcliffe Blvd	2,328	24	55,868	RESIDENTIAL	ASPHALT	2	Major MR	02-01-2022	87	VERY GOOD
Cercelia Rd	Cedley Rd	McKethan Rd (US 98)	815	18	14,670	RESIDENTIAL	ASPHALT	2	Major MR	03-02-2022	92	EXCELLENT
Cessna Dr	Ballard St	Toucan Trl	1,512	20	30,231	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	62	FAIR
Cessna Dr	Painters St	Ballard St	1,244	20	24,886	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	69	GOOD
Chadbrook Dr	Dalewood Drive	N dead end	461	19	8,759	RESIDENTIAL	ASPHALT	2	Global MR	02-01-2022	74	GOOD
Chadwick Ave	Landover Blvd	Pickford Street	2,632	20	52,640	RESIDENTIAL	ASPHALT	2	Major MR	02-07-2022	76	GOOD
Chalk Farm Rd	W of Knights Bridge Road	E of Lisson Grove Lane	1,407	20	28,140	RESIDENTIAL	ASPHALT	2	Global MR	02-14-2022	69	GOOD
Challice Dr	Tierra Dr	Anderson Snow Rd	2,229	20	44,580	RESIDENTIAL	ASPHALT	2	Major MR	02-14-2022	54	FAIR
Chalmer St	Jason Rd	Montano Ave; x's:Mariner Blvd	3,726	20	74,520	RESIDENTIAL	ASPHALT	2	Global MR	02-20-2022	57	FAIR
Chamber Ct	Wellington Road	E of Springwood Road	3,485	20	69,694	RESIDENTIAL	ASPHALT	2	Major MR	02-20-2022	57	FAIR
Chamberlain St	Elgin Blvd	Tanner Rd	769	20	15,380	RESIDENTIAL	ASPHALT	2	Major MR	02-08-2022	77	GOOD
Chambord St	Sunshine Grove Road	Tundra Drive	665	20	13,300	INDUSTRIAL	ASPHALT	2	Major MR	03-23-2020	61	FAIR
Chambord St	Access Rd	Sunshine Grove Rd	1,352	19	25,688	INDUSTRIAL	ASPHALT	2	Major MR	02-03-2022	69	GOOD
Chameleon Ct	Aloe Dr	N dead end	529	20	10,580	RESIDENTIAL	ASPHALT	2	Global MR	02-08-2022	61	FAIR
Champion Dr	Olmes Rd	end of Asphalt, begin Conc. section	1,782	20	35,647	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	61	FAIR
Champlain Ave	Barlington Street	Asbury Street	1,461	20	29,224	RESIDENTIAL	ASPHALT	2	Major MR	02-07-2022	82	VERY GOOD
Channing Ave	Geneva Street	Gaynor Street	1,041	20	20,828	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	56	FAIR
Chapel Ave	Lansfield St	Landover Blvd	751	20	15,023	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	75	GOOD

Charmwood Ave	Palomar Street	Landover Blvd	2,320	20	46,400	RESIDENTIAL	ASPHALT	2	Global MR	02-07-2022	52	FAIR
Chase St	Kirkland Ave	Northcliffe Blvd	3,246	24	77,907	RESIDENTIAL	ASPHALT	2	Major MR	02-02-2022	85	VERY GOOD
Chastain St	Lema Drive	E of Bluestone Avenue	887	20	17,746	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	51	FAIR
Chatfield Dr	Howell Ave	Broad St	896	18	16,136	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	79	GOOD
Chatsworth St	Waterfall Dr	Vicksburg Rd	1,697	20	33,940	RESIDENTIAL	ASPHALT	2	Major MR	02-02-2022	81	GOOD
Chaucer Dr	SW-NE dead ends	x's: River Country Dr, Jomel	4,113	20	82,261	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	77	GOOD
Cherokee Rd	Alamo Rd	100' N of Comanche Street	2,119	20	42,375	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	80	GOOD
Cherokee Trl	Redwing Dr	Tomahawk Ave	1,264	18	22,752	RESIDENTIAL	ASPHALT	2	Global MR	02-08-2022	60	FAIR
Cherryhill Pl	W dead end	Bedford Road	436	20	8,721	RESIDENTIAL	ASPHALT	2	Major MR	02-14-2022	75	GOOD
Chesapeake Pl	Wilsford Ln	Sudbrook Ln	1,200	20	24,000	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	78	GOOD
Chicago Ave	Baltimore St	Commercial Way (US 19)	656	20	13,111	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	69	GOOD
Chilton St	Benrock Road	Eldridge Road	854	20	17,089	RESIDENTIAL	ASPHALT	2	Major MR	02-02-2022	83	VERY GOOD
Chippendale St	Ring Rd	Godfrey Ave	2,862	20	57,240	RESIDENTIAL	ASPHALT	2	Major MR	02-07-2022	58	FAIR
Chippendale St	Godfrey Ave	E of Fairview Rd	1,494	20	29,880	RESIDENTIAL	ASPHALT	2	Major MR	02-07-2022	74	GOOD
Christian Cir	Wallen Drive	NE dead end	752	20	15,034	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	76	GOOD
Christopher Ln	Desert Sparrow Ave	Fulton Ave	4,229	18	76,122	RESIDENTIAL	ASPHALT	2	Major MR	03-24-2020	72	GOOD
Church Rd	Spring Lake Hwy	Myers Rd	11,044	20	220,879	COLLECTOR	ASPHALT	2	Global MR	03-31-2021	59	FAIR
Church Rd	Fenway Drive	Spring Lake Hwy	2,362	24	56,725	RESIDENTIAL	ASPHALT	2	Major MR	03-01-2022	68	GOOD
Churchill Way	Chaucer Drive	Delaware Drive	456	20	9,121	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	78	GOOD
Cilly Ave	Rudi Loop	Rudi Loop	1,006	20	20,120	RESIDENTIAL	ASPHALT	2	Major MR	02-07-2022	78	GOOD
Cimarron Way	Cassandra Way	Pocahontas Dr	574	18	10,332	RESIDENTIAL	ASPHALT	2	Major MR	03-02-2022	85	VERY GOOD
Cindy Dr	Violet Rd	Ted Rd	2,363	20	47,258	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	82	VERY GOOD
Cindy Dr	Ted Rd	N cul-de-sac	292	20	5,838	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	90	VERY GOOD
Cinnaman Ln	Missouri Skylark Rd	N of Rostock Rd	2,014	20	40,286	RESIDENTIAL	ASPHALT	2	Global MR	02-02-2022	49	POOR
Circle Dr	Westwind Street	Westwind Street	2,138	16	34,208	RESIDENTIAL	ASPHALT	2	Major MR	03-10-2020	71	GOOD
Ciro Ave	S of Shumaker Court	Wilburton Street	1,036	20	20,717	RESIDENTIAL	ASPHALT	2	Major MR	02-14-2022	53	FAIR
Citation Ave	S of Genter Drive	Coronado Drive	610	20	12,199	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	74	GOOD
Citrus St	Juniper Ave	Hackwood Ave	944	18	16,991	RESIDENTIAL	ASPHALT	2	Major MR	02-15-2022	63	FAIR
Citrus Way (CR491)	Ponce De Leon Blvd (US 98)	Citrus County Line	16,379	24	393,099	ARTERIAL	ASPHALT	2	Major MR	03-31-2021	70	GOOD
Citrus Way (CR491)	Kensington St	Lake Lindsey Rd	9,882	22	217,402	COLLECTOR	ASPHALT	2	Major MR	02-20-2022	66	FAIR
Citrus Way (CR491)	Lake Lindsey Road	Ponce De Leon Blvd (US 98)	10,668	22	234,685	COLLECTOR	ASPHALT	2	Major MR	02-20-2022	68	GOOD
Citrus Way (CR491)	Ft Dade Ave	Kensington Rd	20,233	24	485,592	COLLECTOR	ASPHALT	2	Major MR	04-16-2020	72	GOOD
Claremont Ln	Finland Drive	Stoneville Court	1,224	20	24,490	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	63	FAIR
Clarendon Ct	W of Preston Hollow Dr	Forest Wood Court	901	20	18,020	RESIDENTIAL	ASPHALT	2	Global MR	02-14-2022	72	GOOD
Clarion St	Linden Dr	Hillandale Ave	1,973	20	39,460	RESIDENTIAL	ASPHALT	2	Major MR	12-03-2019	64	FAIR
Clay Ct	NW dead end	Trellis Ave	273	20	5,460	RESIDENTIAL	ASPHALT	2	Global MR	02-15-2022	47	POOR
Claymore St	Linden Dr	W of Statler Ave; x's:Mariner Blvd	4,638	20	92,760	RESIDENTIAL	ASPHALT	2	Major MR	12-02-2019	73	GOOD
Clayton Ave	Canfield Drive	Holbrook Street	771	20	15,420	RESIDENTIAL	ASPHALT	2	Major MR	12-03-2019	60	FAIR
Clayton Rd	Cortez Blvd (SR 50)	N of Huston St	2,663	20	53,270	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	63	FAIR
Clear Spring Rd	Alba Dr	Woodcrest Rd	412	20	8,234	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	78	GOOD
Clear Spring Rd	Woodcrest Rd	Eastwood Trl	1,811	20	36,226	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	79	GOOD
Clearfield Ave	Landmark Dr	Millstone St	1,413	20	28,260	RESIDENTIAL	ASPHALT	2	Major MR	02-15-2022	82	VERY GOOD
Clearwater Dr	County Line Rd	N dead end	7,350	20	147,000	RESIDENTIAL	ASPHALT	2	Major MR	12-11-2019	70	GOOD
Clewiston St	Riddle Drive	N of Linden Drive	2,307	20	46,140	RESIDENTIAL	ASPHALT	2	Major MR	12-03-2019	68	GOOD
Clingman St	Maguire Avenue	Captain Drive	1,150	20	23,000	RESIDENTIAL	ASPHALT	2	Major MR	12-02-2019	66	FAIR
Clipper Ct	W dead end	Deltona Blvd	786	20	15,724	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	76	GOOD
Cloudcroft Ave	Commerce Avenue	Drysdale Street	1,669	20	33,387	RESIDENTIAL	ASPHALT	2	Major MR	02-22-2022	80	GOOD
Clovis Ln	Spring Hill Drive	Autumn Road	565	20	11,301	RESIDENTIAL	ASPHALT	2	Major MR	02-02-2022	73	GOOD

Club House Rd	Highpoint Blvd	Highpoint Blvd	3,582	21	77,006	RESIDENTIAL	ASPHALT	2	Major MR	01-31-2022	93	EXCELLENT
Clyburn St	Azora Rd	Landover Blvd	625	20	12,499	RESIDENTIAL	ASPHALT	2	Major MR	02-20-2022	58	FAIR
Coachman Rd	Autumn Road	Waterfall Drive	3,497	20	69,938	RESIDENTIAL	ASPHALT	2	Major MR	02-02-2022	79	GOOD
Coastal Blvd	Cortez Blvd	Frontage Rd	625	36	22,500	INDUSTRIAL	ASPHALT	3	Major MR	02-03-2022	84	VERY GOOD
Cobb Rd (CR485)	appx 600' N of R/R tracks	Ponce De Leon Blvd (US 98)	12,839	24	308,136	ARTERIAL	ASPHALT	2	Major MR	02-24-2022	69	GOOD
Cobb Rd (CR485)	Ft Dade Ave	appx 600' N of R/R Tracks	9,260	24	222,386	ARTERIAL	ASPHALT	2	Major MR	02-24-2022	72	GOOD
Cobb Rd (CR485)	Cortez Blvd (SR 50)	Ft Dade Ave	1,388	48	66,624	ARTERIAL	ASPHALT	3	Major MR	02-24-2022	80	GOOD
Cobblestone Dr	County Line Rd	Spring Hill Dr	6,582	22	144,798	COLLECTOR	ASPHALT	2	Major MR	03-31-2021	72	GOOD
Cobia Dr	W dead End	Sea Bass Dr	1,644	22	36,168	RESIDENTIAL	ASPHALT	2	Major MR	02-13-2022	82	VERY GOOD
Coble Rd	S of Larkin Road	Bentley Avenue	4,043	20	80,860	RESIDENTIAL	ASPHALT	2	Major MR	12-02-2019	71	GOOD
Cockleberry Dr	Southeast Ave	Richardson Blvd	1,705	20	34,100	RESIDENTIAL	ASPHALT	2	Major MR	02-15-2022	91	VERY GOOD
Cofer Rd	Felker Dr	Shoal Line Boulevard (CR597)	3,336	20	66,720	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	79	GOOD
Cofield Ln	Coachman Rd	Waterfall Dr	1,081	20	21,613	RESIDENTIAL	ASPHALT	2	Major MR	02-02-2022	77	GOOD
Colchester Ave	Boswell Rd	Shafton Rd	5,373	20	107,460	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	54	FAIR
Collingswood St	Hanford Ave	Birchwood Rd	1,549	20	30,980	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	64	FAIR
Collins Rd	Cadbury Rd	Crescent Rd	1,835	24	44,045	RESIDENTIAL	ASPHALT	2	Major MR	02-02-2022	84	VERY GOOD
Colma St	Bluewater Ave	Beach Rd	2,388	20	47,762	RESIDENTIAL	ASPHALT	2	Major MR	02-02-2022	82	VERY GOOD
Colmart St	El Camino Street	Gaucho Avenue	632	20	12,635	RESIDENTIAL	ASPHALT	2	Major MR	02-02-2022	77	GOOD
Colony Cir	Cofer Rd	Palm Creek Drive	3,985	20	79,700	RESIDENTIAL	ASPHALT	2	Major MR	02-13-2022	83	VERY GOOD
Colorado St	500' S of Cortez Blvd	Cortez Blvd SR 50	498	20	9,960	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	72	GOOD
Columbus Dr	Gulfview Dr	N dead end	736	21	15,456	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	79	GOOD
Colusa Ln	Ardenwood Drive	Spreading Oak Drive	586	20	11,729	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	80	GOOD
Comanche St	Pawnee Drive	Cherokee Road	3,997	20	79,933	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	79	GOOD
Comerwood Dr	Spring Hill Dr	Whitewood Ave	1,585	20	31,701	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	82	VERY GOOD
Commerce Ave	Coronado Drive	Drysdale Street	1,893	20	37,858	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	73	GOOD
Commodore Ave	Crescent Rd	Northcliff Blvd	540	20	10,796	RESIDENTIAL	ASPHALT	2	Major MR	02-01-2022	75	GOOD
Companero Entra	Orchid Dr	Shoal Line Blvd	4,038	21	84,798	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	71	GOOD
Comstock St	Alameda Dr	Glenridge Dr	2,112	20	42,249	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	80	GOOD
Concert Ave	Monterey St	Dunbar St	808	20	16,169	RESIDENTIAL	ASPHALT	2	Major MR	02-14-2022	56	FAIR
Concord Ave	Newhope Road	Holiday Drive	674	24	16,176	RESIDENTIAL	ASPHALT	2	Global MR	02-14-2022	62	FAIR
Conde Dr	Highpoint Blvd	Harker St	1,274	22	28,669	RESIDENTIAL	ASPHALT	2	Major MR	02-03-2022	89	VERY GOOD
Cone Shell Dr	Breakwater Blvd	Plumosa St	1,278	20	25,560	RESIDENTIAL	ASPHALT	2	Global MR	02-08-2022	56	FAIR
Congressional Ave	Westlake Boulevard	Westlake Boulevard	1,556	20	31,120	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	63	FAIR
Conrad Pl	Minerva Place	E dead end	205	20	4,100	RESIDENTIAL	ASPHALT	2	Global MR	02-14-2022	63	FAIR
Convent Garden Rd	Eton Rd	Sunshine Grove Rd	2,623	20	52,460	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	84	VERY GOOD
Convent Garden Rd	Meinert Ave	Eton Rd	2,647	20	52,940	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	89	VERY GOOD
Converse Ave	Lafoy Rd	Lansfield St	1,240	20	24,796	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	61	FAIR
Conway St	W of Irondale	Gretna Dr	659	20	13,185	RESIDENTIAL	ASPHALT	2	Major MR	02-07-2022	79	GOOD
Conway St	Augustine Rd	W of Irondale	1,365	20	27,300	RESIDENTIAL	ASPHALT	2	Major MR	02-07-2022	91	VERY GOOD
Conyers St	Alster Ave	Godfrey Ave	701	20	14,020	RESIDENTIAL	ASPHALT	2	Major MR	02-14-2022	73	GOOD
Cool Breeze Ct	Plumosa St	E dead end	424	20	8,480	RESIDENTIAL	ASPHALT	2	Global MR	02-09-2022	63	FAIR
Cooper Rd	Aladdin Rd	E of Godfrey Ave	2,525	20	50,500	RESIDENTIAL	ASPHALT	2	Major MR	02-14-2022	77	GOOD
Cooper Rd	Coronado Dr	Aladdin Rd	4,525	20	90,500	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	78	GOOD
Cooper Rd	Coronado Dr	Linden Dr	4,385	20	87,700	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	84	VERY GOOD
Cooper Ter	Mondon Hill	Richbarn Rd	4,864	20	97,280	RESIDENTIAL	ASPHALT	2	Major MR	02-17-2022	86	VERY GOOD
Copeland Way	Woodcrest Rd	315' W of Black Oak Trl	1,891	20	37,815	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	65	FAIR
Copeland Way	W of Black Oak Trl	E of Gator Trl	2,112	20	42,235	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	66	FAIR
Copeland Way	315' W of Black Oak Trl	Black Oak Trl	315	20	6,300	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	75	GOOD

Copeland Way	Woodcrest Rd	W of Black Oak Trl (S)	1,591	20	31,818	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	84	VERY GOOD
Copperfield Rd	Pinehurst Dr	Cobblestone Drive	2,253	24	54,072	RESIDENTIAL	ASPHALT	2	Global MR	02-14-2022	65	FAIR
Coral St	Bayridge Ct	Bay Dr	1,370	20	27,408	RESIDENTIAL	ASPHALT	2	Major MR	02-02-2022	84	VERY GOOD
Corinthian St	Finland Dr	Coronado Dr	2,460	20	49,200	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	79	GOOD
Corinthian St	Coronado Dr	Alameda Dr	825	20	16,500	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	81	GOOD
Corliss Rd	Oliver St	VFW Rd	1,348	24	32,373	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	76	GOOD
Cornell Ave	Corrigan St	Deep Creek Dr	902	20	18,045	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	80	GOOD
Cornerstone Dr	Hardstone Dr	US 301	8,088	20	161,760	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	71	GOOD
Corolla Ave	Coronado Dr	Fillmore St	1,792	20	35,832	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	79	GOOD
Coronado Dr	Linden Dr S	Spring Hill Dr E	8,514	20	170,280	COLLECTOR	ASPHALT	2	Global MR	03-06-2022	53	FAIR
Coronado Dr	Spring Hill Dr E	Linden Dr N	7,329	20	146,580	COLLECTOR	ASPHALT	2	Global MR	02-20-2022	54	FAIR
Coronado Dr	Spring Hill Dr SW	Linden Dr S	10,855	20	217,100	COLLECTOR	ASPHALT	2	Global MR	02-17-2022	55	FAIR
Coronado Dr	Stoneville Ct	Spring Hill Dr	776	32	24,836	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	85	VERY GOOD
Coronet Ct	cul-de-sac SW of Baxley St	Gloria Ave	2,924	20	58,488	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	79	GOOD
Coronet Ct	Gloria Ave	Drayton Dr	2,718	20	54,352	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	81	GOOD
Corporate Blvd	Anderson Snow Rd	1458' E of Anderson Snow Rd	1,458	20	29,164	INDUSTRIAL	ASPHALT	2	Global MR	03-31-2021	35	POOR
Corrigan St	Finland Dr	Coronado Dr	2,107	20	42,134	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	79	GOOD
Corrine Ave	Chamberlain St	Killian St	2,600	20	52,007	RESIDENTIAL	ASPHALT	2	Major MR	02-20-2022	55	FAIR
Cortez Blvd (CR 550)	W end at waters edge & dock	Shoal Line Blvd	17,021	21	357,441	COLLECTOR	ASPHALT	2	Major MR	03-12-2020	70	GOOD
Cortez Blvd (CR 550)	Shoal Line Blvd	US 19	17,926	32	573,632	COLLECTOR	ASPHALT	2	Major MR	03-12-2020	74	GOOD
Corydon Ave	Coronado Drive	Barrow St	4,406	20	88,111	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	78	GOOD
Cottondale Ave	Dorsey St	Danforth Rd	2,089	20	41,789	RESIDENTIAL	ASPHALT	2	Major MR	02-02-2022	72	GOOD
Country Club Dr	Ridge Manor Blvd	NW of Fairway Drive	1,682	20	33,630	RESIDENTIAL	ASPHALT	2	Major MR	02-15-2022	62	FAIR
Country Oak Dr	Soult Rd	Wildflower Dr	2,097	20	41,948	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	87	VERY GOOD
Country Rd	Commercial Way (US 19)	Lake Drive	3,005	20	60,090	RESIDENTIAL	ASPHALT	2	Major MR	04-12-2021	74	GOOD
Countrywood Ct	W end cul-de-sac	Salters St	690	20	13,801	RESIDENTIAL	ASPHALT	2	Major MR	02-07-2022	93	EXCELLENT
County Line Rd (CR578)	Mariner Blvd (CR 587)	661' W of Oak Chase Blvd	16,273	24	390,560	PRINCIPAL	ASPHALT	2	Major MR	03-31-2021	54	FAIR
County Line Rd (CR578)	175' W of Fargo ct	Mariner Blvd (CR 587)	14,479	24	347,488	PRINCIPAL	ASPHALT	2	Major MR	03-31-2021	57	FAIR
County Line Rd (CR578)	Commercial Way (US 19)	175' W of Fargo Ct	14,828	48	711,760	PRINCIPAL	ASPHALT	4	Major MR	04-01-2020	77	GOOD
County Line Rd (CR578)	661' W of Oak Chase Blvd	550' E of Trillium Blvd	7,112	48	341,354	PRINCIPAL	ASPHALT	4	Major MR	03-01-2022	86	VERY GOOD
County Line Rd (CR578)	550' E of Trillium Blvd	Broad St (US 41)	4,488	20	89,757	PRINCIPAL	ASPHALT	2	Major MR	03-01-2022	94	EXCELLENT
Courtland Rd	Mariner Blvd	Birchwood Rd	3,384	20	67,680	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	63	FAIR
Courts Ct	S of Elwood Rd	Villa Road	750	20	15,000	RESIDENTIAL	ASPHALT	2	Global MR	02-07-2022	62	FAIR
Coventry Ct	S dead end	Shoal Line Boulevard (CR597)	538	17	9,146	RESIDENTIAL	ASPHALT	2	Major MR	02-14-2022	81	GOOD
Covewood Dr	Landover Blvd	Odham Street	4,905	20	98,096	RESIDENTIAL	ASPHALT	2	Major MR	02-08-2022	75	GOOD
Covington Ave	Gallup Rd	Abeline Rd	1,997	20	39,940	RESIDENTIAL	ASPHALT	2	Major MR	02-07-2022	83	VERY GOOD
Cracker Crossing	W end (at Cracker Barrel)	Parkland Ave	1,277	24	30,648	INDUSTRIAL	ASPHALT	2	Major MR	03-04-2020	64	FAIR
Cradock St	Boswell Rd	Dellbrook Ave	767	20	15,340	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	64	FAIR
Craigdarragh Ave	Spanish Oak Ave	Berkely Manor Blvd	1,867	20	37,340	RESIDENTIAL	ASPHALT	2	Global MR	02-20-2022	53	FAIR
Cranbrook Ct	SW dead end	Pinehurst Dr	1,429	24	34,296	RESIDENTIAL	ASPHALT	2	Global MR	02-14-2022	71	GOOD
Cranston St	Landover Blvd	Harbinger Rd	2,896	20	57,920	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	55	FAIR
Crape Myrtle Dr	Hermosa Blvd	NW dead end	1,346	18	24,228	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	85	VERY GOOD
Cresap St	Jernigan St	N dead end	3,949	20	78,980	RESIDENTIAL	ASPHALT	2	Major MR	02-20-2022	56	FAIR
Crescent Rd	SW of Cadbury Rd	Kirkland Ave	4,542	24	109,019	RESIDENTIAL	ASPHALT	2	Major MR	02-02-2022	87	VERY GOOD
Cressida Cir	Cooper Rd	Jessica Dr	4,484	20	89,680	RESIDENTIAL	ASPHALT	2	Global MR	02-14-2022	66	FAIR
Crested Orchid Dr	S of Spoonflower Way	Satinleaf Run	630	22	13,860	RESIDENTIAL	ASPHALT	2	Major MR	03-02-2022	78	GOOD
Crestview Dr	Cortez Blvd (SR 50)	N dead end	891	18	16,030	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	79	GOOD
Croaker Dr	W dead End	Sea Bass Dr	2,515	22	55,330	RESIDENTIAL	ASPHALT	2	Major MR	02-14-2022	90	VERY GOOD

Croft Ln	Rolling Acres Drive	Sumter Dr	1,210	20	24,200	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	81	GOOD
Cromwell Way	King's Cross Road	Buckingham Way	1,464	20	29,280	RESIDENTIAL	ASPHALT	2	Global MR	02-14-2022	63	FAIR
Croom Rd (CR480)	Dempsey Rd	600' E of Withrow Rd	2,896	20	57,913	COLLECTOR	ASPHALT	2	Major MR	02-20-2022	52	FAIR
Croom Rd (CR480)	600' E of Withrow Rd	2600' W of Nobleton Croom Rd	23,080	20	461,595	COLLECTOR	ASPHALT	2	Major MR	03-31-2021	68	GOOD
Croom Rd (CR480)	Broad St (US 41)	Jacobson Rd.	8,964	21	188,251	COLLECTOR	ASPHALT	2	Major MR	03-31-2021	78	GOOD
Croom Rd (CR480)	2600' W of Nobleton Croom Rd	Nobleton Croom Rd	2,585	20	51,700	COLLECTOR	ASPHALT	2	Major MR	03-31-2021	79	GOOD
Croom Rd (CR480)	Jacobson Rd	Dempsey Rd	11,461	21	240,685	COLLECTOR	ASPHALT	2	Major MR	02-17-2022	85	VERY GOOD
Croom Ritual Rd	Cortez Blvd (SR 50)	519' S of Croom Rd	28,732	20	574,640	COLLECTOR	ASPHALT	2	Major MR	03-30-2020	73	GOOD
Croom Ritual Rd	519' S of Croom Rd	Croom Rd	519	20	10,380	COLLECTOR	ASPHALT	2	Major MR	03-31-2021	73	GOOD
Crowell Rd	W dead end	Sunshine Grove Rd	5,309	20	106,180	RESIDENTIAL	ASPHALT	2	Major MR	02-02-2022	85	VERY GOOD
Crowley Ct	S dead end	Lola Dr	369	20	7,388	RESIDENTIAL	ASPHALT	2	Major MR	02-09-2022	81	GOOD
Crum Rd	647' S of Powell Rd	Powell Rd	657	18	11,826	RESIDENTIAL	ASPHALT	2	Major MR	03-02-2022	83	VERY GOOD
Crum Rd	Mutiny Rd	647' S of Powell Rd	5,941	18	106,938	RESIDENTIAL	ASPHALT	2	Major MR	03-01-2022	85	VERY GOOD
Culbreath Rd (CR581)	Pasco County Line	Powell Rd	21,850	22	480,704	COLLECTOR	OTHER	2	Major MR	02-27-2022	71	GOOD
Cul-de-sac off of Forest Oaks Blvd	Forest Oaks Blvd	Forest Oaks Blvd	459	16	7,344	RESIDENTIAL	ASPHALT	2	Major MR	02-09-2022	32	VERY POOR
Cul-de-sac off of Forest Oaks Blvd	Forest Oaks Blvd	Forest Oaks Blvd	460	16	7,360	RESIDENTIAL	ASPHALT	2	Major MR	02-09-2022	42	POOR
Cul-de-sac off of Forest Oaks Blvd	Forest Oaks Blvd	Forest Oaks Blvd	455	16	7,280	RESIDENTIAL	ASPHALT	2	Major MR	02-09-2022	45	POOR
Cul-de-sac off of Forest Oaks Blvd	Forest Oaks Blvd	Forest Oaks Blvd	456	16	7,296	RESIDENTIAL	ASPHALT	2	Global MR	02-09-2022	47	POOR
Cul-de-sac off of Forest Oaks Blvd	Forest Oaks Blvd	Forest Oaks Blvd	455	16	7,280	RESIDENTIAL	ASPHALT	2	Major MR	02-09-2022	55	FAIR
Cul-de-sac off of Pagoda Dr	W dead end	Pagoda	273	16	4,368	RESIDENTIAL	ASPHALT	2	Global MR	03-06-2022	51	FAIR
Curran Pl	S dead end	Hoover Street	612	20	12,250	RESIDENTIAL	ASPHALT	2	Major MR	02-14-2022	56	FAIR
Curry Dr	N of Katherwood St	Mariner Blvd	1,632	20	32,640	RESIDENTIAL	ASPHALT	2	Major MR	02-07-2022	76	GOOD
Curry Dr	Mariner Blvd	E of Rhine Ave	4,550	20	90,994	RESIDENTIAL	ASPHALT	2	Major MR	02-07-2022	80	GOOD
Curtiss Ln	Lola Dr	Partridge St	934	20	18,680	RESIDENTIAL	ASPHALT	2	Major MR	02-09-2022	78	GOOD
Cyclops Dr	Cyclops Dr--Unpaved	Cortez Boulevard (CR550)	1,313	18	23,634	RESIDENTIAL	ASPHALT	2	Global MR	02-02-2022	74	GOOD
Cynthia Ln	Cadbury Rd	Kirkland Ave	2,902	20	58,040	RESIDENTIAL	ASPHALT	2	Major MR	02-02-2022	83	VERY GOOD
Cyrano Ave	Malvern St	Plum St	3,556	19	67,564	COLLECTOR	ASPHALT	2	Major MR	04-01-2020	48	POOR
Cyrano Ave	Plum St	Willow St	2,112	19	40,128	COLLECTOR	ASPHALT	2	Major MR	04-01-2020	51	FAIR
Cyril Ct	Ligonier Rd	NW end cul-de-sac	273	20	5,454	RESIDENTIAL	ASPHALT	2	Major MR	02-21-2022	54	FAIR
Cyril Dr	Merlin Circle	Cortez Blvd (SR 50)	10,023	20	200,460	RESIDENTIAL	ASPHALT	2	Global MR	03-29-2020	61	FAIR
D St	W dead end	Bethune Street	235	20	4,708	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	78	GOOD
Dagmar Ave	Apple Orchard Rd	Earlshire Lane	791	20	15,817	RESIDENTIAL	ASPHALT	2	Major MR	02-02-2022	82	VERY GOOD
Daisy Dr	Companero Entra	N dead end	668	19	12,692	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	72	GOOD
Dakota Dr	Wakefield Drive	Roper Road	1,251	18	22,518	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	72	GOOD
Dale Anne Dr	Reynolds Street	Amie Ct & Jodie West Dr	359	24	8,622	RESIDENTIAL	ASPHALT	2	Major MR	03-02-2022	95	EXCELLENT
Dale Ave	Boxwood Street	Azen Loop	1,090	18	19,617	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	63	FAIR
Dalewood Dr	Magee Street	E dead end	1,804	21	37,884	RESIDENTIAL	ASPHALT	2	Global MR	02-02-2022	67	FAIR
Dalton St	Kevin Court	Kimball Court	639	24	15,336	RESIDENTIAL	ASPHALT	2	Global MR	02-15-2022	46	POOR
Daly Rd	Lake Lindsey Rd	Osage St	2,544	20	50,887	COLLECTOR	ASPHALT	2	Major MR	03-31-2021	72	GOOD
Daly Rd	Pine Hill Dr	Lake Lindsey Rd	7,412	20	148,248	COLLECTOR	ASPHALT	2	Major MR	03-31-2021	72	GOOD
Dan Brown Hill Rd	Hayman Rd	E turn to Spring Lake Hwy	12,453	20	249,060	COLLECTOR	ASPHALT	2	Major MR	03-31-2021	72	GOOD
Dan Lynn St	Wildwood Dr	Manecke	1,784	16	28,544	RESIDENTIAL	ASPHALT	2	Global MR	03-26-2020	55	FAIR
Dan River Dr	Galaxy Avenue	N of Hampshire Avenue	2,088	20	41,761	RESIDENTIAL	ASPHALT	2	Major MR	02-15-2022	84	VERY GOOD
Dana Ave	Greenbrier Court	Earlshire Lane	478	20	9,565	RESIDENTIAL	ASPHALT	2	Major MR	02-02-2022	81	GOOD
Danbury St	Kevin Court	Kimball Court	742	24	17,808	RESIDENTIAL	ASPHALT	2	Global MR	02-15-2022	48	POOR
Dandelion Ct	County Line Rd	N of Canibean Dr	2,855	20	57,099	RESIDENTIAL	ASPHALT	2	Major MR	02-15-2022	86	VERY GOOD
Dandy Rd	W dead end	Royal Dr	764	20	15,287	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	67	FAIR
Danforth Rd	Arbuckle Road	Waterfall Drive	4,282	20	85,635	RESIDENTIAL	ASPHALT	2	Major MR	02-02-2022	77	GOOD

Danmar Ave	Willow St	Pine Hill Dr	2,561	19	48,659	COLLECTOR	ASPHALT	2	Major MR	02-15-2022	65	FAIR
Daoline Rd	W dead end	Royal Dr	687	20	13,735	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	60	FAIR
Darla Ct	Oriana Dr	E dead end	207	19	3,933	RESIDENTIAL	ASPHALT	2	Global MR	02-14-2022	66	FAIR
Darlene St	Shoal Line Boulevard (CR597)	E dead end	1,748	19	33,212	RESIDENTIAL	ASPHALT	2	Major MR	02-15-2022	89	VERY GOOD
Darnell Ave	County Line Rd	Hamlet Circle	497	20	9,946	RESIDENTIAL	ASPHALT	2	Major MR	02-15-2022	82	VERY GOOD
Daroca Ave	County Line Rd	Clearwater Drive	524	20	10,480	RESIDENTIAL	ASPHALT	2	Major MR	12-11-2019	73	GOOD
Dartmouth Ave	County Line Rd	Dan River Dr	2,697	20	53,932	RESIDENTIAL	ASPHALT	2	Major MR	02-15-2022	84	VERY GOOD
Darts St	Cortez Boulevard (CR550)	Filson Street	3,285	20	65,700	RESIDENTIAL	ASPHALT	2	Global MR	02-02-2022	56	FAIR
Davenport Ln	Cobblestone Dr	Clearwater Drive	1,333	20	26,652	RESIDENTIAL	ASPHALT	2	Major MR	12-11-2019	68	GOOD
Dawson Ave	County Line Rd	Roxboro St	599	20	11,980	RESIDENTIAL	ASPHALT	2	Major MR	12-11-2019	74	GOOD
Day St	Bluewater Ave	Bayridge Court	1,225	20	24,507	RESIDENTIAL	ASPHALT	2	Major MR	02-02-2022	82	VERY GOOD
De Carlo Ave	Spring Hill Dr	Bishop Road	1,113	20	22,260	RESIDENTIAL	ASPHALT	2	Major MR	12-02-2019	69	GOOD
De Garmo Ln	Dorsey Street	Danforth Road	312	20	6,240	RESIDENTIAL	ASPHALT	2	Major MR	02-02-2022	81	GOOD
Dean St	Denver Ave	Aaron Ln	627	20	12,540	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	74	GOOD
Dearborn Ave	Fairlane Ave	Highpoint Blvd	1,689	21	35,469	RESIDENTIAL	ASPHALT	2	Major MR	02-03-2022	65	FAIR
Deborah Dr	Spring Hill Dr	Regent Lane	2,341	20	46,820	RESIDENTIAL	ASPHALT	2	Major MR	12-03-2019	69	GOOD
Deborah Dr	Linden Dr	Spring Hill Dr	1,941	20	38,828	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	75	GOOD
Deck St	Ardenwood Dr	Lema Dr	448	20	8,960	RESIDENTIAL	ASPHALT	2	Major MR	02-23-2022	84	VERY GOOD
Deed St	W dead end	Finland Dr	202	20	4,040	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	87	VERY GOOD
Deep Creek Dr	Coronado Dr	Fillmore St	2,606	20	52,120	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	76	GOOD
Deep Creek Dr	Finland Dr	Coronado Dr	2,029	20	40,580	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	87	VERY GOOD
Deepwood St	Celia	Spangler Ave	1,976	17	33,588	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	34	VERY POOR
Deer Path Dr	W dead end	E of Candy Dr	1,359	20	27,190	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	61	FAIR
Deer Run Rd	Broad St (US 41)	3100' E of Spotted Fawn Trl	4,412	18	79,419	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	78	GOOD
Deer St	W of Caribou Dr	W of Holston Ave	2,415	20	48,308	RESIDENTIAL	ASPHALT	2	Major MR	02-14-2022	54	FAIR
Deer St	W of Holston Avenue	Linden Dr	476	20	9,527	RESIDENTIAL	ASPHALT	2	Major MR	02-14-2022	66	FAIR
Deerfield Ave	Boswell Rd	Elgin Blvd	1,905	20	38,100	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	66	FAIR
Deering Ave	Galveston Ave	Spring Hill Dr	1,644	20	32,881	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	72	GOOD
Delaware Dr	Jomel Drive	Patricia Place	7,193	20	143,855	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	72	GOOD
Delbarton St	Mariner Blvd	E of Shadydale Avenue	2,511	20	50,216	RESIDENTIAL	ASPHALT	2	Major MR	02-07-2022	83	VERY GOOD
Deleon Dr	Gulfview Dr	N dead end	335	21	7,035	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	84	VERY GOOD
Della Ct	S dead end	Caribbean Dr	640	20	12,807	INDUSTRIAL	ASPHALT	2	Major MR	02-15-2022	76	GOOD
Dellbrook Ave	Boswell Rd	Elgin Blvd	1,683	20	33,660	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	58	FAIR
Deltona Blvd (CR 589)	Philatelic Dr	Northcliffe Blvd	6,924	40	276,960	ARTERIAL	ASPHALT	4	Major MR	02-21-2022	65	FAIR
Deltona Blvd (CR 589)	184' S of Clipper Ct	Belen Ave	1,387	32	44,392	ARTERIAL	ASPHALT	2	Major MR	03-31-2021	70	GOOD
Deltona Blvd (CR 589)	Northcliffe Blvd	SR 50	7,867	20	157,340	ARTERIAL	ASPHALT	2	Major MR	03-10-2020	71	GOOD
Deltona Blvd (CR 589)	Spring Hill Dr	184' S of Clipper Ct	2,726	32	87,227	ARTERIAL	ASPHALT	2	Major MR	12-08-2019	74	GOOD
Deltona Blvd (CR 589)	Belen Ave	Philatelic Dr	9,119	32	291,799	ARTERIAL	ASPHALT	2	Major MR	02-21-2022	83	VERY GOOD
Dempsey Rd	Croom Rd	Malvern St	5,648	20	112,960	COLLECTOR	ASPHALT	2	Major MR	02-22-2022	67	FAIR
Denver Ave	Birchwood Rd	Blythville Rd	1,059	20	21,180	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	64	FAIR
Derby Ave	Sheffield Rd	Beltower St	855	20	17,100	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	59	FAIR
Des Prez Ct	Companero Entra	N dead end	1,100	19	20,900	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	78	GOOD
Desert Sparrow Ave	Jasbow Junction	Madrid Road	2,724	20	54,480	RESIDENTIAL	ASPHALT	2	Major MR	02-03-2022	82	VERY GOOD
Desmond Ave	Eldridge Road	Blaine Road	1,162	20	23,233	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	47	POOR
Detroit St	Mariner Blvd	Tuscanny Avenue	952	20	19,034	RESIDENTIAL	ASPHALT	2	Major MR	02-07-2022	82	VERY GOOD
Devlin St	Cortez Boulevard (CR550)	New Pike Avenue	420	20	8,400	RESIDENTIAL	ASPHALT	2	Global MR	02-02-2022	76	GOOD
Devonshire Ave	Norvell Road	Gondolier Road	1,376	20	27,520	RESIDENTIAL	ASPHALT	2	Global MR	02-07-2022	84	VERY GOOD
Dewberry St	Montcalm Road	Timbercrest Road	904	20	18,087	RESIDENTIAL	ASPHALT	2	Major MR	02-07-2022	77	GOOD

Dewey Ct	Whitmarsh St	E dead end	221	20	4,420	RESIDENTIAL	ASPHALT	2	Major MR	04-12-2021	80	GOOD
Dewitt Dr	Croom Rd	Patrick St	1,040	18	18,726	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	69	GOOD
Diagonal Ln	Centerwood Ave	420' N of Centerwood Avw	419	20	8,384	INDUSTRIAL	ASPHALT	2	Major MR	03-31-2021	71	GOOD
Diamond Dr	Padron Blvd	Buckingham Way	600	20	12,000	RESIDENTIAL	ASPHALT	2	Global MR	02-14-2022	70	GOOD
Diaz Ct	Companero Entra	N dead end	1,099	19	20,881	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	68	GOOD
Dill Ave	Vicksburg Rd	Spring Hill Dr	576	20	11,529	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	83	VERY GOOD
Dion Ln	Chatsworth	Vicksburg Rd	522	20	10,438	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	54	FAIR
Dior Rd	Villa Road	Goldcoast Avenue	1,147	20	22,940	RESIDENTIAL	ASPHALT	2	Global MR	02-21-2022	65	FAIR
Diplomacy Ave	Highpoint Blvd	Little Tee Lane	528	22	11,622	RESIDENTIAL	ASPHALT	2	Major MR	02-03-2022	92	EXCELLENT
Diplomat St	Congressional Avenue	Congressional Avenue	770	20	15,400	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	73	GOOD
Dirlenton Way	Galloway Road	Allen Drive	946	24	22,722	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	63	FAIR
Diver Ln	Waterfall	McNeal Rd	397	20	7,940	RESIDENTIAL	ASPHALT	2	Major MR	12-02-2019	71	GOOD
Divot Ct	S dead end	Audle Brook Dr	375	20	7,500	RESIDENTIAL	ASPHALT	2	Global MR	02-14-2022	68	GOOD
Dogwood Dr	Azalea Circle	Treiman Blvd (US 301)	2,527	16	40,438	RESIDENTIAL	ASPHALT	2	Major MR	03-02-2022	67	FAIR
Dogwood Estates Dr	Croom Rd	Wallien Drive	745	22	16,384	OTHER	ASPHALT	2	Major MR	03-31-2021	66	FAIR
Dolin Ave	Goodrich Street	Keesler Street	920	20	18,405	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	59	FAIR
Dolly Dr	S dead end	Ft Dade Ave	421	12	5,055	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	90	VERY GOOD
Dolphin St	Hawthorne Road	Dothan Avenue	705	20	14,102	RESIDENTIAL	ASPHALT	2	Major MR	02-07-2022	79	GOOD
Dolquieb Ln	Ipswitch Sparrow Rd	NW dead end	415	20	8,300	RESIDENTIAL	ASPHALT	2	Major MR	02-02-2022	94	EXCELLENT
Domingo Dr	S of Martin Drive	Eppley Drive	3,890	20	77,797	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	79	GOOD
Don Loop	Banyan Rd, circles back to self	x's: Aldoro Ave (2)	5,047	20	100,940	RESIDENTIAL	ASPHALT	2	Major MR	02-07-2022	67	FAIR
Dora St	Deltona Blvd	cul-de-sac NE of Abeline Road	1,740	20	34,800	RESIDENTIAL	ASPHALT	2	Major MR	02-07-2022	80	GOOD
Dorado St	160' E of Fairview Rd	Industrial Lp	522	20	10,435	RESIDENTIAL	ASPHALT	2	Global MR	02-07-2022	66	FAIR
Dorado St	Hawthorne Rd	160' E of Fairview Rd	583	20	11,659	RESIDENTIAL	ASPHALT	2	Major MR	02-07-2022	75	GOOD
Dorian Ave	Blanton St	Boyce St	750	20	14,996	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	70	GOOD
Dorset Rd	Hugo Ave	Sunday Rd	2,935	20	58,700	RESIDENTIAL	ASPHALT	2	Major MR	02-02-2022	81	GOOD
Dorsey St	Coachman Rd	Horizon Dr	3,531	20	70,621	RESIDENTIAL	ASPHALT	2	Major MR	02-02-2022	72	GOOD
Dothan Ave	Coronado Drive	Trollman Street	9,283	20	185,659	RESIDENTIAL	ASPHALT	2	Major MR	02-17-2022	83	VERY GOOD
Dotted Wren Ave	Jasbow Junction	Nightingale Rd	1,347	20	26,940	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	75	GOOD
Douglas Cove	Dalewood Drive	N dead end	418	20	8,360	RESIDENTIAL	ASPHALT	2	Global MR	02-02-2022	72	GOOD
Dover Ln	Linden Dr	Drayton Dr	527	20	10,546	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	87	VERY GOOD
Dow Ln	Drysdale St	Commerce Ave	1,105	20	22,100	RESIDENTIAL	ASPHALT	2	Major MR	02-23-2022	69	GOOD
Dow Ln	Commerce Ave	Carlisle Dr	4,390	20	87,801	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	78	GOOD
Downy Woodpecker Rd	E of Pomp Pkwy	S of Sampson Rd	2,830	20	56,600	RESIDENTIAL	ASPHALT	2	Global MR	02-02-2022	50	FAIR
Doxsey Hill Cir	Augustine Rd	Augustine Rd	518	20	10,368	RESIDENTIAL	ASPHALT	2	Major MR	02-07-2022	91	VERY GOOD
Dr M L King Jr Blvd	Main St	Jefferson St (SR 50A)	3,389	24	81,336	COLLECTOR	ASPHALT	2	Major MR	02-23-2022	59	FAIR
Dr M L King Jr Blvd	Broad St	Main St	4,140	20	82,800	COLLECTOR	ASPHALT	2	Major MR	02-22-2022	64	FAIR
Drake Ln	Lema Dr	Coronet Court	645	20	12,903	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	69	GOOD
Drayton Dr	Lema Dr	Cloudcroft Ave	8,190	20	163,792	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	77	GOOD
Dreams Begin Ln	Celebration Dr	Fantasy Way	360	20	7,200	RESIDENTIAL	ASPHALT	2	Major MR	02-23-2022	81	GOOD
Dressel Ave	Arslan Lane	Fish Cove Dr	632	20	12,637	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	69	GOOD
Drew St	Jacaranda Circle	Highfield Rd	8,179	20	163,580	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	78	GOOD
Driftwood Dr	CR550 (Cortez Blvd)	Floreana Ave	3,365	17	57,205	RESIDENTIAL	ASPHALT	2	Major MR	02-15-2022	91	VERY GOOD
Dristol Ave	Landover Blvd	Norwood St	5,198	20	103,960	RESIDENTIAL	ASPHALT	2	Major MR	02-21-2022	77	GOOD
Druid Rd	Hyde Park Way	Buckingham Way	906	20	18,120	RESIDENTIAL	ASPHALT	2	Global MR	02-14-2022	69	GOOD
Drummond Ave	Carthage Rd	Bayside Court	651	20	13,014	RESIDENTIAL	ASPHALT	2	Major MR	02-21-2022	56	FAIR
Drury Ln	Howell Ave	Piccadilly Dr	577	24	13,857	RESIDENTIAL	ASPHALT	2	Major MR	02-23-2022	79	GOOD
Drysdale St	Linden Dr	Ambassador Ave	7,543	20	150,868	OTHER	ASPHALT	2	Major MR	03-31-2021	72	GOOD

Dubois Ave	Pirate Lane	Drayton Dr	1,164	20	23,271	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	74	GOOD
Dumas Ave	Drysdale St	Drayton Dr	1,604	20	32,080	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	76	GOOD
Dumont Ave	Coronado Drive	N of Drysdale Street	468	30	14,048	OTHER	ASPHALT	2	Major MR	03-31-2021	80	GOOD
Dunbar St	Firwood Ave	Stratton Ave	718	20	14,365	RESIDENTIAL	ASPHALT	2	Major MR	02-14-2022	57	FAIR
Dundee Ct	Dundee Way	NW dead end	371	20	7,422	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	72	GOOD
Dundee Way	Galloway Road	St Andrews Blvd	2,076	20	41,528	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	62	FAIR
Dunkirk Rd	Waterfall Dr	Montague Ave	8,452	20	169,031	RESIDENTIAL	ASPHALT	2	Major MR	02-21-2022	59	FAIR
Dunlap Ave	Monterey St	Cooper Rd	1,114	20	22,290	RESIDENTIAL	ASPHALT	2	Major MR	02-14-2022	56	FAIR
Dunnellon Rd	W of Galloway Road	Allen Drive	1,191	20	23,821	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	63	FAIR
Dupont Ave	Ancho Ave	Jena Rd	1,461	20	29,225	RESIDENTIAL	ASPHALT	2	Major MR	02-02-2022	78	GOOD
Durham St	Galahad Ave	Kenway St	973	20	19,460	RESIDENTIAL	ASPHALT	2	Major MR	02-09-2022	85	VERY GOOD
Dusky Sparrow Rd	Albany Rd	S of Sampson Ave	1,354	20	27,080	RESIDENTIAL	ASPHALT	2	Global MR	02-02-2022	50	FAIR
Dustin Cir	Gallup Rd	Gallup Rd	1,942	20	38,840	RESIDENTIAL	ASPHALT	2	Major MR	02-07-2022	80	GOOD
Duval St	Natoma St	Capri Rd	923	20	18,466	RESIDENTIAL	ASPHALT	2	Major MR	02-02-2022	83	VERY GOOD
Dyla Way	Alba Dr	Eastwood Tr	1,152	20	23,033	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	73	GOOD
Eagle Dr	Highpoint Boulevard	Club House Rd	1,376	22	30,272	RESIDENTIAL	ASPHALT	2	Major MR	02-03-2022	89	VERY GOOD
Eagle Dr	Club House Rd	Evantide Ave	1,844	19	35,036	RESIDENTIAL	ASPHALT	2	Major MR	02-03-2022	89	VERY GOOD
Eagle Nest Dr	W dead end	Maplewood Dr	3,499	18	62,982	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	72	GOOD
Eagle Trace Dr	Rivard Blvd	Rivard Blvd	1,416	20	28,320	RESIDENTIAL	ASPHALT	2	Major MR	03-03-2020	47	POOR
Eahnestock St	Ogburn Street	Attica Avenue	761	19	14,456	RESIDENTIAL	ASPHALT	2	Major MR	02-23-2022	81	GOOD
Eakin St	Atlanta Ave	NE dead end	3,969	20	79,380	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	79	GOOD
Earlshire Ln	Greenbrier Court	Annapolis Rd	2,101	20	42,022	RESIDENTIAL	ASPHALT	2	Major MR	02-02-2022	75	GOOD
Earthwind Ct	NW cul-de-sac end	Woodland Waters Blvd	376	20	7,520	RESIDENTIAL	ASPHALT	2	Major MR	02-03-2022	75	GOOD
East Ave	Fl Dade Ave	Manecke Rd	2,602	20	52,040	OTHER	ASPHALT	2	Major MR	02-23-2022	46	POOR
East Richard Dr	S dead end	Richard Dr	2,202	18	39,644	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	79	GOOD
Eastbrook Dr	NW of Telford Court	Landmark Dr	3,076	20	61,520	RESIDENTIAL	ASPHALT	2	Major MR	02-15-2022	65	FAIR
Eastern Circle Dr	Harker St	Highpoint Blvd	3,369	22	74,123	RESIDENTIAL	ASPHALT	2	Major MR	02-03-2022	88	VERY GOOD
Eastmount Rd	Millmount Lane	Nugent Circle	934	21	19,614	RESIDENTIAL	ASPHALT	2	Global MR	02-07-2022	72	GOOD
Eastpoint Ct	Cactus Circle	N of Rusk Circle	1,155	20	23,096	RESIDENTIAL	ASPHALT	2	Major MR	02-15-2022	81	GOOD
Eastside Ave	Lehouier Dr	Campbell Dr	1,489	20	29,780	RESIDENTIAL	ASPHALT	2	Major MR	02-23-2022	55	FAIR
Eastwood Trl	S dead end	S of Alba Dr	728	20	14,554	RESIDENTIAL	ASPHALT	2	Major MR	02-23-2022	55	FAIR
Eastwood Trl	S of Alba Dr	S of Atwater Dr	299	20	5,975	RESIDENTIAL	ASPHALT	2	Major MR	02-23-2022	71	GOOD
Eastwood Trl	S of Atwater Dr	Spring Park Way	4,535	20	90,700	RESIDENTIAL	ASPHALT	2	Global MR	02-22-2022	78	GOOD
Easy St	32' S of Dr M L King Jr Blvd	Dr M L King Jr Blvd	32	18	576	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	61	FAIR
Easy St	S dead end	32' S of Dr. M.L. King Jr Blvd	969	19	18,411	RESIDENTIAL	ASPHALT	2	Major MR	02-23-2022	82	VERY GOOD
Echo Ln	Waterfall Dr	Apple Orchard Rd	873	20	17,464	RESIDENTIAL	ASPHALT	2	Major MR	02-02-2022	67	FAIR
Eclipse Ct	Aloe Dr	N dead end	373	20	7,460	RESIDENTIAL	ASPHALT	2	Global MR	02-09-2022	72	GOOD
Eddington Rd	Higate Rd	Prescott St (2)	2,914	20	58,279	RESIDENTIAL	ASPHALT	2	Major MR	02-21-2022	73	GOOD
Eden Cir	Waterfall Dr	Waterfall Dr	539	20	10,779	RESIDENTIAL	ASPHALT	2	Major MR	02-02-2022	71	GOOD
Edgehill Ave	Pinehurst Dr	Fairlawn Street	2,644	20	52,880	RESIDENTIAL	ASPHALT	2	Global MR	02-16-2022	69	GOOD
Edgewater Ave	Nobleton Croom Rd	Lake Lindsey Rd (CR476)	2,884	20	57,685	COLLECTOR	ASPHALT	2	Major MR	02-15-2022	65	FAIR
Edinburgh Way	S of Glen Cove Road	Glasgow Road	1,582	20	31,633	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	77	GOOD
Edison St	Fairbanks Rd	Hallcrest Ave	346	20	6,927	RESIDENTIAL	ASPHALT	2	Major MR	02-03-2022	71	GOOD
Edison St	W of Fairbanks Rd	Fairbanks Rd	396	20	7,922	RESIDENTIAL	ASPHALT	2	Major MR	02-02-2022	79	GOOD
Edward R Noll Dr	Anderson Snow Rd	N dead end	2,829	20	56,574	INDUSTRIAL	ASPHALT	2	Major MR	03-31-2021	74	GOOD
Edwards Ave	Sunnyside dr	Mitchell Rd	361	16	5,781	RESIDENTIAL	ASPHALT	2	Major MR	02-23-2022	77	GOOD
Eggers Ln	Mackinaw Rd	Madrid Rd	329	20	6,580	RESIDENTIAL	ASPHALT	2	Major MR	02-03-2022	94	EXCELLENT
Egret Ave	Nightwalker Rd	Nittany Rd	2,534	20	50,678	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	79	GOOD

Eider Ave	Nightingale Rd	E of Madrid Rd	1,885	20	37,700	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	78	GOOD
Eileen Ave	Lema Dr	Elston St	341	20	6,823	RESIDENTIAL	ASPHALT	2	Major MR	02-07-2022	73	GOOD
Eisenhower St	Cortez Boulevard (CR550)	NE dead end	1,158	19	22,002	RESIDENTIAL	ASPHALT	2	Global MR	02-03-2022	60	FAIR
El Camino St	Danforth Rd	Meredith Dr	1,243	20	24,863	RESIDENTIAL	ASPHALT	2	Major MR	02-03-2022	74	GOOD
El Portico Ln	Casa Grande Circle	N dead end	323	20	6,460	RESIDENTIAL	ASPHALT	2	Global MR	02-14-2022	67	FAIR
El Prado Ave	Palomar St	Vicking Court	1,215	20	24,300	RESIDENTIAL	ASPHALT	2	Global MR	02-07-2022	60	FAIR
Elder St	Pinehurst Dr	Talbot Circle	544	24	13,056	RESIDENTIAL	ASPHALT	2	Global MR	02-15-2022	71	GOOD
Eldorado Ave	Highpoint Blvd	Nielson Ave	1,564	21	32,836	RESIDENTIAL	ASPHALT	2	Major MR	02-03-2022	89	VERY GOOD
Eldridge Rd	Waterfall Dr; x's: Spring Hill Dr	Van Allen Way	9,660	20	193,200	OTHER	ASPHALT	2	Major MR	02-03-2022	77	GOOD
Eldron St	Fairhaven Ave	Dellbrook Ave	1,062	20	21,240	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	69	GOOD
Eleanor St	W of Giralda Ave	Deltona Blvd	611	20	12,220	RESIDENTIAL	ASPHALT	2	Major MR	02-09-2022	81	GOOD
Elgin Blvd (CR572)	Deltona Blvd	Mariner Blvd	13,426	30	510,280	COLLECTOR	ASPHALT	2	Major MR	03-10-2020	74	GOOD
Elgin Blvd (CR572)	Mariner Blvd	425' E of Tanner Rd	3,563	48	171,024	COLLECTOR	ASPHALT	4	Major MR	03-30-2020	76	GOOD
Elgin Blvd (CR572)	425' E of Tanner Rd	Barclay Ave/Powell Rd	9,466	48	454,368	COLLECTOR	ASPHALT	4	Major MR	02-21-2022	86	VERY GOOD
Elgin Blvd (CR572)	Freeport Drive	Deltona Blvd	1,265	20	25,300	OTHER	ASPHALT	2	Major MR	02-03-2022	79	GOOD
Elgrove St	Cul-de-sac SE of Eric St	Deltona Blvd	1,616	20	32,321	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	75	GOOD
Elida Rd	Dorsey St; x's: Horizon Dr	Brady St	4,678	20	93,558	RESIDENTIAL	ASPHALT	2	Major MR	02-03-2022	75	GOOD
Elise Ln	Schalekamp Dr	Krista Dr	669	20	13,380	RESIDENTIAL	ASPHALT	2	Major MR	02-09-2022	78	GOOD
Elk Ln	Harrow Rd	Norbert St	719	20	14,379	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	72	GOOD
Elkin Ave	Freeport Drive	N of Hope Lane	823	20	16,464	RESIDENTIAL	ASPHALT	2	Major MR	02-03-2022	85	VERY GOOD
Elm Ct	Frost Road	NW dead end	249	20	4,971	RESIDENTIAL	ASPHALT	2	Major MR	02-03-2022	90	VERY GOOD
Elmore Dr	Grayton Dr	Linden Dr	1,725	20	34,504	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	62	FAIR
Elmira St	Greynolds Avenue	Windbrook Avenue	652	20	13,036	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	66	FAIR
Elston St	Irontdale Ave	Gretna Dr	1,467	20	29,331	RESIDENTIAL	ASPHALT	2	Major MR	02-07-2022	75	GOOD
Elwood Rd	E of Gondolier Rd	Mariner Blvd	5,246	21	110,166	OTHER	ASPHALT	2	Global MR	02-21-2022	51	FAIR
Elwood Rd	E dead end	E of Gondolier Rd	1,446	20	28,920	RESIDENTIAL	ASPHALT	2	Global MR	02-21-2022	51	FAIR
Elwood Rd	Mariner Blvd	Elgin Blvd	5,577	20	111,540	RESIDENTIAL	ASPHALT	2	Major MR	02-22-2022	63	FAIR
Elwood Rd	Elgin Blvd	N of Topaz St	470	20	9,400	RESIDENTIAL	ASPHALT	2	Major MR	02-22-2022	68	GOOD
Embassy Ave	Cascade St	Tarrytown Dr	1,182	24	28,368	RESIDENTIAL	ASPHALT	2	Global MR	02-15-2022	63	FAIR
Emerald Dr	SR 50	Ridge Manor Blvd	2,888	16	46,214	RESIDENTIAL	ASPHALT	2	Major MR	02-15-2022	74	GOOD
Emerald Ridge Ct	Augustine Rd	E dead end	730	20	14,598	RESIDENTIAL	ASPHALT	2	Major MR	02-08-2022	91	VERY GOOD
Emerson Rd (CR581)	1640' S. of Cortez Blvd (SR 50)	Cortez Blvd (SR 50)	1,639	24	39,347	COLLECTOR	ASPHALT	2	Global MR	03-31-2021	50	FAIR
Emerson Rd (CR581)	Approx. 681' N of Mitchell Rd	1640' S of Cortez Blvd (SR 50)	1,409	36	50,724	COLLECTOR	ASPHALT	3	Global MR	03-31-2021	71	GOOD
Emerson Rd (CR581)	Powell Rd	681' N of Mitchell Rd	12,402	20	248,047	COLLECTOR	ASPHALT	2	Major MR	02-27-2022	71	GOOD
Emerson Rd (CR581)	Cortez Blvd (SR 50)	Jefferson St (SR 50A)	2,437	20	48,740	COLLECTOR	ASPHALT	2	Major MR	03-31-2021	75	GOOD
Emily Dr	W & E dead ends	x's: Laumer Ave	1,414	24	33,958	RESIDENTIAL	ASPHALT	2	Major MR	03-02-2022	82	VERY GOOD
Enchantment Dr	Lauren Dr	E dead end,x's:Fenian Dr	1,446	24	34,727	RESIDENTIAL	ASPHALT	2	Global MR	02-09-2022	68	GOOD
Endsley Rd	Culbreath Road	Satum Rd	4,950	18	89,097	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	35	POOR
Endsley Rd	Satum Rd	2400' S of Powell Rd	5,781	16	92,496	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	60	FAIR
Endsley Rd	2400' S of Powell Rd	Powell Road	2,415	20	48,308	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	76	GOOD
Enfield Ave	Sheffield Rd	Belttower St	943	20	18,860	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	54	FAIR
English Elm Cir	Harrow Road (2)	W end cul-de-sac	1,338	24	32,133	RESIDENTIAL	ASPHALT	2	Global MR	02-09-2022	60	FAIR
English Sparrow Rd	Quigley Ave	Barnevelde Rd	2,421	20	48,415	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	71	GOOD
Enterprise Dr	Wakefield Drive	Roper Road	1,248	20	24,963	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	80	GOOD
Epic Ln	Deltona Blvd	Abeline Road	436	20	8,720	RESIDENTIAL	ASPHALT	2	Major MR	02-09-2022	81	GOOD
Eppley Dr	Wallen Drive	Weeks Drive	3,402	20	68,044	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	67	FAIR
Eric St	Harrow Rd	Elgrove St	2,327	20	46,540	RESIDENTIAL	ASPHALT	2	Major MR	02-22-2022	55	FAIR
Escobar Ave	S of Linden Dr	Spring Hill Dr	1,670	20	33,400	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	68	GOOD

Escobar Ave	Spring Hill Dr	Maderia St	1,451	20	29,016	RESIDENTIAL	ASPHALT	2	Major MR	12-02-2019	70	GOOD
Eskimo Curlew Rd	Hexam Rd	4360' N of Hexam Rd	4,360	20	87,200	OTHER	ASPHALT	2	Major MR	02-03-2022	87	VERY GOOD
Esmont Ave	Linden Dr	Lightwood St	639	20	12,780	RESIDENTIAL	ASPHALT	2	Major MR	02-14-2022	70	GOOD
Essex Ln	Cadbury Rd	Kirkland Ave	2,477	20	49,538	RESIDENTIAL	ASPHALT	2	Major MR	02-03-2022	86	VERY GOOD
Estates Ave	Jefferson St	Ft Dade Ave	1,312	18	23,609	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	77	GOOD
Ester Dr	Eton Rd	Sunshine Grove Rd	2,602	20	52,040	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	84	VERY GOOD
Estill Ave	Maderia St	Marysville St	1,059	20	21,180	RESIDENTIAL	ASPHALT	2	Major MR	12-04-2019	66	FAIR
Eton Rd	Convent Garden Rd	Convent Garden Rd	96	20	1,920	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	79	GOOD
Eton Rd	Meinert Ave	Ester Dr	96	20	1,920	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	90	VERY GOOD
Etta Ave	Aladdin Road	Wilburton Street	823	20	16,454	RESIDENTIAL	ASPHALT	2	Major MR	02-15-2022	54	FAIR
Euclid Ave	Payne Street	Prospect Street	540	20	10,809	RESIDENTIAL	ASPHALT	2	Major MR	02-08-2022	74	GOOD
Eunice Ave	Bonkirk Ave	Stacy St	1,164	20	23,280	RESIDENTIAL	ASPHALT	2	Major MR	12-04-2019	64	FAIR
Eustace St	Carmona Avenue	E of Gatewood Avenue	1,119	20	22,387	RESIDENTIAL	ASPHALT	2	Major MR	12-02-2019	74	GOOD
Eva Ave	Redgate St	Portsmouth St	612	20	12,240	RESIDENTIAL	ASPHALT	2	Major MR	12-04-2019	63	FAIR
Evangelina Ave	Rio Circle	Lacy St	1,599	20	31,980	RESIDENTIAL	ASPHALT	2	Major MR	12-02-2019	71	GOOD
Evans Ave	Captain Dr	Clingman St	630	20	12,600	RESIDENTIAL	ASPHALT	2	Major MR	12-02-2019	65	FAIR
Evanston St	Cortez Boulevard (CR550)	Magee Street	1,194	21	25,074	RESIDENTIAL	ASPHALT	2	Global MR	02-03-2022	79	GOOD
Evantide Ave	Fiesta St	Stockholm St	1,448	20	28,960	RESIDENTIAL	ASPHALT	2	Major MR	02-03-2022	94	EXCELLENT
Evoro Ave	Shalimar Ave	Brentlawn St	513	20	10,260	RESIDENTIAL	ASPHALT	2	Major MR	02-03-2022	80	GOOD
Evenglow Ave	Glennidge Dr	Baxley St	2,930	20	58,604	RESIDENTIAL	ASPHALT	2	Major MR	02-23-2022	84	VERY GOOD
Evening Star Ave	Broad St (US 41)	Deepwood St	1,311	16	20,977	RESIDENTIAL	ASPHALT	2	Major MR	04-12-2021	37	POOR
Everard Dr	W of Martina Dr	E dead end,x's:Cressida Circle	2,664	20	53,280	RESIDENTIAL	ASPHALT	2	Global MR	02-15-2022	63	FAIR
Everest St	Newhope Rd	Pilgrim Rd	973	20	19,460	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	63	FAIR
Everett Ave	Landover Blvd	Norwood Street	5,532	20	110,640	RESIDENTIAL	ASPHALT	2	Major MR	02-22-2022	73	GOOD
Evergreen Ave	Pitcairn St	NE. dead end	3,670	22	80,740	RESIDENTIAL	ASPHALT	2	Global MR	03-24-2020	59	FAIR
Evergreen Way	Cardinal Dr	Bobwhite Court	1,123	18	20,215	RESIDENTIAL	ASPHALT	2	Major MR	03-02-2022	81	GOOD
Excalibur Rd	Juniper Ave	Ricker Ave	658	18	11,841	RESIDENTIAL	ASPHALT	2	Major MR	02-15-2022	56	FAIR
Exmore St	Weldon Ave	Landover Blvd	1,262	20	25,240	RESIDENTIAL	ASPHALT	2	Major MR	02-22-2022	49	POOR
Exotic Ave	Trout Cir	Comstock St	1,228	20	24,569	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	80	GOOD
Faber Dr	Frisco Road	Goucher Ave	2,848	19	54,110	RESIDENTIAL	ASPHALT	2	Major MR	02-23-2022	87	VERY GOOD
Faber Dr	Goucher Ave	SR 50	618	18	11,117	RESIDENTIAL	ASPHALT	2	Major MR	02-23-2022	94	EXCELLENT
Fair Oaks St	Cobblestone Dr	Tarrytown Dr	1,366	20	27,320	RESIDENTIAL	ASPHALT	2	Global MR	02-16-2022	73	GOOD
Fairbanks Rd	Hallcrest Avenue	E of Hallcrest Avenue	2,269	20	45,375	RESIDENTIAL	ASPHALT	2	Major MR	02-03-2022	78	GOOD
Fairchild Rd	W of Pala Way	Mariner Blvd	2,431	20	48,620	RESIDENTIAL	ASPHALT	2	Global MR	02-15-2022	74	GOOD
Fairhaven Ave	Courtland Rd	Topaz Rd	2,348	20	46,960	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	65	FAIR
Fairlane Ave	Highpoint Blvd	Formosa St	5,968	21	125,328	RESIDENTIAL	ASPHALT	2	Major MR	03-06-2022	85	VERY GOOD
Fairlawn St	Treehaven Dr	Cobblestone Drive	2,231	24	53,544	RESIDENTIAL	ASPHALT	2	Global MR	02-16-2022	61	FAIR
Fairmont Dr	Winthrop Dr	Oak Chase Blvd	2,519	20	50,372	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	79	GOOD
Fairview Rd	Nugent Cir	Spring Hill Dr	4,867	20	97,339	RESIDENTIAL	ASPHALT	2	Major MR	02-23-2022	79	GOOD
Fairway Ave	W of Par St	Eastern Circle Dr	6,833	22	150,319	RESIDENTIAL	ASPHALT	2	Major MR	02-03-2022	87	VERY GOOD
Fairway Dr	NW of Tee Dr	Unpaved section	2,081	20	41,620	RESIDENTIAL	ASPHALT	2	Major MR	02-15-2022	44	POOR
Fairway Dr	Country Club Dr	NW of Tee Dr	1,850	20	37,000	RESIDENTIAL	ASPHALT	2	Major MR	02-15-2022	55	FAIR
Faith Ct	Waterfall Dr	SE dead end	283	20	5,658	RESIDENTIAL	ASPHALT	2	Major MR	02-03-2022	66	FAIR
Falcon Ave	Cambay Lane	Apple Orchard Rd	432	20	8,637	RESIDENTIAL	ASPHALT	2	Major MR	02-03-2022	71	GOOD
Fall St	Horn Ave	320' N of Horn Ave	320	24	7,680	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	77	GOOD
Falls Hollow Dr	SE dead end	Forest Creek Dr	1,252	20	25,041	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	76	GOOD
Falmouth Ct	SW dead end	Fairbanks Rd	1,192	20	23,845	RESIDENTIAL	ASPHALT	2	Major MR	02-03-2022	74	GOOD
Fantasy Way	Celebration Dr	S cul-de-sac end	1,175	20	23,500	RESIDENTIAL	ASPHALT	2	Major MR	02-23-2022	75	GOOD

Fargo Ct	County Line Rd	N dead end	557	20	11,136	RESIDENTIAL	ASPHALT	2	Major MR	02-25-2020	73	GOOD
Farley Ave	Garrison St	Autumn Rd	1,362	20	27,240	RESIDENTIAL	ASPHALT	2	Major MR	02-03-2022	82	VERY GOOD
Farnsworth Blvd	County Line Rd	Quality Dr	799	24	19,183	OTHER	ASPHALT	2	Major MR	12-05-2019	73	GOOD
Fawn Ln	Maderia Street	Rio Circle	512	20	10,240	RESIDENTIAL	ASPHALT	2	Major MR	12-02-2019	65	FAIR
Fay Ave	S of Cromwell Way	Genter Dr	1,040	20	20,800	RESIDENTIAL	ASPHALT	2	Global MR	02-15-2022	55	FAIR
Fay Ave	Genter Dr	Coronado Dr	451	20	9,020	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	83	VERY GOOD
Fayetteville Dr	Coronado Dr	Glenridge Dr	4,828	20	96,550	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	75	GOOD
Fayson Ln	Spring Hill Dr	Arrendonda Ave	1,094	20	21,874	RESIDENTIAL	ASPHALT	2	Major MR	02-08-2022	78	GOOD
Feather St	Linden dr	Maximilian Avenue	1,120	21	23,520	RESIDENTIAL	ASPHALT	2	Major MR	02-08-2022	76	GOOD
Feather St	Corydon Ave	Linden Dr	2,074	20	41,480	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	82	VERY GOOD
Fell St	Mariner Blvd	Keoprt Dr	330	20	6,600	RESIDENTIAL	ASPHALT	2	Major MR	12-03-2019	71	GOOD
Felton Ln	Fair Oaks St	Catalina St	397	24	9,528	RESIDENTIAL	ASPHALT	2	Global MR	02-16-2022	55	FAIR
Fenian Dr	Elgin Blvd	N dead end,x's:Lauren Dr	1,038	24	24,928	RESIDENTIAL	ASPHALT	2	Global MR	02-09-2022	66	FAIR
Fentress Ct	Spring Hill Dr	E of Glenridge Dr	1,800	20	36,000	RESIDENTIAL	ASPHALT	2	Major MR	02-23-2022	75	GOOD
Fentress Ct	Comstock St	Spring Hill Dr	1,159	20	23,181	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	80	GOOD
Ferendina Way	E of Finland Dr	Staten Ave	2,310	20	46,203	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	81	GOOD
Ferguson Ave	Corinthian St	Deep Creek Dr	2,423	20	48,467	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	66	FAIR
Fern Dr	River Country Dr	Delaware Drive	962	20	19,240	RESIDENTIAL	ASPHALT	2	Major MR	02-22-2022	58	FAIR
Fernery Ave	Dakota Drive	Canmie Street	1,492	18	26,856	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	67	FAIR
Fernleaf Dr	Hermosa Blvd	N dead end	1,005	20	20,100	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	68	GOOD
Fieldbrook St	275' W of Edgewater Ave	Edgewater Ave	264	18	4,756	RESIDENTIAL	ASPHALT	2	Major MR	02-16-2022	62	FAIR
Fieldcrest Ln	Turn to North	N cul-de-sac end	785	20	15,707	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	37	POOR
Fieldstone Ln	Holiday Dr	Tryon Cir	969	20	19,379	RESIDENTIAL	ASPHALT	2	Major MR	12-09-2019	66	FAIR
Fieldvue Rd	Convent Garden Rd	Meinert Ave	773	20	15,460	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	78	GOOD
Fiesta St	Baltic St	Fairway Ave	2,058	22	45,276	RESIDENTIAL	ASPHALT	2	Major MR	02-02-2022	95	EXCELLENT
Fifer Ln	Fayetteville Dr	Glen Haven St	408	20	8,163	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	87	VERY GOOD
Fillmore St	Coronado Dr	Corydon Ave	5,178	20	103,569	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	79	GOOD
Filson St	Laurel Street	Darts Street	2,708	21	56,868	RESIDENTIAL	ASPHALT	2	Global MR	02-03-2022	56	FAIR
Finance Ave	Westside Avenue	E dead end	456	12	5,472	RESIDENTIAL	ASPHALT	2	Major MR	02-16-2022	86	VERY GOOD
Finch Rd	Old Squaw Ave	Parade Ave	3,411	20	68,220	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	78	GOOD
Findlay Ave	Corrigan St	Deep Creek Dr	1,436	20	28,715	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	79	GOOD
Fine St	West Richard Dr	E dead end	1,034	20	20,680	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	85	VERY GOOD
Finland Dr	Spring Hill Dr	Coronado Drive	1,984	20	39,681	RESIDENTIAL	ASPHALT	2	Major MR	02-23-2022	68	GOOD
Finland Dr	Ferendina Way	Spring Hill Dr	4,462	20	89,231	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	76	GOOD
Finsbury Dr	Hartford Heights St	Hartford Heights St	2,788	20	55,760	RESIDENTIAL	ASPHALT	2	Major MR	02-15-2022	57	FAIR
Fir St	Evergreen Ave	N dead end	617	22	13,566	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	77	GOOD
Firefly St	Ambassador Avenue	Dow Lane	1,304	20	26,080	RESIDENTIAL	ASPHALT	2	Major MR	02-08-2022	72	GOOD
Fireside St	Holiday Drive	Holiday Drive	1,963	23	45,149	RESIDENTIAL	ASPHALT	2	Global MR	02-16-2022	68	GOOD
First Cir Dr	Fairlane Ave	Western Circle Dr	3,577	21	75,117	RESIDENTIAL	ASPHALT	2	Major MR	02-02-2022	86	VERY GOOD
First Loop Ave	Fairlane Ave	First Circle Dr	1,601	21	33,621	RESIDENTIAL	ASPHALT	2	Major MR	02-02-2022	83	VERY GOOD
Firwood Ave	Brighton St	Tyrington St	2,050	20	41,000	RESIDENTIAL	ASPHALT	2	Major MR	02-15-2022	57	FAIR
Fish Cove Dr	Lema Drive	Coronado Drive	3,653	20	73,053	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	77	GOOD
Fish Eagle Blvd	Cortez Blvd	Tundra Dr	373	33	12,320	INDUSTRIAL	ASPHALT	3	Major MR	03-23-2020	68	GOOD
Fisher Ave	Baxley Street	Coronet Court	702	20	14,048	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	79	GOOD
Fishman Ave	Driftwood Dr	Cortez Blvd (CR550)	488	18	8,784	RESIDENTIAL	ASPHALT	2	Major MR	03-12-2020	71	GOOD
Flag Rd	Tournament Dr	Greenturf Rd	701	20	14,020	RESIDENTIAL	ASPHALT	2	Global MR	02-15-2022	53	FAIR
Flagler Ave	Boxwood Street	Azen Loop	1,085	18	19,526	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	87	VERY GOOD
Flagstaff Dr	W of Winchell Run	E of Fox Run	2,517	21	52,857	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	41	POOR

Fleming Blvd	SW dead end	Calienta St	6,516	20	130,320	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	70	GOOD
Fleming Ln	Orchid Pkwy	Dogwood Drive	1,477	16	23,635	RESIDENTIAL	ASPHALT	2	Major MR	03-02-2022	80	GOOD
Flatwood Ave	Nightwalker Rd	Madrid Rd	3,755	20	75,100	RESIDENTIAL	ASPHALT	2	Major MR	03-24-2020	74	GOOD
Flexer Dr	Gulfview Dr	N dead end	1,391	21	29,211	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	67	FAIR
Flicker Rd	Meadow Swallow Ave	Hexam Rd	1,196	18	21,528	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	67	FAIR
Flintshire Ct	Floral Drive	SE dead end	140	20	2,800	RESIDENTIAL	ASPHALT	2	Major MR	02-22-2022	38	POOR
Flock Ave	Madrid Rd	Marston Rd	1,621	20	32,420	RESIDENTIAL	ASPHALT	2	Major MR	03-24-2020	64	FAIR
Flock Ave	Nittany Rd	Madrid Rd	1,059	20	21,180	RESIDENTIAL	ASPHALT	2	Major MR	03-24-2020	75	GOOD
Floral Dr	Patricia Place	Delaware Drive	4,118	20	82,360	RESIDENTIAL	ASPHALT	2	Major MR	03-10-2020	64	FAIR
Floreana Ave	Driftwood Dr	Cortez Blvd (CR550)	493	15	7,395	RESIDENTIAL	ASPHALT	2	Major MR	02-16-2022	93	EXCELLENT
Florentine Ct	S of Loretto St	N of Belltower St	4,032	20	80,640	RESIDENTIAL	ASPHALT	2	Major MR	02-22-2022	57	FAIR
Florian Way	circle near Bolander Ave	SE of Linden Dr	4,849	20	96,980	RESIDENTIAL	ASPHALT	2	Global MR	02-15-2022	69	GOOD
Flounder Dr	Fleming Blvd	N dead end	711	24	17,075	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	79	GOOD
Flower Ave	Mazette Rd	Marston Rd	780	20	15,600	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	75	GOOD
Flower Ave	Marston Rd	Cockatoo Rd	850	20	17,005	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	81	GOOD
Flowerwood Ct	Fleming Blvd	SE dead end	310	24	7,445	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	77	GOOD
Floyd Ln	Coachman Rd	Philadelphia Ave	463	20	9,260	RESIDENTIAL	ASPHALT	2	Major MR	02-03-2022	80	GOOD
Flycatcher Rd	Convent Garden Rd	Hexam Rd	2,406	20	48,120	RESIDENTIAL	ASPHALT	2	Major MR	04-12-2021	88	VERY GOOD
Flynn Ln	Hazelton St	Gibraltar St	526	20	10,520	RESIDENTIAL	ASPHALT	2	Major MR	02-03-2022	72	GOOD
Flyway Dr	Breakwater Blvd	E dead end	2,060	20	41,200	RESIDENTIAL	ASPHALT	2	Global MR	02-07-2022	66	FAIR
Foley St	Fitzhugh Ave	Croom Rd	1,599	18	28,780	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	65	FAIR
Folger St	Corinthian St	Corolla Ave	2,641	20	52,823	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	68	GOOD
Folkstone St	Osceola Dr	Ridge Rd	1,733	20	34,660	RESIDENTIAL	ASPHALT	2	Major MR	02-22-2022	54	FAIR
Fool Duck Ave	Mazette Rd	Cockatoo Rd	1,518	20	30,360	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	74	GOOD
Foothill St	Grayton Dr	E of Bluestone Ave	1,238	20	24,762	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	65	FAIR
Forbes St	Lake Lindsey Rd (CR476)	300' W of Panola Ave	725	18	13,045	RESIDENTIAL	ASPHALT	2	Major MR	02-16-2022	65	FAIR
Forbes St	300' W of Panola Ave	Lake Lindsey Rd (CR476)	1,951	18	35,110	RESIDENTIAL	ASPHALT	2	Major MR	02-16-2022	65	FAIR
Fordham St	W of Greynolds Ave	Chapel Ave	1,976	20	39,525	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	78	GOOD
Forest Creek Dr	W of Valley Spring Dr	Valley Spring Dr	3,019	20	60,380	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	57	FAIR
Forest Crest Ct	W dead end	Preston Hollow Dr	649	20	12,980	RESIDENTIAL	ASPHALT	2	Global MR	02-15-2022	62	FAIR
Forest Oaks Blvd	US 19	Deltona Blvd	8,807	24	211,507	COLLECTOR	ASPHALT	2	Global MR	02-22-2022	57	FAIR
Forest Rd	872' N of Trenton Ave	432' S of Timber Pines Dr	827	22	18,194	INDUSTRIAL	ASPHALT	2	Major MR	02-16-2022	48	POOR
Forest Rd	Trenton Ave	872' N of Trenton Ave	872	22	19,184	INDUSTRIAL	ASPHALT	2	Major MR	02-26-2020	60	FAIR
Forest Rd	Timber Pines Dr	Commercial Way	2,390	24	57,360	INDUSTRIAL	ASPHALT	2	Major MR	02-26-2020	63	FAIR
Forest Rd	432' S of Timber Pines Dr	Timber Pines Dr	495	22	10,890	INDUSTRIAL	ASPHALT	2	Major MR	02-26-2020	66	FAIR
Forest Wood Ct	W of Preston Hollow Dr	NE of Clarendon Court	3,678	20	73,560	RESIDENTIAL	ASPHALT	2	Global MR	02-15-2022	72	GOOD
Forkland St	Gemin Av	Lingle Rd (CR439)	385	18	6,929	RESIDENTIAL	ASPHALT	2	Major MR	02-16-2022	75	GOOD
Formosa St	Fairlane Ave	Fairway Ave	2,285	20	45,700	RESIDENTIAL	ASPHALT	2	Major MR	02-02-2022	90	VERY GOOD
Forsythe St	Cortez Boulevard (CR550)	New Pike Avenue	434	20	8,680	RESIDENTIAL	ASPHALT	2	Global MR	02-03-2022	68	GOOD
Fort Dade Ave (CR484)	Citrus Way	Cobb Rd	9,338	20	186,760	COLLECTOR	ASPHALT	2	Major MR	04-16-2020	43	POOR
Fort Dade Ave (CR484)	Wiscon Rd	Cortez Blvd (SR50)	2,849	18	51,282	COLLECTOR	ASPHALT	2	Major MR	04-16-2020	51	FAIR
Fort Dade Ave (CR484)	Cobb Rd	Ponce De Leon Blvd (US98)	7,413	20	148,260	COLLECTOR	ASPHALT	2	Major MR	02-20-2022	64	FAIR
Fort Dade Ave (CR484)	Cortez Blvd (SR 50)	Citrus Way	7,515	20	150,300	COLLECTOR	ASPHALT	2	Major MR	03-31-2021	71	GOOD
Fort Dade Ave, E (CR484)	Main St	US41 / Mondon Hill Rd	3,291	28	92,148	COLLECTOR	ASPHALT	2	Major MR	03-26-2020	71	GOOD
Fort Dade Ave, W (CR484)	US98	Main St	3,154	20	63,080	COLLECTOR	ASPHALT	2	Major MR	03-31-2021	57	FAIR
Fortune St	Candler Avenue	Weldon Avenue	1,121	20	22,420	RESIDENTIAL	ASPHALT	2	Major MR	02-22-2022	59	FAIR
Forzando Ave	Casson St	Arizona St	740	18	13,316	OTHER	ASPHALT	2	Major MR	02-24-2022	84	VERY GOOD
Forzando Ave	Arizona St	California St	2,716	20	54,317	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	71	GOOD

Founder Rd	Deltona Blvd	Meadow Lark Rd	2,487	20	49,740	RESIDENTIAL	ASPHALT	2	Major MR	02-07-2022	71	GOOD
Fountain Ct	County Line Rd	Hallow Ave	1,393	20	27,860	RESIDENTIAL	ASPHALT	2	Major MR	12-11-2019	70	GOOD
Fourwind Ln	Toledo Rd	Cobblestone Dr	575	20	11,500	RESIDENTIAL	ASPHALT	2	Major MR	02-16-2022	91	VERY GOOD
Fowler Ln	Eric Street	Maxwell Avenue	548	20	10,960	RESIDENTIAL	ASPHALT	2	Major MR	02-09-2022	83	VERY GOOD
Fox Chapel Ln	Freeport Drive	Deltona Blvd	1,089	20	21,780	OTHER	ASPHALT	2	Major MR	02-03-2022	85	VERY GOOD
Fox Run	Albany Rd	Flagstaff Drive	533	21	11,193	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	60	FAIR
Fox Sparrow Ave	W of Nightwalker Rd	Nuzum Rd	1,570	20	31,408	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	63	FAIR
Foxboro Ln	Elgrove Street	Abeline Road	891	20	17,820	RESIDENTIAL	ASPHALT	2	Major MR	02-09-2022	80	GOOD
Foxdale Ln	Dustin Circle	Gallup Road	599	20	11,980	RESIDENTIAL	ASPHALT	2	Major MR	02-09-2022	79	GOOD
Foxhall Ct	Westwind Street	NW dead end	329	17	5,593	RESIDENTIAL	ASPHALT	2	Major MR	02-16-2022	95	EXCELLENT
Frampton Ave	Raley Road	SR 50	4,385	18	78,930	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	69	GOOD
Franconia Ave	Beachwood Ct	Swiss Rd, x's:Northcliffe Blvd	1,534	20	30,680	RESIDENTIAL	ASPHALT	2	Major MR	02-03-2022	81	GOOD
Frank Ct	South end, x's Bertram Rd	Mc Allister St	713	24	17,112	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	54	FAIR
Fraser St	Pacheco Rd	Pacheco Rd	1,220	16	19,523	RESIDENTIAL	ASPHALT	2	Major MR	03-02-2022	79	GOOD
Freeport Dr	Deltona Blvd	Elgin Blvd	5,514	24	132,336	RESIDENTIAL	ASPHALT	2	Major MR	02-22-2022	56	FAIR
Freeport Dr	Northcliffe Blvd	Deltona Blvd	5,944	24	142,656	RESIDENTIAL	ASPHALT	2	Major MR	02-22-2022	56	FAIR
Freeport Dr	Cul-du-sac SW of Prespare Ct	Northcliffe Blvd	2,281	23	52,691	RESIDENTIAL	ASPHALT	2	Major MR	02-23-2022	56	FAIR
Freeport Dr	Elgin Blvd	S of Littlefield Lane	659	20	13,180	RESIDENTIAL	ASPHALT	2	Major MR	02-23-2022	58	FAIR
Freewalt St	Gemin Ave	Lingle Rd (CR439)	424	12	5,088	RESIDENTIAL	ASPHALT	2	Major MR	02-16-2022	60	FAIR
Friar St	Panola Ave	Edgewater Ave	649	18	11,678	RESIDENTIAL	ASPHALT	2	Major MR	02-16-2022	55	FAIR
Frigate Bird Ave	W of Madrid Rd	Cockatoo Rd	3,156	18	56,808	RESIDENTIAL	ASPHALT	2	Major MR	02-02-2022	57	FAIR
Frontage Rd	Forest Rd	N end	1,246	24	29,904	INDUSTRIAL	ASPHALT	2	Major MR	03-31-2021	56	FAIR
Frontage Rd	597' W of Mariner Blvd	Mariner Blvd	598	55	32,863	INDUSTRIAL	ASPHALT	5	Major MR	03-31-2021	69	GOOD
Frontage Rd	Rolling Rock Dr	218' E of Highline Dr	594	24	14,256	INDUSTRIAL	ASPHALT	2	Major MR	04-12-2021	76	GOOD
Frontage Rd	1284' W of Mariner Blvd	597' W of Mariner Blvd	687	22	15,106	INDUSTRIAL	ASPHALT	2	Major MR	04-12-2021	86	VERY GOOD
Frontage Rd	Frontage Rd	77' NW of Frontage Rd	77	24	1,848	INDUSTRIAL	ASPHALT	2	Major MR	04-12-2021	89	VERY GOOD
Frontage Rd	Mariner Blvd	476' E of Mariner Blvd	476	36	17,136	INDUSTRIAL	ASPHALT	3	Major MR	03-31-2021	90	VERY GOOD
Frontage Rd	465' W of Rolling Rock Dr	Rolling Rock Dr	465	24	11,160	INDUSTRIAL	ASPHALT	2	Major MR	03-06-2022	94	EXCELLENT
Frontage Rd 5510	US 19 (2)	Trenton	1,746	24	41,894	INDUSTRIAL	ASPHALT	4	Global MR	02-26-2020	65	FAIR
Frost Rd	Swiss Road	Mentmore Avenue	1,996	20	39,920	RESIDENTIAL	ASPHALT	2	Major MR	02-03-2022	83	VERY GOOD
Fuller St	Mariner Blvd	Colchester Ave	942	20	18,840	RESIDENTIAL	ASPHALT	2	Major MR	02-09-2022	80	GOOD
Fullington Rd	Ft Dade Ave	California St	1,304	18	23,465	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	42	POOR
Fulmar Rd	Papercraft Ave	N of Painted Bunting Ave	1,520	20	30,400	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	87	VERY GOOD
Fulmar Rd	Old Squaw Ave	Osprey Ave	453	20	9,060	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	88	VERY GOOD
Fulton Ave	Nightwalker Rd	Madrid Rd	4,116	18	74,088	OTHER	ASPHALT	2	Major MR	03-24-2020	71	GOOD
Furley Ave	Mazette Rd	Exile Rd	1,578	20	31,560	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	79	GOOD
Gables Ave	Escobar Ave	Caspian St	838	20	16,766	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	70	GOOD
Gage Ct	S dead end	Apple Orchard Rd	280	20	5,600	RESIDENTIAL	ASPHALT	2	Major MR	02-03-2022	70	GOOD
Gainsboro Ave	Covewood Dr	N of Delbarton St	2,507	20	50,140	RESIDENTIAL	ASPHALT	2	Major MR	02-08-2022	77	GOOD
Galahad Ave	Begonia St	Kenway St	1,641	20	32,820	RESIDENTIAL	ASPHALT	2	Major MR	02-08-2022	83	VERY GOOD
Galaxy Ave	Dartmouth Ave	Baffin Circle (2)	1,656	20	33,120	RESIDENTIAL	ASPHALT	2	Major MR	02-16-2022	87	VERY GOOD
Galena Ave	County Line Rd	Clearwater Drive	565	20	11,294	RESIDENTIAL	ASPHALT	2	Major MR	02-16-2022	81	GOOD
Galgano Ln	Earlshire Lane	Farley Avenue	1,644	20	32,880	RESIDENTIAL	ASPHALT	2	Major MR	02-03-2022	80	GOOD
Galiano Ct	County Line Rd	500' N Clearwater Dr	1,101	20	22,020	RESIDENTIAL	ASPHALT	2	Major MR	12-11-2019	70	GOOD
Gallagher Ave	Joel St	Abeline Rd	1,157	20	23,140	RESIDENTIAL	ASPHALT	2	Major MR	02-09-2022	82	VERY GOOD
Gallinule Ave	Mazette Rd	Cockatoo Rd	1,189	20	23,780	RESIDENTIAL	ASPHALT	2	Major MR	02-02-2022	94	EXCELLENT
Galloway Rd	Heather Blvd	Dunnellon Road	2,366	24	56,815	RESIDENTIAL	ASPHALT	2	Major MR	02-03-2022	81	GOOD
Gallup Cir	Gallup Road	circle back to self	1,011	20	20,220	RESIDENTIAL	ASPHALT	2	Major MR	02-09-2022	83	VERY GOOD

Gallup Rd	Deltona Blvd	Gallup Circle	3,592	20	71,840	RESIDENTIAL	ASPHALT	2	Major MR	02-24-2022	77	GOOD
Galt Ln	Gilpin Avenue	Carrin Road	536	20	10,721	RESIDENTIAL	ASPHALT	2	Major MR	12-01-2019	64	FAIR
Galveston Ave	Linden Dr	Lindsay Rd	1,218	20	24,366	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	61	FAIR
Gamble Dr	Stringer Rd	E of Old Chatman Rd	1,774	18	31,932	RESIDENTIAL	ASPHALT	2	Major MR	02-24-2022	69	GOOD
Gamewell St	Vancouver Rd	Bentley Ave	791	20	15,830	RESIDENTIAL	ASPHALT	2	Major MR	12-02-2019	67	FAIR
Gar St	Grove Rd	bike trail head	651	20	13,020	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	50	FAIR
Garden Ave	Dothan Ave	Kane Rd	632	20	12,640	RESIDENTIAL	ASPHALT	2	Major MR	02-08-2022	67	FAIR
Gardenia Dr	SW dead end	Hermosa Blvd	1,614	18	29,052	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	73	GOOD
Gardenia Way	Cardinal Dr	Treiman Blvd (US 301)	1,456	16	23,303	RESIDENTIAL	ASPHALT	2	Major MR	03-02-2022	81	GOOD
Garmisch Way	Emerson Rd	Blume St	2,216	20	44,315	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	63	FAIR
Garret Ave	Spring Hill Dr	Logan St	799	20	15,980	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	76	GOOD
Garrison St	Galvano Lane	Waterfall Dr	941	20	18,820	RESIDENTIAL	ASPHALT	2	Major MR	02-03-2022	82	VERY GOOD
Garth St	Darts St	Filson St	208	20	4,160	RESIDENTIAL	ASPHALT	2	Global MR	02-03-2022	58	FAIR
Gaspar Ave	S of Larkin Rd	Horizon Dr	928	20	18,563	RESIDENTIAL	ASPHALT	2	Major MR	12-02-2019	72	GOOD
Gaston St	230'S of Plumosa Street	Flyway Drive	3,367	22	74,074	RESIDENTIAL	ASPHALT	2	Global MR	02-08-2022	72	GOOD
Gates Cir	Holiday Dr	Pinehurst Dr	4,205	20	84,110	RESIDENTIAL	ASPHALT	2	Major MR	12-09-2019	72	GOOD
Gatewood Ave	Larkin Road	Carrin Road	2,872	20	57,441	RESIDENTIAL	ASPHALT	2	Major MR	12-01-2019	72	GOOD
Gatling St	Landover Blvd	Cranston St	1,388	20	27,760	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	61	FAIR
Gator Trl	Copeland Way	Woodcrest Rd	1,312	20	26,241	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	55	FAIR
Gaucha Ave	El Camino St	Jena Rd	1,262	20	25,240	RESIDENTIAL	ASPHALT	2	Major MR	02-03-2022	73	GOOD
Gay St	Darlene Street	E dead end	365	15	5,475	RESIDENTIAL	ASPHALT	2	Major MR	02-16-2022	69	GOOD
Gaynor St	MacFarlane Ave	Horizon Dr	965	20	19,300	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	52	FAIR
Gemin Ave	Oakdene Dr	Freewalt St	900	18	16,207	RESIDENTIAL	ASPHALT	2	Major MR	02-16-2022	67	FAIR
Geneva St	Newcomb Ave	Eldridge Rd	2,467	20	49,341	RESIDENTIAL	ASPHALT	2	Major MR	12-02-2019	72	GOOD
Genter Dr	Amboy St	Abbott Ave	5,675	20	113,506	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	78	GOOD
George Dr	Conde Dr	Harker St	705	22	15,863	RESIDENTIAL	ASPHALT	2	Major MR	02-02-2022	92	EXCELLENT
Geranium Ave	Century Dr, x's:Northcliffe Blvd	Juliet Court	1,962	24	47,088	RESIDENTIAL	ASPHALT	2	Major MR	02-03-2022	87	VERY GOOD
Gerona St	Meredith Dr	Eldridge Rd	1,402	20	28,040	RESIDENTIAL	ASPHALT	2	Major MR	02-03-2022	80	GOOD
Gettysburg Dr	Richard Dr	Richard Dr	969	20	19,380	RESIDENTIAL	ASPHALT	2	Major MR	02-16-2022	93	EXCELLENT
Geyser St	Major Dade Dr	Fraser St	479	16	7,657	RESIDENTIAL	ASPHALT	2	Major MR	03-06-2022	50	FAIR
Gibraltar St	Coachman Rd	Eldridge Rd	5,262	20	105,240	RESIDENTIAL	ASPHALT	2	Major MR	02-03-2022	71	GOOD
Gibson Ave	Banyan Rd	Ambassador Ave	1,126	20	22,520	RESIDENTIAL	ASPHALT	2	Major MR	02-08-2022	74	GOOD
Giffen Ln	Deltona Blvd	Meadow Lark Rd	462	20	9,240	RESIDENTIAL	ASPHALT	2	Major MR	02-15-2022	59	FAIR
Gifford Dr	Thomberry Dr	Blythville Rd	8,640	20	172,800	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	57	FAIR
Gig Ave	W cul-de-sac	Niagara Rd	347	20	6,940	RESIDENTIAL	ASPHALT	2	Major MR	02-02-2022	94	EXCELLENT
Giles Ave	Spring Hill Dr	N end cul-de-sac	1,220	20	24,402	RESIDENTIAL	ASPHALT	2	Major MR	02-03-2022	79	GOOD
Gillian Dr	S of Sussex St	Roseanna Dr	1,584	20	31,680	RESIDENTIAL	ASPHALT	2	Global MR	02-15-2022	68	GOOD
Gillmar St	Horizon Dr	Meredith Dr	715	20	14,300	RESIDENTIAL	ASPHALT	2	Major MR	12-02-2019	68	GOOD
Gilpin Ave	Henderson St	Carrin Rd	824	20	16,481	RESIDENTIAL	ASPHALT	2	Major MR	12-01-2019	68	GOOD
Gimlet Ave	Marysville St	Red Coach St	982	20	19,640	RESIDENTIAL	ASPHALT	2	Major MR	12-03-2019	69	GOOD
Ginnie Ct	S dead end	Sunburst Court	388	20	7,760	RESIDENTIAL	ASPHALT	2	Major MR	02-24-2022	55	FAIR
Giovanni Ave	Gallup Rd	Dustin Circle	779	20	15,580	RESIDENTIAL	ASPHALT	2	Major MR	02-09-2022	78	GOOD
Giralda Ave	Founder Rd	Eleanor St	745	20	14,900	RESIDENTIAL	ASPHALT	2	Major MR	02-09-2022	81	GOOD
Glade Rd	Forest Oaks Blvd	Bay Dr	2,280	20	45,600	RESIDENTIAL	ASPHALT	2	Global MR	02-03-2022	72	GOOD
Gladys St	Kennedy Blvd	E dead end	580	16	9,284	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	82	VERY GOOD
Glancy Ln	Fayetteville Dr	Fillmore St	1,233	20	24,655	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	70	GOOD
Glasgow Rd	S of Heather Blvd	NW of Larbert Court	1,342	20	26,840	RESIDENTIAL	ASPHALT	2	Major MR	02-03-2022	84	VERY GOOD
Glen Cove Rd	SW of Edinburgh Way	Heather Blvd	628	24	15,082	RESIDENTIAL	ASPHALT	2	Major MR	02-03-2022	78	GOOD

Glen Haven St	Coronado Dr	Corydon Ave	3,764	20	75,286	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	71	GOOD
Glenbrook Ave	Monarch St	Ireland St	1,140	20	22,805	RESIDENTIAL	ASPHALT	2	Major MR	02-24-2022	55	FAIR
Glendale Ave	Aladdin Road	Wilburton Street	850	20	17,000	RESIDENTIAL	ASPHALT	2	Major MR	02-15-2022	55	FAIR
Glenlock Ln	Baton Ave	Alhambra Court	1,051	20	21,026	RESIDENTIAL	ASPHALT	2	Major MR	02-16-2022	77	GOOD
Glenridge Dr	Spring Hill Dr	Evenglow Ave	4,594	20	91,872	RESIDENTIAL	ASPHALT	2	Major MR	04-13-2021	71	GOOD
Glenridge Dr	Fillmore St	Spring Hill Dr	2,951	20	59,011	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	82	VERY GOOD
Glenwood St	La Pine Rd	Soffel Dr	1,332	20	26,640	RESIDENTIAL	ASPHALT	2	Major MR	03-02-2022	85	VERY GOOD
Gloria Ave	Baxley St	Coronet Court	628	20	12,558	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	79	GOOD
Glory Lily Ct	Sea Holly Dr	NW cul-de-sac end	106	20	2,120	RESIDENTIAL	ASPHALT	2	Major MR	03-03-2020	76	GOOD
Gloucester Rd	Powell Rd	Oakcrest Circle	2,955	20	59,100	RESIDENTIAL	ASPHALT	2	Global MR	02-24-2022	55	FAIR
Glover Dr	River Country Dr	Delaware Drive	822	20	16,440	RESIDENTIAL	ASPHALT	2	Major MR	02-24-2022	59	FAIR
Glwood Ave	Coronado Dr	Fillmore St	1,860	20	37,208	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	74	GOOD
Godfrey Ave	S of Brighton St	Spring Hill Dr	9,939	20	198,774	OTHER	ASPHALT	2	Major MR	03-31-2021	71	GOOD
Godwit Ave	Mazette Rd	E of Manetta Rd	1,278	20	25,560	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	87	VERY GOOD
Gold Rd	Godfrey Ave; x's: Coronado Dr	Asbury St	5,073	20	101,463	RESIDENTIAL	ASPHALT	2	Major MR	02-08-2022	86	VERY GOOD
Goldcoast Ave	Augustine Rd	Norvell Rd	3,982	20	79,640	RESIDENTIAL	ASPHALT	2	Major MR	02-24-2022	53	FAIR
Golddust Rd	San Antonio Road	Highgrove Road	2,622	18	47,196	RESIDENTIAL	ASPHALT	2	Major MR	02-24-2022	71	GOOD
Golddust Rd	232' S of Bruni Dr	Bruni Dr	232	20	4,640	RESIDENTIAL	ASPHALT	2	Major MR	02-09-2022	76	GOOD
Golden Ave	Nightingale Rd	E dead end	699	20	13,980	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	26	VERY POOR
Golden Eagle Ave	Bunting Road	E dead end	318	19	6,042	RESIDENTIAL	ASPHALT	2	Major MR	02-03-2022	73	GOOD
Golden Rod Pl	Sea Holly Dr	Sea Holly Dr	273	20	5,460	RESIDENTIAL	ASPHALT	2	Major MR	03-03-2020	76	GOOD
Golden Warbler Rd	Meadow Swallow Ave	Hexam Rd	1,179	20	23,580	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	82	VERY GOOD
Goldsmith Rd	Goldsmith Rd (Priv)	Powell Rd	7,880	18	141,840	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	72	GOOD
Golfers Way	Greenturf Rd	E dead end	264	20	5,280	RESIDENTIAL	ASPHALT	2	Global MR	02-15-2022	66	FAIR
Gondolier Rd	Elwood Rd; x's: Landover	Noremac St	4,624	20	92,480	RESIDENTIAL	ASPHALT	2	Global MR	02-08-2022	56	FAIR
Goodrich St	Harrow Rd	Deltona Blvd	1,073	20	21,459	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	70	GOOD
Gordon Loop	Huston, & circle back	x's: Granat	5,119	20	102,377	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	75	GOOD
Goucher Ave	W of Sumter Drive	Faber Drive	361	18	6,493	RESIDENTIAL	ASPHALT	2	Major MR	02-24-2022	94	EXCELLENT
Gramercy Ln	Roland St	Leland St	686	20	13,720	RESIDENTIAL	ASPHALT	2	Major MR	02-08-2022	75	GOOD
Granada Pl	Mediterranean Cir	SE dead end	463	20	9,260	RESIDENTIAL	ASPHALT	2	Major MR	04-16-2020	76	GOOD
Granat St	Gordon Loop (2)	W.P.A. Rd	1,053	20	21,068	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	78	GOOD
Grand Ave	Hurban St	Kollar St	685	12	8,220	RESIDENTIAL	ASPHALT	1	Global MR	03-06-2022	44	POOR
Grant St	95' S of Webster St	50' N of Webster St	145	19	2,755	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	74	GOOD
Grant St	50' S of Harrison St	311' N of Harrison St	362	19	6,878	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	90	VERY GOOD
Grapewood Rd	Mariner Blvd	Delbarton St	3,141	20	62,820	RESIDENTIAL	ASPHALT	2	Major MR	02-07-2022	80	GOOD
Grass Finch Rd	Meinert Ave	Hexam Rd	1,647	20	32,940	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	83	VERY GOOD
Gray Ct	Alhambra Court	NE dead end	521	20	10,424	RESIDENTIAL	ASPHALT	2	Major MR	02-25-2020	67	FAIR
Grayton Dr	Linden Dr	Bluestone Ave,x's:Lema Dr	2,647	20	52,938	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	72	GOOD
Graywood Ave	Corrine Avenue	Brookside Street	662	20	13,240	RESIDENTIAL	ASPHALT	2	Major MR	02-09-2022	84	VERY GOOD
Grear Hope St	Tooke Lake Blvd	Bourassa Blvd	715	20	14,298	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	78	GOOD
Green Ct	Fairway Ave	NE dead end	238	21	4,998	RESIDENTIAL	ASPHALT	2	Major MR	02-02-2022	91	VERY GOOD
Greenbrier Ct	NW of Earlsire Lane	SE of Dana Avenue	2,072	20	41,440	RESIDENTIAL	ASPHALT	2	Major MR	02-03-2022	79	GOOD
Greendale Ct	SW dead end	Eastbrook Dr	716	20	14,320	RESIDENTIAL	ASPHALT	2	Major MR	02-16-2022	71	GOOD
Greenleaf Ln	Arrowhead Ave	Commercial Way (US 19)	716	18	12,888	OTHER	ASPHALT	2	Global MR	02-09-2022	84	VERY GOOD
Greenturf Rd	Locker Dr	Audie Brook Dr	1,983	20	39,660	RESIDENTIAL	ASPHALT	2	Global MR	02-15-2022	66	FAIR
Greenview Ave	Raleigh St	Alderwood St	1,174	20	23,480	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	58	FAIR
Greenwood St	Evergreen Ave	Weeping Willow St	2,872	21	60,312	RESIDENTIAL	ASPHALT	2	Global MR	03-24-2020	65	FAIR
Gregory St	Dunlap Ave	Godfrey Ave	717	20	14,340	RESIDENTIAL	ASPHALT	2	Major MR	02-15-2022	69	GOOD

Gretna Dr	Beaver Ave (2)	183' N of Elston St	2,459	20	49,180	RESIDENTIAL	ASPHALT	2	Major MR	02-08-2022	76	GOOD
Greynolds Ave	Dunkirk Rd	Fordham St	3,020	20	60,400	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	66	FAIR
Griffin Rd	Powell Rd	SR 50	14,472	20	289,440	COLLECTOR	ASPHALT	2	Major MR	02-27-2022	76	GOOD
Grimes St	Portillo Rd	Lamson Ave	419	20	8,380	RESIDENTIAL	ASPHALT	2	Global MR	02-24-2022	59	FAIR
Grove Rd	Cortez Blvd (SR50)	64' N of Ken Austin Pkwy	10,747	22	236,434	COLLECTOR	ASPHALT	2	Major MR	03-01-2022	69	GOOD
Grove Rd	1674' S of Cortez Blvd (SR 50)	Cortez Blvd (SR 50)	1,674	24	40,176	OTHER	ASPHALT	2	Global MR	03-02-2022	64	FAIR
Groveland St	Dressel Ave, x's: Linden	Whitewood Ave	2,651	20	53,011	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	74	GOOD
Grubbs Rd	US 41	E dead end	3,845	18	69,213	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	64	FAIR
Guava Ln	Rocky Ave	Oak Knoll St	1,184	20	23,680	RESIDENTIAL	ASPHALT	2	Major MR	02-08-2022	79	GOOD
Gulf Coast Dr	W dead end	Calienta St	5,588	20	111,760	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	77	GOOD
Gulf Winds Cir	NWcircle S to NE dead ends	x's: Gulfview Dr	3,132	24	75,217	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	65	FAIR
Gulfport Ln	Waterfall Dr	Sawyer Ave	1,096	20	21,916	RESIDENTIAL	ASPHALT	2	Major MR	02-25-2020	68	GOOD
Gulfstream Dr	SW dead end	Flamingo Blvd	1,108	24	26,609	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	80	GOOD
Gulfview Dr	Gulf Winds Cir	Shoal Line Blvd	5,127	20	102,540	OTHER	ASPHALT	2	Global MR	03-31-2021	69	GOOD
Gulliver St	Lema Dr	Groveland St	1,907	20	38,131	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	79	GOOD
Gupton St	676' W of Fort Dade Ave	Ft Dade Ave	677	19	12,855	RESIDENTIAL	ASPHALT	2	Major MR	02-24-2022	78	GOOD
Gwen Ln	S cul-de-sac	Corrine Ave	398	20	7,960	RESIDENTIAL	ASPHALT	2	Major MR	02-09-2022	83	VERY GOOD
Gypsy Ave	Nightingale Rd	E dead end	699	18	12,582	RESIDENTIAL	ASPHALT	2	Major MR	03-06-2022	54	FAIR
Gyrafalcon Ave	Madrid Rd	E end	2,054	20	41,086	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	61	FAIR
Hackwood Ave	Arbor St	Citrus St	2,100	18	37,792	RESIDENTIAL	ASPHALT	2	Major MR	02-16-2022	59	FAIR
Hagen Ave	450' S of Northcliffe Blvd	Northcliffe Blvd	451	24	10,824	RESIDENTIAL	ASPHALT	2	Major MR	02-24-2022	57	FAIR
Hagerty Ct	Northcliffe Blvd	Northcliffe Blvd	461	20	9,210	RESIDENTIAL	ASPHALT	2	Major MR	02-24-2022	53	FAIR
Hague Ct	County Line Rd	Clearwater Drive	1,091	20	21,817	RESIDENTIAL	ASPHALT	2	Major MR	12-11-2019	73	GOOD
Haiti Dr	S dead end	Flamingo Blvd	260	24	6,244	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	90	VERY GOOD
Hale Ave	Cortez SR50	Dr M L King Jr Blvd	2,566	20	51,329	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	69	GOOD
Hallam Ct	County Line Rd	560' N Clearwater Dr	1,174	20	23,480	RESIDENTIAL	ASPHALT	2	Major MR	02-02-2020	74	GOOD
Hallcrest Ave	S of Fairbanks Rd	Vicksburg Rd	3,720	20	74,400	RESIDENTIAL	ASPHALT	2	Major MR	02-03-2022	73	GOOD
Hallmark Ave	Eagle Dr	Eastern Circle Dr	1,680	22	36,960	RESIDENTIAL	ASPHALT	2	Major MR	02-02-2022	90	VERY GOOD
Hallow Ave	County Line Rd	Fountain Ct	1,155	20	23,100	RESIDENTIAL	ASPHALT	2	Major MR	12-11-2019	74	GOOD
Halstead St	Waycross dr	Treehaven Dr	803	20	16,060	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	68	GOOD
Hamlet Cir	County Line Rd	County Line Rd	1,428	20	28,561	RESIDENTIAL	ASPHALT	2	Major MR	02-16-2022	73	GOOD
Hammock Rd	US 98	City limit/section of rd	1,171	18	21,084	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	78	GOOD
Hampshire Ave	Dan River Dr	Planter Rd	2,471	20	49,416	RESIDENTIAL	ASPHALT	2	Major MR	02-15-2022	81	GOOD
Hampstead Dr	Carefree Dr	Church Rd	2,638	18	47,484	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	39	POOR
Hancock Ave	Talpa St	Hanley Dr	921	20	18,420	RESIDENTIAL	ASPHALT	2	Major MR	02-09-2022	83	VERY GOOD
Hancock Lake Rd	644' S of June Bug Trl	Hayman Rd	6,614	18	119,052	RESIDENTIAL	ASPHALT	2	Major MR	02-27-2022	81	GOOD
Hanford Ave	Birchwood Rd	Elgin Blvd	1,678	20	33,560	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	70	GOOD
Hanley Dr	Mariner Blvd	Delbarton Street	1,765	20	35,300	RESIDENTIAL	ASPHALT	2	Major MR	02-07-2022	80	GOOD
Hanley Dr	W of Hancock Ave	Mariner Blvd	1,571	20	31,420	RESIDENTIAL	ASPHALT	2	Major MR	02-07-2022	81	GOOD
Hannibal Ln	Ponce De Leon Blvd (US98)	Stringer Rd	880	20	17,600	RESIDENTIAL	ASPHALT	2	Major MR	02-24-2022	65	FAIR
Hanover Ct	Spring Hill Dr	N of Logan St	1,047	24	25,128	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	67	FAIR
Hansen Trl	S dead end	Hiburn St	308	18	5,544	RESIDENTIAL	ASPHALT	2	Global MR	03-11-2020	66	FAIR
Happy Days Dr	Outer Banks Dr	Commercial Way	734	33	24,222	INDUSTRIAL	ASPHALT	3	Major MR	04-01-2020	73	GOOD
Harbinger Rd	Lamson Ave	Elgin Blvd	3,698	20	73,960	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	59	FAIR
Harcross Ct	W dead end	Pinehurst Dr	1,001	24	24,024	RESIDENTIAL	ASPHALT	2	Global MR	02-16-2022	51	FAIR
Harden St	Sealawn Dr	Toucan Trail	1,338	18	24,078	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	72	GOOD
Harding Ave	Tranquil Dr	Kimberly Ave	835	20	16,703	RESIDENTIAL	ASPHALT	2	Major MR	12-11-2019	65	FAIR
Hardstone Dr	Cornerstone Dr	616' N of Cornerstone Dr	616	20	12,320	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	88	VERY GOOD

Hargrove St	Sealawn Dr	Toucan Trail	1,338	18	24,090	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	64	FAIR
Harker St	Highpoint Blvd	Eastern Circle Dr (2)	2,031	22	44,682	RESIDENTIAL	ASPHALT	2	Major MR	02-03-2022	88	VERY GOOD
Harlow St	Highpoint Blvd	Club House Rd	1,352	21	29,068	RESIDENTIAL	ASPHALT	2	Major MR	02-02-2022	94	EXCELLENT
Harold Ave	W of Whitmarsh St	Wilburton St	794	20	15,880	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	83	VERY GOOD
Harper St	Mariner Blvd	N of Belkton Avenue	999	20	19,980	RESIDENTIAL	ASPHALT	2	Major MR	02-09-2022	77	GOOD
Harper St	Curry Drive	Mariner Blvd	646	20	12,920	RESIDENTIAL	ASPHALT	2	Major MR	02-09-2022	79	GOOD
Harris Hawk Rd	Pine Warbler Ave	Centralia Road (CR476)	5,960	20	119,200	OTHER	ASPHALT	2	Major MR	03-31-2021	77	GOOD
Harrison St	112' W of Grant St	Sunshine Grove Rd	1,495	19	28,405	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	80	GOOD
Harrow Rd	Deltona Blvd	Forest Oaks Blvd	5,914	20	118,280	OTHER	ASPHALT	2	Major MR	02-24-2022	56	FAIR
Hartford Heights St	S cul-de-sac end	N cul-de-sac end	1,889	20	37,780	RESIDENTIAL	ASPHALT	2	Major MR	02-15-2022	81	GOOD
Hartley Rd	Dolin Ave	Deltona Blvd	2,660	20	53,209	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	73	GOOD
Hartwood Ave	Tranquil Dr	Holiday Dr	707	20	14,141	RESIDENTIAL	ASPHALT	2	Major MR	12-09-2019	65	FAIR
Hastings Rd	Linden Dr	Spring Hill Dr	1,442	20	28,836	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	78	GOOD
Hathaway Ave	Linden Dr	Matterhorn Court	1,094	20	21,885	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	77	GOOD
Haulover Ave	Spring Hill Dr	Belvedere St	2,764	20	55,280	RESIDENTIAL	ASPHALT	2	Major MR	02-06-2022	76	GOOD
Hawaiian Ave	Rhanbouy Rd	Spanish Oak Dr	275	24	6,604	RESIDENTIAL	ASPHALT	2	Global MR	02-06-2022	70	GOOD
Hawkeye Loop	Woodland Waters Blvd	Woodland Waters Blvd	472	20	9,440	RESIDENTIAL	ASPHALT	2	Major MR	02-03-2022	70	GOOD
Hawkiowa Rd	Pacheco Rd	E of Kenneth St	1,203	16	19,254	RESIDENTIAL	ASPHALT	2	Major MR	03-02-2022	81	GOOD
Hawthorne Rd	S of Indigo Street	Fairview Road	4,657	20	93,140	RESIDENTIAL	ASPHALT	2	Major MR	02-24-2022	75	GOOD
Hayes St	Northcliffe Blvd	Oriole Ave	1,634	20	32,680	RESIDENTIAL	ASPHALT	2	Major MR	02-06-2022	78	GOOD
Hayman Rd (CR576)	Culbreath Rd	Twister Ln	12,395	20	247,900	COLLECTOR	ASPHALT	2	Major MR	03-09-2020	70	GOOD
Hayman Rd (CR576)	Twister Ln	Spring Lake Hwy	15,135	18	272,430	COLLECTOR	ASPHALT	2	Major MR	02-27-2022	79	GOOD
Haysmont St	Lang St	Hilton Dr	330	18	5,940	RESIDENTIAL	ASPHALT	2	Major MR	05-31-2020	90	VERY GOOD
Hayward Rd	Larkin Rd	Spring Hill Dr	3,390	20	67,807	RESIDENTIAL	ASPHALT	2	Major MR	12-02-2019	69	GOOD
Hazelcrest St	Linden Dr	Maximilian Ave	1,125	21	23,625	RESIDENTIAL	ASPHALT	2	Major MR	02-08-2022	66	FAIR
Hazelcrest St	Feather St	Linden Dr	1,741	20	34,820	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	84	VERY GOOD
Hazelton St	Lavilla Ave	Nobleton Ave	711	20	14,220	RESIDENTIAL	ASPHALT	2	Major MR	02-06-2022	70	GOOD
Hazelwood Rd	Lynnhaven Rd	Lynnhaven Rd	1,661	20	33,220	RESIDENTIAL	ASPHALT	2	Major MR	02-06-2022	89	VERY GOOD
Hearth Rd	Northcliffe Blvd	Lamson Ave	1,203	20	24,068	RESIDENTIAL	ASPHALT	2	Major MR	02-09-2022	80	GOOD
Hearth Rd	Lamson Ave	Mariner Blvd	1,125	21	23,621	RESIDENTIAL	ASPHALT	2	Major MR	02-09-2022	81	GOOD
Heathcliff St	Bishop Rd	Linden Dr	3,347	20	66,939	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	67	FAIR
Heather Blvd	Allen Drive	St Andrews Blvd	4,828	33	159,324	RESIDENTIAL	ASPHALT	2	Major MR	02-06-2022	79	GOOD
Heather Walk Dr	St Andrews Blvd	130' S of Abington Way	480	20	9,600	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	62	FAIR
Heathwood Ave	Lamson Ave	Odin St	1,965	20	39,303	RESIDENTIAL	ASPHALT	2	Major MR	02-07-2022	83	VERY GOOD
Heavenly Ct	Gaston St	NW end cul-de-sac	201	20	4,020	RESIDENTIAL	ASPHALT	2	Global MR	02-09-2022	70	GOOD
Heckleman St	La Pine Rd	Soffel Dr	1,326	20	26,520	RESIDENTIAL	ASPHALT	2	Major MR	03-02-2022	83	VERY GOOD
Hedgewood Ave	Timbercrest Road	Thornberry Drive	1,238	20	24,758	RESIDENTIAL	ASPHALT	2	Major MR	02-08-2022	78	GOOD
Heidi Ln	Mentmore Ave	Kirkwood Ave, x's: Deltona Blvd	660	20	13,200	RESIDENTIAL	ASPHALT	2	Major MR	02-06-2022	87	VERY GOOD
Helene Way	Allen Dr	Victoria Way	1,334	20	26,680	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	74	GOOD
Heley St	Lamson Ave	Mariner Blvd	466	20	9,320	RESIDENTIAL	ASPHALT	2	Global MR	02-24-2022	55	FAIR
Helmy Ave	India Drive	Jordon Street	587	20	11,740	RESIDENTIAL	ASPHALT	2	Major MR	02-06-2022	92	EXCELLENT
Hemlock St	Jason Rd	Landover Blvd	808	20	16,160	RESIDENTIAL	ASPHALT	2	Global MR	02-24-2022	47	POOR
Henderson St	E of Gatewood Ave	Mariner Blvd	3,864	22	85,008	RESIDENTIAL	ASPHALT	2	Global MR	02-15-2022	70	GOOD
Henderson St	Horizon Dr	E of Gatewood Ave	1,521	20	30,420	RESIDENTIAL	ASPHALT	2	Major MR	12-01-2019	72	GOOD
Henry Ave	Lightwood St	circle back to Lightwood St	362	16	5,792	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	56	FAIR
Henry Ave	S of Henderson St	N of Lansing Dr	1,235	20	24,700	RESIDENTIAL	ASPHALT	2	Global MR	02-15-2022	59	FAIR
Henry Ave	S of Linden Dr (appx 160')	Lightwood St	785	20	15,700	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	80	GOOD
Herdon St	Guava Lane	Dow Lane	829	20	16,580	RESIDENTIAL	ASPHALT	2	Major MR	02-08-2022	77	GOOD

Heritage Ave	Raleigh St	Alderwood St	1,043	20	20,860	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	69	GOOD
Hermosa Blvd	Turk's Cap Dr/Lugustrum Dr	Shoal Line Blvd	2,945	30	88,350	OTHER	ASPHALT	2	Global MR	03-31-2021	63	FAIR
Hernando Ave	Thackeray St	Lake Lindsey Rd (CR 476)	716	18	12,885	RESIDENTIAL	ASPHALT	2	Major MR	02-16-2022	67	FAIR
Hernando Ridge Rd	N of Bearfoot Trl	N of Warm Wind Way (2)	1,866	20	37,320	RESIDENTIAL	ASPHALT	2	Major MR	03-24-2020	60	FAIR
Hernando Ridge Rd	Woodland Waters Blvd	N of Bearfoot Trl	2,095	19	39,805	RESIDENTIAL	ASPHALT	2	Major MR	02-03-2022	81	GOOD
Hernando Way	Allen Dr	Victoria Way	1,311	24	31,490	RESIDENTIAL	ASPHALT	2	Major MR	02-06-2022	79	GOOD
Hexam Rd	Commercial Way (US 19)	E of Marvelwood Rd	9,746	24	233,904	COLLECTOR	ASPHALT	2	Global MR	03-31-2021	65	FAIR
Hexam Rd	E of Marvelwood Rd	170' E of W Sunshine Grove Rd	7,138	24	171,306	COLLECTOR	ASPHALT	2	Global MR	03-31-2021	68	GOOD
Hexam Rd	170' E of Sunshine Grove Rd (W)	Sunshine Grove Rd (E)	466	24	11,189	COLLECTOR	ASPHALT	2	Major MR	03-31-2021	74	GOOD
Hexam Rd	Sunshine Grove Rd (CR 493)	Salina St	2,064	20	41,280	OTHER	ASPHALT	2	Major MR	03-31-2021	79	GOOD
Hiawatha Blvd	95' W of Oakview Drive	Seminole Blvd	2,704	20	54,081	COLLECTOR	ASPHALT	2	Major MR	03-31-2021	79	GOOD
Hiawatha Parkway	Arrowhead Ave	Commercial Way (US 19)	699	20	13,980	OTHER	ASPHALT	2	Global MR	02-08-2022	83	VERY GOOD
Hiawatha Parkway	Arrowhead Ave	circles back to self	2,458	18	44,244	RESIDENTIAL	ASPHALT	2	Global MR	02-08-2022	84	VERY GOOD
Hibiscus Dr	S dead end	Hermosa Blvd	1,255	18	22,590	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	63	FAIR
Hibiscus Dr	Flamingo Ln	Bobwhite Ct	1,673	18	30,114	RESIDENTIAL	ASPHALT	2	Major MR	03-01-2022	83	VERY GOOD
Hiburn St	Jacaranda Circle	Oakcrest Circle	1,701	19	32,319	RESIDENTIAL	ASPHALT	2	Global MR	02-24-2022	63	FAIR
Hickory Hammock Dr	Cyril Dr	NE dead end	625	20	12,500	RESIDENTIAL	ASPHALT	2	Major MR	03-02-2022	70	GOOD
Hickory Hill Rd	240' E of Spring Lake Hwy	2300' E of Baseball Pond Rd	6,629	14	92,812	COLLECTOR	ASPHALT	2	Global MR	03-02-2022	49	POOR
Hickory Hill Rd	1561' SW of Lockhart Rd	Lockhart Rd	1,561	18	28,098	COLLECTOR	ASPHALT	2	Major MR	03-29-2020	85	VERY GOOD
Hickory Hill Rd	Spring Lake Hwy	240' E of Spring Lake Hwy	240	20	4,800	COLLECTOR	ASPHALT	2	Major MR	03-02-2022	95	EXCELLENT
Hickory Rd	Riverdale Dr	Riverdale Dr	548	18	9,864	RESIDENTIAL	ASPHALT	2	Major MR	03-02-2022	71	GOOD
Hickory St	Lark Ave	Johnson St	3,490	18	62,820	RESIDENTIAL	ASPHALT	2	Major MR	02-24-2022	87	VERY GOOD
Higate Rd	Chamber Court	Springwood Road	3,037	20	60,740	RESIDENTIAL	ASPHALT	2	Major MR	02-24-2022	55	FAIR
Higgins St	Dunlap Ave	Godfrey Ave	712	20	14,240	RESIDENTIAL	ASPHALT	2	Major MR	02-15-2022	58	FAIR
High Corner Rd	Cortez Blvd (SR 50)	Wildlife Ln	4,535	20	90,700	RESIDENTIAL	ASPHALT	2	Global MR	04-01-2020	66	FAIR
Highbury Blvd	Broad St (US41)	Deepwood St	1,140	16	18,241	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	48	POOR
Highfield Rd	Grove Rd	Cartwrite Rd	1,203	18	21,662	OTHER	ASPHALT	2	Major MR	03-31-2021	57	FAIR
Highfield Rd	East r/w of Expressway	Arizona St	3,614	20	72,280	OTHER	ASPHALT	2	Major MR	03-31-2021	71	GOOD
Highfield Rd	Cartwrite Rd	E R/W of Prkwy	442	20	8,846	OTHER	ASPHALT	2	Major MR	03-31-2021	76	GOOD
Highgrove Rd	Barclay Ave	N turn, end of pavement	1,876	20	37,514	RESIDENTIAL	ASPHALT	2	Major MR	02-23-2022	50	FAIR
Highgrove Rd	525' W of Nocklyn Rd	Barclay Ave	3,513	18	63,234	RESIDENTIAL	ASPHALT	2	Major MR	02-23-2022	81	GOOD
Highline Dr	Cortez Blvd	Frontage Rd	644	24	15,456	INDUSTRIAL	ASPHALT	2	Major MR	03-31-2021	72	GOOD
Highpoint Blvd	Cortez Blvd (SR50)	circles back to self	16,346	42	686,532	COLLECTOR	ASPHALT	4	Major MR	02-02-2022	84	VERY GOOD
Hilary St	Sunset Woods Dr	Oriana Dr	2,161	20	43,220	RESIDENTIAL	ASPHALT	2	Global MR	02-16-2022	69	GOOD
Hilda Rd	Park Dr	Riverdale Dr	970	24	23,295	RESIDENTIAL	ASPHALT	2	Major MR	03-03-2022	81	GOOD
Hill Rd	Frampton Avenue	Wakefield Drive	247	32	7,907	COLLECTOR	ASPHALT	4	Major MR	03-31-2021	79	GOOD
Hillandale Ave	Maderia St	Marysville St	1,583	20	31,660	RESIDENTIAL	ASPHALT	2	Major MR	12-02-2019	69	GOOD
Hillcrest Dr	S dead end	Ft Dade	1,239	18	22,302	RESIDENTIAL	ASPHALT	2	Major MR	02-16-2022	88	VERY GOOD
Hillside Ave	Acacia Ave	CR550 (Cortez Blvd)	595	13	7,735	RESIDENTIAL	ASPHALT	2	Major MR	02-24-2022	57	FAIR
Hilltop Cir	Philatelic Drive	NW end cul-de-sac	495	24	11,888	RESIDENTIAL	ASPHALT	2	Global MR	02-09-2022	53	FAIR
Hillview Rd	Airmont Dr	Ivydale Rd	3,485	20	69,700	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	67	FAIR
Hilton Dr	Holden Dr	Cortez Blvd (SR 50)	2,600	18	46,800	RESIDENTIAL	ASPHALT	2	Major MR	05-31-2020	90	VERY GOOD
Hoban Ave	Clewiston St	Linden Dr	960	20	19,200	RESIDENTIAL	ASPHALT	2	Major MR	12-04-2019	67	FAIR
Hobson St	Maguire Ave	Captain Dr	1,239	20	24,780	RESIDENTIAL	ASPHALT	2	Major MR	12-02-2019	68	GOOD
Hodza St	Broad St (US 41)	Washington Ave	313	18	5,626	RESIDENTIAL	ASPHALT	2	Global MR	04-13-2021	66	FAIR
Hodza St	Lincoln Ave	Broad St	1,530	16	24,480	RESIDENTIAL	ASPHALT	2	Major MR	03-03-2022	69	GOOD
Hoffman Ave	S of Neda Street	Bluewater Avenue	2,992	20	59,840	RESIDENTIAL	ASPHALT	2	Global MR	02-06-2022	82	VERY GOOD
Holbrook St	Canfield Dr	Restmere Lane	1,609	20	32,180	RESIDENTIAL	ASPHALT	2	Major MR	12-03-2019	60	FAIR

Holden Dr	W End	Sun Hill Ln	1,223	18	22,014	RESIDENTIAL	ASPHALT	2	Major MR	05-31-2020	90	VERY GOOD
Holden Dr	Sun Hill Lane	E of Hilton Dr	1,299	18	23,382	RESIDENTIAL	ASPHALT	2	Major MR	05-31-2020	90	VERY GOOD
Holiday Dr	Skyline Ct	Cobblestone Dr	3,707	24	88,968	RESIDENTIAL	ASPHALT	2	Global MR	02-16-2022	54	FAIR
Holiday Dr	Cobblestone Dr	Pinehurst Dr	3,376	24	67,520	RESIDENTIAL	ASPHALT	2	Global MR	03-06-2022	56	FAIR
Holiday Dr	Pinehurst	Tryon Circle	4,020	20	80,400	RESIDENTIAL	ASPHALT	2	Major MR	12-09-2019	69	GOOD
Hollow Oak Ct	Preston Hollow Dr	NE dead end	252	20	5,040	RESIDENTIAL	ASPHALT	2	Global MR	02-15-2022	68	GOOD
Holly Springs Dr	Hermosa Blvd	N dead end	994	18	17,892	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	79	GOOD
Hollyhock Ln	Pinehurst Dr	Edgehill Ave	1,724	24	41,376	RESIDENTIAL	ASPHALT	2	Global MR	02-16-2022	69	GOOD
Holston Ave	Linden Dr	Deer St	2,131	20	42,612	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	75	GOOD
Holt Ln	Waterfall Dr	Shorecrest Court	483	20	9,666	RESIDENTIAL	ASPHALT	2	Major MR	02-25-2020	71	GOOD
Homeway St	Abby Avenue	Deborah Drive	1,104	20	22,080	RESIDENTIAL	ASPHALT	2	Major MR	12-03-2019	69	GOOD
Honeydew Dr	Huckleberry Dr	N of Hoover St	884	20	17,680	RESIDENTIAL	ASPHALT	2	Major MR	02-15-2022	78	GOOD
Hooded Warbler Ct	Pine Warbler Ave	N dead end	410	20	8,200	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	81	GOOD
Hoodridge Ct	Hooper Rd	E dead end	380	20	7,600	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	87	VERY GOOD
Hook Dr	Tournament Dr	Flag Rd	1,268	20	25,360	RESIDENTIAL	ASPHALT	2	Global MR	02-15-2022	50	FAIR
Hooker Rd	S dead end	N of Piping Plover Ave	1,459	20	29,180	RESIDENTIAL	ASPHALT	2	Major MR	02-06-2022	94	EXCELLENT
Hooper Rd	S of Hoodridge Court	Peregrine Falcon Ave	824	20	16,480	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	82	VERY GOOD
Hoover St	W of Honeydew Dr	Linden Dr	3,201	24	76,824	RESIDENTIAL	ASPHALT	2	Major MR	02-16-2022	74	GOOD
Hope Hill Rd	75' S of John Martin Ln	Cortez Blvd (SR 50)	5,714	20	114,278	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	60	FAIR
Hope Ln	Freeport Drive	W of Elkin Avenue	648	20	12,960	RESIDENTIAL	ASPHALT	2	Major MR	02-06-2022	77	GOOD
Horizon Dr	Spring Hill Dr	160' N of Bishop Rd	2,543	20	51,877	RESIDENTIAL	ASPHALT	2	Global MR	02-15-2022	52	FAIR
Horizon Dr	Spring Hill Dr	loop back to Spring Hill Dr	8,431	20	171,992	RESIDENTIAL	ASPHALT	2	Major MR	02-15-2022	58	FAIR
Horizon Dr	Waterfall Drive	Spring Hill Drive	4,222	20	86,129	RESIDENTIAL	ASPHALT	2	Major MR	02-15-2022	63	FAIR
Horizon Dr	N of Hoover St	Reindeer Ct	173	24	4,152	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	72	GOOD
Horizon Dr	160' N of Bishop Rd	N of Hoover St	2,695	24	64,686	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	76	GOOD
Horn Ave	Summer St	Winter St	1,350	20	27,000	RESIDENTIAL	ASPHALT	2	Major MR	02-16-2022	79	GOOD
Homaway Ave	Fox Chapel Lane	Elgin Blvd	718	20	14,360	RESIDENTIAL	ASPHALT	2	Major MR	02-06-2022	85	VERY GOOD
Hornbill Rd	Piping Plover Ave	NE dead end	1,271	20	25,420	RESIDENTIAL	ASPHALT	2	Major MR	02-06-2022	94	EXCELLENT
Horned Owl Rd	Hexam Rd	Osprey Ave	3,358	20	67,160	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	77	GOOD
Horner Rd	S dead end	Purple Sandpiper Ave	419	20	8,380	RESIDENTIAL	ASPHALT	2	Major MR	02-06-2022	94	EXCELLENT
Horse Lake Rd	Wiscon Rd	Cortez SR 50	3,819	21	80,199	RESIDENTIAL	ASPHALT	2	Major MR	03-09-2020	69	GOOD
Horseshoe Ln	Sealawn Dr	Norfolk Ave	2,890	18	52,016	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	59	FAIR
Horton Ct	S of Peregrine Falcon Ave	Centralia Rd (CR476)	785	20	15,700	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	83	VERY GOOD
House Finch Rd	Horned Owl Rd	Fulmar Rd	2,679	20	53,580	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	78	GOOD
House Finch Rd	SW of Millington Ave	Horned Owl Rd	2,000	20	40,000	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	81	GOOD
Howell Ave (CR445)	Ederington Dr.	Broad St (US 41)	5,434	20	108,677	COLLECTOR	ASPHALT	2	Layer Construct	03-31-2021	59	FAIR
Howell Ave (CR445)	Ft Dade Ave	Ederington Dr.	4,659	22	102,506	COLLECTOR	ASPHALT	2	Layer Construct	03-31-2021	65	FAIR
Hubbard Ct	Henderson St	N dead end	254	20	5,080	RESIDENTIAL	ASPHALT	2	Global MR	02-15-2022	65	FAIR
Huckleberry Dr	W of Honeydew Dr	E of Horizon Dr	954	20	19,080	RESIDENTIAL	ASPHALT	2	Major MR	02-16-2022	56	FAIR
Hugo Ave	Elgin Blvd	Langan St	635	20	12,700	RESIDENTIAL	ASPHALT	2	Major MR	02-06-2022	80	GOOD
Humber Rd	Hexam Rd	Horned Owl Rd	3,018	20	60,360	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	82	VERY GOOD
Hunley Ln	Glenridge Dr	Glenridge Dr	625	20	12,499	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	66	FAIR
Hunter Lake Boatramp	Kenlake Ave	Hunter Lake PLOT	768	24	18,432	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	69	GOOD
Hunters Lake Rd	US 19	456' E of Lori Dr	1,025	25	25,616	INDUSTRIAL	ASPHALT	2	Major MR	02-16-2022	71	GOOD
Hunters Point St	W of Wilsford Ln	Oak Chase Blvd	1,771	20	35,411	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	75	GOOD
Hunters Point St	Weatherstone Dr	W of Wilsford Ln	285	20	5,700	RESIDENTIAL	ASPHALT	2	Major MR	02-16-2022	81	GOOD
Huntington Ave	Coronado Dr	Cooper Rd	1,350	20	27,000	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	78	GOOD
Huntington Ave	Cooper Rd	Coronado Dr	757	20	15,140	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	87	VERY GOOD

Huntington Woods Ave	Rudolph Ct circle to W dead end	x's:Cressida Circle twice	2,751	20	55,020	RESIDENTIAL	ASPHALT	2	Global MR	02-16-2022	68	GOOD
Hurban St	231' NW of Lincoln Ave	Broad St (US 41)	1,761	16	28,176	RESIDENTIAL	ASPHALT	2	Major MR	03-03-2022	80	GOOD
Huron St	Ardenwood Drive	Coronet Court	906	20	18,117	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	72	GOOD
Hushpuppy Ln	Shoal Line Boulevard (CR597)	E dead end	890	17	15,130	RESIDENTIAL	ASPHALT	2	Major MR	02-16-2022	81	GOOD
Huston St	Clayton Road	Gordon Loop	1,584	20	31,675	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	69	GOOD
Hviezoslav St	Lincoln Ave	Broad St (US 41)	1,511	16	24,176	RESIDENTIAL	ASPHALT	2	Major MR	03-03-2022	67	FAIR
Hyacinth Ln	Glenridge Drive	Evenglow Avenue	797	20	15,938	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	88	VERY GOOD
Hyde Park Way	Newington Avenue	SE of King's Cross Road	1,569	20	31,380	RESIDENTIAL	ASPHALT	2	Global MR	02-16-2022	70	GOOD
Hydrangea Ct	Satinleaf Run	NW cul-de-sac end	175	20	3,507	RESIDENTIAL	ASPHALT	2	Major MR	03-03-2022	79	GOOD
Idle Time Rd	794' S of Mondon Hill Rd	Mondon Hill	1,340	18	24,120	RESIDENTIAL	ASPHALT	2	Major MR	04-01-2020	59	FAIR
Idle-A-While Cir	Ridge Manor Blvd	Ridge Manor Blvd	2,758	18	49,644	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	62	FAIR
Idleweise Ct	SE of Freeport Dr	Swiss Road	1,760	20	35,200	RESIDENTIAL	ASPHALT	2	Major MR	02-06-2022	86	VERY GOOD
in Hill n' Dale	Roper Rd	School	126	18	2,264	RESIDENTIAL	ASPHALT	2	Major MR	02-21-2022	70	GOOD
in Hill n' Dale	Roper Rd	School / Sunnyside Ranch Rd	123	18	2,218	RESIDENTIAL	ASPHALT	2	Major MR	02-21-2022	77	GOOD
Inca Ave	Vicksburg Rd	Spring Hill Dr	575	20	11,509	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	59	FAIR
India Dr	Shingler Ave	Brentlawn St	4,345	20	86,900	RESIDENTIAL	ASPHALT	2	Major MR	02-06-2022	90	VERY GOOD
Indian Bay Rd	Oswaw Blvd (CR595)	Left Turn	1,543	18	27,774	RESIDENTIAL	ASPHALT	2	Major MR	02-16-2022	84	VERY GOOD
Indian Rock Ct	SW of Eastbrook Dr	Pinehurst Dr	1,514	20	30,280	RESIDENTIAL	ASPHALT	2	Major MR	02-16-2022	78	GOOD
Indigo Bunting Rd	136' S of Puffin Ave	128' N of Puffin Ave	264	20	5,280	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	79	GOOD
Indigo Bunting Rd	Ipswich Sparrow Rd	136' S of Puffin Ave	748	20	14,960	RESIDENTIAL	ASPHALT	2	Major MR	02-06-2022	88	VERY GOOD
Indigo Bunting Rd	128' N of Puffin Ave	N of Piping Plover Ave	1,501	20	30,020	RESIDENTIAL	ASPHALT	2	Major MR	02-06-2022	94	EXCELLENT
Indigo St	Hawthorne Rd	Fairview Rd	1,048	20	20,960	RESIDENTIAL	ASPHALT	2	Major MR	02-08-2022	81	GOOD
Industrial Loop	S dead end	Anderson Snow Rd	1,500	22	33,008	INDUSTRIAL	ASPHALT	2	Global MR	02-09-2022	41	POOR
Ingram St	US 41	Corliss Rd	606	24	14,554	RESIDENTIAL	ASPHALT	2	Major MR	02-21-2022	37	POOR
Innsbruck Rd	S dead end	Peregrine Falcon Ave	822	20	16,440	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	88	VERY GOOD
Inverness Ct	Edinburgh Way	NW dead end	410	22	9,020	RESIDENTIAL	ASPHALT	2	Major MR	02-06-2022	93	EXCELLENT
Inwood Cir	SW dead end	Ashmont Ave	211	20	4,220	RESIDENTIAL	ASPHALT	2	Major MR	03-03-2022	73	GOOD
Ipswich Sparrow Rd	Lark Field Ln	Pine Finch Ave	3,075	20	61,500	RESIDENTIAL	ASPHALT	2	Major MR	02-06-2022	93	EXCELLENT
Ireland St	Windbrook Ave	Mariner Blvd	1,692	20	33,848	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	63	FAIR
Iron St	Highpoint Blvd	Fairway Ave	265	22	5,830	RESIDENTIAL	ASPHALT	2	Major MR	02-03-2022	87	VERY GOOD
Irondale Ave	Conway St	Cul-de-sac N of Elston St	1,191	20	23,820	RESIDENTIAL	ASPHALT	2	Major MR	02-09-2022	78	GOOD
Iroquois Ave	Manchester St	Swiss Rd	829	20	16,580	RESIDENTIAL	ASPHALT	2	Major MR	02-06-2022	84	VERY GOOD
Irving St	300'E of Barclay Ave	Grove Rd	2,399	18	43,185	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	63	FAIR
Irving St	T. P. Trail	Barclay Ave	2,578	22	56,713	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	79	GOOD
Irving St	Barclay Ave	300' E	302	22	6,644	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	79	GOOD
Island Dr	W - N dead ends (circles)	x's: Presque Isle Drive	2,082	20	41,640	RESIDENTIAL	ASPHALT	2	Major MR	02-15-2022	93	EXCELLENT
Ivy Hill Ln	Unpaved Section	Sumter Dr	439	18	7,895	RESIDENTIAL	ASPHALT	2	Major MR	02-17-2022	93	EXCELLENT
Ivydale Rd	Pinehurst Dr	Pilgrim Rd	2,471	24	59,304	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	75	GOOD
Jacaranda Cir	S of Hibum St	S of Drew St	1,440	20	28,800	RESIDENTIAL	ASPHALT	2	Major MR	03-11-2020	52	FAIR
Jacaranda Cir	Hibum St	Access Rd "B"	2,226	18	40,068	RESIDENTIAL	ASPHALT	2	Global MR	02-21-2022	52	FAIR
Jacaranda Cir	Access Rd "B"	Drew St	112	18	2,016	RESIDENTIAL	ASPHALT	2	Global MR	02-21-2022	69	GOOD
Jackdaw Rd	Hexam Rd	Murre Ave	1,607	20	32,140	RESIDENTIAL	ASPHALT	2	Major MR	02-01-2022	93	EXCELLENT
Jacobson Rd	Croom Rd	Whitman Rd	10,386	18	186,948	COLLECTOR	ASPHALT	2	Global MR	02-17-2022	52	FAIR
Jacona Dr	S dead end	Flamingo Blvd	664	24	15,946	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	81	GOOD
Jacqueline Rd	Weeping Willow St	Sunshine Grove Rd	5,302	24	129,899	COLLECTOR	ASPHALT	2	Major MR	02-03-2022	66	FAIR
Jade Ave	Diamond Dr	Padron Blvd	1,104	20	22,080	RESIDENTIAL	ASPHALT	2	Global MR	02-16-2022	75	GOOD
Jamaica Rd	Radford St	Pinehurst Dr	2,139	20	42,780	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	70	GOOD
Jamette Rd	Park Dr	Riverdale Dr	847	24	20,341	RESIDENTIAL	ASPHALT	2	Major MR	03-03-2022	60	FAIR

Janet Ave	Detroit Street	Norvell Road	1,116	20	22,327	RESIDENTIAL	ASPHALT	2	Major MR	02-09-2022	76	GOOD
Janica Lynne Ct	S cul-de-sac end	Sigmund St	689	20	13,780	RESIDENTIAL	ASPHALT	2	Major MR	12-04-2019	74	GOOD
Jasbow Junction	Caracara Ave	Egret Ave	4,647	18	83,645	RESIDENTIAL	ASPHALT	2	Major MR	04-13-2021	73	GOOD
Jasmine Dr	N of Woodlawn Ave	Mondon Hill Rd	2,948	24	70,745	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	60	FAIR
Jasmine Dr	Cortez Blvd	N of Woodlawn Ave	2,348	22	51,656	RESIDENTIAL	ASPHALT	2	Major MR	02-21-2022	87	VERY GOOD
Jason Rd	Chalmer St	Portillo Rd,x's: Landover Blvd	2,996	24	71,951	RESIDENTIAL	ASPHALT	2	Global MR	02-24-2022	54	FAIR
Jay Ct	Landover Blvd	N dead end	298	20	5,960	RESIDENTIAL	ASPHALT	2	Major MR	02-09-2022	81	GOOD
Jaybird Rd	Pine Club Cir	N of Piping Plover Ave	5,801	20	116,020	RESIDENTIAL	ASPHALT	2	Major MR	02-06-2022	93	EXCELLENT
Jayson Dr	Jacqueline Rd	205' N of Jacqueline Rd	205	18	3,690	RESIDENTIAL	ASPHALT	2	Major MR	03-23-2020	66	FAIR
Jaywalk Rd	S dead end	Peregrine Falcon Ave	965	20	19,300	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	89	VERY GOOD
Jeffers St	Freeport Drive	Lyon Road	622	20	12,440	RESIDENTIAL	ASPHALT	2	Major MR	02-06-2022	89	VERY GOOD
Jena Rd	Laredo Avenue	Waterfall Drive (2)	4,229	20	84,580	RESIDENTIAL	ASPHALT	2	Major MR	02-06-2022	73	GOOD
Jenico Ct	Everard Dr	N dead end	414	20	8,280	RESIDENTIAL	ASPHALT	2	Global MR	02-16-2022	76	GOOD
Jenny Wren Rd	Hexam Rd	Murre Ave	1,597	20	31,940	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	72	GOOD
Jenson Ave	Terrell Road	Norvell Road	667	20	13,343	RESIDENTIAL	ASPHALT	2	Major MR	02-09-2022	75	GOOD
Jernigan St	Cresap St	Simmons St	852	20	17,040	RESIDENTIAL	ASPHALT	2	Major MR	02-20-2022	59	FAIR
Jessica Dr	cul-de-sac W of Cressida Circle	Linden Dr	3,458	20	69,160	RESIDENTIAL	ASPHALT	2	Global MR	02-16-2022	68	GOOD
Jessie Ln	Meadow Lark Road	Begonia Street	510	20	10,200	RESIDENTIAL	ASPHALT	2	Major MR	02-09-2022	83	VERY GOOD
Jewfish Dr	Sea Bass Dr	Shoal Line Blvd (CR 597)	365	40	14,600	RESIDENTIAL	ASPHALT	2	Major MR	02-14-2022	84	VERY GOOD
Jewfish Dr	W dead end	Sea Bass Dr	2,332	22	51,304	RESIDENTIAL	ASPHALT	2	Major MR	02-14-2022	86	VERY GOOD
Jo Ann Ct	S dead end	Lawrence St	618	20	12,360	RESIDENTIAL	ASPHALT	2	Major MR	02-09-2022	80	GOOD
Jocelyn Way	Everard Drive	Cressida Circle	1,284	20	25,680	RESIDENTIAL	ASPHALT	2	Global MR	02-16-2022	67	FAIR
Jodi West Dr	Dale Anne Dr	Baxley Dr	1,753	20	35,060	RESIDENTIAL	ASPHALT	2	Major MR	03-04-2020	56	FAIR
Joel St	W of Giralda Ave	Deltona Blvd	474	20	9,480	RESIDENTIAL	ASPHALT	2	Major MR	02-09-2022	81	GOOD
John Shoppa Dr	S end in park	Ridge Manor Blvd	424	22	9,328	RESIDENTIAL	ASPHALT	2	Major MR	02-16-2022	63	FAIR
Johnson St	Oakmoor St	Hickory St	617	14	8,638	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	79	GOOD
Johnstone Ct	S dead end	Heather Blvd	316	20	6,320	RESIDENTIAL	ASPHALT	2	Major MR	02-06-2022	80	GOOD
Jollett St	Lynnhaven Rd	E of India Dr	1,250	20	25,000	RESIDENTIAL	ASPHALT	2	Major MR	02-06-2022	92	EXCELLENT
Jomel Dr	Chaucer Drive	NW end of River Country Dr	5,416	20	108,320	RESIDENTIAL	ASPHALT	2	Major MR	02-24-2022	57	FAIR
Jones Rd	Snow Hill Road	turn to West	4,026	18	72,472	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	63	FAIR
Jonquil Pl	Jomel Drive	E dead end	452	20	9,040	RESIDENTIAL	ASPHALT	2	Major MR	02-24-2022	73	GOOD
Jordan St	Sunday Rd; x's: Freeport	India Dr	1,521	20	30,420	RESIDENTIAL	ASPHALT	2	Major MR	02-06-2022	81	GOOD
Josef Ave	Rudi Loop	Rudi Loop	928	20	18,560	RESIDENTIAL	ASPHALT	2	Major MR	02-09-2022	72	GOOD
Josephine St	S dead end	Dr M L King Jr Blvd	1,273	18	22,915	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	72	GOOD
Josh Whitney Way	Oakcrest Circle	NE end cul-de-sac	385	20	7,700	RESIDENTIAL	ASPHALT	2	Global MR	02-20-2022	50	FAIR
Joyce Dr	Yontz Rd	Violet Rd	2,117	20	42,345	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	71	GOOD
Joyner Ave	Swanson Court	Elgin Blvd	1,352	20	27,040	RESIDENTIAL	ASPHALT	2	Major MR	02-24-2022	59	FAIR
Juliet Ct	N of Kirkland Ave	Deltona Blvd	1,920	20	38,400	RESIDENTIAL	ASPHALT	2	Major MR	02-06-2022	86	VERY GOOD
July Ave	Lynnhaven Rd	Cortez Blvd SR50	967	20	19,340	RESIDENTIAL	ASPHALT	2	Major MR	02-06-2022	94	EXCELLENT
Jumper Loop	S loop of self	Switch Back Road	8,879	20	177,580	RESIDENTIAL	ASPHALT	2	Major MR	02-21-2022	77	GOOD
Juniper Ave	Arbor St	just N of Excalibur Rd	3,604	18	64,870	RESIDENTIAL	ASPHALT	2	Major MR	02-16-2022	64	FAIR
Jupiter Ln	Sunburst Court	Merrifield Court	657	20	13,140	RESIDENTIAL	ASPHALT	2	Major MR	02-24-2022	58	FAIR
Kadri Blvd	Cortez Blvd (SR 50)	E-W section	681	26	17,706	INDUSTRIAL	ASPHALT	2	Major MR	02-03-2022	56	FAIR
Kadri Blvd	N-S section	E end	1,027	23	23,621	INDUSTRIAL	ASPHALT	2	Major MR	02-03-2022	65	FAIR
Kane Rd	Rudi Loop	Oleta St	3,807	20	76,140	RESIDENTIAL	ASPHALT	2	Major MR	02-22-2022	89	VERY GOOD
Kangley Ln	Kenmore St	Elwood Rd	600	20	12,002	RESIDENTIAL	ASPHALT	2	Major MR	02-09-2022	72	GOOD
Kansas Rd	SE end	Peach Orchard Road	4,256	21	89,376	RESIDENTIAL	ASPHALT	2	Major MR	02-24-2022	58	FAIR
Kapok Tree Ct	Philatelic Drive	SW end cul-de-sac	282	20	5,640	RESIDENTIAL	ASPHALT	2	Global MR	02-09-2022	65	FAIR

Kass Cir	Spring Hill Dr	Spring Hill Dr	2,783	24	66,785	RESIDENTIAL	ASPHALT	2	Major MR	12-08-2019	72	GOOD
Katherwood St	W of Pillar Ave	Curry Dr	2,463	20	49,260	RESIDENTIAL	ASPHALT	2	Major MR	02-08-2022	73	GOOD
Kathy Ct	Beverly Court	SE dead end	3,063	24	8,712	INDUSTRIAL	ASPHALT	2	Major MR	02-15-2022	70	GOOD
Kaufman Rd	Cedar Lane	NE dead end	2,004	18	36,072	RESIDENTIAL	ASPHALT	2	Major MR	03-03-2022	91	VERY GOOD
Kearney St	Corydon Ave	Marble Ave	1,120	20	22,406	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	81	GOOD
Keene St	Henry Ave	Matico Ave	803	20	16,062	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	81	GOOD
Keepert Dr	Claymore St	Stanton Ave	3,328	20	66,560	RESIDENTIAL	ASPHALT	2	Major MR	12-03-2019	67	FAIR
Keesler St	Hartley Rd	Deltona Blvd	833	20	16,660	RESIDENTIAL	ASPHALT	2	Major MR	02-09-2022	72	GOOD
Kelvin Ct	NW of Kimball Court	Treehaven Dr	1,844	24	44,256	RESIDENTIAL	ASPHALT	2	Global MR	02-13-2022	57	FAIR
Ken Austin Parkway	Sunshine Grove Rd	625' E of Sunshine Grove Rd	625	36	22,500	COLLECTOR	ASPHALT	3	Major MR	03-30-2020	76	GOOD
Ken Austin Parkway	625' E of Sunshine Grove Rd	Grove Rd	4,679	22	102,938	COLLECTOR	ASPHALT	2	Major MR	03-31-2021	77	GOOD
Kenlake Ave	Applegate Drive	Spring Hill Drive	1,810	20	36,206	RESIDENTIAL	ASPHALT	2	Global MR	02-14-2022	51	FAIR
Kenmore St	Sedgefield Ave	Norvell Rd	1,866	20	37,323	RESIDENTIAL	ASPHALT	2	Major MR	02-09-2022	74	GOOD
Kennedy Blvd	Seminole St	Jefferson St (SR 50A)	580	20	11,606	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	87	VERY GOOD
Kenneth St	Fraser St	Hawkiowa Rd	270	16	4,319	RESIDENTIAL	ASPHALT	2	Major MR	03-03-2022	83	VERY GOOD
Kent St	Cresnt Road	Keyes Avenue	383	24	9,192	RESIDENTIAL	ASPHALT	2	Major MR	02-06-2022	80	GOOD
Kenway St	Deltona Blvd	Dustin Circle	1,878	20	37,560	RESIDENTIAL	ASPHALT	2	Major MR	02-08-2022	84	VERY GOOD
Kerridale Ave	Detroit Street	Norvell Road	1,194	20	23,885	RESIDENTIAL	ASPHALT	2	Major MR	02-09-2022	76	GOOD
Kettering Rd	Power Line Rd	7031' N of Power Line Rd	7,031	20	140,620	ARTERIAL	ASPHALT	2	Major MR	03-31-2021	72	GOOD
Kettering Rd	9076' S of Cortez Blvd	Cortez Blvd	9,078	24	217,872	ARTERIAL	ASPHALT	2	Major MR	03-01-2022	78	GOOD
Kevin Kelly Ave	Raley Road	Enterprise Drive	1,046	20	20,920	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	70	GOOD
Keye Dr	Sealawn Dr	Centerwood Ave	2,007	20	40,144	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	66	FAIR
Keyes Ave	Century Dr	Chase St	1,045	24	25,080	RESIDENTIAL	ASPHALT	2	Major MR	02-06-2022	81	GOOD
Keystone St	Tioga Avenue	Hedgewood Avenue	1,005	20	20,105	RESIDENTIAL	ASPHALT	2	Major MR	02-09-2022	74	GOOD
Keysville Ave	Northcliffe Blvd	N of Elgin Blvd	6,702	20	134,040	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	59	FAIR
Keysville Ave	W of Cartee Ave	Northcliffe Blvd	878	24	21,072	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	80	GOOD
Kibler Ln	Clayton Rd	1024' E of Clayton Rd	1,024	20	20,482	RESIDENTIAL	ASPHALT	2	Major MR	02-23-2022	66	FAIR
Kilbride Ct	S dead end	Dundee Way	383	20	7,660	RESIDENTIAL	ASPHALT	2	Major MR	02-06-2022	76	GOOD
Kildeer Rd	S of Peregrine Falcon Ave	N of Pembroke Ave; x's:CentraliaRd	2,617	20	52,340	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	87	VERY GOOD
Killian St	Laramore St	Mariner Blvd	2,224	20	44,480	RESIDENTIAL	ASPHALT	2	Major MR	02-08-2022	76	GOOD
Killian St	Mariner Blvd	E. of Landover Blvd	3,293	20	65,860	RESIDENTIAL	ASPHALT	2	Major MR	02-08-2022	81	GOOD
Killinger Ave	Landmark Dr	Millstone St	1,443	20	28,860	RESIDENTIAL	ASPHALT	2	Major MR	02-14-2022	75	GOOD
Kimball Ct	SW dead end	Treehaven Dr	2,474	24	59,376	RESIDENTIAL	ASPHALT	2	Global MR	02-14-2022	54	FAIR
Kimberly Ave	Tranquil Dr	Tranquil Dr	1,154	20	23,072	RESIDENTIAL	ASPHALT	2	Major MR	12-11-2019	72	GOOD
Kimbrough Dr	Peppermill Dr	N of Eppley Dr	1,574	18	28,333	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	63	FAIR
Kingfisher Rd	Centralia Road (CR476)	N of Pembroke Ave	1,313	20	26,260	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	82	VERY GOOD
Kingman Ct	W dead end	Kingston Dr	151	24	3,626	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	77	GOOD
Kingmont St	Hawthorne Road	Dothan Avenue	715	20	14,300	RESIDENTIAL	ASPHALT	2	Major MR	02-09-2022	75	GOOD
Kings Cross Rd	Hyde Park Way	Buckingham Way	906	20	18,120	RESIDENTIAL	ASPHALT	2	Global MR	02-16-2022	52	FAIR
Kingsboro Rd	S dead end	Peregrine Falcon Ave	850	20	17,000	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	83	VERY GOOD
Kingsdale St	Waterfall Drive	Candlewick Avenue	884	20	17,689	RESIDENTIAL	ASPHALT	2	Major MR	02-25-2020	71	GOOD
Kingston Dr	Flamingo Blvd	N dead end	819	24	19,669	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	79	GOOD
Kingway Ln	Hanley Dr	Lomberdy St	310	20	6,200	RESIDENTIAL	ASPHALT	2	Major MR	02-09-2022	64	FAIR
Kinlock Ave	Nardello Ave	Jordan St	1,809	20	36,180	RESIDENTIAL	ASPHALT	2	Major MR	02-06-2022	90	VERY GOOD
Kirkland Ave	Century Dr	Swiss Rd	5,272	24	126,528	RESIDENTIAL	ASPHALT	2	Major MR	02-06-2022	88	VERY GOOD
Kirkwell Cir	Kirkland Ave	Kirkland Ave	435	20	8,700	RESIDENTIAL	ASPHALT	2	Major MR	02-06-2022	81	GOOD
Kirkwood Ave	Northcliffe Blvd	Laramie Lane	4,565	20	91,293	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	66	FAIR
Kiska Wren Rd	Marcella Ave	Mirage Ave	1,306	20	26,128	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	81	GOOD

Kitiwake Rd	S dead end	Peregrine Falcon Ave	840	20	16,800	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	90	VERY GOOD
Kitty Rd	Pembroke Ave	N dead end	377	20	7,540	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	81	GOOD
Knights Bridge Rd	Chalk Farm Road	Newington Avenue	926	20	18,520	RESIDENTIAL	ASPHALT	2	Global MR	02-16-2022	65	FAIR
Knoll Dr	S-N end cul-de-sacs	x's: Lorendale Circle	529	20	10,580	RESIDENTIAL	ASPHALT	2	Major MR	02-06-2022	55	FAIR
Knollwood Dr	Ridge Manor Blvd	6044 Knollwood Dr	1,009	18	18,170	RESIDENTIAL	ASPHALT	2	Major MR	02-16-2022	51	FAIR
Knollwood Dr	6044 Knollwood Dr	N dead end	1,002	18	18,041	RESIDENTIAL	ASPHALT	2	Major MR	02-16-2022	80	GOOD
Knotty Oaks Cir	S end cul-de-sac	Philatelic Drive	208	20	4,160	RESIDENTIAL	ASPHALT	2	Global MR	02-09-2022	56	FAIR
Knotty Pine Ct	Forestwood Ct	E dead end	495	20	9,900	RESIDENTIAL	ASPHALT	2	Global MR	02-16-2022	70	GOOD
Knuckey Rd	US 19	Lelani Dr	10,617	21	222,957	COLLECTOR	ASPHALT	2	Major MR	02-06-2022	94	EXCELLENT
Knuckey Rd	Lelani Drive	E dead end	679	21	14,259	RESIDENTIAL	ASPHALT	2	Global MR	02-06-2022	95	EXCELLENT
Kocher Dr	S dead end	Ft Dade	1,298	16	20,768	RESIDENTIAL	ASPHALT	2	Major MR	02-23-2022	74	GOOD
Kodiak Wren Rd	Hexam Rd	Mirage Ave	2,464	20	49,280	RESIDENTIAL	ASPHALT	2	Major MR	02-01-2022	93	EXCELLENT
Kohen Rd	S dead end	Mondon Hill Rd	454	16	7,263	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	66	FAIR
Kollar St	Lincoln Ave	Broad St	1,533	16	24,528	RESIDENTIAL	ASPHALT	2	Major MR	03-03-2022	79	GOOD
Kollar St	71' SE of Jackson Ave	Lincoln Ave	1,073	16	17,168	RESIDENTIAL	ASPHALT	2	Major MR	03-03-2022	95	EXCELLENT
Kostka Dr	County Line Rd	Stur St	1,653	18	29,754	RESIDENTIAL	ASPHALT	2	Major MR	03-03-2022	65	FAIR
Kraft Ave	Eastbrook Dr	Toledo Rd	468	20	9,360	RESIDENTIAL	ASPHALT	2	Major MR	02-14-2022	70	GOOD
Krista Dr	Schalekamp Dr	Mauna Loa Court	2,151	20	43,020	RESIDENTIAL	ASPHALT	2	Major MR	02-08-2022	79	GOOD
Krupke Cir	S cul-de-sac end	Jacaranda Cir	275	20	5,500	RESIDENTIAL	ASPHALT	2	Global MR	02-20-2022	56	FAIR
La Bamba Ct	Via De Rosa Lane	N dead end	249	20	4,980	RESIDENTIAL	ASPHALT	2	Global MR	02-16-2022	67	FAIR
La Casita Ave	Little Farms Drive	Coronado Drive	890	20	17,799	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	83	VERY GOOD
La Crosse St	Oaklawn Ave	Snow Memorial Hwy (CR 481)	1,208	18	21,738	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	71	GOOD
Labrador Duck Rd	Hexam Rd	N of Petrel Ave	6,740	20	134,800	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	80	GOOD
Lackland Ave	Claymore St	Linden Dr	1,850	20	37,000	RESIDENTIAL	ASPHALT	2	Major MR	12-03-2019	66	FAIR
Lacy St	Linden Dr	Anchor Ave	1,175	20	23,500	RESIDENTIAL	ASPHALT	2	Major MR	12-03-2019	65	FAIR
Lafoy Rd	W of Greynolds Ave	Dunkirk Rd	2,025	20	40,504	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	71	GOOD
Lagoon Rd	Pinehurst Dr	SE of Pie Court	1,414	20	28,278	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	78	GOOD
Lagorce Ave	Pickford Street	Fortune Street	1,878	20	37,560	RESIDENTIAL	ASPHALT	2	Major MR	02-24-2022	67	FAIR
Lake Dr	Country Road	321' N of Bahama Swallow Ave	4,249	20	84,980	RESIDENTIAL	ASPHALT	2	Major MR	03-03-2022	54	FAIR
Lake Dr	321' N of Bahama Swallow Ave	Bahama Swallow Ave	321	20	6,420	RESIDENTIAL	ASPHALT	2	Major MR	03-24-2020	61	FAIR
Lake Forest Ave	Maderia St	Keepart Dr	3,105	20	62,100	RESIDENTIAL	ASPHALT	2	Major MR	12-04-2019	68	GOOD
Lake Hill Ct	Oak Lake Drive	E of Oake Lake Dr (2)	1,273	24	30,567	RESIDENTIAL	ASPHALT	2	Major MR	02-25-2020	76	GOOD
Lake In The Woods Dr	Gate	Commercial Way (US 19)	2,077	22	45,690	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	82	VERY GOOD
Lake Lindsey Rd (CR476)	Broad St (US 41)	Sumter County Line	28,155	24	675,712	ARTERIAL	ASPHALT	2	Global MR	03-31-2021	58	FAIR
Lake Lindsey Rd (CR476)	Snow Memorial Hwy (CR 481)	Broad St (US 41)	7,467	18	134,402	COLLECTOR	ASPHALT	2	Major MR	03-03-2022	43	POOR
Lake Lindsey Rd (CR476)	Citrus Way (CR 491)	Ponce De Leon Blvd (US 98)	10,407	22	228,958	COLLECTOR	ASPHALT	2	Major MR	03-31-2021	70	GOOD
Lake Lindsey Rd (CR476)	7600' E of Ponce De Leon Blvd	Old Crystal River Rd	6,390	24	153,366	COLLECTOR	ASPHALT	2	Major MR	03-31-2021	76	GOOD
Lake Lindsey Rd (CR476)	Ponce De Leon Blvd (US 98)	7600' E of Ponce De Leon Blvd	7,621	30	228,621	COLLECTOR	ASPHALT	2	Major MR	03-31-2021	79	GOOD
Lake Lindsey Rd (CR476)	Old Crystal River Rd	2672' W of Snow Memorial Hwy	4,918	24	118,032	COLLECTOR	ASPHALT	2	Major MR	03-31-2021	82	VERY GOOD
Lake Lindsey Rd (CR476)	2672' W of Snow Memorial Hwy	Snow Memorial Hwy	2,673	19	50,787	COLLECTOR	ASPHALT	2	Major MR	03-31-2021	85	VERY GOOD
Lake Village Ln	Snow Memorial Hwy (CR 481)	Snow Memorial Hwy (CR 481)	1,427	16	22,831	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	72	GOOD
Lakefront Rd	US 19	Osceola Dr	1,203	20	24,060	RESIDENTIAL	ASPHALT	2	Major MR	03-03-2022	48	POOR
Lakeshore Ave	Kirkland Ave	Century Dr	880	20	17,600	RESIDENTIAL	ASPHALT	2	Major MR	02-07-2022	85	VERY GOOD
Laketon Dr	Round Lake Drive	Lake Drive	406	20	8,120	RESIDENTIAL	ASPHALT	2	Major MR	03-02-2022	53	FAIR
Lakeview Ct	W of Parkhurst Lane	Riviera Court	1,209	20	24,180	RESIDENTIAL	ASPHALT	2	Major MR	03-03-2022	52	FAIR
Lakewood Dr	Orchid Pkwy	SR 50	3,198	18	57,564	RESIDENTIAL	ASPHALT	2	Major MR	02-16-2022	66	FAIR
Lambert Ave	Bayside Court	River Rd	1,806	20	36,120	RESIDENTIAL	ASPHALT	2	Major MR	03-03-2022	57	FAIR
Lambeth Rd	Mondon Hill Rd	Sunnyside Ranch Rd	2,645	20	52,900	RESIDENTIAL	ASPHALT	2	Major MR	02-23-2022	60	FAIR

Lamborn St	Freeport Drive	Northcliffe Blvd	749	20	14,980	RESIDENTIAL	ASPHALT	2	Major MR	02-07-2022	81	GOOD
Lamium Ct	S cul-de-sac end	Wirevine Dr	176	20	3,518	RESIDENTIAL	ASPHALT	2	Major MR	03-03-2022	64	FAIR
Lamont Dr	Pillar Avenue	Shafton Road	1,556	20	31,120	RESIDENTIAL	ASPHALT	2	Major MR	02-09-2022	81	GOOD
Lampighter St	Clearfield Ave	Leafy Way Ave	1,592	20	31,840	RESIDENTIAL	ASPHALT	2	Major MR	02-14-2022	86	VERY GOOD
Lamson Ave	Portillo Rd	Northcliffe Blvd	2,816	20	56,320	RESIDENTIAL	ASPHALT	2	Global MR	03-03-2022	51	FAIR
Lamson Ave	Northcliffe Blvd	Cranston St	4,950	20	99,000	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	75	GOOD
Lanark Rd	unpaved section	Neff Lake Rd	2,951	20	59,020	RESIDENTIAL	ASPHALT	2	Major MR	03-03-2022	56	FAIR
Lancewood Dr	Sherman Hills Blvd	Stoney Brook Dr	1,340	20	26,800	RESIDENTIAL	ASPHALT	2	Major MR	03-03-2022	72	GOOD
Landfair St	Belspring Avenue	Curry Drive	2,020	20	40,400	RESIDENTIAL	ASPHALT	2	Major MR	02-07-2022	76	GOOD
Landfill Rd	Tatum Rd	Ponce De Leon Blvd (US98)	1,404	24	33,692	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	88	VERY GOOD
Landmark Dr	Pinehurst Dr	Cobblestone Dr	2,150	20	43,000	RESIDENTIAL	ASPHALT	2	Major MR	02-13-2022	55	FAIR
Landmark Dr	Cobblestone Dr	Lampighter St	3,902	20	78,040	RESIDENTIAL	ASPHALT	2	Major MR	02-13-2022	82	VERY GOOD
Landover Blvd	Corrine Ave	Mariner Boulevard	7,816	20	156,320	COLLECTOR	ASPHALT	2	Global MR	03-07-2022	44	POOR
Landover Blvd	Northcliffe Boulevard	Mariner Boulevard	5,447	20	108,940	COLLECTOR	ASPHALT	2	Global MR	03-06-2022	47	POOR
Landover Blvd	Mariner Boulevard	415' S of Elgin Boulevard	12,348	20	246,960	COLLECTOR	ASPHALT	2	Global MR	03-06-2022	48	POOR
Landover Blvd	Elgin Boulevard	Northcliffe Boulevard	6,511	20	130,220	COLLECTOR	ASPHALT	2	Global MR	03-03-2022	68	FAIR
Landover Blvd	415' S of Elgin Blvd	Corrine Ave	854	33	28,182	COLLECTOR	ASPHALT	3	Major MR	03-23-2020	69	GOOD
Landover Blvd	N of Gifford Drive	Elgin Boulevard	455	20	9,100	RESIDENTIAL	ASPHALT	2	Global MR	03-02-2022	49	POOR
Landover Blvd	Mariner Boulevard	Covewood Drive	626	20	12,520	RESIDENTIAL	ASPHALT	2	Major MR	03-07-2022	51	FAIR
Landover Blvd	Mariner Boulevard	Mariner Boulevard	4,715	20	94,300	RESIDENTIAL	ASPHALT	2	Major MR	03-07-2022	53	FAIR
Landsdale St	E/Unpaved section	SR 50	863	20	17,262	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	74	GOOD
Lang St	Haysmont St	N end	266	18	4,788	RESIDENTIAL	ASPHALT	2	Major MR	05-31-2020	90	VERY GOOD
Lang St	S end	Haysmont St	509	18	9,162	RESIDENTIAL	ASPHALT	2	Major MR	05-31-2020	90	VERY GOOD
Langan St	W of Freeport Drive	Sunday Road	4,113	20	82,260	RESIDENTIAL	ASPHALT	2	Major MR	02-07-2022	88	VERY GOOD
Langworthy Dr	S of Keller St	Bronco Ln	9,426	20	188,511	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	66	FAIR
Lansfield St	Greynolds Ave	Mariner Blvd	2,312	20	46,233	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	72	GOOD
Lansing Dr	S of Henderson Street	Henry Avenue	1,407	20	28,140	RESIDENTIAL	ASPHALT	2	Global MR	02-16-2022	60	FAIR
Lapaz Ct	W dead end	Castille Dr	275	20	5,500	RESIDENTIAL	ASPHALT	2	Global MR	02-16-2022	71	GOOD
Lapwing Rd	Marvelwood Rd	Pioneer Ave	1,611	20	32,220	RESIDENTIAL	ASPHALT	2	Major MR	04-01-2020	74	GOOD
Laramie Ln	Deltona Blvd	Elgin Blvd	1,210	20	24,206	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	76	GOOD
Laramore St	W of Pillar Avenue	Parnell Avenue	1,262	20	25,240	RESIDENTIAL	ASPHALT	2	Major MR	02-08-2022	70	GOOD
Larbert Ct	Glasgow Road	N dead end	247	22	5,434	RESIDENTIAL	ASPHALT	2	Major MR	02-07-2022	79	GOOD
Laredo Ave	Vicksburg Rd	cul-de-sac N of Jena Rd	5,149	20	102,980	RESIDENTIAL	ASPHALT	2	Major MR	02-06-2022	77	GOOD
Lark Ave	Hickory St	Howell Ave	4,428	20	88,565	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	67	FAIR
Lark Field Ln	Ipswitch Sparrow Rd	Lark Sparrow Rd	446	20	8,920	RESIDENTIAL	ASPHALT	2	Major MR	02-07-2022	93	EXCELLENT
Lark Sparrow Rd	Mirage Ave	Ipswitch Sparrow Rd	5,739	20	114,780	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	77	GOOD
Larkin Rd	175' W of Overland Dr	E cul-de-sac end	785	20	15,700	RESIDENTIAL	ASPHALT	2	Global MR	02-15-2022	54	FAIR
Larkin Rd	Bishop Road	175' W of Overland Dr	7,173	20	143,467	RESIDENTIAL	ASPHALT	2	Major MR	02-15-2022	70	GOOD
Las Palmas Ave	Berkely Manor Blvd	Cul-de-sac N of Winding Oak Ln	1,302	20	26,040	RESIDENTIAL	ASPHALT	2	Global MR	02-06-2022	72	GOOD
Laumer Ave	Reynolds St	dead end N of Louise St	1,366	24	32,806	RESIDENTIAL	ASPHALT	2	Major MR	03-03-2022	83	VERY GOOD
Laurel Ave	Spring Hill Dr	Hillview Rd	1,284	20	25,680	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	62	FAIR
Laurel St	Darts Street	Thurston Street	541	20	10,820	RESIDENTIAL	ASPHALT	2	Global MR	03-07-2022	56	FAIR
Lauren Dr	Elgin Blvd	E of Fenian Dr	2,057	20	41,140	RESIDENTIAL	ASPHALT	2	Global MR	02-08-2022	64	FAIR
Laval St	Anchor Ave	Hilandale Ave	1,039	20	20,780	RESIDENTIAL	ASPHALT	2	Major MR	12-03-2019	65	FAIR
Lavilla Ave	Blackstone St	Gibraltar St	928	20	18,560	RESIDENTIAL	ASPHALT	2	Major MR	02-06-2022	80	GOOD
Lavina Ln	Gillmar St	Meredith Dr	796	20	15,923	RESIDENTIAL	ASPHALT	2	Major MR	12-02-2019	70	GOOD
Lawler Ave	Van Allen Way	Belvedere St	626	20	12,520	RESIDENTIAL	ASPHALT	2	Major MR	02-06-2022	72	GOOD
Lawrence St	50' E of Siam Drive	480' E of Schalekamp Drive	1,107	42	46,494	RESIDENTIAL	ASPHALT	4	Major MR	02-07-2022	74	GOOD

Lawrence St	480' E of Schalekamp Drive	Barclay Ave	4,693	23	107,939	RESIDENTIAL	ASPHALT	2	Major MR	02-07-2022	75	GOOD
Lawrence St	Mariner Blvd	50' E of Siam Drive	3,057	21	64,197	RESIDENTIAL	ASPHALT	2	Major MR	02-07-2022	79	GOOD
Lawton Dr	Lake Lindsey Road (CR476)	Shore Road	1,019	18	18,338	RESIDENTIAL	ASPHALT	2	Major MR	02-16-2022	51	FAIR
Layton Ave	Curry Dr	Hanley Dr	2,298	20	45,960	RESIDENTIAL	ASPHALT	2	Major MR	02-08-2022	78	GOOD
Lazy Days Ct	Whisper Ridge Trail	N cul-de-sac end	609	19	11,571	RESIDENTIAL	ASPHALT	2	Major MR	02-01-2022	80	GOOD
Leafy Way Ave	Tranquil Dr	Gates Circle	3,156	20	63,111	RESIDENTIAL	ASPHALT	2	Major MR	12-09-2019	72	GOOD
Lear St	Windbrook Ave	Wiltshire Ave	816	20	16,318	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	56	FAIR
Lee Ave	Morningside Dr	Cobb Rd	1,320	18	23,760	RESIDENTIAL	ASPHALT	2	Major MR	02-23-2022	77	GOOD
Lee Rd	Bay Drive	Bayside Court	976	20	19,520	RESIDENTIAL	ASPHALT	2	Major MR	03-07-2022	52	FAIR
Leeward Ave	Applegate Dr	Ashland Dr	1,050	20	21,000	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	47	POOR
Legend St	Courts Court	Gondolier Road	1,001	20	20,020	RESIDENTIAL	ASPHALT	2	Global MR	02-09-2022	65	FAIR
Lehigh Ave	Linden Dr	Monarch St	623	20	12,464	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	46	POOR
Lehouier Dr	SW of Eastside Ave	Howell Ave	890	20	17,800	RESIDENTIAL	ASPHALT	2	Major MR	02-23-2022	80	GOOD
Leisure St	Westwood Dr	Ridge Manor Blvd	1,692	18	30,452	RESIDENTIAL	ASPHALT	2	Major MR	02-16-2022	34	VERY POOR
Leisure St	Ridge Manor Blvd	Idle-A-While Circle	1,037	18	18,666	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	72	GOOD
Leith Ct	S dead end	Dundee Way	300	22	6,600	RESIDENTIAL	ASPHALT	2	Major MR	02-07-2022	75	GOOD
Leland St	Montano Avenue	Roland Street	1,195	20	23,900	RESIDENTIAL	ASPHALT	2	Major MR	02-09-2022	77	GOOD
Lelani Dr	Centralia Road (CR476)	Knuckey Rd	8,188	22	180,136	COLLECTOR	ASPHALT	2	Major MR	04-16-2020	70	GOOD
Lelani Dr	Knuckey Road	Quigley Avenue	360	21	7,560	RESIDENTIAL	ASPHALT	2	Global MR	04-19-2020	57	FAIR
Lema Dr	Linden Dr	Linden Dr	6,035	20	120,700	RESIDENTIAL	ASPHALT	2	Global MR	12-04-2019	63	FAIR
Lema Dr	Linden Dr	Spring Hill Dr	4,862	20	97,240	RESIDENTIAL	ASPHALT	2	Global MR	12-04-2019	64	FAIR
Lema Dr	Spring Hill Dr	Linden Dr	6,431	20	128,620	RESIDENTIAL	ASPHALT	2	Global MR	12-04-2019	65	FAIR
Leonard St	S dead end	Dr M L King Jr Blvd	1,228	18	22,108	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	52	FAIR
Les Dr	Canal Dr	Campbell Dr	155	20	3,100	RESIDENTIAL	ASPHALT	2	Major MR	03-30-2020	57	FAIR
Leslie Ct	Cresap Street	E dead end	323	20	6,460	RESIDENTIAL	ASPHALT	2	Major MR	03-23-2020	63	FAIR
Lester Ln	Kirkland Ave	Lakeshore Ave	532	20	10,640	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	66	FAIR
Lewis Ln	Loop Court	August Avenue	1,600	20	32,000	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	78	GOOD
Lexington Cir	Amber Ridge Dr	circle back to self	2,834	20	56,680	RESIDENTIAL	ASPHALT	2	Major MR	04-01-2020	53	FAIR
Lexington Cir	Lexington Cir	Barcelona Blvd	170	20	3,400	RESIDENTIAL	ASPHALT	2	Major MR	04-01-2020	61	FAIR
Libby Rd	Mariner Blvd	Fortune St	3,907	20	78,140	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	73	GOOD
Liberator Ct	SW end Cul-de-sac	Ligonier Rd	824	20	16,480	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	81	GOOD
Liberto Rd	Hexam Rd	Mirage Ave	2,447	20	48,940	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	76	GOOD
Lightfoot St	Cavern Rd	Goldcoast Ave	1,528	20	30,560	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	79	GOOD
Lightwood St	Linden Dr	Matico Ave	1,443	20	28,865	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	79	GOOD
Ligonier Rd	River Road	Bayside Court	3,294	20	65,880	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	74	GOOD
Lilac Ct	Godfrey Avenue	Godfrey Avenue	336	18	6,045	RESIDENTIAL	ASPHALT	4	Major MR	04-13-2021	61	FAIR
Lily Dr	Companero Entra	N dead end	672	19	12,768	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	66	FAIR
Lincoln Ave	Stur St	Hviezoslav St	5,459	18	98,262	RESIDENTIAL	ASPHALT	2	Major MR	03-03-2020	61	FAIR
Lincoln Rd	W dead end	Eastside Ave	618	20	12,360	RESIDENTIAL	ASPHALT	2	Major MR	03-30-2020	47	POOR
Linden Dr	Spring Hill Dr	Mariner Blvd	12,121	20	242,420	COLLECTOR	ASPHALT	2	Major MR	03-31-2021	60	FAIR
Linden Dr	Mariner Blvd	Spring Hill Dr	7,645	24	183,486	COLLECTOR	ASPHALT	2	Major MR	03-31-2021	69	GOOD
Linden Dr	County Line Rd.	S. of Cooper Rd	6,355	22	140,437	COLLECTOR	ASPHALT	2	Major MR	12-05-2019	72	GOOD
Linden Dr	S. of cooper Rd.	Spring Hill Dr	7,221	24	173,313	COLLECTOR	ASPHALT	2	Major MR	12-05-2019	73	GOOD
Linden Dr	Spring Hill Dr	Spring Hill Dr	6,800	24	163,205	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	66	FAIR
Lindhurst St	Clearfield Ave	Portland Ave	974	20	19,480	RESIDENTIAL	ASPHALT	2	Major MR	12-09-2019	73	GOOD
Lindsay Rd	Lightwood St, x's:Mariner	Linden Dr	2,459	20	49,171	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	72	GOOD
Lingle Rd (CR439)	Lake Lindsey Rd (CR476)	Citrus County Line	6,483	22	142,626	COLLECTOR	ASPHALT	2	Major MR	04-01-2020	76	GOOD
Lingrove Rd	Lismore Court	entrance to Heather Sound	436	20	8,722	RESIDENTIAL	ASPHALT	2	Major MR	03-12-2020	28	VERY POOR

Links Dr	Wallien Drive	490' E of Wallien Dr	492	22	10,815	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	82	VERY GOOD
Linnet Rd	Pioneer Ave	Phoenix Ave	1,357	20	27,140	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	73	GOOD
Linnet Rd	Mirage Ave	Pioneer Ave	358	20	7,160	RESIDENTIAL	ASPHALT	2	Major MR	04-01-2020	75	GOOD
Linwood Ave	Heathcliff Street	Cara Street	1,703	20	34,061	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	66	FAIR
Lismore Ct	Heather Blvd	S of Lingrove Road	1,063	24	25,529	RESIDENTIAL	ASPHALT	2	Major MR	03-12-2020	62	FAIR
Lisson Grove Ln	S of Chalk Farm Road	N of Chalk Farm Road	673	20	13,460	RESIDENTIAL	ASPHALT	2	Global MR	12-05-2019	69	GOOD
Little Ave	First Circle Dr	Highpoint Blvd	283	21	5,943	RESIDENTIAL	ASPHALT	2	Major MR	03-07-2022	91	VERY GOOD
Little Farms Dr	Spring Hill Dr	Drysdale St	6,664	20	133,273	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	75	GOOD
Little Fawn Ct	W of Bedford Road	E of Bedford Road	977	20	19,540	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	81	GOOD
Little Green Ln	SR 50	Madison Ave	692	18	12,456	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	77	GOOD
Little Gull Rd	Hexam Rd	Mirage Ave	2,532	20	50,640	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	71	GOOD
Little Peach Ct	S dead end	Cara St	397	20	7,940	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	83	VERY GOOD
Little St	Gimlet Ave	Mariner Blvd	933	20	18,660	RESIDENTIAL	ASPHALT	2	Major MR	12-03-2019	71	GOOD
Little Tee Ln	Club House Rd	Formosa St	2,175	22	47,850	RESIDENTIAL	ASPHALT	2	Major MR	02-01-2022	80	GOOD
Littlefield Ln	Joyner Avenue	Freeport Drive	577	20	11,540	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	60	FAIR
Live Oak Dr	SR 50	Olmes Rd	775	20	15,502	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	73	GOOD
Lloyd Dr	River Country Dr	Delaware Drive	779	20	15,580	RESIDENTIAL	ASPHALT	2	Major MR	03-10-2020	64	FAIR
Locker Dr	Fairchild Rd	E of Greenturf Rd	1,821	20	36,420	RESIDENTIAL	ASPHALT	2	Global MR	12-01-2019	74	GOOD
Lockhart Rd	108' S of Power Line Rd	SR 50	16,940	22	372,680	COLLECTOR	ASPHALT	2	Major MR	03-04-2020	61	FAIR
Lockwood St	Garret Ave	Hanover Ct	745	24	17,880	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	71	GOOD
Lodge Cir	Pinehurst Dr	Acorn Circle	2,375	24	57,009	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	73	GOOD
Logan St	Pilgrim Rd	Hanover Ct	841	24	20,184	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	69	GOOD
Lola Dr	Mariner Blvd	E of Crowley Court	994	20	19,880	RESIDENTIAL	ASPHALT	2	Major MR	03-23-2020	59	FAIR
Lola Dr	Lombardy St	Mariner Blvd	2,486	20	49,720	RESIDENTIAL	ASPHALT	2	Major MR	03-23-2020	67	FAIR
Lombardy St	W of Kingway Lane	Mariner Blvd	1,143	20	22,860	RESIDENTIAL	ASPHALT	2	Major MR	03-23-2020	59	FAIR
Lomita Wren Rd	Mirage Ave	Pheasant Ave	3,025	20	60,500	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	72	GOOD
Lomita Wren Rd	Hexam Rd	Mirage Ave	2,431	20	48,620	RESIDENTIAL	ASPHALT	2	Major MR	04-01-2020	74	GOOD
London Ave	Spring Hill Dr	N of Canterbury St	1,424	20	28,480	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	76	GOOD
Long Cir	123' W of Madonna Dr	389' E of Madonna Dr	512	20	10,240	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	61	FAIR
Long Cir	Norman St	123' W of Madonna Dr	2,130	20	42,600	RESIDENTIAL	ASPHALT	2	Major MR	02-16-2022	92	EXCELLENT
Long Hill Ct	Cul-de-sac W of Salters St	Cul-de-sac E of Augustine Rd	2,483	20	49,664	RESIDENTIAL	ASPHALT	2	Major MR	02-09-2022	89	VERY GOOD
Long Lake Ave	Allen Dr	US 19	4,718	18	84,924	RESIDENTIAL	ASPHALT	2	Major MR	03-12-2020	74	GOOD
Longbranch Ct	Forest Oaks Blvd	Sunflower Dr	490	24	11,768	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	72	GOOD
Loop Ct	Norman St	August Ave	1,983	20	39,660	RESIDENTIAL	ASPHALT	2	Major MR	02-16-2022	93	EXCELLENT
Lorendale Cir	Knoll Rd,x's: Sutton Pl	circles to self	3,089	24	74,185	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	76	GOOD
Lorenzo Dr	S of Mango Ct	N of Padron Blvd	1,231	20	24,620	RESIDENTIAL	ASPHALT	2	Global MR	12-05-2019	75	GOOD
Loretto St	Deltona Blvd	Florentine Court	3,533	20	70,660	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	82	VERY GOOD
Lori Dr	Hunter's Lake Rd	Applegat Dr	2,781	24	66,744	INDUSTRIAL	ASPHALT	2	Major MR	02-26-2020	67	FAIR
Lorraine Ln	Brentlawn St	Lynnhaven Rd	1,281	20	25,620	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	78	GOOD
Louise St	US 301	780' E of Laumer Ave	1,568	21	32,928	RESIDENTIAL	ASPHALT	2	Major MR	03-05-2020	47	POOR
Lovebird Ln	S dead end	Bertram Rd	705	20	14,090	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	62	FAIR
Lowell Ave	Brookside St	Killian St	570	20	11,400	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	78	GOOD
Lu Wista Ln	Croom	N dead end	967	24	23,223	RESIDENTIAL	ASPHALT	2	Major MR	04-01-2020	60	FAIR
Lucas Dr	SE dead end	Jefferson St (SR 50A)	834	16	13,339	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	56	FAIR
Lucky Ln	N to W corner	Barclay Ave	648	20	12,960	RESIDENTIAL	ASPHALT	2	Major MR	03-23-2020	61	FAIR
Ludlow Ln	Norvell Rd	Boswell Rd	625	20	12,500	RESIDENTIAL	ASPHALT	2	Global MR	04-13-2021	55	FAIR
Ludlum Ln	Freeport Drive	Lyon Road	522	20	10,440	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	79	GOOD
Lugustrum Dr	S dead end	Hermosa Blvd	843	22	18,968	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	58	FAIR

Lullwater Ave	Tryon Circle	Fieldstone Lane	765	20	15,300	RESIDENTIAL	ASPHALT	2	Major MR	12-09-2019	69	GOOD
Luxembourg Ct	Castle Ave	SE dead end	490	24	11,768	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	73	GOOD
Lydia Ct	SE dead end	N of Loretto St	4,574	20	91,480	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	71	GOOD
Lykes Cutoff	Cortez Blvd (SR 50)	unpaved section	382	20	7,640	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	61	FAIR
Lykes Dublin Rd	Wiscon Rd	Cortez Blvd (SR 50)	2,722	18	48,996	COLLECTOR	ASPHALT	2	Major MR	03-31-2021	84	VERY GOOD
Lykes St	Dalewood Dr	Darts Street	1,298	20	25,960	RESIDENTIAL	ASPHALT	2	Global MR	03-10-2020	53	FAIR
Lynnhaven Rd	Freepart Drive	Hazelwood Road	2,831	20	56,620	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	74	GOOD
Lyon Rd	W of Moongate Road	Freepart Drive	2,855	20	57,100	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	76	GOOD
Lyric Ln	Shingler Ave	Shiprock Ave	511	20	10,220	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	77	GOOD
Maberly Rd	S of Wood Owl Ave	N of Yellow Tail Ave	5,305	20	106,100	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	75	GOOD
MacFarLane Ave	Eldridge Rd	Blaine Rd	1,397	20	27,940	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	66	FAIR
Mackinaw Rd	Eider Ave	Spoonbill Rd	1,152	20	23,040	RESIDENTIAL	ASPHALT	2	Major MR	02-01-2022	64	FAIR
Macon Ln	Sheffield Rd	Harbinger Rd	298	20	5,960	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	75	GOOD
Macross Ct	W dead end	Marsh Hawk Rd	462	20	9,240	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	83	VERY GOOD
Maderia St	Linden Dr, x's:Maniner	Restmere Lane	4,555	20	91,100	RESIDENTIAL	ASPHALT	2	Major MR	12-02-2019	68	GOOD
Madison Ave	Westwood Dr	Little Green Lane	798	18	14,364	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	79	GOOD
Madonna Dr	Long Circle	Richardson Blvd	5,185	20	103,700	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	72	GOOD
Madrid Rd	Nightwalker Rd	N of Gyrafalcon Ave	10,544	18	189,792	RESIDENTIAL	ASPHALT	2	Major MR	03-24-2020	53	FAIR
Mae Hight Rd	Weatherly Rd	Redbird Lane	1,352	16	21,638	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	65	FAIR
Magee St	SW dead end	Schering Street	2,585	20	51,700	RESIDENTIAL	ASPHALT	2	Global MR	03-10-2020	50	FAIR
Magellan Ave	Red Coach St	Linden Dr	1,528	20	30,560	RESIDENTIAL	ASPHALT	2	Major MR	12-03-2019	68	GOOD
Maginn Ct	SW dead end	Marbled Godwit Rd	614	20	12,280	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	69	GOOD
Magnon Dr	Reiland Dr	appx 200' E of Lingle Rd	891	18	16,046	RESIDENTIAL	ASPHALT	2	Major MR	02-16-2022	59	FAIR
Maguire Ave	Spring Hill Dr	Maderia Dr	1,393	20	27,860	RESIDENTIAL	ASPHALT	2	Major MR	12-02-2019	71	GOOD
Mahopac Rd	Wolf Den Rd	NE of Osprey Ave	2,129	20	42,580	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	79	GOOD
Main St (CR445)	Dr M L King Jr Blvd	Fl Dade Ave	3,979	24	95,559	COLLECTOR	ASPHALT	2	Major MR	03-26-2020	52	FAIR
Main St (CR445)	Cortez Blvd (SR50)	Dr M L King Jr Blvd	2,587	20	51,740	COLLECTOR	ASPHALT	2	Major MR	03-26-2020	76	GOOD
Majestic Dr	E dead end	Cedarside Ave	114	20	2,280	RESIDENTIAL	ASPHALT	2	Major MR	03-04-2020	48	POOR
Major Dade Dr	Treiman Blvd (US 301)	E of Geyser St	1,783	16	28,522	RESIDENTIAL	ASPHALT	2	Major MR	03-08-2022	64	FAIR
Malaga Ave	Homeway Street	Regent Lane	1,441	20	28,820	RESIDENTIAL	ASPHALT	2	Major MR	12-03-2019	66	FAIR
Malcolm Ave	Tranquil Drive	Kimberly Ave	688	20	13,755	RESIDENTIAL	ASPHALT	2	Major MR	12-11-2019	72	GOOD
Maldive Ave	Beachwood Ct	N of Swiss Road; x's:Northcliffe	1,481	20	29,620	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	78	GOOD
Maleo Rd	NW of Marsh Hawk Rd	W of Neeld St	2,243	20	44,860	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	77	GOOD
Mallard St	Geranium Ave	Deltona Blvd	1,302	20	26,040	RESIDENTIAL	ASPHALT	2	Major MR	03-10-2020	59	FAIR
Mallory St	SW dead end	Normlee Rd	704	20	14,080	RESIDENTIAL	ASPHALT	2	Major MR	04-01-2020	57	FAIR
Malone Ave	Spring Hill Dr	Mead Dr	1,029	20	20,586	RESIDENTIAL	ASPHALT	2	Major MR	12-08-2019	73	GOOD
Maltby Rd	Blanton Drive	Harrow Road	1,633	20	32,667	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	78	GOOD
Malvern St	Dempsey Rd	Cyrano Ave	626	19	11,895	COLLECTOR	ASPHALT	2	Major MR	04-01-2020	57	FAIR
Malvern St	Benshoff Ave	Dempsey	2,364	18	42,560	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	80	GOOD
Manati St	Deltona Blvd	Osage Lane	802	20	16,040	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	75	GOOD
Manchester St	Kirkland Ave	Franconia Ave	3,064	20	61,280	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	75	GOOD
Mandlin Rd	Lomita Wren Road	Pheasant Avenue	1,523	20	30,460	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	82	VERY GOOD
Mandrell Ave	Claymore Street	Lafoy Road	2,742	20	54,840	RESIDENTIAL	ASPHALT	2	Major MR	12-02-2019	72	GOOD
Manecke Rd	West St	East Ave	2,677	18	48,186	RESIDENTIAL	ASPHALT	2	Major MR	03-26-2020	66	FAIR
Manetta Rd	Godwit Ave	N dead end	567	20	11,340	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	66	FAIR
Mango Ct	Lorenzo Dr	E dead end	305	20	6,100	RESIDENTIAL	ASPHALT	2	Global MR	12-05-2019	65	FAIR
Mangrove Dr	W dead end	Minnow Creek Dr	1,514	19	28,766	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	82	VERY GOOD
Manistee Rd	S of Piquero Ave	Centralia Road (CR476)	1,317	20	26,340	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	73	GOOD

Mann Rd	Nancy Creek Blvd	E dead end	250	20	5,000	RESIDENTIAL	ASPHALT	2	Major MR	03-09-2020	66	FAIR
Mansign Rd	294' S of Hexam Rd	Hexam Rd	294	20	5,880	RESIDENTIAL	ASPHALT	2	Major MR	02-01-2022	63	FAIR
Maple Dr	SW dead end	Cortez Boulevard (CR550)	993	16	15,888	RESIDENTIAL	ASPHALT	2	Global MR	03-10-2020	47	POOR
Maplewood Dr	Calienta St	Eagle Nest Dr	640	18	11,520	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	83	VERY GOOD
Marabou Ct	Neeld St	E dead end	520	20	10,400	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	79	GOOD
Marble Ave	Feather St	Spring Hill Dr	1,954	20	39,084	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	29	VERY POOR
Marble Ave	Spring Hill Dr	Gulliver Road	441	20	8,813	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	82	VERY GOOD
Marbled Godwit Rd	Marsh Hawk Rd	Centralia Road (CR476)	1,863	20	37,260	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	78	GOOD
Marcella Ave	Mexican Canary Ave	Labrador Duck Rd	2,259	20	45,180	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	76	GOOD
Marcus Rd	Godwit Ave	N dead end	588	20	11,760	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	81	GOOD
Marengo St	Commercial Way (US 19)	Normlee Rd	3,688	20	73,760	RESIDENTIAL	ASPHALT	2	Major MR	03-12-2020	62	FAIR
Margot Rd	Tinamou Ave	358' N of Timberwood Ave	1,299	20	25,980	RESIDENTIAL	ASPHALT	2	Major MR	02-07-2022	94	EXCELLENT
Marguerite Rd	W of Helen Road	E & N of Royal Dr	2,660	20	53,204	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	52	FAIR
Marietta Ave	Rio Circle	N of Clarion Street	1,810	20	36,200	RESIDENTIAL	ASPHALT	2	Major MR	12-02-2019	64	FAIR
Marina Way	Sealawn Dr	Toucan Trail	1,662	20	33,249	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	65	FAIR
Marine Dr	W end	Navy Dr	468	15	7,020	RESIDENTIAL	ASPHALT	2	Global MR	03-23-2020	53	FAIR
Mariner Blvd (CR587)	Cortez Blvd (SR 50)	Jacqueline Rd	1,282	24	30,768	ARTERIAL	ASPHALT	2	Major MR	03-23-2020	62	FAIR
Mariner Blvd (CR587)	County Line Rd	800' N of Henderson St	8,915	42	374,426	PRINCIPAL	ASPHALT	4	Major MR	03-31-2021	73	GOOD
Mariner Blvd (CR587)	Maderia St	Augustine Rd	11,645	57	663,765	PRINCIPAL	ASPHALT	5	Major MR	03-31-2021	74	GOOD
Mariner Blvd (CR587)	800' N of Henderson St	Spring Hill Dr	2,184	57	124,488	PRINCIPAL	ASPHALT	5	Major MR	03-31-2021	76	GOOD
Mariner Blvd (CR587)	Augustine Rd	Elgin Blvd	7,357	57	419,349	PRINCIPAL	ASPHALT	5	Major MR	03-31-2021	79	GOOD
Mariner Blvd (CR587)	Elgin Blvd	Cortez Blvd (SR 50)	10,126	57	577,182	PRINCIPAL	ASPHALT	5	Major MR	03-31-2021	79	GOOD
Mariner Blvd (CR587)	Spring Hill Dr	Maderia St	1,366	57	77,862	PRINCIPAL	ASPHALT	6	Major MR	03-31-2021	82	VERY GOOD
Maripoe Rd	Osprey Ave	N of Pacific Nighthawk Ave	4,948	20	98,960	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	80	GOOD
Markham Ave	Spring Hill Dr	Canterbury St	1,198	20	23,968	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	77	GOOD
Marler Rd	Ligonier Road	Lee Road	1,783	20	35,660	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	69	GOOD
Marlin Ct	Cresent Road	SW cul-du-sac	350	20	7,000	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	85	VERY GOOD
Marlow Ave	Cascade Street	Tarrytown Drive	981	20	19,620	RESIDENTIAL	ASPHALT	2	Global MR	12-11-2019	65	FAIR
Marquette St	Mariner Blvd	Marshall Ave	2,026	20	40,520	RESIDENTIAL	ASPHALT	2	Major MR	12-03-2019	68	GOOD
Marquis Rd	Token Ave	Fleming St	669	20	13,380	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	76	GOOD
Marsh Hawk Rd	S of Macross Court	Centralia Road (CR476)	3,307	20	66,140	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	77	GOOD
Marsh Wren Ave	Milgate Ct	Mexican Canary Ave	1,969	20	39,380	RESIDENTIAL	ASPHALT	2	Major MR	02-01-2022	92	EXCELLENT
Marshall Ave	Keopart Dr	Auburndale St	1,863	20	37,260	RESIDENTIAL	ASPHALT	2	Major MR	12-03-2019	72	GOOD
Martin Dr	Domingo Drive	Weeks Drive	1,088	20	21,756	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	70	GOOD
Martina Dr	Everard Dr	Padron Blvd	670	20	13,400	RESIDENTIAL	ASPHALT	2	Global MR	12-05-2019	69	GOOD
Marvelwood Rd	Hexam Rd	Mirage Ave	2,779	20	55,580	RESIDENTIAL	ASPHALT	2	Major MR	04-01-2020	76	GOOD
Marvelwood Rd	Mirage Ave	N of Pacific Nighthawk Ave	5,947	20	118,940	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	77	GOOD
Marvista Ct	W dead end	Mountain Mockingbird Rd	665	20	13,300	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	78	GOOD
Mary Ave	Raley Road	Enterprise Drive	1,046	20	20,926	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	67	FAIR
Marysville St	Anchor Avenue	Regent Lane	3,866	20	77,320	RESIDENTIAL	ASPHALT	2	Major MR	12-02-2019	70	GOOD
Masada Ln	S of Henderson St	Cul-De-Sac E of Venetia Dr	1,829	20	36,580	RESIDENTIAL	ASPHALT	2	Global MR	12-01-2019	73	GOOD
Mashburn St	Cresap Rd	Simmons St	886	18	15,948	RESIDENTIAL	ASPHALT	2	Major MR	03-23-2020	47	POOR
Mason-Smith Rd	90' W of Seaway Dr	Broad St (US 41)	1,380	20	27,600	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	86	VERY GOOD
Matheson Ave	Red Coach Street	Ripley Street	979	20	19,580	RESIDENTIAL	ASPHALT	2	Major MR	12-03-2019	73	GOOD
Matico Ave	Linden Drive	Lindsay Road	1,043	20	20,865	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	75	GOOD
Matterhorn Ct	Hastings Road	NE of Hathaway Ave	1,174	20	23,474	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	79	GOOD
Matthew Ave	Coronado Dr	Hazelcrest Street	1,231	21	25,851	RESIDENTIAL	ASPHALT	2	Major MR	02-09-2022	76	GOOD
Matthew Ave	Maximilian Ave	Coronado Dr	759	20	15,180	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	81	GOOD

Mauna Loa Ct	W of Krista Drive	Sebastian Drive	1,258	20	25,160	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	75	GOOD
Maureen Ave	Somerset Avenue	Banner Road	1,122	20	22,438	RESIDENTIAL	ASPHALT	2	Major MR	02-09-2022	83	VERY GOOD
Mavis Rd	Madrid Rd	NW dead end	1,347	18	24,246	RESIDENTIAL	ASPHALT	2	Major MR	03-24-2020	52	FAIR
Maximilian Ave	Coronado Dr	Pomeroy Rd	4,601	21	96,621	RESIDENTIAL	ASPHALT	2	Major MR	02-09-2022	82	VERY GOOD
Maximilian Ave	Whitmarsh St	Coronado Dr	1,270	20	25,400	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	82	VERY GOOD
Maxwell Ave	Eric Street	Braganza Street	891	20	17,820	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	78	GOOD
May Gold Ln	Peach Tree Dr	977' E of Peach Tree Dr	977	20	19,540	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	55	FAIR
Maya Ct	SE end cul-de-sac	Kirkland Ave	286	20	5,720	RESIDENTIAL	ASPHALT	2	Major MR	04-13-2021	48	POOR
Mayberry Rd	Mariner Blvd	Springwood Road	1,391	20	27,820	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	79	GOOD
Maybird Ave	Nicasio Rd	Mansign Rd	1,942	20	38,840	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	82	VERY GOOD
Maycrest Ave	Horned Owl Rd	Fulmar Rd	2,856	20	57,120	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	78	GOOD
Mayflower Rd	Tiburon Ave	Elwood Road	4,199	20	83,976	RESIDENTIAL	ASPHALT	2	Major MR	02-07-2022	81	GOOD
Mayhill Ct	S of Eastbrook Dr	Swallow Lane	1,750	20	35,000	RESIDENTIAL	ASPHALT	2	Major MR	12-11-2019	64	FAIR
Maywood Ave	Tranquil Dr	Millstone St	570	20	11,400	RESIDENTIAL	ASPHALT	2	Major MR	12-09-2019	68	GOOD
Mazette Rd	S of Flock Ave	N of Godwit Ave	4,085	20	81,700	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	76	GOOD
Mc Allister St	West dead end,x's.Bertram Rd	Raley Rd	1,034	24	24,816	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	79	GOOD
Mc Ginnes Ct	W dead end	Lismore Court	664	24	15,946	RESIDENTIAL	ASPHALT	2	Major MR	03-12-2020	60	FAIR
McCloy Cir	Campground Rd	circles S&E back up to Campground	1,739	18	31,303	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	71	GOOD
McCormick St	Laredo Avenue	Horizon Drive	1,579	20	31,580	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	32	VERY POOR
McIntyre Rd	430' N of Mondon Hill Rd	Croom Rd	5,188	20	103,762	RESIDENTIAL	ASPHALT	2	Major MR	03-26-2020	75	GOOD
McIntyre Rd	Mondon Hill Rd	430' N of Mondon Hill Rd	420	36	15,119	RESIDENTIAL	ASPHALT	3	Major MR	03-31-2021	87	VERY GOOD
McNeal Rd	Waterfall	Spring Hill Dr	2,180	20	43,608	RESIDENTIAL	ASPHALT	2	Major MR	12-02-2019	67	FAIR
Mead Dr	N of Canterbury Street	London Avenue	1,838	20	36,761	RESIDENTIAL	ASPHALT	2	Major MR	12-08-2019	67	FAIR
Meadow Lark Rd	Deltona Blvd	cul-de-sac N of Begonia St	6,138	20	122,760	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	66	FAIR
Meadow Swallow Ave	97' W of Grass Finch Rd	228' E of Grass Finch Rd	325	20	6,500	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	61	FAIR
Meadow Swallow Ave	228' E of Grass Finch Rd	Golden Warbler Rd	225	20	4,500	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	81	GOOD
Meadow Wren Ave	Nicasio Rd	SE of Carnes St	2,009	20	40,180	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	86	VERY GOOD
Medford Ave	Applegate Dr	Ashland Dr	975	20	19,500	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	62	FAIR
Medical Blvd	County Line Rd	Quality Dr	885	23	20,355	INDUSTRIAL	ASPHALT	2	Global MR	12-05-2019	58	FAIR
Mediterranean Cir	San Friscan Drive	San Friscan Drive	2,093	20	41,860	RESIDENTIAL	ASPHALT	2	Major MR	04-19-2020	75	GOOD
Megargel Ct	Mellon Rd	E cul-de-sac	607	20	12,140	RESIDENTIAL	ASPHALT	2	Major MR	02-07-2022	87	VERY GOOD
Meinert Ave	156' W of Grass Finch Rd	177' E of Grass Finch Rd	333	20	6,660	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	64	FAIR
Meinert Ave	177' E of Grass Finch Rd	Eton Rd	2,241	20	44,820	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	85	VERY GOOD
Meinert Ave	Convent Garden Rd	156' W of Grass Finch Rd	815	20	16,300	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	87	VERY GOOD
Melacano Ave	Lynnhaven Road	Brentlawn Street	870	20	17,400	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	73	GOOD
Mellon Rd	Thrasher Ave	Tinamou Ave	1,305	20	26,099	RESIDENTIAL	ASPHALT	2	Major MR	02-07-2022	94	EXCELLENT
Melrose St	Deltona Blvd	Midway Street	1,493	20	29,860	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	63	FAIR
Melshire Ave	Freepoint Drive	N of Brentlawn St	857	20	17,140	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	54	FAIR
Melville Ave	Horizon Dr	Spring Hill Dr	1,835	20	36,701	RESIDENTIAL	ASPHALT	2	Major MR	12-02-2019	54	FAIR
Memory Ln	Centerwood Avenue	N dead end	847	18	15,246	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	57	FAIR
Mendota Ave	Susquehanna Trl	Wabash Trl	648	18	11,664	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	70	GOOD
Menlo Rd	Timberwood Ave	N dead end	335	20	6,700	RESIDENTIAL	ASPHALT	2	Major MR	02-07-2022	93	EXCELLENT
Mentmore Ave	Mallard Street	Moongate Road	2,495	20	49,900	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	74	GOOD
Mercedes St	Lehigh Ave	Marshall Ave	1,555	20	31,105	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	70	GOOD
Merchant Ave	Northcliffe Blvd	Watt Ave	847	20	16,931	RESIDENTIAL	ASPHALT	2	Global MR	04-13-2021	78	GOOD
Meredith Dr	Horizon Drive	Brady Street	6,128	20	122,560	RESIDENTIAL	ASPHALT	2	Major MR	12-02-2019	67	FAIR
Merle Ct	Cresap Street	E dead end	326	20	6,520	RESIDENTIAL	ASPHALT	2	Major MR	03-23-2020	44	POOR
Merlin Cir	Cyril Dr	circle back to Cyril Dr/self	2,794	20	55,880	RESIDENTIAL	ASPHALT	2	Major MR	03-29-2020	53	FAIR

Merrick Ln	Catalina Street	Copperfield Road	985	20	19,700	RESIDENTIAL	ASPHALT	2	Global MR	12-11-2019	63	FAIR
Merrifield Ct	S of Jupiter Lane	Loretto St	2,337	20	46,740	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	78	GOOD
Merrimac Ln	Catalina Street	Edgehill Avenue	1,364	20	27,280	RESIDENTIAL	ASPHALT	2	Global MR	12-11-2019	69	GOOD
Mertal St	unpaved section	Cortez Boulevard (CR550)	707	19	13,433	RESIDENTIAL	ASPHALT	2	Major MR	03-10-2020	55	FAIR
Mexican Canary Ave	Hexam Rd	Hyde St	2,611	20	52,220	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	72	GOOD
Meyran Ct	Mexican Canary Ave	N dead end	407	20	8,140	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	89	VERY GOOD
Michelle St	Amero Lane	Nugent Circle	874	21	18,354	RESIDENTIAL	ASPHALT	2	Global MR	12-08-2019	61	FAIR
Middleboro St	St Francis St	Easy St	228	15	3,420	RESIDENTIAL	ASPHALT	1	Major MR	03-26-2020	38	POOR
Middlesex Dr	72' S of Sealawn Dr	Brandy Dr	2,596	20	51,920	RESIDENTIAL	ASPHALT	2	Major MR	02-26-2020	61	FAIR
Midway St	Deltona Blvd	Hayes Street	1,747	20	34,940	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	69	GOOD
Milan Ct	Kirkland Ave	SE end cul-de-sac	298	20	5,960	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	79	GOOD
Mildred Ave., South	S dead end	Dr M L King Jr Blvd	2,016	18	36,284	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	18	FAILED
Mill Ave	Terrell Rd	Sheffield Rd	785	20	15,700	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	60	FAIR
Millington Ave	House Finch Rd	Hexam Rd	716	20	14,320	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	81	GOOD
Millmount Ln	Nugent Circle	Nugent Circle	893	21	18,753	RESIDENTIAL	ASPHALT	2	Global MR	12-08-2019	64	FAIR
Millstone St	Cobblestone Dr	Holiday Dr	1,930	20	38,600	RESIDENTIAL	ASPHALT	2	Major MR	12-09-2019	74	GOOD
Millwood Rd	Azora Rd	Northcliffe Blvd	1,692	20	33,849	RESIDENTIAL	ASPHALT	2	Major MR	04-13-2021	71	GOOD
Minerva Pl	Cul-de-sac S of Roseanna Dr	Linden Dr	1,309	20	26,180	RESIDENTIAL	ASPHALT	2	Global MR	12-08-2019	64	FAIR
Minnie Dr	Dow Ln	Barclay Ave	565	20	11,300	OTHER	ASPHALT	2	Major MR	12-04-2019	60	FAIR
Minnow Creek Dr	SW of Mangrove Drive	Eagle Nest Drive	2,328	19	44,232	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	80	GOOD
Mint Ln	Glennridge Drive	Evenglow Avenue	492	20	9,848	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	78	GOOD
Miracle Dr	Deltona Blvd	Century Dr	2,169	20	43,380	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	69	GOOD
Mirage Ave	Cleever St	Linnet Rd	7,398	20	147,960	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	70	GOOD
Mirage Ave	Linnet Rd	Marvelwood Rd	1,733	20	34,660	RESIDENTIAL	ASPHALT	2	Major MR	04-01-2020	75	GOOD
Mission Way Dr	Centerwood Ave	Cul-de-sac NW of Myhope Cir	1,313	20	26,263	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	78	GOOD
Missouri Skylark Rd	S of Cinnamon Lane	Knuckey Rd	2,591	20	51,820	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2020	51	FAIR
Mitchell Rd	Emerson Rd	SR 50	6,495	20	129,900	COLLECTOR	ASPHALT	2	Major MR	03-09-2020	68	GOOD
Mitten Ln	Ring Road	Gold Road	572	20	11,442	RESIDENTIAL	ASPHALT	2	Major MR	02-09-2022	77	GOOD
Mobley Rd	Wiscon Rd	Cortez Blvd (SR 50)	5,665	20	113,308	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	71	GOOD
Mockingbird Dr	Orchid Pkwy	Dogwood Drive	3,218	16	51,480	RESIDENTIAL	ASPHALT	2	Major MR	02-16-2022	84	VERY GOOD
Mohawk Trl	Redwing Dr	Tomahawk Ave	1,241	18	22,338	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	56	FAIR
Monarch St	Mariner Blvd	Marshall Ave	2,305	20	46,101	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	76	GOOD
Monarch St	Lafoy Rd	Mariner Blvd	1,261	20	25,212	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	77	GOOD
Monarco Ln	Hunley Lane	Glennridge Drive	1,187	20	23,732	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	65	FAIR
Mondon Hill Rd (CR484)	680' W of McIntyre Rd	735' E of McIntyre Rd	1,415	22	31,130	COLLECTOR	ASPHALT	2	Major MR	03-31-2021	57	FAIR
Mondon Hill Rd (CR484)	735' E of McIntyre Rd	Weatherly Rd	10,338	20	206,769	COLLECTOR	ASPHALT	2	Major MR	03-31-2021	65	FAIR
Mondon Hill Rd (CR484)	Weatherly Rd	Cortez Blvd (SR 50)	20,328	22	447,227	COLLECTOR	ASPHALT	2	Major MR	03-31-2021	72	GOOD
Mondon Hill Rd (CR484)	Broad St (US 41)	680' W of McIntyre Rd	3,928	20	78,553	COLLECTOR	ASPHALT	2	Major MR	02-23-2022	83	VERY GOOD
Moneta Rd	S of Phylis Ave	Maleo Rd	1,578	20	31,560	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	79	GOOD
Monica Ave	Feather St	Kearney St	860	20	17,191	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	79	GOOD
Montague Ave	Linden Dr	Ireland St	1,675	20	33,498	RESIDENTIAL	ASPHALT	2	Major MR	03-08-2022	71	GOOD
Montano Ave	Augustine Rd	Elwood Road	1,943	20	38,862	OTHER	ASPHALT	2	Major MR	03-31-2021	41	POOR
Montano Ave	Auburndale Street	Augustine Road	5,287	20	105,740	OTHER	ASPHALT	2	Major MR	03-31-2021	77	GOOD
Montcalm Rd	Heathwood Avenue	Odin Street	3,281	20	65,617	RESIDENTIAL	ASPHALT	2	Major MR	03-08-2022	76	GOOD
Montebello Ln	Mountain Way Avenue	Nantucket Lane	949	20	18,980	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	79	GOOD
Montego St	Little Farms Drive	Aldora Avenue	3,086	20	61,720	RESIDENTIAL	ASPHALT	2	Major MR	12-04-2019	71	GOOD
Monterey St	Firwood Ave	E of Godfrey Ave	2,206	20	44,120	RESIDENTIAL	ASPHALT	2	Major MR	12-08-2019	67	FAIR
Montezuma St	Cortez Boulevard (CR550)	Laurel Street	633	20	12,660	RESIDENTIAL	ASPHALT	2	Global MR	03-10-2020	52	FAIR

Montford Cir	Mentmore Avenue	Mentmore Avenue	742	20	14,840	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	80	GOOD
Montier St	Cortez Boulevard (CR550)	New Pike Avenue	429	18	7,722	RESIDENTIAL	ASPHALT	2	Global MR	03-10-2020	35	POOR
Montour St	Weeping Willow St	Sunshine Grove Rd	5,344	19	101,536	OTHER	ASPHALT	2	Major MR	03-24-2020	72	GOOD
Montpelier Ct	Fairchild Rd	N dead end	290	20	5,800	RESIDENTIAL	ASPHALT	2	Global MR	12-01-2019	74	GOOD
Moon Rd	Weeping Willow St	Sunshine Grove Rd	5,303	20	106,060	RESIDENTIAL	ASPHALT	2	Major MR	03-30-2020	55	FAIR
Moondance Cir	Burbank Dr	NW cul-de-sac end	465	20	9,296	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	73	GOOD
Moongate Rd	Deltona Blvd	Langan Street	3,186	20	63,720	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	80	GOOD
Moorhaven St	Cortez Boulevard (CR550)	New Pike Avenue	425	20	8,500	RESIDENTIAL	ASPHALT	2	Global MR	03-10-2020	52	FAIR
Morningside Dr	S of Lee Avenue	Fl Dade	1,464	24	35,159	RESIDENTIAL	ASPHALT	2	Major MR	04-19-2020	51	FAIR
Morningstar Ave	Frontier Way	Croom Rd	1,199	18	21,582	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	59	FAIR
Morningview St	Cortez Boulevard (CR550)	NE dead end	440	19	8,360	RESIDENTIAL	ASPHALT	2	Global MR	03-10-2020	49	POOR
Morison Way	Sealawn Dr	Toucan Trail	1,651	18	29,718	RESIDENTIAL	ASPHALT	2	Global MR	02-26-2020	72	GOOD
Morven Dr	Blythe Ave	Landover Blvd	2,235	20	44,706	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	73	GOOD
Mosquero Rd	W of Carrissa Court	Swiss Road	3,615	20	72,300	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	73	GOOD
Mossfield Rd	Mirage Avenue	N dead end	308	20	6,156	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	78	GOOD
Motmot Rd	Mountain Dove Rd	Centralia Rd (CR476)	1,812	20	36,240	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	84	VERY GOOD
Mott Ave	Raley Road	Enterprise Drive	1,042	20	20,843	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	73	GOOD
Mottled Duck Rd	Piquero Ave	Centralia Road (CR476)	1,093	20	21,860	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	76	GOOD
Mount Sparrow Rd	S of Snowbird Avenue	Fleming Street	6,671	20	133,420	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	77	GOOD
Mountain Bluebird Rd	Lomita Wren Rd	Paramount Ave	710	20	14,200	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	79	GOOD
Mountain Dove Rd	SW of Maleo Road	Oregon Road	1,873	20	37,460	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	72	GOOD
Mountain Mockingbird Rd	Hexam Rd	865' N of Hexam Rd	865	20	17,300	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	66	FAIR
Mountain Plover Rd	Maleo Road	Oregon Road	1,254	20	25,080	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	77	GOOD
Mountain Way Ave	Elgin Blvd	Freepoint Drive	2,097	20	41,940	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	78	GOOD
Mountainview Blvd	Appalachian Dr	Spring Lake Hwy	1,677	20	33,541	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	72	GOOD
Mt Pleasant Ave	Pine Bluff Street	Waco Street	937	20	18,740	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	66	FAIR
Mudron St	Lincoln Avenue	Broad St	1,521	16	24,336	RESIDENTIAL	ASPHALT	2	Major MR	03-03-2020	63	FAIR
Mudron St	Broad St	Washington Avenue	319	16	5,104	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	70	GOOD
Mulberry Rd	Park Dr	Riverdale Dr	911	24	21,878	RESIDENTIAL	ASPHALT	2	Major MR	03-05-2020	64	FAIR
Mulkenin Dr	Missouri Skylark Road	Rostock Road	2,757	20	55,140	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2020	50	FAIR
Mullins Rd	Taralane Ave	200' S of Wiscon Rd	1,722	20	34,440	RESIDENTIAL	ASPHALT	2	Major MR	02-23-2022	84	VERY GOOD
Mullins Rd	200' S of Wiscon Rd	Wiscon Rd	201	22	4,411	RESIDENTIAL	ASPHALT	2	Major MR	02-23-2022	85	VERY GOOD
Murraysville Dr	Libby Road	Montano Avenue	1,166	20	23,320	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	70	GOOD
Murre Ave	Labrador Duck Road	Marvelwood Road	2,633	20	52,660	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	79	GOOD
Musa Rd	Greynolds Ave	Mandrell Ave	1,168	20	23,364	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	67	FAIR
Muscovy Dr	S of Venetia Drive	N of Henderson Street	1,249	24	29,996	RESIDENTIAL	ASPHALT	2	Global MR	12-01-2019	75	GOOD
Myers Rd	Pasco Co. Line	Church Rd	5,368	20	107,351	COLLECTOR	ASPHALT	2	Global MR	03-31-2021	52	FAIR
Myers Rd	Church Rd	45' E of Plateau Dr	2,929	20	58,575	COLLECTOR	ASPHALT	2	Major MR	04-01-2020	57	FAIR
Myhope Cir	W end cul-de-sac	Mission Way Drive	501	20	10,023	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	78	GOOD
Myra St	Windbrook Ave	Wiltshire Ave	755	20	15,101	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	50	FAIR
Nakoma Way	Victoria Way	St Andrews Blvd	323	22	7,106	RESIDENTIAL	ASPHALT	2	Major MR	03-12-2020	64	FAIR
Nancy Ave	California St	Nunn St	1,005	19	19,095	RESIDENTIAL	ASPHALT	2	Major MR	04-19-2020	28	VERY POOR
Nancy Creek Blvd	SW of Mann Road	Powell Rd	2,693	20	53,867	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	57	FAIR
Nantucket Ln	Langan Street	Sardinia Avenue	1,508	20	30,160	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	80	GOOD
Naomi Dr	Apache Trail	Blackhawk Trail	417	18	7,506	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	75	GOOD
Nardello Ave	Elgin Blvd	Kinlock Ave	1,226	20	24,520	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	79	GOOD
Nassau Dr	Flamingo Blvd	SE dead end	304	24	7,301	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	88	VERY GOOD
Natoma St	Bay Dr	Bayridge Court	1,012	20	20,240	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	75	GOOD

Nature Coast Blvd	S dead end	Cortez Blvd (SR 50)	3,038	24	72,920	INDUSTRIAL	ASPHALT	2	Major MR	03-01-2022	75	GOOD
Navajo Trl	Ramona Dr	Tomahawk Ave	1,104	18	19,872	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	52	FAIR
Navy Dr	Marine Drive	Twin Dolphin Drive	1,623	15	24,345	RESIDENTIAL	ASPHALT	2	Global MR	03-23-2020	74	GOOD
Neal Ln	Holiday Dr	Gates Circle	656	24	15,739	RESIDENTIAL	ASPHALT	2	Major MR	12-11-2019	69	GOOD
Nebula St	Cortez Blvd (CR550)	Schering St	1,193	19	22,667	RESIDENTIAL	ASPHALT	2	Global MR	03-10-2020	48	POOR
Neda St	Hoffman Avenue	Bing Avenue	829	20	16,580	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	78	GOOD
Needham Ct	Nicasio Rd	SE dead end	888	20	17,760	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	85	VERY GOOD
Neeld St	S of Marabou Ct	Maleo Rd	677	20	13,540	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	79	GOOD
Neff Lake Rd	6363' S of Olympia Rd	Olympia Rd	6,322	20	126,440	RESIDENTIAL	ASPHALT	2	Major MR	02-29-2020	56	FAIR
Neff Lake Rd	Powell Rd	6363' S of Olympia Rd	6,636	18	119,448	RESIDENTIAL	ASPHALT	2	Major MR	02-29-2020	61	FAIR
Neff Lake Rd	S of Dauphin Dr	Powell Rd	3,937	18	70,866	RESIDENTIAL	ASPHALT	2	Major MR	03-05-2020	74	GOOD
Nemo Ln	Geneva Street	Horizon Drive	448	20	8,957	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	67	FAIR
Neptune Dr	Flamingo Blvd	N dead end	711	24	17,075	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	72	GOOD
Nessler Way	N & S dead ends	x's:Padron Blvd	779	20	15,580	RESIDENTIAL	ASPHALT	2	Global MR	12-05-2019	80	GOOD
Nevada St	Bluewater Ave	Bay Dr	768	20	15,360	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	86	VERY GOOD
New Azora Rd	Horizon Drive	N of Northwind Court	1,852	22	40,744	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	76	GOOD
New Pike Ave	Saginaw St	Darts Street	1,373	21	28,833	RESIDENTIAL	ASPHALT	2	Global MR	03-10-2020	60	FAIR
Newbury Ave	Alderwood St	Pinehurst Dr	626	20	12,520	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	60	FAIR
Newcomb Ave	S of Eldridge Road	Gaynor Street	1,405	20	28,091	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	66	FAIR
Newgate St	90' E of School St	10' W of St Frances St	334	13	4,175	RESIDENTIAL	ASPHALT	2	Major MR	03-26-2020	73	GOOD
Newhope Rd	Spring Hill Dr	Piper Rd	3,102	20	62,040	RESIDENTIAL	ASPHALT	2	Global MR	04-13-2021	54	FAIR
Newhope Rd	Fairlawn St	Spring Hill Dr	1,822	20	36,440	RESIDENTIAL	ASPHALT	2	Global MR	12-09-2019	69	GOOD
Newington Ave	W of Knights Bridge Rd	Hyde Park Way	701	20	14,023	RESIDENTIAL	ASPHALT	2	Global MR	12-05-2019	66	FAIR
Newington Ave	SW Loop	W of Knights Bridge Rd	1,360	20	27,200	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	66	FAIR
Newmark St	Pinehurst Dr	Alderwood St	4,054	20	81,080	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	61	FAIR
Newport Dr	Gulfview Dr	N dead end	331	21	6,951	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	78	GOOD
Newton Rd	Wooden Dr	Coral St	1,580	24	37,945	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	79	GOOD
Nexus St	Montano Ave	Blythe Ave	621	20	12,426	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	65	FAIR
Niagara Rd	Gig Ave	Woodland Waters Blvd	517	19	9,823	RESIDENTIAL	ASPHALT	2	Major MR	03-24-2020	76	GOOD
Niagara Rd	S dead end	Gig Ave	239	20	4,780	RESIDENTIAL	ASPHALT	2	Major MR	02-01-2022	79	GOOD
Nicasio Jay Ave	295' S of Wood Owl Ave	Wood Owl Ave	295	20	5,900	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	77	GOOD
Nicasio Rd	269' S of Hexam Rd	Hexam Rd	269	24	6,456	RESIDENTIAL	ASPHALT	2	Major MR	02-10-2022	62	FAIR
Nicasio Rd	Bourassa Blvd	269' S of Hexam Rd	2,491	20	49,820	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	78	GOOD
Nicholas Ave	Broad St (US 41)	Deepwood St	1,649	16	26,379	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	13	FAILED
Nicole Ct	Nightingale Rd	E dead end	226	18	4,065	RESIDENTIAL	ASPHALT	2	Major MR	03-24-2020	57	FAIR
Nielson Ave	Highpoint Blvd	Club House Road	1,145	21	24,045	RESIDENTIAL	ASPHALT	2	Major MR	02-01-2022	92	EXCELLENT
Night Heron Rd	Spalding St	Thrasher Ave	2,244	20	44,880	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	75	GOOD
Nightingale Rd	S of Madrid Rd	Woodland Waters Blvd	9,025	18	162,450	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	52	FAIR
Nightwalker Rd	Bahama Swallow Ave	Ridge Rd	4,523	22	99,495	COLLECTOR	ASPHALT	2	Major MR	03-24-2020	74	GOOD
Nightwalker Rd	Noddy Tern Rd	Bahama Swallow Ave	1,279	22	28,141	COLLECTOR	ASPHALT	2	Major MR	03-31-2021	78	GOOD
Nightwalker Rd	Cortez Blvd	Noddy Tern Rd	823	44	36,201	COLLECTOR	ASPHALT	4	Major MR	03-31-2021	87	VERY GOOD
Nightwalker Rd	Ridge Rd	Fox Sparrow Ave	3,003	18	54,047	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	76	GOOD
Nittany Rd	Eider Ave	Flock Ave	1,582	20	31,640	RESIDENTIAL	ASPHALT	2	Major MR	02-01-2022	94	EXCELLENT
Noah Ave	Spring Hill Dr	Santoro Street	327	20	6,538	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	90	VERY GOOD
Nobleton Ave	Spring Hill Dr	Gibraltar Street	1,650	20	33,000	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	68	GOOD
Nobleton Croom Rd	Croom Rd	2015' S of Edgewater Ave	16,184	20	323,679	COLLECTOR	ASPHALT	2	Major MR	03-31-2021	74	GOOD
Nobleton Croom Rd	2015' S of Edgewater Ave	Edgewater Ave	2,015	20	40,297	COLLECTOR	ASPHALT	2	Major MR	02-16-2022	76	GOOD
Nocklyn Rd	San Antonio Rd	Highgrove Rd	2,614	20	52,280	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	74	GOOD

Nocklyn Rd	S of Cecil Court	Lawrence St	1,299	20	25,980	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	75	GOOD
Nodding Shade Dr	Wake Robin Dr	Trillium Blvd	1,764	20	35,280	RESIDENTIAL	ASPHALT	2	Major MR	03-26-2020	76	GOOD
Nodding Shade Dr	Trillium Blvd	Wake Robin Dr	1,759	20	35,180	RESIDENTIAL	ASPHALT	2	Major MR	03-03-2020	79	GOOD
Noddy Tern Rd	SW of Blackbird Avenue	Madrid Rd	8,820	19	167,574	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	68	GOOD
Nodoc Rd	Switch Back Rd	Barclay Ave	3,202	18	57,638	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	64	FAIR
Nolan Ct	Jamaica Rd	N dead end	315	20	6,300	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	70	GOOD
Nollhill Ct	Noddy Tern Rd	NW cul-de-sac	683	20	13,660	RESIDENTIAL	ASPHALT	2	Major MR	03-08-2022	91	VERY GOOD
Nonstone Dr	Rimrock St	Nations Road	1,634	18	29,412	RESIDENTIAL	ASPHALT	2	Major MR	03-30-2020	57	FAIR
Norbert St	Bartlett St	Deltona Blvd	1,107	21	23,247	COLLECTOR	ASPHALT	2	Major MR	03-31-2021	51	FAIR
Nordica Rd	Day Owl Ave	Egret Ave	1,250	20	25,000	RESIDENTIAL	ASPHALT	2	Major MR	02-01-2022	94	EXCELLENT
Noremac St	Devonshire Avenue	Mariner Blvd	922	20	18,440	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	82	VERY GOOD
Norfolk Ave	Diagonal Lane	Bowery St	464	18	8,347	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	68	GOOD
Norlina St	Mariner Blvd	Outrigger Avenue	639	20	12,788	RESIDENTIAL	ASPHALT	2	Major MR	02-09-2022	76	GOOD
Norman St	Loop Ct	Riverview Dr	5,972	20	119,440	RESIDENTIAL	ASPHALT	2	Major MR	02-16-2022	93	EXCELLENT
Normlee Rd	S of Mallory Street	NW of David Dr, x's: Marengo St	1,715	20	34,300	RESIDENTIAL	ASPHALT	2	Major MR	03-12-2020	48	POOR
North Canal St	Cockleberry Dr	Shasta St	2,225	20	44,500	RESIDENTIAL	ASPHALT	2	Major MR	02-16-2022	92	EXCELLENT
North Star Ct	S cul-de-sac end	Woodland Waters Blvd	595	20	11,900	RESIDENTIAL	ASPHALT	2	Major MR	03-24-2020	68	GOOD
Northcliffe Blvd	Azora Rd	Mariner Blvd	3,792	57	216,170	COLLECTOR	ASPHALT	5	Major MR	03-08-2022	55	FAIR
Northcliffe Blvd	US 19	Azora Rd	10,637	42	446,754	COLLECTOR	ASPHALT	4	Global MR	03-31-2021	64	FAIR
Northvale St	Mountain Way Avenue	Sardinia Avenue	701	20	14,020	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	81	GOOD
Northwind Ct	W of New Azora Road	E of Horizon Drive	1,422	22	31,284	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	66	FAIR
Norvell Rd	Landover Blvd	Mariner Blvd	8,187	20	163,740	OTHER	ASPHALT	2	Major MR	03-31-2021	48	POOR
Norvell Rd	Mariner Blvd	Landover Blvd	1,908	20	38,160	OTHER	ASPHALT	2	Major MR	03-31-2021	89	VERY GOOD
Norwick St	Shalimar Avenue	July Avenue	1,600	20	32,000	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	68	GOOD
Norwood St	Montano Ave	Goldcoast Ave	940	20	18,800	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	77	GOOD
Nottingham Forest Dr	S of Balmoral Lane	Croom Rd	2,342	20	46,837	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	79	GOOD
Nugent Cir	SW of Millmont Lane/Michelle St	NW of Millmont Lane/Fairview Rd	3,078	21	64,638	RESIDENTIAL	ASPHALT	2	Global MR	12-08-2019	63	FAIR
Nunn Blvd	Pointview Road	Cortez Blvd SR 50	1,297	18	23,346	RESIDENTIAL	ASPHALT	2	Major MR	04-19-2020	47	POOR
Nuzum Rd	Day Owl Ave	Fulton Avenue	3,770	20	75,400	RESIDENTIAL	ASPHALT	2	Major MR	02-01-2022	59	FAIR
Oak Chase Blvd	County Line Rd	Anderson Snow Rd	6,380	36	229,693	COLLECTOR	ASPHALT	2	Major MR	02-16-2022	76	GOOD
Oak Grove St	Swiss Rd, x's:Deltona Blvd	Kirkwood Ave	2,202	20	44,040	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	80	GOOD
Oak Knoll St	Carmen Avenue	Dow Lane	1,129	20	22,580	RESIDENTIAL	ASPHALT	2	Major MR	12-04-2019	73	GOOD
Oak Lake Dr	County Line Rd	Lake Hill Ct (2)	3,734	24	89,678	RESIDENTIAL	ASPHALT	2	Major MR	02-25-2020	76	GOOD
Oak Leaf Ln	Pine Dale Ct	Eagle Nest Dr	572	18	10,296	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	90	VERY GOOD
Oak Manor Ct	W dead end	Oakcrest Circle	580	20	11,600	RESIDENTIAL	ASPHALT	2	Global MR	03-11-2020	53	FAIR
Oakado St	S end Cul-De-Sac	Cedarhurst Street	1,211	19	23,009	RESIDENTIAL	ASPHALT	2	Global MR	03-23-2020	61	FAIR
Oakcrest Cir	Drew St	Oakcrest Circle	8,168	18	147,024	RESIDENTIAL	ASPHALT	2	Global MR	03-11-2020	60	FAIR
Oakdale Ave	West Street	East Ave	2,643	16	42,288	RESIDENTIAL	ASPHALT	2	Global MR	03-26-2020	46	POOR
Oakdene Dr	Reiland Drive	Lingle Road (CR439)	673	18	12,118	RESIDENTIAL	ASPHALT	2	Major MR	02-16-2022	71	GOOD
Oakfield Cir	Cyril Dr	Cyril Dr	6,440	20	128,800	RESIDENTIAL	ASPHALT	2	Major MR	03-04-2020	56	FAIR
Oakgren Rd	S dead end	Mondon Hill	1,310	24	31,440	RESIDENTIAL	ASPHALT	2	Major MR	04-01-2020	69	GOOD
Oaklawn Ave	Panorama St	Lake Lindsey Rd	571	18	10,285	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	82	VERY GOOD
Oakmoor St	Hickory St	Brennan St	324	20	6,480	RESIDENTIAL	ASPHALT	2	Major MR	02-20-2022	80	GOOD
Oakridge Dr	Sealawn Dr	Toucan Trail	1,657	20	33,131	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	57	FAIR
Oakton Dr	Cortez Blvd S(R 50)	N dead end	788	18	14,188	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	61	FAIR
Oakview Dr	Hiawatha Boulevard	Citrus Co. Line	666	20	13,320	COLLECTOR	ASPHALT	2	Major MR	03-31-2021	72	GOOD
Oasis Ave	Augustine Road	Patch Street	589	20	11,780	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	75	GOOD
Oatbird Rd	Bahama Swallow Ave	Bahama Swallow Ave	1,272	18	22,903	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	72	GOOD

Oberlin St	County Line Rd	Clearwater Drive	503	20	10,054	RESIDENTIAL	ASPHALT	2	Major MR	12-11-2019	73	GOOD
Oberon Ave	Seybold Dr	Landover Blvd	557	20	11,140	RESIDENTIAL	ASPHALT	2	Major MR	03-23-2020	46	POOR
O'Brien Ave	Eagle Drive	Highpoint Blvd	1,416	22	31,152	RESIDENTIAL	ASPHALT	2	Major MR	02-01-2022	91	VERY GOOD
Odeli Rd	Ridenwood Dr	Riverdale Dr	510	24	12,248	RESIDENTIAL	ASPHALT	2	Major MR	02-29-2020	53	FAIR
Odham St	W & E dead ends	x's: Covewood Drive	725	20	14,500	RESIDENTIAL	ASPHALT	2	Major MR	03-23-2020	44	POOR
Odin St	Goldcoast Ave	Belltower St	5,040	20	100,798	RESIDENTIAL	ASPHALT	2	Major MR	03-08-2022	56	FAIR
Ogbum St	Rolling Acres Drive	Cortez Blvd (SR 50)	1,083	18	19,486	RESIDENTIAL	ASPHALT	2	Major MR	02-23-2022	93	EXCELLENT
O'Hara St	Waco St	Devonshire Avenue	1,172	20	23,440	RESIDENTIAL	ASPHALT	2	Global MR	04-13-2021	49	POOR
Ohio Ave	Olancha	Westwood Dr	2,738	18	49,284	RESIDENTIAL	ASPHALT	2	Major MR	02-29-2020	57	FAIR
Olancha Rd	Cortez Blvd (SR 50)	Ridge Manor Blvd	2,289	20	45,781	OTHER	ASPHALT	2	Global MR	02-16-2022	58	FAIR
Olar Ct	Gallup Rd	NW dead end	452	20	9,040	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	70	GOOD
Old Anderson Snow Rd	South End	Anderson Snow Rd.	1,395	24	33,480	RESIDENTIAL	ASPHALT	2	Global MR	12-08-2019	60	FAIR
Old Ayers Rd	Broad Street	Railroad track	598	19	11,362	INDUSTRIAL	ASPHALT	2	Major MR	03-03-2020	57	FAIR
Old Ayers Rd	Railroad Track	Ayers Rd	1,845	20	36,897	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	80	GOOD
Old California St	California St	California St	2,903	18	52,256	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	75	GOOD
Old Chatman Rd	S of Camelot Dr	N of Gamble Dr	1,860	18	33,480	RESIDENTIAL	ASPHALT	2	Major MR	03-30-2020	49	POOR
Old Cobb Rd	Cobb	Cobb	814	24	19,549	RESIDENTIAL	ASPHALT	2	Major MR	04-19-2020	56	FAIR
Old Crystal River Rd	US 41	Lake Lindsey Rd	15,967	18	287,406	COLLECTOR	ASPHALT	2	Major MR	03-30-2020	73	GOOD
Old Crystal River Rd	Lake Lindsey Rd	852' N of Lake Lindsey Rd	852	20	17,040	RESIDENTIAL	ASPHALT	2	Major MR	03-30-2020	59	FAIR
Old Jasmine Dr	Jasmine Dr	Mondon Hill Dr	880	20	17,601	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	51	FAIR
Old Mill Ln	Ashland Dr	Ashland Dr	1,367	20	27,340	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	65	FAIR
Old Spring Lake Rd	Neff Lake Rd	Spring Lake Hwy	5,333	15	79,995	RESIDENTIAL	ASPHALT	2	Major MR	02-29-2020	52	FAIR
Old Spring Lake Rd	Spring Lake Hwy	Lake	1,797	24	43,156	RESIDENTIAL	ASPHALT	2	Major MR	03-05-2020	55	FAIR
Old Spring Lake Rd	Powell Rd	Neff Lake Rd	1,325	18	23,850	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	79	GOOD
Old Squaw Ave	Hexam Ave	Fulmar Rd	4,393	20	87,860	RESIDENTIAL	ASPHALT	2	Major MR	02-07-2022	94	EXCELLENT
Old SR575	Lacoochee Clay Sink Rd	N dead end	450	18	8,100	RESIDENTIAL	ASPHALT	2	Major MR	03-09-2020	57	FAIR
Old Trilby Rd	Spring Lake Hwy	Baseball Pond Rd	5,308	18	95,544	RESIDENTIAL	ASPHALT	2	Major MR	04-01-2020	37	POOR
Oldsmar Ave	Eldridge Road	Melville Avenue	1,389	20	27,775	RESIDENTIAL	ASPHALT	2	Major MR	12-02-2019	66	FAIR
Oleander Dr	Hermosa Blvd	N dead end	989	18	17,802	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	79	GOOD
Oleta St	Parkhill Avenue	Ambassador Avenue	1,086	20	21,720	RESIDENTIAL	ASPHALT	2	Major MR	12-04-2019	74	GOOD
Oliver St	US 41	Corliss Road	1,062	24	25,505	RESIDENTIAL	ASPHALT	2	Major MR	03-09-2020	19	FAILED
Olivet Dr	297' SW of Cortez Blvd	Cortez Blvd (SR 50)	297	20	5,940	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	21	VERY POOR
Olivia St	Century Dr	SE of Oriole Avenue	583	20	11,660	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	82	VERY GOOD
Olmes Rd	SR 50 A	Jasmine Dr	1,728	20	35,424	RESIDENTIAL	ASPHALT	2	Major MR	03-26-2020	73	GOOD
Olson Rd	480' S of Toucan Trl	90' N of Brandy Dr	1,764	20	35,280	RESIDENTIAL	ASPHALT	2	Major MR	02-26-2020	75	GOOD
Olympia Rd	SR 50	Spring Lake Hwy	8,605	16	137,674	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	83	VERY GOOD
Olympic Village Ln	Sunshine Grove Road	Dry Creek Ranch Road	1,332	20	26,640	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	74	GOOD
Omaha Cir	Canterbury St	N of Spring Hill Dr	3,734	20	74,674	RESIDENTIAL	ASPHALT	2	Major MR	12-08-2019	69	GOOD
Omega Ln	Eldridge Road	Hallcrest Avenue	608	20	12,166	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	72	GOOD
Oneida St	Mariner Blvd	Lawrence Street	2,840	20	56,800	RESIDENTIAL	ASPHALT	2	Major MR	03-23-2020	46	POOR
Opal Ln	Waterfall Drive	Dupont Avenue	316	20	6,320	RESIDENTIAL	ASPHALT	2	Major MR	04-01-2020	52	FAIR
Opportunity Ave	Sigmund St	N cul-de-sac end	1,209	20	24,180	RESIDENTIAL	ASPHALT	2	Major MR	12-04-2019	76	GOOD
Orangewood Ct	Cul-de-sac W of Salters Street	Augustine Road	1,560	20	31,201	RESIDENTIAL	ASPHALT	2	Major MR	02-09-2022	74	GOOD
Orchard Park Dr	441' S of Cara St	Hoover St	2,101	20	42,020	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	67	FAIR
Orchid Dr	Companero Entra	NE dead end	1,536	19	29,184	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	66	FAIR
Orchid Parkway	loops back upon self	Bobwhite Ct	7,011	16	112,182	RESIDENTIAL	ASPHALT	2	Major MR	02-16-2022	81	GOOD
Ordale Ave	Century Dr	Midway St	264	20	5,280	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	66	FAIR
Oregon Chickadee Rd	Cortez Blvd (SR50)	Blackbird Ave	2,759	18	49,670	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	76	GOOD

Oregon Jay Rd	Cortez Blvd (SR50)	Yale Ave	336	20	6,726	RESIDENTIAL	ASPHALT	2	Major MR	03-24-2020	57	FAIR
Oregon Jay Rd	Yale Ave	268' N of Yale Ave	267	20	5,340	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	66	FAIR
Oregon Jay Rd	228' S of Noddy Tern Rd	Noddy Tern Rd	220	20	4,400	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	90	VERY GOOD
Oriana Dr	Linden Dr	Unity Street	3,093	20	61,860	RESIDENTIAL	ASPHALT	2	Global MR	12-08-2019	65	FAIR
Orient Dr	Tahiti Dr	E dead end	664	21	13,944	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	78	GOOD
Oriole Ave	Olivia St	Northcliffe Blvd	656	20	13,120	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	60	FAIR
Oriole Ter	Orchid Pkwy	NE dead end	251	18	4,515	RESIDENTIAL	ASPHALT	2	Major MR	03-08-2022	53	FAIR
Orion Rd	Deltona Blvd	N of Hartley Rd	864	20	17,278	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	79	GOOD
Ortega Ave	Tara St	Landover Blvd	602	20	12,040	RESIDENTIAL	ASPHALT	2	Major MR	03-23-2020	55	FAIR
Orton Ave	Elgin Blvd	Topaz St	439	20	8,780	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	42	POOR
Osage Ln	Midway St	Melrose St	502	20	10,040	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	74	GOOD
Osage St	Daly Rd	Seminole Blvd	4,593	20	91,863	COLLECTOR	ASPHALT	2	Major MR	03-31-2021	74	GOOD
Osceola Dr	US 19	Indian Trail Road	3,394	21	71,274	RESIDENTIAL	ASPHALT	2	Major MR	03-12-2020	59	FAIR
Oslo Ave	Laramore St	Bagdad St	447	20	8,940	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	79	GOOD
Osoyaw Blvd (CR595)	Pasco County	Shoal Line Blvd	11,206	20	224,125	COLLECTOR	ASPHALT	2	Global MR	02-26-2020	71	GOOD
Osoyaw Blvd (CR595)	Tarpon Blvd	Commercial Way (US 19)	1,331	36	47,905	COLLECTOR	ASPHALT	3	Major MR	02-26-2020	77	GOOD
Osoyaw Blvd (CR595)	Shoal Line Blvd	Tarpon Blvd	7,784	24	186,806	COLLECTOR	ASPHALT	2	Major MR	03-08-2022	93	EXCELLENT
Osprey Ave	Fulmar Rd	Eskimo Curlew Rd	993	20	19,860	RESIDENTIAL	ASPHALT	2	Major MR	04-01-2020	62	FAIR
Osprey Ave	Marvelwood Road, circles W-S	Finch Rd	7,849	20	156,980	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	78	GOOD
Osprey Ave	Finch Rd	Fulmar Rd	845	20	16,900	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	79	GOOD
Ostrom Way	1305' W of Allen Dr	Allen Dr	1,305	20	26,100	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	78	GOOD
Ott Ct	Elgin Blvd	N dead end	303	20	6,060	RESIDENTIAL	ASPHALT	2	Major MR	03-30-2020	51	FAIR
Outer Banks Dr	Glen Lakes Blvd	973' S of Happy Days Dr	1,159	20	23,190	INDUSTRIAL	ASPHALT	2	Major MR	03-31-2021	70	GOOD
Outer Banks Dr	973' S of Happy Days Dr	Happy Days Dr	972	20	19,448	INDUSTRIAL	ASPHALT	2	Major MR	03-31-2021	81	GOOD
Outlook Ave	County Line Rd	Clearwater Drive	461	20	9,220	RESIDENTIAL	ASPHALT	2	Major MR	12-11-2019	69	GOOD
Outrigger Ave	Quintara St	Elwood Road	934	20	18,678	RESIDENTIAL	ASPHALT	2	Major MR	02-09-2022	70	GOOD
Ovenbird Rd	SR 50	Noddy Tern Rd	823	22	18,111	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	66	FAIR
Ovenbird Rd	Noddy Tern Rd	Blackbird Ave	2,007	18	36,126	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	66	FAIR
Overland Dr	Archway Dr	Henderson Street (2)	5,341	20	106,820	RESIDENTIAL	ASPHALT	2	Global MR	12-01-2019	72	GOOD
Overview Ln	Dunkirk Road	Running Oak Court	1,199	24	28,795	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	71	GOOD
Owl Rd	Noddy Tern Road	Blackbird Avenue	2,577	20	51,540	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	62	FAIR
Oyster Ct	S dead end	Panther Dr	285	20	5,700	RESIDENTIAL	ASPHALT	2	Global MR	03-10-2020	57	FAIR
Pacheco Rd	Major Dade Drive	Hawkiowa Road	725	16	11,598	RESIDENTIAL	ASPHALT	2	Major MR	03-08-2022	46	POOR
Pacific Ave	US 19	Gate at N end, x's: Balm St	1,828	20	36,560	RESIDENTIAL	ASPHALT	2	Major MR	03-10-2020	53	FAIR
Pacific Ave	gate at end	Chaucer Drive	241	20	4,820	RESIDENTIAL	ASPHALT	2	Major MR	03-10-2020	62	FAIR
Paco St	Montano Ave	Chadwick Ave	440	20	8,800	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	79	GOOD
Padgett St	County Line Rd	Clearwater Drive	353	20	7,054	RESIDENTIAL	ASPHALT	2	Major MR	12-11-2019	60	FAIR
Padron Blvd	W of Sapphire Drive	E of Romine Court	2,662	20	53,240	RESIDENTIAL	ASPHALT	2	Global MR	12-05-2019	74	GOOD
Page Ln	Baton Ave	Waterfall Drive	582	20	11,631	RESIDENTIAL	ASPHALT	2	Major MR	02-25-2020	69	GOOD
Pagoda Dr	Cul-de-sac SE of Rusty Oak Dr	Circle around NW then E, S	5,247	24	126,011	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	52	FAIR
Painted Bunting Ave	Filbert Rd	Fulmar Rd	1,219	20	24,380	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	83	VERY GOOD
Painted Leaf Dr	Trillium Blvd	Sea Holy Dr	1,622	20	32,440	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	78	GOOD
Painters St	Sealawn Drive	Cessna Dr	2,113	20	42,266	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	66	FAIR
Pala Way	Fairchild Rd	Orchard Way	641	20	12,820	RESIDENTIAL	ASPHALT	2	Global MR	12-01-2019	76	GOOD
Palacky St	Jackson Ave	Broad St	2,674	16	42,784	RESIDENTIAL	ASPHALT	2	Major MR	03-03-2020	55	FAIR
Palacky St	Wilson Blvd	Jackson Ave	1,999	16	31,984	RESIDENTIAL	ASPHALT	2	Major MR	03-03-2020	56	FAIR
Pale Wren Ave	Pacific Nighthawk Ave	E of Fulmar Rd	847	20	16,940	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	79	GOOD
Palen Ln	Cortez Blvd	Azen Loop	319	18	5,735	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	82	VERY GOOD

Palisade Dr	Westwind Street	E dead end	567	14	7,938	RESIDENTIAL	ASPHALT	2	Major MR	03-10-2020	74	GOOD
Pallas Ave	Regatta St	Century Dr	1,011	20	20,220	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	65	FAIR
Palm Creek Dr	SW of Colony Circle	Avenue of The Palms	1,181	20	23,620	RESIDENTIAL	ASPHALT	2	Major MR	02-12-2020	52	FAIR
Palmgren Ln	Woodstream Way	Mariner Blvd	2,517	20	50,340	RESIDENTIAL	ASPHALT	2	Global MR	12-01-2019	73	GOOD
Palmwood Pl	W of Nightingale Rd	Nightingale Rd	341	20	6,820	RESIDENTIAL	ASPHALT	2	Major MR	03-24-2020	56	FAIR
Palmwood Pl	Nightingale Rd	Woodland Waters Blvd	638	20	12,760	RESIDENTIAL	ASPHALT	2	Major MR	03-24-2020	74	GOOD
Palomar St	Landover Blvd	Cul-de-sac E of Chamwood Ave	2,596	20	51,920	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	64	FAIR
Palometa Dr	SW dead End	Jewfish Dr	1,648	22	36,256	RESIDENTIAL	ASPHALT	2	Major MR	02-26-2020	77	GOOD
Panahan Dr	S dead end	NW cul-de-sac end	2,082	20	41,640	RESIDENTIAL	ASPHALT	2	Major MR	03-12-2020	45	POOR
Panama Ave	Centennial Street	Scottville Street	1,138	20	22,760	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	72	GOOD
Panola Ave	Fiar Street	Lake Lindsey Road (CR476)	1,012	16	16,187	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	84	VERY GOOD
Panorama St	Oaklawn Avenue	Vermont Ave	830	16	13,275	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	79	GOOD
Pantera Loop	Woodland Waters Blvd	Woodland Waters Blvd	2,667	20	53,340	RESIDENTIAL	ASPHALT	2	Major MR	03-24-2020	73	GOOD
Panther Dr	Staghorn Drive	Breakwater Blvd	1,972	20	39,440	RESIDENTIAL	ASPHALT	2	Global MR	03-10-2020	49	POOR
Paoli Ct	Paramount Ave	SE dead end	594	20	11,880	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	87	VERY GOOD
Papercraft Ave	Jaybird Rd	E of Everglades Kite Rd	6,755	20	135,100	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	81	GOOD
Par St	Highpoint Blvd	Fairway Avenue	351	22	7,722	RESIDENTIAL	ASPHALT	2	Major MR	02-01-2022	94	EXCELLENT
Paradise Cir	Gulfview Dr	N dead end	1,098	21	23,058	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	69	GOOD
Paragon Ter	W dead end	Cedarbrook Lane	416	18	7,488	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	81	GOOD
Paramount Ave	Mirage Ave	Labrador Duck Rd	1,468	20	29,360	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	79	GOOD
Paris Ave	County Line Rd	Clearwater Drive	405	20	8,100	RESIDENTIAL	ASPHALT	2	Major MR	12-11-2019	69	GOOD
Park Dr	Jamette Rd	Cedonia Rd	987	18	17,766	RESIDENTIAL	ASPHALT	2	Major MR	02-29-2020	51	FAIR
Park Ridge Dr	Shadywood Ln	Cedarside Ave	3,390	20	67,800	RESIDENTIAL	ASPHALT	2	Major MR	03-04-2020	64	FAIR
Park Square Pl	Tall Pines Drive	Emerald Dr	595	16	9,520	RESIDENTIAL	ASPHALT	2	Major MR	02-29-2020	53	FAIR
Parker Ave	Spring Hill Dr	Alderwood St	1,129	20	22,580	OTHER	ASPHALT	2	Global MR	03-31-2021	72	GOOD
Parkhill Ave	Candia Street	N of Kane Road	2,208	20	44,160	RESIDENTIAL	ASPHALT	2	Major MR	12-04-2019	72	GOOD
Parkhurst Ln	Miracle Drive	Lakeview Court	1,230	20	24,600	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	83	VERY GOOD
Parkland Ave	Cracker Crossing	Cortez Blvd (SR50)	820	24	19,680	INDUSTRIAL	ASPHALT	4	Major MR	04-01-2020	34	VERY POOR
Parkton Ave	County Line Rd	Clearwater Drive	379	20	7,580	RESIDENTIAL	ASPHALT	2	Major MR	12-11-2019	74	GOOD
Parkview St	Montano Ave	Goldcoast Ave	931	20	18,620	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	74	GOOD
Parlow Ave	Sealawn Dr	150' N of Toucan Trl	1,815	18	32,673	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	74	GOOD
Parma Ln	County Line Rd	Arcadia Ave	448	20	8,960	RESIDENTIAL	ASPHALT	2	Major MR	12-11-2019	65	FAIR
Parnell Ave	Killian Street	Shafton Road	2,003	20	40,060	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	76	GOOD
Parrish Ave	Oakdale Avenue	N dead end	145	16	2,320	RESIDENTIAL	ASPHALT	2	Major MR	03-26-2020	33	VERY POOR
Parrish Ave	Ft Dade Ave	Oakdale Ave	1,136	16	18,176	RESIDENTIAL	ASPHALT	2	Global MR	03-26-2020	47	POOR
Parsons Rd	2045' W of Brittle Rd	Brittle Rd	2,045	18	36,810	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	49	POOR
Parsons Rd	Citrus Way (CR 491)	1828' W of Brittle Rd.	5,666	14	79,326	RESIDENTIAL	ASPHALT	1	Major MR	04-13-2021	56	FAIR
Partridge St	W of Landover Blvd	Mariner Blvd	1,601	20	32,020	RESIDENTIAL	ASPHALT	2	Major MR	03-23-2020	56	FAIR
Pasture Ln	195' W of Redbud Lane	Redbud Lane	197	20	3,946	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	88	VERY GOOD
Patch St	Libby Rd	Montano Ave	990	20	19,800	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	64	FAIR
Patio Ct	Deltona Blvd	Cul-de-sac SE of Sailfish Ct	1,691	24	40,587	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	87	VERY GOOD
Patrice Rd	Park Dr	Riverdale Dr	1,035	24	24,856	RESIDENTIAL	ASPHALT	2	Major MR	02-29-2020	55	FAIR
Patricia Pl	Suwannee Road	Jomel Drive	3,627	20	72,540	RESIDENTIAL	ASPHALT	2	Major MR	03-10-2020	62	FAIR
Patrick St	S of Dewitt Dr, limit of Sub'd.	Croom Rd	1,306	20	26,120	RESIDENTIAL	ASPHALT	2	Major MR	03-26-2020	56	FAIR
Patsburg Pl	S dead end	Cercelia Rd	343	24	8,237	RESIDENTIAL	ASPHALT	2	Major MR	02-29-2020	59	FAIR
Patterson Dr	SW dead end	Shoal Line Boulevard (CR597)	647	17	10,676	RESIDENTIAL	ASPHALT	2	Major MR	03-10-2020	66	FAIR
Patton Ct	Windswept Ave	E end cul-du-sac	187	20	3,740	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	73	GOOD
Paul R. Steckle Ln	Cortez Blvd	566' NW of Cortez Blvd	566	24	13,584	RESIDENTIAL	ASPHALT	2	Major MR	02-29-2020	49	POOR

Paulette Blvd	Riverdale Dr	McKethan Rd (US 98)	232	58	13,456	OTHER	ASPHALT	2	Major MR	02-29-2020	64	FAIR
Pavia Ln	Windswept Ave	Bay Dr	822	20	16,446	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	82	VERY GOOD
Pawnee Dr	368' S of Comanche Street	Citrus Co. Line	4,330	20	86,607	RESIDENTIAL	ASPHALT	2	Major MR	04-01-2020	77	GOOD
Payne St	Hawthorne Rd	Fairview Rd	1,107	20	22,140	RESIDENTIAL	ASPHALT	2	Major MR	12-04-2019	64	FAIR
Payton St	Lagorce Ave	Charmwood Ave	1,148	20	22,960	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	64	FAIR
Peach Orchard Rd	Kansas Rd	Citrus Way	7,399	20	147,980	OTHER	ASPHALT	2	Major MR	03-31-2021	68	GOOD
Peach Tree Dr	County Line Rd	Orchard Way	3,957	20	79,149	RESIDENTIAL	ASPHALT	2	Major MR	04-01-2020	61	FAIR
Peacock Rd	Miracle Dr	Century Dr	797	20	15,940	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	68	GOOD
Pear Ln	Pilgram Rd	Salem Ct	396	24	9,504	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	72	GOOD
Pebble St	Waterfall Dr	Candlewick Ave	680	20	13,593	RESIDENTIAL	ASPHALT	2	Major MR	02-25-2020	69	GOOD
Pelham St	Weldon Ave	Montano Ave	511	20	10,220	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	88	VERY GOOD
Pelican Ave	Labrador Duck Rd	Lark Sparrow Rd	1,109	20	22,175	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	85	VERY GOOD
Pell Ave	Spanish Oak Drive	Wysocki Court	262	24	6,292	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	78	GOOD
Pemberton St	Laredo Avenue	Horizon Drive	1,656	20	33,120	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	63	FAIR
Pembroke Ave	Kingfisher Road	Kildeer Road	865	20	17,300	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	88	VERY GOOD
Pendleton St	Grapewood Road	E of Branchville Road	1,754	20	35,080	RESIDENTIAL	ASPHALT	2	Major MR	03-23-2020	53	FAIR
Pentfield St	Mt Pleasant Avenue	Gondolier Road	664	20	13,280	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	77	GOOD
Penguin Ave	W of Kingfisher Road	E of Kildeer Road	1,313	20	26,260	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	87	VERY GOOD
Penhall Ave	Motmot Rd	Oregon Rd	632	20	12,640	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	83	VERY GOOD
Penna St	Lawrence Street	Bruni Drive	1,365	20	27,300	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	73	GOOD
Pennsylvania Ave	Olanca Road	Leisure Street	2,123	18	38,214	RESIDENTIAL	ASPHALT	2	Major MR	02-29-2020	60	FAIR
Penton St	Hancock Avenue	Layton Avenue	876	20	17,520	RESIDENTIAL	ASPHALT	2	Major MR	03-23-2020	59	FAIR
Peoria St	Valiant Ave	Nobleton Avenue	1,278	20	25,560	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	54	FAIR
Pepper St	Wendy Ct	Commercial Way	465	36	16,740	INDUSTRIAL	ASPHALT	3	Major MR	02-26-2020	77	GOOD
Peppermill Dr	Domingo Drive	Weeks Drive	1,046	18	18,826	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	71	GOOD
Peregrine Falcon Ave	Cumberland Rd	Horton Ct	3,739	20	74,780	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	79	GOOD
Periwinkle Ct	S end	Satinleaf Run	1,095	22	24,090	RESIDENTIAL	ASPHALT	2	Major MR	03-30-2020	56	FAIR
Perry Ave	Barlington St	Chippendale St	921	20	18,420	RESIDENTIAL	ASPHALT	2	Major MR	12-08-2019	74	GOOD
Persian Ave	Hayward Rd	Spring Hill Dr	1,213	20	24,266	RESIDENTIAL	ASPHALT	2	Major MR	12-02-2019	60	FAIR
Persimmon Ave	Marbled Godwit Road	Motmot Road	1,983	20	39,660	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	81	GOOD
Peterson Camp Rd	Lingle Rd (CR 439)	SE of Diviston Lane	3,091	14	43,272	RESIDENTIAL	ASPHALT	2	Major MR	02-02-2022	66	FAIR
Petit Ln	Shoal Line Blvd	Calienta St	546	24	13,113	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	78	GOOD
Peyton Pl	Parrish Avenue	East Ave	1,924	16	30,784	RESIDENTIAL	ASPHALT	2	Global MR	03-26-2020	55	FAIR
Philadelphia Ave	Coachman Rd	Peoria St, x's:Waterfall Dr	2,039	20	40,780	RESIDENTIAL	ASPHALT	2	Major MR	04-13-2021	54	FAIR
Philander Ave	Lark Sparrow Rd	Poenix Ave	803	20	16,060	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	75	GOOD
Philatelic Dr	Deltona Blvd	Harrow Rd (2)	7,177	22	157,894	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	57	FAIR
Phillips Rd	4765' S of Ayers Rd	Arlanie Road	7,394	20	147,880	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	71	GOOD
Phillips Rd	4765' S of Ayers Rd	Ayers Rd	4,765	20	95,300	RESIDENTIAL	ASPHALT	2	Major MR	03-03-2020	75	GOOD
Phoebe Ct	W dead end	Finch Rd	630	20	12,600	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	75	GOOD
Phoenix Ave	Lomita Wren Road	Lark Sparrow Road (2)	3,644	20	72,880	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	80	GOOD
Phyllis Ave	W of Marsh Hawk Rd	Moneta Rd	897	20	17,940	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	76	GOOD
Pia Ct	W dead end	Sebastian Drive	512	20	10,240	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	67	FAIR
Picardy Ct	Pioneer Avenue	N dead end	610	20	12,200	RESIDENTIAL	ASPHALT	2	Major MR	04-01-2020	75	GOOD
Picasso St	Melville Avenue	Eldridge Road	600	20	12,007	RESIDENTIAL	ASPHALT	2	Major MR	12-02-2019	48	POOR
Piccadilly Ave	Drury Lane	Chatfield Drive	403	16	6,442	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	61	FAIR
Pickens St	Melville Avenue	Eldridge Road	506	20	10,130	RESIDENTIAL	ASPHALT	2	Major MR	12-02-2019	69	GOOD
Pickford St	Palomar St	Montano Ave	2,748	20	54,960	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	72	GOOD
Pie Ct	Lagoon Rd	Lagoon Rd	324	20	6,475	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	79	GOOD

Piedmont Dr	Pinehurst Dr	Pinehurst Dr	4,491	20	89,820	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	68	GOOD
Pier St	Hawthorne Rd	Perry Ave	410	20	8,200	RESIDENTIAL	ASPHALT	2	Major MR	12-08-2019	74	GOOD
Pierpoint Ave	Elgin Blvd	Topaz St	940	20	18,800	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	72	GOOD
Pike Ave	Palomar St	Landover Blvd	1,048	20	20,960	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	55	FAIR
Pikeview Rd	Cyril Dr	Oakfield Circle	3,652	20	73,040	RESIDENTIAL	ASPHALT	2	Major MR	03-04-2020	64	FAIR
Pilgrim Rd	Spring Hill Dr	Salem Ct	1,619	24	38,856	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	67	FAIR
Pillar Ave	Elgin Blvd	Katherwood St	3,212	20	64,240	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	56	FAIR
Pindo Palm Ct	Plumosa St	SE end cul-de-sac	403	20	8,060	RESIDENTIAL	ASPHALT	2	Global MR	03-10-2020	66	FAIR
Pine Bluff St	Landover Blvd	E of Gondolier Rd	1,668	20	33,360	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	62	FAIR
Pine Club Cir	Pine Warbler Ave	Pine Warbler Ave	1,606	20	32,120	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	84	VERY GOOD
Pine Cone St	W of Pinewood Avenue	Weeping Willow St	606	22	13,332	RESIDENTIAL	ASPHALT	2	Global MR	03-24-2020	65	FAIR
Pine Dale Ct	Calienta St	Eagle Nest Dr	1,161	18	20,898	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	82	VERY GOOD
Pine Hill Dr	Danmar Ave	Daly Rd	698	19	13,262	COLLECTOR	ASPHALT	2	Major MR	04-01-2020	69	GOOD
Pine Hill Dr	83' W of Danmar Ave	Danmar Ave	83	19	1,577	RESIDENTIAL	ASPHALT	2	Major MR	02-17-2022	59	FAIR
Pine Island Dr (CR495)	Park Entrance	CR550	12,955	18	233,190	COLLECTOR	ASPHALT	2	Major MR	03-12-2020	56	FAIR
Pine Ridge Dr	Cortez Blvd (SR 50)	N dead end	887	18	15,971	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	78	GOOD
Pine Ridge Ln	Shadywood Ln	Windmere Rd	498	20	9,960	RESIDENTIAL	ASPHALT	2	Major MR	03-30-2020	60	FAIR
Pine Warbler Ave	Osprey Ave	Marvelwood Rd	2,282	20	45,640	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	85	VERY GOOD
Pinehurst Dr	Spring Hill Drive (W)	Meanders N/E/S to Spring Hill Dr	9,037	20	180,748	RESIDENTIAL	ASPHALT	2	Global MR	12-09-2019	63	FAIR
Pinehurst Dr	Spring Hill Drive; x's: Cobblestone	Meanders S/E/N to Spring Hill Dr	11,542	20	230,845	RESIDENTIAL	ASPHALT	2	Global MR	12-09-2019	64	FAIR
Pinehurst Dr	Applegate Dr	Spring Hill Drive	1,829	42	76,813	RESIDENTIAL	ASPHALT	4	Global MR	12-09-2019	70	GOOD
Pinehurst Dr	Spring Hill Drive (E)	N of Lagoon Road	4,454	20	89,082	RESIDENTIAL	ASPHALT	2	Major MR	12-09-2019	70	GOOD
Pinellas Ave	Polo Lane	Coronado Dr	642	20	12,840	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	66	FAIR
Pinero St	River Rd, x's: Bayside Ct	River Rd	1,078	20	21,560	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	58	FAIR
Pinetree Ave	Evergreen Ave	N dead end	252	22	5,544	RESIDENTIAL	ASPHALT	2	Global MR	03-24-2020	66	FAIR
Pinewood Ave	Pitcairn St	Pine Cone Street	2,228	22	49,016	RESIDENTIAL	ASPHALT	2	Global MR	03-24-2020	64	FAIR
Pinta Ave	Burlington St	Payne St	1,398	20	27,960	RESIDENTIAL	ASPHALT	2	Major MR	12-08-2019	73	GOOD
Pintado Ave	Lema Drive	Linden Dr	862	20	17,240	RESIDENTIAL	ASPHALT	2	Major MR	12-04-2019	67	FAIR
Pioneer Ave	Linnet Rd	Lapwing Rd	844	20	16,880	RESIDENTIAL	ASPHALT	2	Major MR	04-01-2020	74	GOOD
Piper Rd	Spring Hill Dr	Pinehurst Dr	4,219	20	84,380	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	58	FAIR
Piping Plover Ave	Harris Hawk Rd	E dead end	1,412	20	28,240	RESIDENTIAL	ASPHALT	2	Major MR	03-08-2022	84	VERY GOOD
Piquero Ave	W of Mottled Duck Rd	Marbled Godwit Rd	1,456	20	29,120	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	77	GOOD
Pirate Ln	Groveland St	Whitewood Dr	1,627	20	32,540	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	85	VERY GOOD
Pistachio St	SW dead end	Cortez Boulevard (CR550)	697	20	13,940	RESIDENTIAL	ASPHALT	2	Global MR	03-10-2020	59	FAIR
Pitcairn St	W of Yellow Pine Avenue	Weeping Willow St	3,964	22	87,208	RESIDENTIAL	ASPHALT	2	Global MR	03-24-2020	68	GOOD
Pitkin Ct	Marvelwood Rd	NW dead end	288	20	5,760	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	90	VERY GOOD
Pitt Hollow	Albany Rd	N dead end	363	21	7,623	RESIDENTIAL	ASPHALT	2	Global MR	04-19-2020	60	FAIR
Placid St	Baton Ave	Waterfall Dr	821	20	16,415	RESIDENTIAL	ASPHALT	2	Major MR	02-25-2020	71	GOOD
Planter Rd	Cactus Circle	Rusk Circle	1,493	20	29,857	RESIDENTIAL	ASPHALT	2	Major MR	02-16-2022	85	VERY GOOD
Plaza Ave	Sewell Lane	Bay Drive	1,828	24	43,862	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	85	VERY GOOD
Pleasant Ln	Idle-A-While Circle	Idle-A-While Circle	898	18	16,164	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	73	GOOD
Plumbago Ct	Plumosa St	NW end cul-de-sac	341	20	6,820	RESIDENTIAL	ASPHALT	2	Global MR	03-10-2020	66	FAIR
Plumosa St	Gaston St	N of Cool Breeze Court	4,155	20	83,100	RESIDENTIAL	ASPHALT	2	Global MR	03-10-2020	52	FAIR
Plumtree Ave	Landmark Dr	Toledo Rd	1,083	20	21,660	RESIDENTIAL	ASPHALT	2	Major MR	12-11-2019	65	FAIR
Plyna St	William St	US 19	1,131	20	22,620	RESIDENTIAL	ASPHALT	2	Major MR	03-10-2020	71	GOOD
Pocahontas Dr	Cassandra Way	Cimarron Way	878	18	15,807	RESIDENTIAL	ASPHALT	2	Major MR	03-08-2022	27	VERY POOR
Poet St	Arista Lane	Coronado Dr	406	20	8,111	RESIDENTIAL	ASPHALT	2	Major MR	02-09-2022	61	FAIR
Poinsettia Dr	Hermosa Blvd	N dead end	989	18	17,802	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	78	GOOD

Poinsettia Pl	Orchid Pkwy	Orchid Pkwy	746	18	13,436	RESIDENTIAL	ASPHALT	2	Major MR	03-08-2022	50	FAIR
Pointview Rd	California St	Nunn Blvd	997	18	17,946	RESIDENTIAL	ASPHALT	2	Major MR	04-19-2020	18	FAILED
Pointview Rd	Ft Dade	California St	1,599	18	28,782	RESIDENTIAL	ASPHALT	2	Major MR	04-19-2020	52	FAIR
Polk Ave	Coronado Drive	N of Drysdale Street	689	20	13,786	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	78	GOOD
Polo Ln	Aimworth Avenue	Coronado Drive	1,098	20	21,966	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	72	GOOD
Pomeroy Rd	Antelope Street	Whitewood Ave	1,880	21	39,475	RESIDENTIAL	ASPHALT	2	Major MR	02-09-2022	82	VERY GOOD
Pomona Ave	Dothan Avenue	Segovia Street	1,220	20	24,400	RESIDENTIAL	ASPHALT	2	Major MR	12-04-2019	73	GOOD
Pond Cir	Pinehurst Dr	Pinehurst Dr	2,794	20	55,888	RESIDENTIAL	ASPHALT	2	Major MR	12-08-2019	69	GOOD
Ponytail Ct	N cul-de-sac end	Sigmund St	680	20	13,600	RESIDENTIAL	ASPHALT	2	Major MR	12-04-2019	75	GOOD
Popiel Rd	Mondon Hill Rd	E of Fire Station Drway	377	20	7,540	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	52	FAIR
Popiel Rd	E of Firestation Driveway	Shaw Rd	4,946	20	98,919	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	54	FAIR
Porpoise St	Shoal Line Boulevard (CR597)	end of pavement	1,898	21	39,858	RESIDENTIAL	ASPHALT	2	Major MR	03-10-2020	74	GOOD
Port Ct	S dead end	Spring Hill Dr	441	20	8,821	RESIDENTIAL	ASPHALT	2	Major MR	04-13-2021	70	GOOD
Portillo Rd	Dristol Ave	Northcliffe Blvd	5,183	20	103,660	OTHER	ASPHALT	2	Global MR	03-31-2021	66	FAIR
Portland Ave	Landmark Dr	Millstone St	2,709	20	54,180	RESIDENTIAL	ASPHALT	2	Major MR	12-09-2019	72	GOOD
Portola Ln	Linden Dr	Redgate St	1,063	20	21,260	RESIDENTIAL	ASPHALT	2	Major MR	12-04-2019	63	FAIR
Portsmouth St	Amhurst Ave	Linden Dr	2,728	20	54,560	RESIDENTIAL	ASPHALT	2	Major MR	12-03-2019	69	GOOD
Post Ct	Treehaven Dr	NW of Pinehurst Dr	1,291	20	25,820	RESIDENTIAL	ASPHALT	2	Global MR	12-09-2019	61	FAIR
Potentilla Ct	S cul-de-sac end	Satinleaf Run	1,052	22	23,155	RESIDENTIAL	ASPHALT	2	Major MR	03-03-2022	80	GOOD
Powell Rd (CR572)	Broad St (US41)	Emerson Rd	20,611	22	453,442	COLLECTOR	ASPHALT	2	Major MR	03-09-2020	59	FAIR
Powell Rd (CR572)	Emerson Rd	Spring Lake Hwy	25,272	22	555,984	COLLECTOR	ASPHALT	2	Major MR	02-29-2020	61	FAIR
Powell Rd (CR572)	Barclay Ave	Broad St (US41)	19,196	22	422,312	COLLECTOR	ASPHALT	2	Major MR	03-11-2020	62	FAIR
Power Line Rd	Lockhart Rd	5842' E of Lockhart Rd	5,842	25	146,050	ARTERIAL	ASPHALT	2	Global MR	03-04-2020	46	POOR
Power Line Rd	5842' E of Lockhart Rd	Kettering Rd	5,365	20	107,300	ARTERIAL	ASPHALT	2	Major MR	03-31-2021	72	GOOD
Prairie Falcon Rd	Hornbill Rd	E dead end	533	20	10,660	RESIDENTIAL	ASPHALT	2	Major MR	02-07-2022	94	EXCELLENT
Prescott St	Eddington Rd	Eddington Rd	717	20	14,340	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	72	GOOD
Presley Ct	S end cul-de-sac	Angora St	352	20	7,040	RESIDENTIAL	ASPHALT	2	Major MR	04-13-2021	52	FAIR
Prespare Ct	SE end cul-du-sac	Freeport Dr	267	24	6,412	RESIDENTIAL	ASPHALT	2	Major MR	04-13-2021	47	POOR
Presque Isle Dr	Island Drive	Colony Circle	316	20	6,320	RESIDENTIAL	ASPHALT	2	Major MR	03-12-2020	68	GOOD
Preston Hollow Dr	County Line Rd	N of Hollow Oak Ct	2,604	20	52,080	OTHER	ASPHALT	2	Global MR	12-05-2019	72	GOOD
Preston Rd	Mondon Hill Rd	Camp Castle Rd	7,496	19	142,424	COLLECTOR	ASPHALT	2	Major MR	04-01-2020	49	POOR
Preston Rd	Camp Castle Rd	NE of Haddon Rd	2,606	19	49,514	RESIDENTIAL	ASPHALT	2	Major MR	04-01-2020	48	POOR
Price St	Acorn Circle	Acorn Circle	421	24	10,105	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	72	GOOD
Princess Ln	E dead end	Opportunity Ave	637	20	12,740	RESIDENTIAL	ASPHALT	2	Major MR	12-04-2019	76	GOOD
Prospect Hill Ct	Buena Vista	E dead end	582	20	11,636	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	55	FAIR
Prospect St	Hawthorne Rd	Fairview Rd	1,018	20	20,360	RESIDENTIAL	ASPHALT	2	Major MR	12-04-2019	71	GOOD
Psenka St	County Line Rd	Kostka Dr	1,920	18	34,560	RESIDENTIAL	ASPHALT	2	Major MR	03-03-2020	61	FAIR
Public St	Twigg St	School St	368	24	8,838	RESIDENTIAL	ASPHALT	2	Major MR	03-26-2020	52	FAIR
Puffin Ave	Jaybird Rd	Harris Hawk Rd	904	20	18,080	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	71	GOOD
Punch Ln	670' W of Laumer Ave	780' E of Laumer Ave	1,546	20	30,920	RESIDENTIAL	ASPHALT	2	Major MR	03-01-2020	56	FAIR
Purdy St	Parkhurst Lane	W of Riviera Court	661	20	13,220	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	77	GOOD
Puritan Ln	Northcliffe Blvd	Keysville Ave	860	20	17,200	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	72	GOOD
Purple Flower Ct	Nodding Shade Dr	NW cul-de-sac end	510	20	10,200	RESIDENTIAL	ASPHALT	2	Major MR	03-03-2020	76	GOOD
Purple Galinule Ave	Harris Hawk Rd	SE dead end	484	20	9,680	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	81	GOOD
Purple Sandpiper Ave	Hooker Rd	E dead end	686	20	13,720	RESIDENTIAL	ASPHALT	2	Major MR	02-07-2022	94	EXCELLENT
Pythia Pl	W dead end	Linden Dr	656	24	15,744	RESIDENTIAL	ASPHALT	2	Global MR	04-13-2021	57	FAIR
Quail St	Ursula Ave	Hope Hill Rd	300	16	4,793	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	90	VERY GOOD
Quality Dr	Mariner Blvd	Farnsworth Boulevard	5,485	24	131,640	INDUSTRIAL	ASPHALT	2	Global MR	12-01-2019	64	FAIR

Quality Dr	W of Royal Palm Way	Mariner Boulevard	441	20	8,820	INDUSTRIAL	ASPHALT	2	Major MR	12-01-2019	65	FAIR
Quarry Hollow	Albany Rd	N dead end	378	21	7,938	RESIDENTIAL	ASPHALT	2	Global MR	04-19-2020	48	POOR
Queen Ave	Seagate Street	Scottville Street	519	20	10,380	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	88	VERY GOOD
Quigley Ave	Lelani Drive	Dusky Warbler Rd	5,640	21	118,440	RESIDENTIAL	ASPHALT	2	Global MR	04-19-2020	51	FAIR
Quill Ave	Kodiak Wren Rd	Labrador Duck Rd	924	20	18,480	RESIDENTIAL	ASPHALT	2	Major MR	02-01-2022	94	EXCELLENT
Quintara St	Mariner Blvd	Tuscanny Avenue	951	20	19,016	RESIDENTIAL	ASPHALT	2	Major MR	02-09-2022	75	GOOD
Quintilis St	Tuscanny Avenue	Norvell Road	1,334	20	26,683	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	74	GOOD
Rachel Blvd	Lake in The Woods Dr	Guard Shack	611	22	13,433	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	76	GOOD
Rackley Rd	3811' S of Powell Rd	Powell Rd	3,809	18	68,561	OTHER	ASPHALT	2	Major MR	03-31-2021	73	GOOD
Rada Ln	Hartley Rd	Deltona Blvd	453	20	9,058	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	78	GOOD
Radcliff St	Landmark Dr	Portland Ave	840	20	16,800	RESIDENTIAL	ASPHALT	2	Major MR	12-09-2019	73	GOOD
Radford St	Airmont Dr	Piper Rd	1,549	20	30,980	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	72	GOOD
Ragan Dr	Kimbrough Dr	Weeks Drive	554	18	9,977	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	83	VERY GOOD
Rainbow Ridge Ct	W dead end	Wilderness Trail	564	20	11,280	RESIDENTIAL	ASPHALT	2	Major MR	03-24-2020	55	FAIR
Rainbow Woods Loop	Augustine Rd, circles W---S	x's.to SE of Augustine Rd	2,087	20	41,731	RESIDENTIAL	ASPHALT	2	Major MR	02-09-2022	89	VERY GOOD
Raleigh St	Parker Ave	Airmont Dr	1,244	20	24,880	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	62	FAIR
Raley Rd	SR 50	N of Roper Road	1,713	20	34,260	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	75	GOOD
Ralph Ln	Banyon Rd	Ambassador Ave	741	20	14,820	RESIDENTIAL	ASPHALT	2	Major MR	12-04-2019	72	GOOD
Ramada St	Shoal Line Boulevard (CR597)	Shoal Line Boulevard (CR597)	1,391	14	19,474	RESIDENTIAL	ASPHALT	2	Major MR	03-10-2020	66	FAIR
Ramble Ridge Ct	NW dead end	Tooke Shore Dr (2)	1,991	19	37,829	RESIDENTIAL	ASPHALT	2	Major MR	03-24-2020	43	POOR
Ramona Dr	Thunderbird Avenue	Redwing Drive	1,375	18	24,750	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	51	FAIR
Ranchette Blvd	Treiman Blvd (US 301)	NE dead end	2,846	20	56,912	RESIDENTIAL	ASPHALT	2	Major MR	02-17-2022	59	FAIR
Randolph Ave	County Line Rd	Alhambra Ct	991	20	19,822	RESIDENTIAL	ASPHALT	2	Major MR	02-25-2020	69	GOOD
Raven St	W dead end	Harrow Rd	159	20	3,180	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	71	GOOD
Ravenwood Cove	W end cul-de-sac	Burnside Pkwy	737	24	17,700	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	39	POOR
Ray Dr	Westwind Street	E dead end	972	14	13,608	RESIDENTIAL	ASPHALT	2	Major MR	03-10-2020	66	FAIR
Rayburn Ct	Overland Dr	E dead end	405	20	8,100	RESIDENTIAL	ASPHALT	2	Global MR	12-01-2019	67	FAIR
Rebel St	W dead end	Evergreen Ave	212	21	4,452	RESIDENTIAL	ASPHALT	2	Global MR	03-24-2020	61	FAIR
Recarda Ln	Grove Rd	Oakado Rd	809	20	16,180	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	69	GOOD
Red Bloom Pl	Painted Leaf Dr	Painted Leaf Dr	760	20	15,200	RESIDENTIAL	ASPHALT	2	Major MR	03-03-2020	76	GOOD
Red Coach St	Linden Dr	Mariner Blvd	2,444	20	48,880	RESIDENTIAL	ASPHALT	2	Major MR	12-03-2019	71	GOOD
Redbud Ln	SR 50	Pasture Ln	1,863	20	37,260	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	81	GOOD
Redfox Dr	Dead end W of Wildflower Dr	Dead end E of Wildflower Dr	2,500	20	49,996	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	62	FAIR
Redgate St	Amherst Ave	Lema Dr	2,487	20	49,740	RESIDENTIAL	ASPHALT	2	Major MR	12-03-2019	70	GOOD
Redwing Dr	Apache Trail	Thunderbird Ave	1,944	18	34,992	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	71	GOOD
Redwood St	Dothan Ave	Dow Lane	995	20	19,900	RESIDENTIAL	ASPHALT	2	Major MR	12-04-2019	74	GOOD
Reef Ct	Lagoon Rd	NE dead end	223	20	4,455	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	33	VERY POOR
Regatta Cir	Deltona Blvd	Deltona Blvd	934	20	18,680	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	65	FAIR
Regatta St	Deltona Blvd	Miracle Drive	656	20	13,120	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	57	FAIR
Regent Ln	Linden Dr	Redgate St	1,552	20	31,040	RESIDENTIAL	ASPHALT	2	Major MR	12-03-2019	71	GOOD
Reiland Dr	Lingle Road (CR439)	Oakdene Drive	1,155	18	20,786	RESIDENTIAL	ASPHALT	2	Major MR	02-17-2022	74	GOOD
Reindeer Ct	W of Caribou Drive	E of Horizon Drive	985	20	19,700	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	68	GOOD
Rene Ct	Celebration Dr	NE cul-de-sac end	310	20	6,205	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	88	VERY GOOD
Renton Ln	Marysville St	Malaga Ave	971	20	19,420	RESIDENTIAL	ASPHALT	2	Major MR	12-03-2019	64	FAIR
Rester Dr	Grove Rd	590' W of Kindlerwood Trl	2,021	30	60,630	RESIDENTIAL	ASPHALT	2	Major MR	03-30-2020	56	FAIR
Restmere Ln	Marysville St	SE of Deborah Dr	1,980	20	39,600	RESIDENTIAL	ASPHALT	2	Major MR	12-03-2019	69	GOOD
Reynolds St	US 301	Dale Anne Dr	2,755	18	49,590	COLLECTOR	ASPHALT	2	Major MR	03-01-2020	59	FAIR
Rhanbuoy Rd	Forest Oaks Blvd	Hoffman Ave	4,689	24	112,610	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	65	FAIR

Rhine Ave	S of Brechner Street	Curry Drive	829	20	16,580	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	80	GOOD
Ribb Dr	Deltona Blvd	Bob Hartung Court	213	20	4,260	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	88	VERY GOOD
Ricebird Ave	Canyon Swallow Rd	Carolina Dove Rd	852	20	17,040	RESIDENTIAL	ASPHALT	2	Global MR	04-19-2020	51	FAIR
Richard Dr	E & W Richard Dr	Shoal Line Blvd	1,661	24	39,890	RESIDENTIAL	ASPHALT	2	Major MR	05-31-2020	90	VERY GOOD
Richardson Blvd	Cockleberry Dr	Knoxville Dr	8,132	20	162,640	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	69	GOOD
Richardson Blvd	Knoxville Dr	US 301	690	24	16,560	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	75	GOOD
Richbam Rd	Weatherly Rd	350' E of Wild Horse Trl	12,876	20	257,520	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	74	GOOD
Richloam Clay Sink Rd	2198' S of Riverland Rd	Cortez Blvd (SR 50)	5,775	14	80,850	RESIDENTIAL	ASPHALT	1	Major MR	03-09-2020	36	POOR
Ricker Ave	Citrus St	N of Excalibur Rd	1,528	18	27,501	RESIDENTIAL	ASPHALT	2	Major MR	02-17-2022	65	FAIR
Riddle Dr	Lema Dr	Linden Dr	3,222	20	64,440	RESIDENTIAL	ASPHALT	2	Major MR	12-03-2019	68	GOOD
Riderwood Dr	Cedonia Rd	NW of Riverdale Dr	1,225	20	24,500	RESIDENTIAL	ASPHALT	2	Major MR	03-01-2020	51	FAIR
Ridge Manor Blvd	SR 50	US 301	12,118	20	242,360	COLLECTOR	ASPHALT	2	Global MR	03-30-2020	47	POOR
Ridge Manor Blvd	N of SR 50,cross loop SE	SR50	2,269	16	36,304	RESIDENTIAL	ASPHALT	2	Major MR	03-30-2020	57	FAIR
Ridge Rd	US 19	Nightwalker Rd	4,291	18	78,954	COLLECTOR	ASPHALT	2	Major MR	03-12-2020	59	FAIR
Right Curve Rd	Cecil Court	Lawrence Street	762	20	15,234	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	41	POOR
Riley Ln	Elgin Blvd	Corrine Ave	233	24	5,596	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	88	VERY GOOD
Rim Dr	Linden Dr	Stacy St	2,993	20	59,860	RESIDENTIAL	ASPHALT	2	Major MR	12-04-2019	69	GOOD
Rim Rock St	Nonstone Dr	Wickshire St	480	18	8,640	RESIDENTIAL	ASPHALT	2	Major MR	03-30-2020	52	FAIR
Ring Rd	Barlington Street	Bolger Avenue	3,615	20	72,295	RESIDENTIAL	ASPHALT	2	Major MR	02-10-2022	86	VERY GOOD
Rio Cir	Maderia St	Maderia St	2,297	20	45,940	RESIDENTIAL	ASPHALT	2	Major MR	12-02-2019	65	FAIR
Rio Vista Ct	NW of Castille Dr	Mariner Blvd	773	20	15,460	RESIDENTIAL	ASPHALT	2	Global MR	12-01-2019	68	GOOD
Ripley St	Magellan Ave	Mariner Blvd	653	20	13,060	RESIDENTIAL	ASPHALT	2	Major MR	12-03-2019	70	GOOD
Rita Ln	Waterfall Dr	Jena Rd	416	20	8,320	RESIDENTIAL	ASPHALT	2	Major MR	04-01-2020	50	FAIR
Rivard Blvd	Broad St (US41)	425' W of Long View Cir	3,415	22	75,130	RESIDENTIAL	ASPHALT	2	Major MR	03-03-2020	64	FAIR
River Country Dr	Chaucer Dr	224' W of Chaucer Dr	224	44	9,856	RESIDENTIAL	ASPHALT	2	Major MR	03-10-2020	61	FAIR
River Country Dr	Suwannee	River Run Blvd	1,527	20	30,540	RESIDENTIAL	ASPHALT	2	Major MR	03-10-2020	61	FAIR
River Country Dr	Commercial Way (US 19)	Chaucer Dr	653	20	13,060	RESIDENTIAL	ASPHALT	4	Major MR	03-10-2020	63	FAIR
River Country Dr	236' E of Delaware Dr	Suwannee Rd	5,080	24	121,920	RESIDENTIAL	ASPHALT	2	Major MR	03-10-2020	64	FAIR
River Point Dr	Avenue of The Palms	N dead end	673	16	10,768	RESIDENTIAL	ASPHALT	2	Major MR	03-12-2020	71	GOOD
River Rd	Marler Road	Andres Street	3,985	23	91,655	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	77	GOOD
Riverdale Dr	Cercelia Rd	Riderwood Dr	3,182	24	76,418	RESIDENTIAL	ASPHALT	2	Major MR	03-01-2020	63	FAIR
Riverland Rd	Richloam Clay Sink Rd	Sumter County Line	11,541	14	161,574	RESIDENTIAL	ASPHALT	2	Major MR	03-09-2020	43	POOR
Riviera Ct	S of Lakeview Court	Cul-de-sac N of Purdy St	1,154	20	23,080	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	70	GOOD
Road to Jail	Spring Hill Dr	NE of state prison drive	1,051	20	21,025	RESIDENTIAL	ASPHALT	2	Major MR	04-13-2021	78	GOOD
Robina Rd	Lomita Wren Road	N of Pheasant Avenue	1,318	20	26,360	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	81	GOOD
Robinswood Ave	Park Ridge Dr	Ashmont Ave	722	20	14,440	RESIDENTIAL	ASPHALT	2	Major MR	03-04-2020	53	FAIR
Roble Ave	Courtland Rd	W of Pillar Ave	6,956	20	139,120	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	63	FAIR
Rockford St	Pierpoint Ave	Colchester Ave	1,080	20	21,600	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	47	POOR
Rockrose Ct	S cul-de-sac end	Winthrop Dr	365	20	7,293	RESIDENTIAL	ASPHALT	2	Major MR	04-13-2021	73	GOOD
Rocky Ave	Firefly St	Herdon St	831	20	16,620	RESIDENTIAL	ASPHALT	2	Major MR	12-04-2019	73	GOOD
Roland St	Montano Avenue	Salters Street	1,976	20	39,520	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	72	GOOD
Rolling Acres Dr	Spring Lake Hwy	Attica Avenue	2,115	18	38,070	RESIDENTIAL	ASPHALT	2	Major MR	02-23-2022	89	VERY GOOD
Rolling Rock Dr	Cortez Blvd	Frontage Rd	577	24	13,848	INDUSTRIAL	ASPHALT	2	Major MR	03-31-2021	90	VERY GOOD
Roman St	Chadwick Avenue	Roland Street	980	20	19,600	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	72	GOOD
Romar St	Pacheco Rd	Basinger St	499	16	7,982	RESIDENTIAL	ASPHALT	2	Major MR	03-03-2022	78	GOOD
Romar St	Geyser St	E dead end	473	16	7,562	RESIDENTIAL	ASPHALT	2	Major MR	03-03-2022	81	GOOD
Romero Pl	SW dead end	Mediterranean Cir	701	20	14,020	RESIDENTIAL	ASPHALT	2	Major MR	04-19-2020	75	GOOD
Romine Ct	Padron Blvd	N dead end	387	20	7,740	RESIDENTIAL	ASPHALT	2	Global MR	12-05-2019	67	FAIR

Ronald St	Castle Avenue	Gondolier Road	1,389	20	27,780	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	74	GOOD
Ronda St	Everett Avenue	Dristol Avenue	455	20	9,100	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	81	GOOD
Roosevelt Ave	Stur St	Hviezoslav St	5,457	18	98,226	RESIDENTIAL	ASPHALT	2	Major MR	03-03-2020	50	FAIR
Roper Rd	Enterprise Dr	Boxwood St	2,010	20	40,207	OTHER	ASPHALT	2	Major MR	03-31-2021	79	GOOD
Roper Rd	Raley Road	Enterprise Dr	1,053	20	21,063	OTHER	ASPHALT	2	Major MR	03-31-2021	90	VERY GOOD
Roper Rd	Boxwood St	Azen Lp	1,071	18	19,282	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	88	VERY GOOD
Rosa St	Pallas Avenue	Miracle Drive	388	24	9,318	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	79	GOOD
Rose Arbor Dr	S dead end	Hermosa Blvd	1,268	20	25,360	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	72	GOOD
Rose St	Johnson St	Brennan St	645	20	12,900	RESIDENTIAL	ASPHALT	2	Major MR	03-26-2020	55	FAIR
Roseanna Dr	Cressida Cir	Minerva Pl	2,045	20	40,900	RESIDENTIAL	ASPHALT	2	Global MR	12-05-2019	63	FAIR
Rosedale Ave	County Line Rd	Alhambra Ct	1,251	20	25,019	RESIDENTIAL	ASPHALT	2	Major MR	02-25-2020	70	GOOD
Rosetti Ct	Overland Dr	E dead end	345	20	6,900	RESIDENTIAL	ASPHALT	2	Global MR	12-01-2019	65	FAIR
Rosewen St	Horse Lake Road	Bonnie Lake Road	569	16	9,110	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	59	FAIR
Rostock Rd	E of Leisure Ln	Cinnaman Ln	1,778	20	35,560	RESIDENTIAL	ASPHALT	2	Global MR	04-19-2020	50	FAIR
Rough Bark Way	Pantera Ln	N dead end	216	20	4,320	RESIDENTIAL	ASPHALT	2	Major MR	03-24-2020	74	GOOD
Round Lake Dr	Country Rd	Westview Ct	1,628	20	32,560	RESIDENTIAL	ASPHALT	2	Major MR	03-12-2020	60	FAIR
Round Table Rd	Merlin Cir	NE dead end	816	20	16,320	RESIDENTIAL	ASPHALT	2	Major MR	03-30-2020	42	POOR
Rousseau St	Umbrella Rock Dr	US 301	3,077	18	55,386	RESIDENTIAL	ASPHALT	1	Major MR	03-30-2020	52	FAIR
Rowan Rd	Powell Rd	N dead end	1,318	20	26,360	RESIDENTIAL	ASPHALT	2	Major MR	04-01-2020	72	GOOD
Roxboro St	County Line Rd	Clearwater Dr	820	20	16,391	RESIDENTIAL	ASPHALT	2	Major MR	12-11-2019	71	GOOD
Roxburgh Ct	Berwick Way	S of Abington Way	501	24	12,032	RESIDENTIAL	ASPHALT	2	Major MR	03-12-2020	49	POOR
Royal Dr	Ted Rd	Margueritte Rd	3,100	20	61,994	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	72	GOOD
Roycrest Ln	Baton Ave	Glenlock Lane	616	20	12,317	RESIDENTIAL	ASPHALT	2	Major MR	02-25-2020	68	GOOD
Rudi Loop	full circle	x's:Aldoro Ave twice	6,005	20	120,100	RESIDENTIAL	ASPHALT	2	Major MR	12-04-2019	73	GOOD
Rudolph Ct	S-N dead ends	x's: Huntington Woods Ave	734	20	14,680	RESIDENTIAL	ASPHALT	2	Global MR	12-05-2019	53	FAIR
Rugby Ct	W dead end	Preston Hollow Dr	377	20	7,540	RESIDENTIAL	ASPHALT	2	Global MR	12-05-2019	66	FAIR
Running Oak Ct	S of Dunkirk Rd	Stephanie Dr	3,066	24	73,632	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	62	FAIR
Rusk Cir	intersect with self	Eastpoint Ct	1,868	20	37,362	RESIDENTIAL	ASPHALT	2	Major MR	02-13-2022	72	GOOD
Rusk Cir	Cactus Cir	intersect with self	886	20	17,725	RESIDENTIAL	ASPHALT	2	Major MR	02-13-2022	74	GOOD
Ruskin Ave	County Line Rd	Cactus Cir	693	20	13,861	RESIDENTIAL	ASPHALT	2	Major MR	02-16-2022	89	VERY GOOD
Rusty Oak Dr	Forest Oaks Blvd	Wooden Dr	575	24	13,809	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	78	GOOD
Ruth St	510' W of Dan Lynn St	421 E of Dan Lynn St	1,007	16	16,112	RESIDENTIAL	ASPHALT	2	Global MR	03-26-2020	56	FAIR
Ryan St	Pinehurst Dr	Talbot Cir	612	24	14,688	RESIDENTIAL	ASPHALT	2	Global MR	12-09-2019	61	FAIR
Sable St	Montano Ave	NW of Everett Ave	612	20	12,240	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	87	VERY GOOD
Saddle Way	SW dead end, x's: Arena Entrance	Spur St	2,734	20	54,672	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	77	GOOD
Sagamore St	Palomar Street	Salerno Ave	1,832	20	36,640	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	61	FAIR
Saginaw St	Cortez Blvd (CR 550)	Schering St	1,166	20	23,320	RESIDENTIAL	ASPHALT	2	Global MR	03-10-2020	56	FAIR
Sailfish Ct	SW end loop	Patio Court	995	24	23,879	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	80	GOOD
Salem Ct	Logan St	N of Pilgram Rd	1,010	24	24,240	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	72	GOOD
Salerno Ave	Roman Street	Pickford Street	936	20	18,720	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	79	GOOD
Salina St	Hexam Road	Sorrel Street	3,323	20	66,460	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	82	VERY GOOD
Salome St	Hexam Road	Sorrel Street	3,321	20	66,420	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	82	VERY GOOD
Saltby Pl	Hartford Heights St	Finsbury Dr	1,080	20	21,600	RESIDENTIAL	ASPHALT	2	Major MR	12-08-2019	60	FAIR
Salters St	Palomar St	Salerno Avenue	1,527	20	30,540	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	75	GOOD
Salters St	Augustine Road	Palomar St	1,566	20	31,321	RESIDENTIAL	ASPHALT	2	Major MR	02-10-2022	92	EXCELLENT
Sam C Rd	Ft Dade Ave	NW dead end	4,777	20	95,540	RESIDENTIAL	ASPHALT	2	Major MR	04-19-2020	42	POOR
San Friscan Dr	Seville Clubhouse Rd	E of Mediterranean Circle	1,122	20	22,440	RESIDENTIAL	ASPHALT	2	Major MR	04-19-2020	75	GOOD
San Juan Dr	S dead end	Flamingo Blvd	304	20	6,080	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	84	VERY GOOD

San Ramon Ave	Highpoint Blvd	Western Circle Dr	528	20	10,560	RESIDENTIAL	ASPHALT	2	Major MR	03-08-2022	87	VERY GOOD
Sanborn St	Medrith Dr	Eldridge Rd	1,339	20	26,780	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	72	GOOD
Sand Hill Ave	Elwood Road	Quintilis Street	1,687	20	33,743	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	74	GOOD
Sand Lark Ave	Night Heron Road	Mount Sparrow Road	1,292	20	25,840	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	61	FAIR
Sand Pines Ct	SW dead end	Bearfoot Trl	289	19	5,491	RESIDENTIAL	ASPHALT	2	Major MR	04-01-2020	56	FAIR
Sandler St	Jason Road	Portillo Rd	1,071	20	21,420	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	75	GOOD
Sandpiper Ave	W of Night Heron Rd	Mount Sparrow Rd	1,594	20	31,880	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	79	GOOD
Sandra Dr	Suwannee Rd	Jomel Dr	3,480	20	69,600	RESIDENTIAL	ASPHALT	2	Major MR	03-10-2020	61	FAIR
Sands Ct	W dead end	Pinehurst Dr	255	20	5,106	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	87	VERY GOOD
Sandtrap Dr	Audie Brook Dr	Greenturf Rd	1,395	24	33,502	RESIDENTIAL	ASPHALT	2	Global MR	12-01-2019	66	FAIR
Sandy Dr	Sunshine Grove Rd	2640' E of Sunshine Grove Rd	2,658	19	50,502	RESIDENTIAL	ASPHALT	2	Major MR	03-30-2020	59	FAIR
Sanger Ave	Eldridge Rd	Vicksburg Rd	1,270	20	25,402	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	66	FAIR
Sanibel Dr	Flamingo Blvd	SE dead end	303	20	6,060	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	79	GOOD
Santee St	Mariner Blvd	Lawrence St	2,352	20	47,040	RESIDENTIAL	ASPHALT	2	Major MR	03-23-2020	56	FAIR
Santoro St	Noah Ave	Giles Ave	594	20	11,888	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	90	VERY GOOD
Sapphire Dr	Padron Blvd	Padron Blvd	1,718	20	34,360	RESIDENTIAL	ASPHALT	2	Global MR	12-05-2019	67	FAIR
Sara St	Little Tee Dr	Fiesta St	1,224	22	26,928	RESIDENTIAL	ASPHALT	2	Major MR	02-01-2022	93	EXCELLENT
Saratoga Dr	Burbank Dr	Candy Dr	1,095	20	21,901	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	64	FAIR
Sardinia Ave	Dorset Road	Freeport Drive	1,390	20	27,800	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	75	GOOD
Sardis St	S dead end	SR 50 A	520	18	9,364	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	62	FAIR
Satinleaf Run	W of Periwinkle Ct	Crested Orchid Dr (S)	1,967	22	43,274	RESIDENTIAL	ASPHALT	2	Major MR	03-30-2020	61	FAIR
Satinleaf Run	Wirevine Dr	W of Potentilla Ct	2,932	22	64,504	RESIDENTIAL	ASPHALT	2	Major MR	03-30-2020	62	FAIR
Satinleaf Run	W of Potentilla Ct	W of Periwinkle Ct	1,041	22	22,902	RESIDENTIAL	ASPHALT	2	Major MR	03-30-2020	75	GOOD
Saturn Rd	Endsley Rd	Powell Road	14,856	18	267,408	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	65	FAIR
Savoy Ct	SW dead end	Kelvin Ct	1,080	24	25,920	RESIDENTIAL	ASPHALT	2	Global MR	12-09-2019	64	FAIR
Sawyer Ave	Kingsdale St	Steward Ct	853	20	17,058	RESIDENTIAL	ASPHALT	2	Major MR	02-25-2020	74	GOOD
Scarlet Sage Dr	Hermosa Blvd	N dead end	582	22	12,804	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	83	VERY GOOD
Scenic Lake Dr	Wilderness Trl	NW cul-de-sac end	385	19	7,315	RESIDENTIAL	ASPHALT	2	Major MR	03-24-2020	52	FAIR
Schalekamp Dr	S of Lawrence Street	Tracy Street	2,764	20	55,280	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	69	GOOD
Schering St	Cortez Blvd (CR 550)	Darts St	2,425	20	48,500	RESIDENTIAL	ASPHALT	2	Global MR	03-10-2020	52	FAIR
School St	Sarah F Davis Dr	Dr M L King Jr Blvd	1,357	24	32,589	RESIDENTIAL	ASPHALT	2	Major MR	03-26-2020	45	POOR
Score St	Fairlane Ave	Highpoint Blvd	526	20	10,520	RESIDENTIAL	ASPHALT	2	Major MR	02-01-2022	91	VERY GOOD
Scotch Pine Ave	Pitcaim St	Greenwood St	866	22	19,052	RESIDENTIAL	ASPHALT	2	Global MR	03-24-2020	74	GOOD
Scottville St	Shafton Rd	E of Landover Blvd	1,449	20	28,980	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	79	GOOD
Sea Bass Dr	Jewfish Dr	Bluefish Dr	1,849	23	42,527	RESIDENTIAL	ASPHALT	2	Major MR	02-26-2020	76	GOOD
Sea Grape Dr	S dead end	Hermosa Blvd	1,229	18	22,122	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	68	GOOD
Sea Holly Dr	Trillium Blvd	Wake Robin Dr	202	20	4,040	RESIDENTIAL	ASPHALT	2	Major MR	03-03-2020	73	GOOD
Sea Holly Dr	Sea Holly Dr	Trillium Blvd	3,893	20	77,860	RESIDENTIAL	ASPHALT	2	Major MR	03-03-2020	76	GOOD
Seabreeze Ave	Westside Avenue	E dead end	565	18	10,170	RESIDENTIAL	ASPHALT	2	Major MR	04-01-2020	70	GOOD
Seagate St	Mariner Blvd	Landover Blvd	2,463	20	49,260	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	77	GOOD
Seahorse Ave	Lorraine Lane	Cortez Blvd (SR 50)	820	20	16,400	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	83	VERY GOOD
Sealawn Dr	Commercial Way (US 19)	Bartlett St	8,589	21	180,369	COLLECTOR	ASPHALT	2	Major MR	02-26-2020	62	FAIR
Sealawn Dr	Middlesex Dr	Commercial Way (US 19)	670	20	13,400	RESIDENTIAL	ASPHALT	2	Major MR	02-26-2020	77	GOOD
Seaview Dr	Sealawn Dr	Toucan Trail	1,662	18	29,915	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	52	FAIR
Sebastian Dr	Lawrence Street	N of Mauna Loa Court	1,011	20	20,220	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	74	GOOD
Sebring St	West Richard Dr	E dead end	1,018	18	18,324	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	68	GOOD
Second Loop Ave	First Loop Ave	First Loop Ave	865	20	17,300	RESIDENTIAL	ASPHALT	2	Major MR	02-01-2022	54	FAIR
Sedate St	Sorrel St	Bailey Hill Rd	664	20	13,271	COLLECTOR	OTHER	2	Global MR	04-01-2020	60	FAIR

Sedate St	N Lime Rock	W Lime Rock	179	20	3,583	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	68	GOOD
Sedate St	Tranquility Ln	Sorrel St	671	20	13,425	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	90	VERY GOOD
Sedgefield Ave	Montcalm Road	Elwood Road	2,777	20	55,540	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	65	FAIR
Segovia St	Dothan Avenue	E of Dow Lane	1,155	20	23,100	RESIDENTIAL	ASPHALT	2	Major MR	12-04-2019	72	GOOD
Seidel St	Ogburn Street	Cortez Blvd	1,355	20	27,107	RESIDENTIAL	ASPHALT	2	Major MR	02-23-2022	80	GOOD
Seminole Blvd	Osage Street	Hiawatha Blvd	4,678	20	93,551	COLLECTOR	ASPHALT	2	Major MR	03-31-2021	72	GOOD
Sentinel St	W of Panola Ave	Hernando Avenue	1,827	18	32,888	RESIDENTIAL	ASPHALT	2	Major MR	02-17-2022	65	FAIR
Service Rd 5010 (High St)	Alley 5020	148' E of Alley 5020	148	21	3,108	INDUSTRIAL	ASPHALT	2	Major MR	03-24-2020	55	FAIR
Service Rd 5010 (High St)	Highpoint Blvd	Alley 5020	981	23	22,563	INDUSTRIAL	ASPHALT	2	Major MR	03-24-2020	57	FAIR
Service Rd 5040	292' W of Coastal Blvd	241' E of Coastal Blvd	683	24	16,392	INDUSTRIAL	ASPHALT	2	Major MR	03-23-2020	74	GOOD
Service Rd 5515	dead end near Walmart driveway	N 603'	603	24	14,472	INDUSTRIAL	ASPHALT	2	Global MR	02-26-2020	50	FAIR
Service Rd 5530	176' S of Hiawatha Pkwy	Hiawatha Pkwy	936	21	19,656	INDUSTRIAL	ASPHALT	2	Major MR	03-31-2021	87	VERY GOOD
Service Rd 5530	drive to Watertower	482' S of Hiawatha Pkwy	451	21	9,471	INDUSTRIAL	ASPHALT	2	Major MR	03-31-2021	87	VERY GOOD
Service Rd 5540	1112' S of Forest Oaks Blvd	Forest Oaks Blvd	1,112	21	23,352	INDUSTRIAL	ASPHALT	2	Global MR	03-31-2021	55	FAIR
Service Rd 5540	Greenleaf Ln	388' N of Greenleaf Ln	357	20	7,140	INDUSTRIAL	ASPHALT	2	Major MR	03-31-2021	76	GOOD
Service Rd 5550 (Amaugh Ave)	Forest Oaks Blvd	Francis Ave	1,073	20	21,460	INDUSTRIAL	ASPHALT	2	Global MR	03-31-2021	73	GOOD
Service Rd 5560	Rhanbouy Rd	Berkeley Manor Blvd	1,610	20	32,200	INDUSTRIAL	ASPHALT	2	Global MR	03-31-2021	66	FAIR
Service Rd 5562	Berkeley Manor Boulevard	N dead end	1,665	28	46,620	INDUSTRIAL	ASPHALT	2	Major MR	03-31-2021	87	VERY GOOD
Service Rd 5571 (Exultant Dr)	Lake in The Woods Dr	N of Bridgewater Club Loop	2,053	32	65,696	INDUSTRIAL	ASPHALT	2	Major MR	03-10-2020	56	FAIR
Service Rd 5571 (Exultant Dr)	S of Breakwater Blvd	near Home Depot, Perkins	1,900	24	45,600	INDUSTRIAL	ASPHALT	2	Global MR	03-10-2020	59	FAIR
Service Rd 5571 (Exultant Dr)	Home Depot	Pacific Avenue	1,224	24	29,376	INDUSTRIAL	ASPHALT	2	Major MR	03-10-2020	60	FAIR
Service Rd 5581 (Beryl Rd)	SW-NE dead ends	x's: River Country Dr	2,221	20	44,420	INDUSTRIAL	ASPHALT	2	Major MR	03-10-2020	63	FAIR
Sesame Ct	Bayside Court	E end cul-de-sac	601	20	12,020	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	70	GOOD
Seven Hills Dr	County Line Rd	Quality Dr	890	20	17,800	OTHER	ASPHALT	2	Major MR	12-05-2019	72	GOOD
Seven Oaks Ct	Buena Vista	E dead end	355	20	7,107	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	83	VERY GOOD
Sevenleaf Dr	Archway Dr	Locker Dr	632	20	12,640	RESIDENTIAL	ASPHALT	2	Global MR	12-01-2019	72	GOOD
Seville Clubhouse Dr	Seville Parkway	NE of Cantabria Dr	2,828	22	62,216	RESIDENTIAL	ASPHALT	2	Major MR	04-19-2020	75	GOOD
Seville Parkway	Commercial Way (US 19)	End of 4-In Section	2,785	44	122,540	RESIDENTIAL	ASPHALT	4	Major MR	04-19-2020	75	GOOD
Seville Parkway	4-Ln Section	Seville Clubhouse Rd	5,184	22	114,048	RESIDENTIAL	ASPHALT	2	Major MR	04-19-2020	75	GOOD
Sewell Ln	Deltona Blvd	Patio Court	1,387	24	33,290	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	73	GOOD
Sewickley St	225' W of Gemin Ave	Lingle Rd (CR439)	597	16	9,552	RESIDENTIAL	ASPHALT	2	Major MR	02-17-2022	74	GOOD
Seybold Dr	Landover Blvd	N of Landover Blvd	1,771	20	35,420	RESIDENTIAL	ASPHALT	2	Major MR	03-23-2020	60	FAIR
Shady Rest Ct	S dead end	US 41	1,031	20	20,627	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	86	VERY GOOD
Shady Side Dr	Morningside Dr	Cobb Rd	1,343	18	24,174	RESIDENTIAL	ASPHALT	2	Major MR	04-20-2020	71	GOOD
Shadydale Ave	Pendleton Street	Delbarton Street	628	20	12,560	RESIDENTIAL	ASPHALT	2	Major MR	03-23-2020	55	FAIR
Shadywood Ln	Pine Ridge Ln	Park Ridge Dr	493	20	9,860	RESIDENTIAL	ASPHALT	2	Major MR	03-30-2020	64	FAIR
Shafton Rd	Mariner Blvd	Oneida Street	1,809	20	36,180	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	73	GOOD
Shafton Rd	Belspring Avenue	Mariner Blvd	2,906	20	58,120	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	76	GOOD
Shalimar Ave	Lorraine Lane	Brentlawn Street	1,054	20	21,080	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	78	GOOD
Shalom Dr	Berkely Manor Blvd	Berkely Manor Blvd	1,660	24	39,866	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	70	GOOD
Shannon Ave	Elgin Blvd	Freeport Drive	1,080	20	21,600	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	77	GOOD
Sharkey Ct	Overland Dr	E dead end	352	20	7,040	RESIDENTIAL	ASPHALT	2	Global MR	12-01-2019	71	GOOD
Sharon Ct	Idle-A-While Circle	Lewis Lane	2,402	20	48,034	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	77	GOOD
Shasta St	North Canal St	Faculty St	6,549	20	130,980	RESIDENTIAL	ASPHALT	2	Major MR	02-17-2022	92	EXCELLENT
Sheephead Dr	W dead End	Sea Bass Dr	2,041	22	44,902	RESIDENTIAL	ASPHALT	2	Major MR	02-26-2020	76	GOOD
Sheffield Rd	Gifford Dr	Topaz St	8,451	20	169,020	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	60	FAIR
Shelby Ave	County Line Rd	Pebble St	703	20	14,053	RESIDENTIAL	ASPHALT	2	Major MR	02-25-2020	70	GOOD
Shenandoah Ln	Gates Circle	Gates Circle	1,141	20	22,829	RESIDENTIAL	ASPHALT	2	Major MR	12-09-2019	74	GOOD

Shepherd Ave	Cavalier Ave	Kimberly Ave	1,099	20	21,984	RESIDENTIAL	ASPHALT	2	Major MR	12-11-2019	71	GOOD
Sherman Hills Blvd	Eagle Falls Dr	Satinleaf Run	2,496	20	49,915	COLLECTOR	ASPHALT	2	Major MR	03-30-2020	60	FAIR
Sherman Hills Blvd	Barcelona Blvd	Eagle Falls Dr	1,207	20	24,143	COLLECTOR	ASPHALT	2	Major MR	03-03-2022	73	GOOD
Sherman Hills Blvd	575' N of Cortez Blvd (SR 50)	Barcelona Blvd	1,416	28	39,654	COLLECTOR	ASPHALT	2	Major MR	03-31-2021	75	GOOD
Sherman Hills Blvd	Cortez Blvd (SR 50)	575' N of Cortez Blvd (SR 50)	578	48	27,749	COLLECTOR	ASPHALT	4	Major MR	03-31-2021	76	GOOD
Shine Ln	Osoyaw	N turn to W	223	14	3,122	RESIDENTIAL	ASPHALT	2	Major MR	02-16-2022	96	EXCELLENT
Shingler Ave	Langan St	Dorset Rd	971	20	19,420	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	79	GOOD
Shiprock Ave	Langan St	India Dr	753	20	15,060	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	75	GOOD
Shoal Line Blvd (CR597)	Jewfish Dr	Calienta St	8,514	22	187,308	COLLECTOR	ASPHALT	2	Major MR	02-26-2020	69	GOOD
Shoal Line Blvd (CR597)	Osoyaw Blvd	Jewfish Dr	6,821	32	218,272	COLLECTOR	ASPHALT	2	Major MR	03-31-2021	77	GOOD
Shoal Line Blvd (CR597)	Jenkins Creek Bridge	Cortez Blvd (CR550)	11,511	22	253,244	COLLECTOR	ASPHALT	2	Major MR	03-31-2021	83	VERY GOOD
Shoal Line Blvd (CR597)	Calienta St	Jenkins Creek Bridge	11,886	22	261,484	COLLECTOR	ASPHALT	2	Major MR	03-31-2021	84	VERY GOOD
Shorecrest Ct	W of Holt Lane	E of Waterfall Drive	1,714	20	34,286	RESIDENTIAL	ASPHALT	2	Major MR	02-25-2020	76	GOOD
Shorewood Dr	Westlake Boulevard	Westlake Boulevard	1,632	20	32,640	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	67	FAIR
Short Ct	Ciro Ave	E dead end	270	20	5,400	RESIDENTIAL	ASPHALT	2	Major MR	12-08-2019	70	GOOD
Shortleaf Ct	Whisper Ridge Trail	N cul-de-sac end	621	19	11,799	RESIDENTIAL	ASPHALT	2	Major MR	03-24-2020	71	GOOD
Shoup St	Bayridge Ct	Bluewater Ave	310	20	6,193	RESIDENTIAL	ASPHALT	2	Major MR	02-06-2022	78	GOOD
Shumaker Ct	Ciro Ave	E dead end	389	20	7,780	RESIDENTIAL	ASPHALT	2	Major MR	12-08-2019	65	FAIR
Siam Dr	Shafton Rd	Lawrence St	2,646	20	52,920	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	75	GOOD
Sieglinde Ave	Rudi Loop	N dead end	255	20	5,107	RESIDENTIAL	ASPHALT	2	Major MR	02-10-2020	80	GOOD
Siena Ave	Seybold Dr	Landover Blvd	569	20	11,380	RESIDENTIAL	ASPHALT	2	Major MR	03-23-2020	69	GOOD
Sierra Nevada Dr	Appalachian Dr	Mountainview Blvd	587	20	11,736	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	76	GOOD
Sierra Pl	SW dead end	Mediterranean Circle	326	20	6,520	RESIDENTIAL	ASPHALT	2	Major MR	04-20-2020	76	GOOD
Sigmund St	Coronado Dr	Drysdale St	321	20	6,417	RESIDENTIAL	ASPHALT	2	Major MR	04-12-2021	51	FAIR
Sigmund St	258' W of Rudi Lp	Rudi Loop	258	20	5,160	RESIDENTIAL	ASPHALT	2	Major MR	12-04-2019	63	FAIR
Sigmund St	Drysdale St	258' W of Rudi Lp	2,333	20	46,660	RESIDENTIAL	ASPHALT	2	Major MR	12-04-2019	73	GOOD
Silas Ct	Cul-de-Sac SW of Roseanna Dr	Unity Street	2,328	20	46,560	RESIDENTIAL	ASPHALT	2	Global MR	12-08-2019	67	FAIR
Silhouette Ct	Aloe Dr	N dead end	518	20	10,360	RESIDENTIAL	ASPHALT	2	Global MR	03-10-2020	55	FAIR
Silverdale Ave	Roble Avenue	N of Katherwood Street	1,542	20	30,840	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	72	GOOD
Silverwood Ct	W & E dead ends	x's: Augustine Road	987	20	19,741	RESIDENTIAL	ASPHALT	2	Major MR	02-10-2022	81	GOOD
Simmons St	Jernigan St	Wilhelm Rd	2,623	20	52,460	RESIDENTIAL	ASPHALT	2	Major MR	03-23-2020	52	FAIR
Simona Ave	Dakota Drive	Cammie Street	1,496	18	26,928	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	85	VERY GOOD
Sioux Ct	S dead end	Applegate Dr	337	20	6,740	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	80	GOOD
Sky Ct	Pinehurst Dr	NW dead end	552	20	11,040	RESIDENTIAL	ASPHALT	2	Major MR	12-08-2019	74	GOOD
Skyland St	E of Freeport Drive	W of Nardello Avenue	774	20	15,480	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	66	FAIR
Skylark Dr	NE of Lagoon Road	SW of Pinehurst Dr	3,069	20	61,388	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	77	GOOD
Skyler Ln	Grayton Dr	Lema Dr	638	20	12,764	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	52	FAIR
Skyline Ct	NW of Tipton Lane	Spring Hill Dr	3,011	24	72,264	RESIDENTIAL	ASPHALT	2	Global MR	12-09-2019	67	FAIR
Skyview Cir	circles to self	Batten Road	10,256	24	246,299	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	50	FAIR
Slater Rd	Loretto St	Swanson Court	1,936	20	38,720	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	82	VERY GOOD
Sleepy Hollow	Albany Rd	N dead end	390	21	8,190	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2020	50	FAIR
Sleepy Willow Ct	W dead end, x's: Stephanie	Dunkirk	2,271	24	54,540	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	77	GOOD
Smallman St	Norman St	Southeast Ave	1,319	20	26,380	RESIDENTIAL	ASPHALT	2	Major MR	02-17-2022	92	EXCELLENT
Smithfield Ave	265' W of Barclay Ave	Barclay Ave	265	24	6,360	RESIDENTIAL	ASPHALT	2	Major MR	03-23-2020	46	POOR
Smooth Bank Ct	Woodland Waters Blvd	SE cul-de-sac end	460	20	9,200	RESIDENTIAL	ASPHALT	2	Major MR	03-24-2020	69	GOOD
Snail Rd	Wiscon Rd	405' N of Wiscon Rd	405	15	6,075	RESIDENTIAL	ASPHALT	1	Major MR	02-17-2022	4	FAILED
Show Dr	Domingo Dr	E of Kimbrough Dr	631	20	12,614	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	79	GOOD
Snow Hill Rd	Jones Road	Snow Memorial Hwy (CR481)	9,933	18	178,793	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	70	GOOD

Snow Memorial Hwy (CR481)	381' N Lake Lindsey Rd (W)	Citrus County Line	10,881	22	239,376	ARTERIAL	ASPHALT	2	Major MR	03-31-2021	83	VERY GOOD
Snow Memorial Hwy (CR481)	Broad St (US 41)	18' N of La Crosse St	9,117	22	200,570	ARTERIAL	ASPHALT	2	Major MR	03-31-2021	85	VERY GOOD
Snow Memorial Hwy (CR481)	18' N of La Crosse St	381' N of Lake Lindsey Rd (W)	689	22	15,158	ARTERIAL	ASPHALT	2	Major MR	03-31-2021	87	VERY GOOD
Snowberry Loop	Sherman Hills Blvd	Sherman Hills Blvd	650	22	14,300	RESIDENTIAL	ASPHALT	2	Major MR	03-30-2020	47	POOR
Snowden St	Clewiston Street	Pintado Ave	614	20	12,280	RESIDENTIAL	ASPHALT	2	Major MR	12-04-2019	67	FAIR
Somerset Ave	Twin Lake Avenue	Angler Street	714	20	14,285	RESIDENTIAL	ASPHALT	2	Major MR	02-10-2022	74	GOOD
Songbird Ct	S cul-de-sac end	Woodland Waters Blvd	590	20	11,800	RESIDENTIAL	ASPHALT	2	Major MR	03-24-2020	68	GOOD
Sonnet Ave	Fish Cove Drive	Drayton Drive	937	20	18,740	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	67	FAIR
Sonora Dr	Burbank Dr	Candy Dr	1,096	20	21,926	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	54	FAIR
Sorrel St	Sunshine Grove Rd (CR 493)	Sedate St	3,986	20	79,726	COLLECTOR	OTHER	2	Global MR	04-01-2020	59	FAIR
Soult Rd	Mondon Hill Rd	NE dead end	7,818	18	140,717	COLLECTOR	ASPHALT	2	Major MR	03-31-2021	48	POOR
Soult Rd	Mondon Hill Rd	E-W portion Soult Rd	543	18	9,773	COLLECTOR	ASPHALT	2	Major MR	03-31-2021	75	GOOD
Southeast Ave	Smallman St	Cockleberry Dr	567	20	11,340	RESIDENTIAL	ASPHALT	2	Major MR	02-17-2022	91	VERY GOOD
Southern Breeze Ct	Whisper Ridge Trail	N cul-de-sac end	769	19	14,611	RESIDENTIAL	ASPHALT	2	Major MR	03-24-2020	75	GOOD
Southview Ct	Country Road	Lakefront Road	505	20	10,100	RESIDENTIAL	ASPHALT	2	Major MR	03-12-2020	73	GOOD
Southwest Blvd	Welsh Dr	1,556	20	31,114	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	69	GOOD	
Spalding St	W of Night Heron Road	Mount Sparrow Road	1,579	20	31,580	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	79	GOOD
Spangler Ave	Broad St (US 41)	Deepwood St	805	20	16,100	RESIDENTIAL	ASPHALT	2	Major MR	03-03-2020	41	POOR
Spanish Bayonet Dr	S dead end	Hermosa Blvd	837	22	18,414	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	57	FAIR
Spanish Oak Dr	Bumside Parkway	E of Hoffman Avenue	2,601	24	62,465	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	62	FAIR
Sparkleberry Ct	Hoover Street	NE dead end	312	20	6,240	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	90	VERY GOOD
Spencer Ct	Tanner Road	NE of Wendal Street	821	20	16,420	RESIDENTIAL	ASPHALT	2	Major MR	04-13-2021	72	GOOD
Spinning Wheel Ln	Clear Spring Rd	E dead end	852	20	17,039	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	70	GOOD
Spoonbill Rd	Nittany Rd	Madrid Rd	960	20	19,200	RESIDENTIAL	ASPHALT	2	Major MR	02-01-2022	94	EXCELLENT
Spoonflower Way	Sherman Hills Blvd	Crested Orchid Dr	640	22	14,080	RESIDENTIAL	ASPHALT	2	Major MR	03-30-2020	61	FAIR
Spreading Oak Dr	Lema Drive	Fish Cove Drive	1,615	20	32,300	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	77	GOOD
Spring Hill Dr (CR574)	255' W of Spring Park Way	California St (CR583)	5,531	56	309,753	PRINCIPAL	ASPHALT	4	Major MR	03-03-2020	56	FAIR
Spring Hill Dr (CR574)	California St	Broad St (US41)	8,382	52	435,889	PRINCIPAL	ASPHALT	4	Major MR	03-31-2021	66	FAIR
Spring Hill Dr (CR574)	Pinehurst Dr (E)	Deltona Blvd	3,467	56	194,148	PRINCIPAL	ASPHALT	4	Major MR	03-31-2021	72	GOOD
Spring Hill Dr (CR574)	Mariner Blvd	Finland Dr	2,751	56	154,055	PRINCIPAL	ASPHALT	5	Major MR	03-31-2021	72	GOOD
Spring Hill Dr (CR574)	Deltona Blvd	Mariner Blvd	16,033	56	897,852	PRINCIPAL	ASPHALT	5	Major MR	03-11-2020	72	GOOD
Spring Hill Dr (CR574)	Finland Dr	270' W of St Ives Blvd	14,993	56	839,608	PRINCIPAL	ASPHALT	5	Major MR	03-31-2021	72	GOOD
Spring Hill Dr (CR574)	Commercial Way (US 19)	Pinehurst Dr (E)	10,159	50	507,953	PRINCIPAL	ASPHALT	4	Global MR	03-31-2021	73	GOOD
Spring Hill Dr (CR574)	328' W of Suncoast Pkwy	255' W of Spring Park Way	1,567	44	68,948	PRINCIPAL	ASPHALT	4	Major MR	03-31-2021	74	GOOD
Spring Hill Dr (CR574)	270' W of St Ives Blvd	328' W of Suncoast Pkwy	2,858	44	125,752	PRINCIPAL	ASPHALT	4	Major MR	03-08-2022	94	EXCELLENT
Spring Lake Hwy (CR541)	Pasco County Line	1100' S of Church Rd	5,551	24	133,214	COLLECTOR	ASPHALT	2	Major MR	03-31-2021	68	GOOD
Spring Lake Hwy (CR541)	875' S of Hayman Rd	600' S of Mountainview Blvd	6,149	24	147,579	COLLECTOR	ASPHALT	2	Major MR	03-31-2021	71	GOOD
Spring Lake Hwy (CR541)	1100' S of Church Rd	875' S of Hayman Rd	7,033	24	168,789	COLLECTOR	ASPHALT	2	Major MR	03-09-2020	73	GOOD
Spring Lake Hwy (CR541)	600' S of Mountainview Blvd	Cortez Blvd (SR 50)	13,563	24	325,518	COLLECTOR	ASPHALT	2	Major MR	03-31-2021	74	GOOD
Spring Park Way	Spring Hill Dr	Powell Rd	3,766	24	90,447	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	57	FAIR
Spring Time St	County Line Rd	1385' N of County Line Rd	1,385	20	27,700	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	74	GOOD
Springwood Rd	Mariner Blvd	Chamber Court	4,592	20	91,840	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	77	GOOD
Spruce Dr	SW dead end	Cortez Boulevard (CR550)	699	17	11,883	RESIDENTIAL	ASPHALT	2	Global MR	03-10-2020	48	POOR
Spur St	Saddle Way	E dead end	304	20	6,072	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	81	GOOD
Squirrel Prairie Rd	W of Husek Street	Benes Road	1,353	18	24,354	RESIDENTIAL	ASPHALT	2	Major MR	03-03-2020	55	FAIR
St Andrews Blvd	Nakoma Way	US 19	4,576	38	173,888	RESIDENTIAL	ASPHALT	2	Major MR	03-12-2020	56	FAIR
St Francis St	38' S of Dr. M.L. King Jr Blvd	Dr. M.L. King Jr Blvd	38	19	722	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	73	GOOD
St Francis St	Access Rd	38' S of Dr. M.L. King Jr Blvd	1,317	19	25,023	RESIDENTIAL	ASPHALT	2	Major MR	03-26-2020	75	GOOD

St Ives Blvd	Spring Hill Dr	Minnie Dr	1,658	30	49,740	OTHER	ASPHALT	2	Global MR	12-04-2019	43	POOR
Stacy St	Stanton Avenue	Hoban Avenue	922	20	18,440	RESIDENTIAL	ASPHALT	2	Major MR	12-04-2019	70	GOOD
Staghorn Dr	Cul-de-sac W of Panther Dr	Cone Shell Dr	1,367	20	27,340	RESIDENTIAL	ASPHALT	2	Global MR	03-10-2020	59	FAIR
Stallings Ave	Corinthian St	Trumbull Dr	1,021	20	20,410	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	87	VERY GOOD
Standish St	Cortez Boulevard (CR550)	Magee Street	1,196	20	23,920	RESIDENTIAL	ASPHALT	2	Global MR	03-10-2020	48	POOR
Stanford Ave	W dead end	Knights Bridge Road	448	20	8,960	RESIDENTIAL	ASPHALT	2	Global MR	12-05-2019	66	FAIR
Stanton Ave	Bonkirk Ave	Linden Dr	1,837	20	36,740	RESIDENTIAL	ASPHALT	2	Major MR	12-04-2019	70	GOOD
Star Rd	Weeping Willow	Sunshine Grove	5,313	20	106,260	RESIDENTIAL	OTHER	2	Global MR	03-30-2020	69	GOOD
Starling St	W of Jessica Dr	Firwood Ave	664	20	13,280	RESIDENTIAL	ASPHALT	2	Major MR	12-08-2019	69	GOOD
Staten Ave	Trinidad Ave	Corinthian St	1,391	20	27,829	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	79	GOOD
Statter Ave	Redgate St	Riddle Dr	1,578	20	31,560	RESIDENTIAL	ASPHALT	2	Major MR	12-04-2019	67	FAIR
Stefanik St	Lincoln Avenue	Broad Street	1,533	16	24,528	RESIDENTIAL	ASPHALT	2	Major MR	03-03-2020	59	FAIR
Stephanie Dr	S of Sleepy Willow Court	N of Running Oak Court	1,952	24	46,879	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	78	GOOD
Stephens Blvd	Sealawn Dr	Toucan Trail	1,651	20	33,011	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	71	GOOD
Sterling Hill Blvd	700' W of Elgin Blvd	Elgin Blvd	715	48	34,297	COLLECTOR	ASPHALT	4	Major MR	03-31-2021	76	GOOD
Sterling Hill Blvd	450' NE of Arborglades Dr	Elgin Blvd	1,276	48	61,250	COLLECTOR	ASPHALT	4	Major MR	03-31-2021	77	GOOD
Sterling Hill Blvd	Elgin Blvd	245' NW of Brightstone Pl	1,280	48	61,459	COLLECTOR	ASPHALT	4	Major MR	03-31-2021	78	GOOD
Sterling Hill Blvd	985' S of Haverhill Dr	Haverhill Dr	1,058	30	31,735	COLLECTOR	ASPHALT	2	Major MR	03-31-2021	79	GOOD
Sterling Hill Blvd	S dead end	985' S of Haverhill Dr	1,455	30	43,639	COLLECTOR	ASPHALT	2	Major MR	03-31-2021	82	VERY GOOD
Sterling Hill Blvd	Haverhill Drive	700' W of Elgin Blvd	2,329	30	69,872	COLLECTOR	ASPHALT	2	Major MR	03-31-2021	83	VERY GOOD
Sterling Hill Blvd	245' NW of Brightstone Pl	450' NE of Arborglades Dr	2,188	30	65,632	COLLECTOR	ASPHALT	2	Major MR	03-31-2021	90	VERY GOOD
Steuben St	Cortez Boulevard (CR550)	Magee Street	1,331	20	26,620	RESIDENTIAL	ASPHALT	2	Global MR	03-10-2020	46	POOR
Steves Ct	Whitewood Ave	Gold Rd	507	20	10,135	RESIDENTIAL	ASPHALT	2	Major MR	02-10-2022	71	GOOD
Stevie Marie Ct	W cul-de-sac end	Sigmund St	410	20	8,200	RESIDENTIAL	ASPHALT	2	Major MR	12-04-2019	77	GOOD
Steward Ct	W of Sawyer Ave	Oak Lake Drive	1,149	20	22,987	RESIDENTIAL	ASPHALT	2	Major MR	02-25-2020	74	GOOD
Stillwater Ave	Catalina Street	Fairlawn Street	1,744	20	34,880	RESIDENTIAL	ASPHALT	2	Global MR	12-11-2019	71	GOOD
Stockholm St	Eagle Dr	Fairway Ave	2,432	20	48,640	RESIDENTIAL	ASPHALT	2	Major MR	02-01-2022	89	VERY GOOD
Stone Hedge St	Sealawn Dr	Southwest Blvd	910	18	16,384	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	59	FAIR
Stoneville Ct	Spring Hill Dr	NW of Claremont Lane	1,940	20	38,800	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	79	GOOD
Stoney Brook Dr	Sherman Hills Blvd	Lancewood Dr	1,145	20	22,900	RESIDENTIAL	ASPHALT	2	Major MR	03-30-2020	57	FAIR
Stratford Ct	Spanish Oak Dr	N end cul-de-sac	498	24	11,960	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	72	GOOD
Stratton Ave	Monterey St	Cooper Rd	1,120	20	22,400	RESIDENTIAL	ASPHALT	2	Major MR	12-08-2019	72	GOOD
Strauss St	Sealawn Dr	Southwest Blvd	602	18	10,827	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	60	FAIR
Stringer Rd	S of Peterson Road	Hannibal Lane	1,889	20	37,780	RESIDENTIAL	ASPHALT	2	Major MR	03-30-2020	57	FAIR
Stringer Rd	Hannibal Lane	N of Gamble Dr	2,003	18	36,054	RESIDENTIAL	ASPHALT	2	Major MR	03-30-2020	74	GOOD
Stromberg Ave	Broad St (US 41)	370' E of Deepwood St	1,338	16	21,408	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	42	POOR
Stur St	Kostka Dr	Broad Street	2,888	17	49,096	RESIDENTIAL	ASPHALT	2	Major MR	03-03-2020	52	FAIR
Sudbrook Ln	Hunters Pointe St	Weatherstone Dr	940	20	18,800	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	64	FAIR
Suellen Dr	Weeks Drive	E dead end	166	24	3,980	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	66	FAIR
Sugarfoot Dr	Hiawatha Pkwy	Blackhawk Trail	2,680	20	53,600	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	73	GOOD
Sullivan St	Alster Ave	180' E of Godfrey Ave	883	20	17,660	RESIDENTIAL	ASPHALT	2	Major MR	12-08-2019	69	GOOD
Summerfield Ave	Pirate Lane	Fish Cove Drive	1,046	20	20,920	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	74	GOOD
Sumter Dr	Goucher Ave	Faber Drive	1,943	18	34,972	RESIDENTIAL	ASPHALT	2	Major MR	02-23-2022	92	EXCELLENT
Sun Hill Ln	S dead end	Holden Dr	394	16	6,304	RESIDENTIAL	ASPHALT	2	Major MR	05-31-2020	90	VERY GOOD
Sun Hill Ln	Holden Dr	Audubon Dr	778	18	14,004	RESIDENTIAL	ASPHALT	2	Major MR	05-31-2020	90	VERY GOOD
Sun Rd	W dead end	Sunshine Grove Road	5,316	20	106,320	RESIDENTIAL	ASPHALT	2	Major MR	03-30-2020	57	FAIR
Sunbird Ln	Pinehurst Dr	Cranbrook Court	694	20	13,880	RESIDENTIAL	ASPHALT	2	Global MR	12-11-2019	57	FAIR
Sunburst Ct	E of Ginnie Court	Merrifield Court	1,893	20	37,860	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	76	GOOD

Suncoast Blvd	County Line Rd	1233' S of Orchard Way	2,901	20	58,020	RESIDENTIAL	ASPHALT	2	Major MR	04-01-2020	72	GOOD
Suncrest Dr	W dead end, x's: Dan Lynn	East Avenue	1,566	16	25,056	RESIDENTIAL	ASPHALT	2	Global MR	03-26-2020	49	POOR
Sunday Rd	Freeport Drive	Freeport Drive	3,582	20	71,640	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	72	GOOD
Sunfish Cir	Tropical Drive	N dead end	544	15	8,160	RESIDENTIAL	ASPHALT	2	Major MR	03-10-2020	66	FAIR
Sunflower Dr	Wooden Dr	Pagoda Dr	1,644	24	39,482	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	66	FAIR
Sunny Brook Trl	Copeland Way	Woodcrest Rd	1,310	20	26,206	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	63	FAIR
Sunnyside Dr	Pinewood Dairy Road	N dead end, x's: Edwards Ave	1,136	15	17,040	RESIDENTIAL	ASPHALT	2	Major MR	03-09-2020	57	FAIR
Sunridge Dr	Emerald Drive	Tree Lane	2,905	16	46,480	RESIDENTIAL	ASPHALT	2	Major MR	03-01-2020	59	FAIR
Sunrise Ct	Dunkirk	N dead end	566	24	13,593	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	78	GOOD
Sunset Vista Dr	W dead end	1678' W of Osowaw Blvd	198	15	2,970	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	41	POOR
Sunset Vista Dr	1678' W of Osowaw Blvd	Osowaw Blvd	1,678	15	25,170	RESIDENTIAL	ASPHALT	2	Major MR	02-26-2020	61	FAIR
Sunset Woods Dr	Forrest Wood Court	E dead end	192	20	3,840	RESIDENTIAL	ASPHALT	2	Global MR	12-05-2019	66	FAIR
Sunshine Grove Rd (CR493)	Hexam Rd	Centralia Road (CR476)	11,505	22	253,106	ARTERIAL	ASPHALT	2	Major MR	03-31-2021	59	FAIR
Sunshine Grove Rd (CR493)	1220' N of Sun Rd	Hexam Rd	6,099	22	134,178	ARTERIAL	ASPHALT	2	Major MR	03-31-2021	72	GOOD
Sunshine Grove Rd (CR493)	SR 50	1220' N of Sun Rd	12,428	48	596,544	ARTERIAL	ASPHALT	4	Major MR	03-23-2020	76	GOOD
Sunside Cir	Deltona Blvd	Deltona Blvd	1,328	20	26,560	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	85	VERY GOOD
Susan Dr	Sealawn Dr	Toucan Trail	1,657	20	33,138	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	72	GOOD
Susquehanna Trl	Ramona Dr	Tomahawk Ave	1,129	18	20,322	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	63	FAIR
Sussex St	Linden Dr	Gillian Dr	437	20	8,740	RESIDENTIAL	ASPHALT	2	Global MR	12-08-2019	53	FAIR
Sutton Pl	cul-de-sac S of Angora St	cul-de-sac N of Lorendale Cir	1,074	20	21,480	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	64	FAIR
Suwannee Rd	SE of Patricia Place	River Country Dr	3,513	20	70,260	RESIDENTIAL	ASPHALT	2	Major MR	03-10-2020	57	FAIR
Suzanne Dr	SW of Caribbean Dr	US 19	3,833	24	91,992	INDUSTRIAL	ASPHALT	2	Major MR	02-26-2020	72	GOOD
Swallow Ln	Pinehurst Dr	Catalina St	1,116	20	22,320	RESIDENTIAL	ASPHALT	2	Global MR	12-11-2019	66	FAIR
Swallow Ln	SW of Eastbrook Dr	Pinehurst Dr	1,582	20	31,640	RESIDENTIAL	ASPHALT	2	Major MR	12-11-2019	69	GOOD
Swan Ln	Freeport Drive	Melshire Avenue	820	20	16,400	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	72	GOOD
Swanson Ct	Slater Road	N of Slater Road	2,265	20	45,300	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	81	GOOD
Sweet Ally Ct	S cul-de-sac end	Jacaranda Cir	275	20	5,500	RESIDENTIAL	ASPHALT	2	Global MR	04-01-2020	59	FAIR
Sweetbay Ct	Lake In The Woods Dr	N end cul-de-sac	495	20	9,900	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	80	GOOD
Swiss Rd	Maldiva Ave	Mentmore Ave	5,190	20	103,800	RESIDENTIAL	ASPHALT	2	Major MR	03-10-2020	52	FAIR
Switch Back Rd	Nodoc Rd	E of Cartwright Rd	2,889	20	57,774	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	67	FAIR
Sword Lily Pl	Alpine Thistle Dr	Alpine Thistle Dr	495	20	9,900	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	83	VERY GOOD
Sylvia Ave	Spring Hill Dr	Pinehurst Dr	1,397	20	27,940	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	72	GOOD
Tabb Ave	Seagate Street	Scottville Street	576	20	11,520	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	72	GOOD
Tacoma Ave	Elwood Road	Villa Road	783	20	15,660	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	68	GOOD
Taft St	232' W of Sunshine Grove Rd	Sunshine Grove Rd	232	20	4,640	RESIDENTIAL	ASPHALT	2	Major MR	02-01-2022	87	VERY GOOD
Tahiti Dr	Gulfview Dr	NE dead end	1,439	21	30,219	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	74	GOOD
Talbot Cir	Trellis Ave (2), x's: Pinehurst Dr	Holiday Drive	3,156	24	75,744	RESIDENTIAL	ASPHALT	2	Global MR	12-09-2019	64	FAIR
Talco Ave	Villa Road	Vivian Street	469	20	9,380	RESIDENTIAL	ASPHALT	2	Major MR	04-13-2021	54	FAIR
Tall Pines Dr	Park Square Pl (2)	Ridge Manor Blvd	1,251	16	20,016	RESIDENTIAL	ASPHALT	2	Major MR	03-01-2020	55	FAIR
Tallwood St	Pierpoint Ave	Roble Ave	1,385	20	27,700	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	68	GOOD
Talpa St	W of Hancock Avenue	Layton Avenue	906	20	18,120	RESIDENTIAL	ASPHALT	2	Major MR	03-23-2020	71	GOOD
Tammy Dr	Stephanie Drive	E dead end	212	24	5,091	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	88	VERY GOOD
Tampico Trl	Companero Entra	Carlos Ct	1,086	19	20,634	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	55	FAIR
Tankersley Rd	Unpaved portion	Croom Rd	857	20	17,130	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	46	POOR
Tanner Rd	Elgin Blvd	NW of Killian Street	2,949	20	58,980	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	79	GOOD
Tansboro St	Hancock Avenue	Layton Avenue	985	20	19,700	RESIDENTIAL	ASPHALT	2	Major MR	03-23-2020	55	FAIR
Tara St	Mariner Blvd	E of Brickell Court	1,022	20	20,440	RESIDENTIAL	ASPHALT	2	Major MR	03-23-2020	55	FAIR
Tarpon Blvd	Osowaw Blvd	US 19	1,240	24	29,759	COLLECTOR	ASPHALT	2	Global MR	02-26-2020	65	FAIR

Tarrytown Dr	Pinehurst Dr	Cobblestone Dr	2,942	24	70,654	RESIDENTIAL	ASPHALT	2	Global MR	12-09-2019	62	FAIR
Tarrytown Dr	Cobblestone Dr	Holiday Dr	1,302	24	31,248	RESIDENTIAL	ASPHALT	2	Global MR	12-09-2019	65	FAIR
Tartan Ave	Millwood Road	Clyburn street	676	20	13,527	RESIDENTIAL	ASPHALT	2	Major MR	04-13-2021	77	GOOD
Tassel St	Tioga Avenue	Hedgewood Avenue	892	20	17,849	RESIDENTIAL	ASPHALT	2	Major MR	02-10-2022	80	GOOD
Tavern Rd	832' E of Broad St	Celia Ave	640	16	10,235	RESIDENTIAL	ASPHALT	2	Major MR	03-03-2020	65	FAIR
Tavern Rd	Broad St (US 41)	832' E of Broad St	833	16	13,323	RESIDENTIAL	ASPHALT	2	Major MR	03-03-2022	82	VERY GOOD
Tay Ct	Sunburst Court	E dead end	313	20	6,260	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	76	GOOD
Teal Dr	Westwind Street	E dead end	224	17	3,808	RESIDENTIAL	ASPHALT	2	Major MR	03-10-2020	61	FAIR
Teather St	Sedgefield Ave	Norvell Rd	1,865	20	37,301	RESIDENTIAL	ASPHALT	2	Major MR	02-10-2022	82	VERY GOOD
Ted Rd	Cindy Dr	Royal Dr	1,757	20	35,132	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	59	FAIR
Ted Rd	Royal Dr	E cul-de-sac	537	20	10,744	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	77	GOOD
Tedburn Park	Berkeley Heights Avenue	Las Palmas Avenue	1,074	24	25,793	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	70	GOOD
Tee Dr	Ridge Manor Blvd	Fairway Drive	351	20	7,020	RESIDENTIAL	ASPHALT	2	Major MR	03-01-2020	35	POOR
Telephone Rd	Mellon Rd	E cul-de-sac	607	20	12,140	RESIDENTIAL	ASPHALT	2	Major MR	02-07-2022	94	EXCELLENT
Telford Ct	W dead end	Eastbrook Dr	798	20	15,960	RESIDENTIAL	ASPHALT	2	Major MR	12-11-2019	72	GOOD
Templewood Ct	Ambrose Court	E dead end	436	20	8,720	RESIDENTIAL	ASPHALT	2	Global MR	12-01-2019	75	GOOD
Terrace Way	S dead end	Kaufman Road	691	18	12,438	RESIDENTIAL	ASPHALT	2	Major MR	03-09-2020	64	FAIR
Terrell Rd	Winterville Road	Norvell Road	1,245	20	24,890	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	72	GOOD
Thackeray St	W of Panola Ave	Hernando Avenue	1,485	18	26,729	RESIDENTIAL	ASPHALT	2	Major MR	02-17-2022	61	FAIR
Thaxton St	Ridge Road	Indian Trail Road	2,062	20	41,240	RESIDENTIAL	ASPHALT	2	Major MR	03-12-2020	60	FAIR
Thayer St	Frontier Way	Croom Road	960	18	17,819	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	46	POOR
Theodan St	West Richard Dr	E dead end	774	16	12,384	RESIDENTIAL	ASPHALT	2	Major MR	05-31-2020	90	VERY GOOD
Theresa Ave	Westside Avenue	E dead end	536	17	9,112	RESIDENTIAL	ASPHALT	2	Major MR	04-01-2020	72	GOOD
Thomason St	Stockholm St	Highpoint Blvd	477	21	10,017	RESIDENTIAL	ASPHALT	2	Major MR	02-01-2022	91	VERY GOOD
Thompson Loop	W dead end	Citrus Way/Parsons Rd	928	16	14,848	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	79	GOOD
Thornberry Dr	W of Keysville Avenue	Odin Street	5,077	20	101,546	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	75	GOOD
Thorncrest Ave	Dakota Drive	Canmie Street	1,494	18	26,892	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	74	GOOD
Thornridge St	Little Tee Lane	Highpoint Blvd	1,556	22	34,232	RESIDENTIAL	ASPHALT	2	Major MR	02-01-2022	82	VERY GOOD
Thornton Ct	Henderson St	N dead end	250	20	5,000	RESIDENTIAL	ASPHALT	2	Global MR	12-01-2019	75	GOOD
Thrasher Ave	Commercial Way (US 19)	Downy Woodpecker Rd	16,285	22	358,278	COLLECTOR	OTHER	2	Global MR	04-20-2020	55	FAIR
Three Leaf Ln	Nodding Shade Dr	Wake Robin Dr	309	20	6,180	RESIDENTIAL	ASPHALT	2	Major MR	03-03-2020	71	GOOD
Thrush Ave	Boxwood Street	Azen Loop	1,085	18	19,525	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	76	GOOD
Thrush St	Grapewood Road	Gainsboro Ave	777	20	15,540	RESIDENTIAL	ASPHALT	2	Major MR	03-23-2020	53	FAIR
Thunderbird Ave	Apache Trail	Forest Oaks Blvd	2,662	24	63,930	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	70	GOOD
Thurston St	Cortez Boulevard (CR550)	Laurel Street	632	19	12,008	RESIDENTIAL	ASPHALT	2	Global MR	03-10-2020	48	POOR
Tiburon Ave	Northcliffe Blvd	Norvell Rd	3,098	20	61,962	RESIDENTIAL	ASPHALT	2	Major MR	04-13-2021	72	GOOD
Tierra Dr	Chalice Dr	N dead end	1,280	20	25,600	RESIDENTIAL	ASPHALT	2	Major MR	12-08-2019	72	GOOD
Tiffany Ct	Dunkirk Rd	N dead end	709	24	17,027	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	64	FAIR
Tiffin Ave	Cavern Road	Norvell Road	1,314	20	26,280	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	81	GOOD
Tilburg St	Tiburon Ave	Woodbine St	2,434	20	48,680	RESIDENTIAL	ASPHALT	2	Major MR	02-08-2022	73	GOOD
Tillery Rd	Jason Rd	Lamson Ave	1,913	20	38,260	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	66	FAIR
Timbercrest Rd	Landover Blvd	Elwood Road	5,664	20	113,277	RESIDENTIAL	ASPHALT	2	Major MR	03-08-2022	58	FAIR
Timberlake Ave	Tryon Circle	Fieldstone Lane	765	20	15,298	RESIDENTIAL	ASPHALT	2	Major MR	12-09-2019	70	GOOD
Timberwood Ave	Margot Rd	Medley Rd	982	20	19,640	RESIDENTIAL	ASPHALT	2	Major MR	02-07-2022	94	EXCELLENT
Tinamou Ave	Mellon Rd	100' E of Bronx Ave	1,380	20	27,600	RESIDENTIAL	ASPHALT	2	Major MR	03-08-2022	91	VERY GOOD
Tioga Ave	Timbercrest Road	Thornberry Drive	1,239	20	24,779	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	83	VERY GOOD
Tipton Ln	Skyline Court	Treehaven Dr	379	24	9,096	RESIDENTIAL	ASPHALT	2	Global MR	12-09-2019	64	FAIR
Titanic Ct	Mountain Plover Rd	NW dead end	533	20	10,660	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	90	VERY GOOD

Todd Ln	Pickford Street	Libby Road	315	20	6,300	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	87	VERY GOOD
Token Ave	Mount Sparrow Rd	Magpie Rd	1,276	20	25,520	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	69	GOOD
Toledo Rd	Swallow Lane	Cobblestone Dr	3,076	20	61,520	RESIDENTIAL	ASPHALT	2	Major MR	12-11-2019	70	GOOD
Tomahawk Ave	Apache Trail	Wabash Trail	1,894	18	34,092	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	65	FAIR
Tooke Lake Blvd	W of Whitehurst St	E of Cedarvue St	1,479	20	29,590	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	74	GOOD
Tooke Shore Dr	Woodland Waters Blvd	NW of Ramble Ridge Ct	3,492	19	66,348	RESIDENTIAL	ASPHALT	2	Major MR	03-24-2020	53	FAIR
Topaz St	W of Elwood Rd	Colchester Ave	4,965	20	99,300	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	60	FAIR
Toucan Trl	US 19	Bartlett St	7,569	20	155,165	RESIDENTIAL	ASPHALT	2	Major MR	02-26-2020	62	FAIR
Toucan Trl	Olson Rd	US 19	1,253	18	22,554	RESIDENTIAL	ASPHALT	2	Major MR	02-26-2020	68	GOOD
Tournament Dr	Locker Dr	Sandtrap Dr	1,707	20	34,140	RESIDENTIAL	ASPHALT	2	Global MR	12-01-2019	74	GOOD
Tower St	Westwood Dr	Ridge Manor Blvd	1,899	18	34,182	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	61	FAIR
Tower St	Hlghpoint Blvd	Eastern Circle Dr	1,159	22	25,498	RESIDENTIAL	ASPHALT	2	Major MR	02-01-2022	89	VERY GOOD
Town Ct	W dead end	Albury Ave	417	20	8,340	RESIDENTIAL	ASPHALT	2	Global MR	04-13-2021	51	FAIR
Tracy St	Brewster Rd	Krista Dr	1,175	20	23,500	RESIDENTIAL	ASPHALT	2	Major MR	03-23-2020	53	FAIR
Trade Ct	Pinehurst Dr	E dead end	354	20	7,080	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	72	GOOD
Tradewinds Ln	Pinehurst Dr	Leafy Way Ave	506	20	10,122	RESIDENTIAL	ASPHALT	2	Major MR	12-11-2019	69	GOOD
Trafalgar Ln	Holiday Dr	Holiday Dr	976	20	19,527	RESIDENTIAL	ASPHALT	2	Major MR	12-09-2019	72	GOOD
Tranquil Dr	Clearfield Ave	Landmark Dr	6,905	20	138,100	RESIDENTIAL	ASPHALT	2	Major MR	12-09-2019	71	GOOD
Traverse Ln	Spring Park Way	Benchmark Trl	1,205	20	24,102	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	59	FAIR
Tree Ln	SR 50	Ridge Manor Blvd	1,526	16	24,416	RESIDENTIAL	ASPHALT	2	Major MR	03-01-2020	46	POOR
Treehaven Dr	Spring Hill Dr	Newhope Dr	646	20	12,920	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	63	FAIR
Treehaven Dr	Pinehurst Dr	Pinehurst Dr	2,416	24	57,984	RESIDENTIAL	ASPHALT	2	Global MR	12-09-2019	66	FAIR
Treehaven Dr	Pinehurst Dr	Spring Hill Dr	3,600	24	86,402	RESIDENTIAL	ASPHALT	2	Major MR	02-13-2022	77	GOOD
Treetop Cir	English Elm Circle	NE end cul-de-sac	456	24	10,951	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	51	FAIR
Trellis Ave	Treehaven Dr	Holiday Drive	1,798	24	43,152	RESIDENTIAL	ASPHALT	2	Global MR	12-09-2019	61	FAIR
Trenton Ave	N of Piedmont Dr	Commercial Way (US 19)	1,832	33	60,456	RESIDENTIAL	ASPHALT	2	Major MR	02-26-2020	65	FAIR
Trenton Ave	Raleigh St	N of Piedmont Dr	2,009	20	40,180	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	68	GOOD
Triana St	Silas Court	Linden Dr	408	20	8,160	RESIDENTIAL	ASPHALT	2	Global MR	12-08-2019	67	FAIR
Triggerfish Dr	W dead End	Sea Bass Dr	1,961	22	43,142	RESIDENTIAL	ASPHALT	2	Major MR	02-26-2020	77	GOOD
Trillium Blvd	County Line Rd	820' S of Painted Leaf Dr	1,300	24	31,197	COLLECTOR	ASPHALT	2	Major MR	03-31-2021	71	GOOD
Trillium Blvd	820' S of Painted Leaf Dr	50' N of Wake Robin Dr	3,275	24	78,600	COLLECTOR	ASPHALT	2	Major MR	03-03-2020	73	GOOD
Trillium Blvd	50' N of Wake Robin Dr	55' E of Sea Holy Dr	1,304	24	31,296	COLLECTOR	ASPHALT	2	Major MR	03-29-2020	73	GOOD
Trinidad Ave	S of Genter Dr	Coronado Dr	1,391	20	27,821	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	82	VERY GOOD
Trip Ave	Margot Rd	Medley Rd	982	20	19,640	RESIDENTIAL	ASPHALT	2	Major MR	02-07-2022	94	EXCELLENT
Tripoli Ln	Finland Drive	Stoneville Court	654	20	13,080	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	78	GOOD
Trollman St	Godfrey Ave	E of Fairview Rd	1,489	20	29,780	RESIDENTIAL	ASPHALT	2	Major MR	12-04-2019	72	GOOD
Trollman St	Fayson Ln	Godfrey Ave	1,280	20	25,600	RESIDENTIAL	ASPHALT	2	Major MR	02-10-2022	94	EXCELLENT
Tropical Dr	Shoal Line Boulevard (CR597)	NW dead end	1,948	19	37,012	RESIDENTIAL	ASPHALT	2	Major MR	03-10-2020	71	GOOD
Tropical Point	W dead end	Tropical Drive	765	18	13,770	RESIDENTIAL	ASPHALT	2	Major MR	03-10-2020	72	GOOD
Trout Cir	Fillmore St	Fillmore St	2,176	20	43,523	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	78	GOOD
Troy Ave	Ashland Dr	Old Mill Ln	499	20	9,980	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	65	FAIR
Truby Rd	W dead end	Eastside Ave	584	20	11,680	RESIDENTIAL	ASPHALT	2	Major MR	03-30-2020	51	FAIR
Truce Cir	County Line Rd	County Line Rd	587	20	11,746	RESIDENTIAL	ASPHALT	2	Major MR	02-16-2022	71	GOOD
Trudy Lynn Dr	Eppley Drive	NE dead end	671	16	10,739	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	81	GOOD
Trumbull Dr	Genter Drive	Finland Drive	4,354	20	87,084	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	84	VERY GOOD
Tryon Cir	Holiday Dr	SE of Fieldstone Lane	3,250	20	65,007	RESIDENTIAL	ASPHALT	2	Major MR	12-09-2019	74	GOOD
Tubeck St	Whitewood Ave	Gold Road	522	20	10,442	RESIDENTIAL	ASPHALT	2	Major MR	02-10-2022	78	GOOD
Tudor St	Altoona Avenue	Glendale Avenue	702	20	14,040	RESIDENTIAL	ASPHALT	2	Major MR	12-08-2019	64	FAIR

Tulsa Ave	Landmark Dr	Radcliff St	628	20	12,560	RESIDENTIAL	ASPHALT	2	Major MR	12-09-2019	71	GOOD
Tuna Ln	SW dead end	Tropical Drive	315	12	3,780	RESIDENTIAL	ASPHALT	2	Major MR	03-10-2020	64	FAIR
Tundra Dr	Sunshine Grove Road	1161' W of Brookridge Central Blvd	1,779	20	35,580	INDUSTRIAL	ASPHALT	2	Major MR	03-23-2020	72	GOOD
Tundra Dr	1161' W of Brookridge Central Blvd	Brookridge Central Blvd	1,161	24	27,864	INDUSTRIAL	ASPHALT	2	Major MR	03-23-2020	77	GOOD
Tune Ln	Banbury Ln	Bolger Ave	468	20	9,360	RESIDENTIAL	ASPHALT	2	Major MR	02-10-2022	84	VERY GOOD
Tunisia Ave	Angler Street	Feather Street	1,285	21	26,989	RESIDENTIAL	ASPHALT	2	Major MR	02-10-2022	84	VERY GOOD
Turf Ln	Pinehurst Dr	Leafy Way Ave	757	20	15,134	RESIDENTIAL	ASPHALT	2	Major MR	12-11-2019	70	GOOD
Turks Cap Dr	Hermosa Blvd	N dead end	576	22	12,960	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	77	GOOD
Turtle St	Tannahill St	Reynolds Street	1,003	18	18,054	RESIDENTIAL	OTHER	2	Global MR	03-31-2021	32	VERY POOR
Tuscanny Ave	Augustine Road	Courtland Road	4,431	20	88,616	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	83	VERY GOOD
Tuscawilla Ct	Tuscawilla Drive	NE dead end	216	15	3,240	RESIDENTIAL	ASPHALT	2	Major MR	03-10-2020	71	GOOD
Tuscawilla Dr	Westwind Street	SW dead end	1,492	15	22,380	RESIDENTIAL	ASPHALT	2	Major MR	03-10-2020	72	GOOD
Twig St	SW dead end, x's: Newgate	Dr M L King Jr Blvd	1,866	24	44,813	RESIDENTIAL	ASPHALT	2	Major MR	03-26-2020	49	POOR
Twin Dolphin Dr	Cortez Blvd SR 50	Cortez Blvd SR 50	1,471	21	30,891	RESIDENTIAL	ASPHALT	2	Global MR	03-23-2020	53	FAIR
Twin Lake Ave	Whitewood Ave	Gold Road	1,413	20	28,252	RESIDENTIAL	ASPHALT	2	Major MR	02-10-2022	91	VERY GOOD
Tyler Ave	SW of Albury Ave	Ashland Dr	2,884	20	57,680	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	60	FAIR
Tyringham St	Aladdin Rd	Godfrey Ave	2,330	20	46,600	RESIDENTIAL	ASPHALT	2	Major MR	12-08-2019	72	GOOD
Umbrella Rock Dr	Wickshire St	Rousseau St	6,092	18	109,656	RESIDENTIAL	ASPHALT	2	Major MR	03-30-2020	59	FAIR
Union Springs Rd	Timbercrest Road	Thornberry Drive	1,240	20	24,792	RESIDENTIAL	ASPHALT	2	Major MR	02-10-2022	91	VERY GOOD
Unity St	W of Cressida Circle	Florian Way	1,549	20	30,980	RESIDENTIAL	ASPHALT	2	Global MR	12-08-2019	65	FAIR
Upland Ave	Tranquil Dr	Millstone St	673	20	13,460	RESIDENTIAL	ASPHALT	2	Major MR	12-09-2019	74	GOOD
Upton St	Tiburon Ave	Woodbine St	2,682	20	53,631	RESIDENTIAL	ASPHALT	2	Major MR	02-08-2022	76	GOOD
Ursula Ave	SW dead end	NE dead end	681	16	10,900	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	84	VERY GOOD
Usher St	Jason Rd	Landover Blvd	712	20	14,240	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	62	FAIR
Utah St	Tioga Avenue	Hedgewood Avenue	779	20	15,590	RESIDENTIAL	ASPHALT	2	Major MR	02-10-2022	83	VERY GOOD
Utica Ln	Thornberry Drive	Mayflower Road	308	21	6,468	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	84	VERY GOOD
V.F.W. Rd	US 41	Young Street	3,184	20	63,680	COLLECTOR	ASPHALT	2	Major MR	03-09-2020	65	FAIR
Valerie Ct	Cresap Street	E dead end	310	20	6,200	RESIDENTIAL	ASPHALT	2	Major MR	03-23-2020	57	FAIR
Valiant Ave	S of Chatsworth Street	Waterfall Dr; x's: Spring Hill	1,808	20	36,160	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	50	FAIR
Valley Brook Ct	Bay Dr	cul-du-sac NE of Bellamy Ct	1,214	22	26,719	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	66	FAIR
Valley Spring Dr	S of Forest Creek Dr	Cedar Lane	3,976	20	79,520	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	72	GOOD
Valley View Dr	S of Lisawood Dr	Forest Creek Dr	2,367	20	47,331	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	80	GOOD
Valmora St	Valiant	Laredo	1,297	20	25,942	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	59	FAIR
Van Allen Way	Chilton St	Haulover Ave	1,113	20	22,260	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	68	GOOD
Van Dale Ave	Hayward Rd	Larkin Rd	863	20	17,259	RESIDENTIAL	ASPHALT	2	Major MR	12-02-2019	72	GOOD
Vancouver Rd	Larkin Rd	Henderson St	3,752	20	75,043	RESIDENTIAL	ASPHALT	2	Major MR	12-01-2019	74	GOOD
Vanessa Ln	Bone Lane	E end cul-de-sac	404	20	8,080	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	58	FAIR
Vardon Ct	S dead end	Seagate Street	325	20	6,500	RESIDENTIAL	ASPHALT	2	Major MR	04-13-2021	71	GOOD
Velvetseed Cir	Archway Dr	Archway Dr	1,153	20	23,060	RESIDENTIAL	ASPHALT	2	Major MR	12-01-2019	75	GOOD
Venetia Dr	Muscovy Dr	Masada Lane	1,569	20	31,380	RESIDENTIAL	ASPHALT	2	Global MR	12-01-2019	73	GOOD
Venice Dr	Castle Ave	E dead end	503	24	12,080	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	58	FAIR
Ventura Dr	Henderson Street	Henderson Street	2,186	20	43,720	RESIDENTIAL	ASPHALT	2	Global MR	12-01-2019	72	GOOD
Vermont Ave	Panorama St	La Crosse St	251	18	4,519	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	90	VERY GOOD
Verona St	Mt Pleasant Avenue	Gondolier Road	706	20	14,120	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	76	GOOD
Via De Rosa Ln	Casa Grande Circle	Castille Dr	512	24	12,296	RESIDENTIAL	ASPHALT	2	Global MR	12-01-2019	66	FAIR
Via Santiago Ct	Casa Grande Circle	NE dead end	212	24	5,091	RESIDENTIAL	ASPHALT	2	Global MR	12-01-2019	72	GOOD
Vicksburg Rd	Eldridge Rd	Meredith Dr	4,090	20	81,793	RESIDENTIAL	ASPHALT	2	Major MR	12-02-2019	72	GOOD
Victoria Way	Hernando Way	Nakoma Way	628	20	12,560	RESIDENTIAL	ASPHALT	2	Major MR	03-12-2020	61	FAIR

Vienna St	Montano Ave	Goldcoast Ave	932	20	18,640	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	79	GOOD
Viking St	Augustine Road	Charmwood Ave	925	20	18,500	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	74	GOOD
Villa Rd	Mariner Blvd	Gondolier Road	4,239	20	84,780	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	68	GOOD
Village Grove Ln	Lake Village Lane	Lake Village Lane	185	16	2,957	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	83	VERY GOOD
Violet Rd	W cul-de-sac	Cindy Dr	398	20	7,950	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	40	POOR
Violet Rd	Cindy Dr	Joyce Dr	952	20	19,039	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	80	GOOD
Vista Fina Ct	S dead end	Casa Grande Circle	293	20	5,860	RESIDENTIAL	ASPHALT	2	Global MR	12-01-2019	73	GOOD
Vivian St	Tiffin Avenue	Candler Avenue	629	20	12,580	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	77	GOOD
W.P.A. Rd	SR 50	Mondon Hill Rd	9,584	20	191,680	RESIDENTIAL	ASPHALT	2	Global MR	04-01-2020	49	POOR
Wabash Trl	Ramona Dr	Tomahawk Ave	1,691	18	30,438	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	59	FAIR
Waco St	Landover Blvd	Gondolier Road	1,016	20	20,320	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	62	FAIR
Wake Robin Dr	Nodding Shade Dr	Wake Robin Dr	4,262	20	85,240	RESIDENTIAL	ASPHALT	2	Major MR	03-29-2020	74	GOOD
Wake Robin Dr	Nodding Shade Dr	Trillium Blvd	450	20	9,000	RESIDENTIAL	ASPHALT	2	Major MR	03-03-2020	76	GOOD
Wakefield Dr	Raley Road	Cammie St	2,815	24	67,604	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	82	VERY GOOD
Wallien Dr	S of Christian Circle	N of Dogwood Estates Drive	6,118	20	122,361	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	80	GOOD
Walshwood Ave	Formosa St	Thornridge St	462	22	10,164	RESIDENTIAL	ASPHALT	2	Major MR	02-01-2022	85	VERY GOOD
Walton St	Jason Rd	Landover Blvd	616	20	12,320	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	74	GOOD
Wardwell Rd	274' W of Sunnyside Dr	Mitchell Rd	636	18	11,448	RESIDENTIAL	ASPHALT	2	Major MR	03-09-2020	57	FAIR
Warm Wind Way	Whisper Ridge Trail	Hernando Ridge Road (2)	4,513	19	85,747	RESIDENTIAL	ASPHALT	2	Major MR	03-24-2020	60	FAIR
Warner Ave	Boxwood Street	Azen Loop	1,085	18	19,535	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	83	VERY GOOD
Washington Ave	Wilson Blvd	Hodza St	686	18	12,345	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	68	GOOD
Water Lily Dr	Satinleaf Run	Periwinkle Ct	2,786	22	61,292	RESIDENTIAL	ASPHALT	2	Major MR	03-30-2020	48	POOR
Waterbird Way	Allen Dr	Victoria Way	1,298	20	25,960	RESIDENTIAL	ASPHALT	2	Major MR	03-12-2020	56	FAIR
Waterfall Dr	County Line Rd	Spring Hill Dr	8,643	22	189,282	COLLECTOR	ASPHALT	2	Global MR	02-25-2020	57	FAIR
Waterfall Dr	Spring Hill Dr	Dunkirk Rd	7,989	22	174,959	RESIDENTIAL	ASPHALT	2	Major MR	03-08-2020	64	FAIR
Waterfall Dr	Dunkirk Rd	N end cul-du-sac	1,297	22	28,404	RESIDENTIAL	ASPHALT	2	Major MR	02-25-2020	71	GOOD
Waterloo Ct	Hyde Park Way	NE dead end	298	20	5,960	RESIDENTIAL	ASPHALT	2	Global MR	04-01-2020	37	POOR
Waterman Ave	S of Upton St	Norvell Rd	931	20	18,625	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	85	VERY GOOD
Waters Edge Ct	W dead end	Woodland Waters Boulevard	1,148	19	21,812	RESIDENTIAL	ASPHALT	2	Major MR	03-24-2020	74	GOOD
Watt Ave	Azora Rd	Thornberry Dr	1,022	20	20,440	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	81	GOOD
Waverly Rd	SW dead end	Shoal Line Boulevard (CR597)	2,646	19	50,274	RESIDENTIAL	ASPHALT	2	Major MR	03-10-2020	67	FAIR
Waycross Dr	Kenlake Ave	Spring Hill Dr	2,878	20	57,560	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	65	FAIR
Wayside Ct	W of Treehaven Drive	Skyline Court	1,169	20	23,380	RESIDENTIAL	ASPHALT	2	Global MR	12-09-2019	62	FAIR
Weathery Rd	Mondon Hill Rd	Croom Rd	13,549	18	243,882	COLLECTOR	ASPHALT	2	Major MR	03-26-2020	75	GOOD
Weatherstone Dr	Hunters Point St	500' E of Wilsford Ln	1,878	20	37,560	RESIDENTIAL	ASPHALT	2	Major MR	12-08-2019	67	FAIR
Weatherstone Dr	W of Sudbrook Ln	Oak Chase Blvd	1,921	20	38,416	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	72	GOOD
Webster St	162' W of Grant St	Sunshine Grove Rd	1,546	19	29,374	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	81	GOOD
Wedge Way	S dead end	Audie Brook Dr	219	20	4,380	RESIDENTIAL	ASPHALT	2	Global MR	12-01-2019	56	FAIR
Weeks Dr	Martin Drive	N of Eppley Drive	1,946	18	35,027	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	83	VERY GOOD
Weeping Willow St	Cortez Blvd (SR 50)	Jacqueline Rd	1,274	20	25,471	COLLECTOR	ASPHALT	2	Global MR	03-31-2021	63	FAIR
Weeping Willow St	Jacqueline Rd	Pitcairn St	4,202	22	92,450	COLLECTOR	ASPHALT	2	Global MR	03-31-2021	71	GOOD
Weeping Willow St	Pitcairn St	235' N of Harrison St	2,680	22	58,953	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	65	FAIR
Weeping Willow St	235' N of Harrison St	Star Rd	2,435	20	48,700	RESIDENTIAL	SURFACE TREATMENT	2	Global MR	03-31-2021	86	VERY GOOD
Welby Ln	Salby Pl	Oak Chase Blvd	495	20	9,900	RESIDENTIAL	ASPHALT	2	Major MR	12-08-2019	57	FAIR
Weldon Ave	Augustine Rd	Lightfoot St	2,206	20	44,120	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	79	GOOD
Wellig Ave	Garmish Way	S of Bavarian Pl	793	20	15,865	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	72	GOOD
Wellington Rd	Landover Blvd	Springwood Rd	2,069	20	41,380	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	75	GOOD
Welsh St	Sealawn Dr	Toucan Trail	1,338	20	26,767	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	58	FAIR

Wendal St	Tanner Rd	Woodridge Lane	1,012	20	20,240	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	89	VERY GOOD
Wendy Ct	US 19 & Hunter's Lake Rd	S of Algood Rd	1,127	24	27,048	INDUSTRIAL	ASPHALT	2	Major MR	02-26-2020	70	GOOD
Wendy Ct	S of Algood Rd	Pepper St	1,842	31	57,102	INDUSTRIAL	ASPHALT	3	Major MR	02-26-2020	76	GOOD
Wesbitt Ave	Amidon Street	Blackburn Street	655	20	13,103	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	74	GOOD
West Richard Dr	SE dead end	Richard Dr	2,976	18	53,568	RESIDENTIAL	ASPHALT	2	Major MR	05-31-2020	90	VERY GOOD
West St	Ft Dade	Manecke Rd	2,600	17	44,200	RESIDENTIAL	ASPHALT	2	Major MR	03-26-2020	46	POOR
Western Cir Dr	Fairlane Ave	Formosa St	3,785	21	79,485	RESIDENTIAL	ASPHALT	2	Major MR	02-01-2022	80	GOOD
Westlake Blvd	SW dead end	SR 50	2,599	20	51,980	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	57	FAIR
Westminster Ct	NW dead end	Nottingham Forest Dr	1,607	20	32,141	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	79	GOOD
Westshire Ct	W dead end	Nottingham Forest Dr	680	20	13,605	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	85	VERY GOOD
Westside Ave	Bass Rd	Cortez Boulevard (CR550)	1,832	20	36,640	RESIDENTIAL	ASPHALT	2	Major MR	04-01-2020	70	GOOD
Westview Ct	SE of Round Lake Dr	Country Rd	1,150	20	23,000	RESIDENTIAL	ASPHALT	2	Major MR	03-12-2020	59	FAIR
Westwind St	S End	Alpaca Drive	250	19	4,750	RESIDENTIAL	ASPHALT	2	Major MR	03-10-2020	73	GOOD
Westwind St	Alpaca Drive	Foxhall Court	1,994	19	37,886	RESIDENTIAL	ASPHALT	2	Major MR	03-10-2020	75	GOOD
Westwood Dr	SR 50	Olancha Rd	3,820	18	68,760	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	57	FAIR
Wheystone Dr	Comerstone Dr	Rimrock St	7,308	20	146,160	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	78	GOOD
Whisper Ridge Trl	Tooke Shore Dr	Airy Oaks Ct	5,096	19	96,824	RESIDENTIAL	ASPHALT	2	Major MR	03-24-2020	57	FAIR
Whispy Ct	Wind Chime Ct	NE cul-de-sac end	263	20	5,260	RESIDENTIAL	ASPHALT	2	Major MR	12-04-2019	77	GOOD
White Flower Way	Nodding Shade Dr	Nodding Shade Dr	773	20	15,460	RESIDENTIAL	ASPHALT	2	Major MR	03-29-2020	74	GOOD
White Pine Ave	Pitcairn St	187' N of Greenwood St	1,068	22	23,496	RESIDENTIAL	ASPHALT	2	Global MR	03-24-2020	59	FAIR
White Plains St	Firwood Ave	Godfrey Ave	2,053	20	41,060	RESIDENTIAL	ASPHALT	2	Major MR	12-08-2019	69	GOOD
White Rd	Old Trilby Rd	Cortez Blvd	5,536	20	110,720	OTHER	ASPHALT	2	Major MR	03-03-2022	94	EXCELLENT
White Willow Way	Philatelic Drive	N end cul-de-sac	407	24	9,774	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	75	GOOD
Whitehurst St	Tooke Lake Blvd	Bourassa Blvd	995	20	19,893	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	77	GOOD
Whitewood Ave	Coronado Dr (S of SHdr)	Spring Hill Dr	5,124	21	107,608	OTHER	ASPHALT	2	Major MR	02-10-2022	89	VERY GOOD
Whitewood Ave	Spring Hill Dr	Coronado Dr (N of SHdr)	2,653	20	53,060	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	71	GOOD
Whitman Rd	US 41	Jacobson Rd	979	18	17,622	COLLECTOR	ASPHALT	2	Major MR	03-30-2020	42	POOR
Whitman Rd	Jacobson Rd	E dead end	6,543	18	117,774	RESIDENTIAL	ASPHALT	2	Major MR	03-30-2020	50	FAIR
Whitmarsh St	Bolander Ave	Harold Ave	3,647	20	72,940	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	79	GOOD
Wickshire St	Umbrella Rock Dr	Rimrock St	661	18	11,898	RESIDENTIAL	ASPHALT	2	Major MR	03-30-2020	56	FAIR
Wilburton St	Godfrey Ave	Coronado Dr	2,417	20	48,340	RESIDENTIAL	ASPHALT	2	Major MR	12-08-2019	67	FAIR
Wilderness Trl	Tooke Shore Dr	N of Scenic Lake Dr	2,351	19	44,669	RESIDENTIAL	ASPHALT	2	Major MR	03-24-2020	60	FAIR
Wildflower Dr	Redfox	N dead end	1,515	20	30,293	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	71	GOOD
Wildlife Ln	High Corner Rd	E of La Dora Dr	2,909	24	69,816	RESIDENTIAL	ASPHALT	2	Global MR	04-01-2020	66	FAIR
Wildwood Dr	Carter Rd	West St	1,356	16	21,696	RESIDENTIAL	ASPHALT	2	Global MR	03-26-2020	41	POOR
Wildwood Dr	West St	East Ave	2,642	16	42,272	RESIDENTIAL	ASPHALT	2	Global MR	03-26-2020	49	POOR
Wilhelm Rd	Cresap St	Simmons St	875	20	17,500	RESIDENTIAL	ASPHALT	2	Major MR	03-23-2020	56	FAIR
Wilkes Ct	Kimbrough Dr	E dead end	265	20	5,291	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	90	VERY GOOD
William St	Commercial Way (US 19)	Plyna St	1,076	20	21,520	RESIDENTIAL	ASPHALT	2	Major MR	03-10-2020	37	POOR
William Sullivan Cir	NW cul-de-sac end	Oakcrest Cir	375	18	6,750	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	71	GOOD
Willow Bank Ave	Shadywood Ln	Capistrano Ln	1,057	20	21,140	RESIDENTIAL	ASPHALT	2	Major MR	03-30-2020	61	FAIR
Willow St	Cyrano Ave	Danmar Ave	3,979	19	75,601	COLLECTOR	ASPHALT	2	Major MR	04-01-2020	56	FAIR
Willowood Ln	Spring Park Way	Benchmark Trl	1,207	20	24,131	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	61	FAIR
Willowtree Ct	Forestwood Ct	E dead end	260	20	5,200	RESIDENTIAL	ASPHALT	2	Global MR	12-05-2019	63	FAIR
Wilford Ln	Barkingside Pl	Weatherstone Dr	285	20	5,700	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	54	FAIR
Wilford Ln	Hunters Pointe St	Barkingside Pl	655	20	13,102	RESIDENTIAL	ASPHALT	2	Major MR	12-08-2019	69	GOOD
Wilson Blvd	Palacky Street	Jackson Ave	2,625	16	42,000	RESIDENTIAL	ASPHALT	2	Major MR	03-03-2020	48	POOR
Wilson Blvd	Jackson Ave	Broad St	2,663	18	47,934	RESIDENTIAL	ASPHALT	2	Global MR	03-03-2020	51	FAIR

Wilson Blvd	Broad St	Benes Rd	1,655	18	29,790	RESIDENTIAL	ASPHALT	2	Major MR	03-29-2020	51	FAIR
Wiltshire Ave	Monarch St	Lansfield St	1,543	20	30,869	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	66	FAIR
Wimberly Ct	S dead end	Shoal Line Boulevard (CR597)	532	17	9,044	RESIDENTIAL	ASPHALT	2	Major MR	03-10-2020	74	GOOD
Winchell Run	Albany Rd	Flagstaff Dr	566	21	11,886	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2020	50	FAIR
Wind Chime Ct	Opportunity Court	S cul-de-sac end	1,000	20	20,000	RESIDENTIAL	ASPHALT	2	Major MR	12-04-2019	75	GOOD
Windbrook Ave	Musa Rd	Lansfield St	1,829	20	36,582	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	66	FAIR
Winding Creek Dr	SW dead end	Cedar Lane	1,474	20	29,480	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	76	GOOD
Winding Oak Ln	Berkeley Heights Avenue	Las Palmas Avenue	1,050	24	25,217	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	70	GOOD
Windmere Rd	Cortez Blvd (SR 50)	Park Ridge Dr	1,491	20	29,819	OTHER	ASPHALT	2	Major MR	03-03-2022	75	GOOD
Windmere Rd	Park Ridge Dr	Barcelona Blvd	1,487	20	29,733	RESIDENTIAL	ASPHALT	2	Major MR	03-30-2020	61	FAIR
Windmill Ave	Fillmore St	Fayetteville Dr	793	20	15,858	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	70	GOOD
Windsong Way	W circle	Allen Dr	2,338	24	56,149	RESIDENTIAL	ASPHALT	2	Major MR	03-12-2020	61	FAIR
Windsor Ct	Overland Dr	E dead end	346	20	6,920	RESIDENTIAL	ASPHALT	2	Global MR	12-01-2019	74	GOOD
Windswept Ave	Forest Oaks Blvd	Baybriar Street	1,077	20	21,536	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	72	GOOD
Winston Ct	W dead end	Cressida Circle	551	20	11,020	RESIDENTIAL	ASPHALT	2	Global MR	12-05-2019	65	FAIR
Winter St	Wiscon Rd	Cortez Blvd (SR 50)	396	36	14,244	COLLECTOR	ASPHALT	3	Major MR	03-31-2021	89	VERY GOOD
Winter St	SR 50	Wilhelm Rd	4,898	21	102,858	RESIDENTIAL	ASPHALT	2	Major MR	03-23-2020	52	FAIR
Winterville Rd	Mariner Blvd	Norvell Road	3,088	20	61,768	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	69	GOOD
Winthrop Dr	Fairmont Dr	Fairmont Dr	3,624	20	72,486	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	78	GOOD
Wirevine Dr	SW cul-de-sac end	W of Liriop Dr	1,168	20	23,360	RESIDENTIAL	ASPHALT	2	Major MR	03-30-2020	60	FAIR
Wirevine Dr	W of Liriop Dr	Satinleaf Run	2,695	20	53,904	RESIDENTIAL	ASPHALT	2	Major MR	03-03-2022	75	GOOD
Wiscon Rd (CR570)	SR50	564' W of Horse Lake Rd	18,330	22	403,260	COLLECTOR	ASPHALT	2	Major MR	03-31-2021	72	GOOD
Wiscon Rd (CR570)	564' W of Horse Lake Rd	US 41	4,197	22	92,334	COLLECTOR	ASPHALT	2	Major MR	03-31-2021	74	GOOD
Withrow Rd	Dempsey Rd	Croom Rd	3,244	20	64,885	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	69	GOOD
Wolf Den Rd	Marvelwood Rd	House Finch Rd	1,405	20	28,100	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	80	GOOD
Wood Owl Ave	US 19	22' W of Necklace Warbler Ave	386	20	7,722	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	90	VERY GOOD
Wood Owl Ave	22' W of Necklace Warbler Ave	Maberly Rd	5,191	20	103,817	RESIDENTIAL	ASPHALT	2	Major MR	02-07-2022	93	EXCELLENT
Woodbine St	Mayflower Rd	Norvell Rd	929	20	18,576	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	81	GOOD
Woodbury Rd	Black Oak Trl	Benchmark Trl	1,981	20	39,621	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	62	FAIR
Woodcrest Rd	Copeland Way	Eastwood Trl	3,878	20	77,551	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	66	FAIR
Wooden Dr	circle upon self,x's:Rusty Oak	Pagoda Dr	4,202	24	100,914	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	61	FAIR
Woodette Ct	W dead end	Forrest Wood Court	285	20	5,700	RESIDENTIAL	ASPHALT	2	Global MR	12-05-2019	66	FAIR
Woodland Cir	Westwood Drive	Little Green Lane	1,804	18	32,472	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	68	GOOD
Woodland Waters Blvd	E of Hernando Ridge Rd	E dead end	2,576	20	51,520	RESIDENTIAL	ASPHALT	2	Major MR	03-12-2020	66	FAIR
Woodland Waters Blvd	US 19	E of Hernando Ridge Rd	9,600	19	182,400	RESIDENTIAL	ASPHALT	2	Major MR	03-12-2020	71	GOOD
Woodridge Ln	Elgin Blvd	NE of Wendal Street	1,925	20	38,500	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	88	VERY GOOD
Woodstream Way	SW of Palmgren Lane	Palmgren Lane (2)	1,311	24	31,485	RESIDENTIAL	ASPHALT	2	Global MR	12-01-2019	74	GOOD
Wren Rd	Convent Garden Rd	Hexam Rd	2,411	20	48,220	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	76	GOOD
Wysocki Ct	Cul-de-sac W of Pell Ave	Craigdarragh Ave	1,616	24	38,809	RESIDENTIAL	ASPHALT	2	Global MR	03-31-2021	73	GOOD
Yale Ave	Oregon Jay Rd	Nightwalker Rd	1,175	23	27,025	INDUSTRIAL	ASPHALT	2	Major MR	03-24-2020	55	FAIR
Yardley Ct	SW dead end	Springwood Road	298	24	7,157	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	84	VERY GOOD
Yearling Ave	Pacific Ave	Bagley	416	24	9,991	RESIDENTIAL	ASPHALT	2	Major MR	03-10-2020	52	FAIR
Yellow Hammer Rd	Commercial Way (US19)	106' W of Necklace Warbler Ave	312	22	6,864	RESIDENTIAL	ASPHALT	2	Major MR	04-20-2020	76	GOOD
Yellow Hammer Rd	106' W of Necklace Warbler Ave	Maberly Road	5,296	20	105,920	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	85	VERY GOOD
Yellow Pine Ave	Pitcairn St	Pitcairn St	1,491	22	32,802	RESIDENTIAL	ASPHALT	2	Global MR	03-24-2020	74	GOOD
Yontz Rd	Cobb Rd	Ponce De Leon Blvd (US 98)	6,585	32	210,720	RESIDENTIAL	ASPHALT	2	Major MR	03-26-2020	50	FAIR
Yontz Rd	Howell Ave	Broad St (US 41)	391	36	14,076	ARTERIAL	ASPHALT	3	Major MR	03-31-2021	87	VERY GOOD
Yontz Rd	Ponce De Leon Blvd (US 98)	Howell Ave	7,565	20	151,300	COLLECTOR	ASPHALT	2	Major MR	03-26-2020	68	GOOD

Yorkshire Ave	Chamber Court	Higate Road	832	20	16,640	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	85	VERY GOOD
Yorkwood Ave	Yellow Pine Ave	Evergreen Ave	460	22	10,120	RESIDENTIAL	ASPHALT	2	Global MR	03-24-2020	71	GOOD
Youth Dr	E end of unpaved portion	US 98	3,405	18	61,291	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	78	GOOD
Zarbis Dr	W of Linden Dr	Gillian Dr	1,089	20	21,780	RESIDENTIAL	ASPHALT	2	Global MR	12-08-2019	54	FAIR
Zeth Ct	690' W of Barclay Ave	Barclay Ave	691	24	16,585	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	76	GOOD
Zeth Ct	85' W of Shadow Creek Dr	690' W of Barclay Ave	376	20	7,518	RESIDENTIAL	ASPHALT	2	Major MR	03-31-2021	78	GOOD